AGRICULTURA STATE LIGRARY AGRICULTUR COLLEGE CROPS AND LIVESTOCK

# of the STATE OF COLORADO

1931

With Revisions for 1929 and 1930



BULLETIN No. 89

December, 1931, and February, 1932

THE COLORADO CO-OPERATIVE CROP REPORTING SERVICE

United States Department of Agriculture

Bureau of Agricultural Economics (Division of Crop and Livestock Estimates)

Nils A. Olsen, Chief, Washington H. L. Collins, Agricultural Statistician, Denver J. T. Paulson, Assistant Agricultural Statistician, Denver

In Co-operation with

The Colorado State Board of Immigration Division of Agricultural Statistics

Edward D. Foster, Commissioner

Tolbert R. Ingram, Deputy and Statistician

Board Members: The Governor, Ex-Officio; Fred M. Betz, Lamar Thomas Lytle, Montrose; Neil W. Kimball, Golden

# TABLE OF CONTENTS

Page
General review of 1931 crop season, production, etc 3-7
United States crops, acreage, production and value, with Colorado's percentage of national totals 8-9
1931 crop, detailed tables of acreage and production10-28
Number, size and tenure of farms, 1931
Farm income from crops and livestock products, 1925-193032-33
Carlot shipments of crops, by commodities and counties
1930 crop, revised, detailed tables of acreage and production34A-49
1929 crop, revised, detailed tables of acreage and production50-64
Estimated price of farm products, 1910, 1911-193265-74
General review of livestock, 1931 season75-76
Livestock feeding and wool production76-77
Creamery butter production and corn-hog ratios
Colorado livestock assessed and stock fed in transit
Stockyards' receipts of Colorado livestock
Numbers and value of livestock on farms, 1910, 1920-193281-82
Numbers and value of livestock assessed for taxation, 1930-193183-91

NOTE—The arrangement of this booklet necessitated grouping the county figures for broomcorn for 1929-1931, inclusive, in a single table, which appears on page 26.

.

# **COLORADO AGRICULTURAL STATISTICS FOR 1931**

Value—Colorado farm crops produced in 1931 are valued at \$63,489,000, compared with \$124,442,000 last year and \$134,537,000 in 1929, according to the annual crop report of the Colorado Crop and Livestock Reporting Service. This valuation is placed on the total production of all crops based upon the December 1 farm price for the major crops and seasonal prices for some truck and minor crops. Since a large part of the grain crops are fed to livestock, the value of such production is indirectly increased.

The 1931 yields in Colorado were uniformly lower than in 1930 and this, together with the general decline in prices, resulted in the reduced valuation of 1931 crops. The total acreage of crops harvested in Colorado in 1931, including orchards, was 6,735,000 acres, a reduction of 6.8 per cent from that harvested in 1930. In 1930, 7,223,000 acres were harvested and in 1929, 6,811,000 acres. The acreages of corn, potatoes, and sorghums were larger than the previous year with a reduction in the acreage of wheat, oats, barley, rye, dry beans, broomcorn, and hay crops. This decrease in acreage was caused by drouth, shortage of irrigation water and insect damage. The acreage abandoned was very heavy. Eighteen per cent of the corn acreage was lost, abandonment of barley was 24 per cent, oats 23 per cent, dry beans 25 per cent, potatoes 17 per cent, and spring wheat 19 per cent. The 1931 yields were the lowest on record. This is in contrast with 1930, when crop production was the largest in the history of the state.

The production of all crops was lower in 1931 than in 1930 with the exception of apples, peaches, pears, cauliflower and green peas for market. The increase in cauliflower and green pea production was due to increased acreage rather than larger yields.

Crop estimates have been revised towards acreage and production shown by the census of 1929. Except where other enumerations and records justified a change, estimates of acreage, yield and production are substantially the same as those determined by the census taken in April, 1930, for the crop season of 1929. Estimates for 1930 and 1931 have been revised proportionately.

The estimated number of livestock in Colorado on January 1, 1932, compared with January 1, 1931, shows an increase in swine, range cattle, milk cows and sheep and lambs on feed, no change in the number of farm and range sheep and a decreased number of horses, mules and cattle on feed. Colorado livestock on January 1, 1932, were valued at \$60,656,000, compared with \$97,-617,000 on January 1, 1931, and \$130,515,000 on January 1, 1930. In spite of increased numbers of most classes of livestock, declining prices have drastically reduced inventory values.

General Conditions—The 1931 season was very unfavorable for Colorado agriculture. Early spring conditions, however, were quite satisfactory. A late May freeze injured winter wheat in northeastern Colorado, fruit and alfalfa in northern Colorado. and alfalfa in Western Slope counties. The drouth started early in May and rainfall continued below normal during the entire season. Several rains fell during August but the relief was only temporary and did not check the rapid decline in crop condition. There was a general shortage of irrigation water in all areas, with the greatest deficiency in the San Luis valley and San Juan basin. Grasshoppers were numerous in eastern Colorado and caused heavy losses to alfalfa, dry beans, corn and other crops. October and November weather was unusually favorable for maturing and harvesting grain sorghums, sugar beets, and other late crops, and yields were somewhat above earlier expectations. Killing freezes did not occur until the last of October.

Hay—Hay ranks first among Colorado crops in value. The 1931 total valuation was \$14,692,000, compared with \$23,599,000 in 1930. The 1931 tame hay crop, consisting principally of alfalfa, timothy, clover and millet, was 1,647,000 tons. harvested on 1,258,000 acres, or an average yield of 1.31 tons per acre. In 1930, 2,215,000 tons were produced on 1.292,000 acres, or an average yield of 1.71 tons per acre. The 1931 crop of wild hay was 290,000 tons, or an average yield of .8 ton per acre on 362,000 acres, compared with 366,000 tons and an average yield of 1 ton per acre in 1930.

Sugar Beets—Colorado is the leading sugar beet state. In 1931, with 31 per cent of the total United States acreage, Colorado produced 32 per cent of the total tonnage. Last year, with 31 per cent of the acreage, Colorado produced 36 per cent of the total United States crop. Sugar beet valuation in 1931 was \$13,954,000, with an average price of \$5.50 per ton, and in 1930 \$22,873,000, with an average price of \$6.94. The 1930 crop of 3,312,000 tons, with an average yield of 13.69 tons per acre on 242,000 acres, is Colorado's record sugar beet crop. The 1931 crop of 2,537,000 tons was produced on 226,000 acres, or an average yield of 11.23 tons per acre.

**Corn**—The 1931 corn crop was greatly reduced by the drouth. Production was 19,278,000 bushels on 1,836,000 acres, or an average yield of 10.5 bushels per acre, compared with the record 1930 crop of 38,970,000 bushels on 1,732,000 acres, or an average yield of 22.5 bushels. The 1931 valuation was \$7,711,000, or only 32 per cent of the 1930 valuation of \$24,161,000. Of the 1,836,000 acres harvested in 1931 it is estimated that 1,461,000 acres were harvested for grain, 325,000 acres grazed or hogged off and 50,000 acres cut for silage. The yield of corn for silage was 4 tons per acre. About 9 per cent of the Colorado corn acreage is under irrigation.

Wheat—The 1931 wheat crop was valued at \$7,176,000, compared with \$12,420,000 in 1930. There were 1,433,000 acres of winter wheat sown in the fall of 1930, of which 1,218,000 acres were harvested in 1931, with an average yield of 12 bushels per acre, giving a total production of 14,616,000 bushels. About 96 per cent of the winter wheat acreage harvested in 1931 was grown without irrigation. In 1930, 1,324,000 acres were harvested, with an average yield of 14.5 bushels per acre and a total production of 19,198,000 bushels. In the fall of 1931, 1,103,000 acres of winter wheat were sown in Colorado, or a reduction of 23 per cent from the previous fall. By May 1, 1932, it was estimated 54 per cent of the planted area, or 596,000 acres, had been abandoned, leaving 507,000 acres for harvest. Subnormal precipitation during winter and early spring months, together with more severe winds than usual, resulted in the heaviest abandonment of winter wheat acreage on record. Winter wheat acreage on record for that date, and compared with 52 per cent of normal, the lowest on record for that date, and compared with 52 per cent on April 1, 90 per cent on May 1, 1931, and 83 per cent, the ten-year average for May 1.

In 1931, 176,000 acres of spring wheat were harvested, with an average yield of 11 bushels per acre and a total production of 1,936,000 bushels, compared with 308,000 acres harvested in 1930, which averaged 13.5 bushels per acre with a total production of 4,158,000 bushels. Of the total acreage, 62 per cent was grown on dry land.

Oats—In 1931, 148,000 acres of oats were cut for grain, with an average yield of 23 bushels per acre and a total production of 3,404,000 bushels. In 1930, 195,000 acres produced 31 bushels per acre, or a total of 6,045,000 bushels. The 1931 valuation was \$1,021,000, compared with \$2,176,000 in 1930. About 53 per cent of Colorado oats acreage is non-irrigated.

Barley—Barley production in 1931 was 7,099,000 bushels on 458,000 acres, or an average yield of 15.5 bushels per acre, compared with 12,298,000 bushels produced in 1930 on 572,000 acres with a yield of 21.5 bushels per acre. The 1931 valuation was \$2,201,000, compared with \$4,919,000 the preceding year. About 33 per cent of the barley acreage is grown under irrigation.

Rye—Rye harvested in 1931 totaled 53,000 acres, with a yield of 7 bushels per acre and production of 371,000 bushels. In 1930, 74,000 acres produced 8.5 bushels per acre, with a total production of 629,000 bushels. The 1931 rye crop had a valuation of \$115,000, compared to \$233,000 in 1930. Some rye is also used for hay and pasture. There is some spring rye grown in the state.

Dry Beans—Colorado produced \$26,000 100-pound bags of dry beans in 1931, of which 777,000 bags were Pintos, 21,000 bags garden varieties, 17,000 bags Great Northerns and 11,000 bags all other varieties, compared with 2,592,000 bags produced in 1930, of which 2,386,000 bags were Pintos, 91,000 garden varieties, 74,000 Great Northerns and 41,000 bags all other varieties. The 1931 average yield was 258 pounds per acre on 320,000 acres, compared with the 1930 yield of 600 pounds on 432,000 acres. The 1931 valuation was \$1,487,000, compared with \$5,832,000 in 1930. The 1931 growing season was very unfavorable for beans. The drouth which started in May continued throughout the growing season. The set of pods was light and the beans produced were small and of rather poor quality. There was a shortage of irrigation water. About 9 per cent of the total acreage is grown under irrigation. Twenty-five per cent of the planted acreage was abandoned, compared with 7 per cent in 1930, 11 per cent in 1929, and 14.1 per cent, the five-year average (1926-1930). In 1931 there were 2,880 acres of beans grown under contract for seed, compared with 11,000 acres in 1930. The seed beans are grown under irrigation, largely in Weld and Mesa counties and in the Arkansas valley from Pueblo to Rocky Ford. The shipment of beans from the 1930 crop was 4,312 cars. The shipment from the 1931 crop up to April 30, 1932, was 1,506 cars.

**Potatoes**—In 1931, 101,000 acres of potatoes, with an average yield of 95 bushels per acre, produced 9,595,000 bushels. This compares with 92,000 acres, 190-bushel yield and 17,480,000 bushels produced in 1930. The value of the 1931 potato crop was \$2,878,000, compared with \$10,488,000 in 1930. Carlot shipments from the 1930 crop were 18,080 cars. Shipments from the 1931 crop were 7,298 cars up to May 11, 1932. About 82 per cent of the potato acreage is irrigated.

Sorghums—About 191,000 acres of grain sorghums were harvested in 1931, with an average yield of 11 bushels per acre and a total production of 2,101,000 bushels. This compares with 180,000 acres in 1930, 13 bushels yield and 2,340,000 bushels production. The 1931 valuation of grain sorghum was \$483,000, compared with \$1,170,000 in 1930. It is estimated that 43,000 acres of the 1931 grain sorghums crop were harvested for grain and 148,000 acres for forage. In addition to the grain sorghums there were 118,000 acres of sweet sorghums harvested in 1931, and 103,000 acres harvested in 1930, which were produced mostly for forage.

Broomcorn—In 1931, 46,000 acres produced 5,800 tons of broomcorn, or an average yield of 250 pounds per acre. This compares with 77,000 acres in 1930, 10.400 tons production and 270 pounds yield per acre. The 1931 crop valuation was \$244,000, compared with \$530,000 in 1930. The Colorado broomcorn acreage is concentrated in the southeastern part of the state, with Baca and Prowers counties producing nearly the entire crop.

Millet—About 100,000 acres of millet were harvested in 1931, of which 18,000 acres were cut for seed and the remainder cut for hay or pastured. In 1930 a total of 104,000 acres were produced and about 22,000 acres cut for seed. Millet is grown largely in east-central and northeastern Colorado. Feeding experiments conducted by the Colorado Agricultural college and United States Department of Agriculture experiment station at Akron, Colorado, are proving the excellence of millet as a feeding crop. The acreage in Colorado is increasing rapidly.

Field Peas—In 1931, 49,000 acres of field peas produced 441,000 bushels, while in 1930 the same acreage produced 588,000 bushels. Nearly the entire acreage is grown in the San Luis valley. A large part of the crop is grazed or hogged off, with some acreage cut for hay and seed.

Seed Crops-Colorado soil and climatic conditions are particularly favorable for the development of high quality seed crops, and their production makes up an important part of agriculture in certain sections of the state. In 1931, 2,880 acres of seed beans were harvested, compared with 11,000 acres in 1930 and 9,000 acres in 1929. Seed bean production is of considerable importance in the Greeley and Pueblo-Rocky Ford sections of Colorado. In 1931 about 2,200 acres of cucumbers were produced for seed, largely in Otero and Pueblo counties, compared with 4,400 acres the previous year. About 1,800 acres of cantaloupes were harvested for seed in 1931, compared with 2,400 acres in 1930. These are produced mostly in Otero county, with some acreage in Crowley and Pueblo counties. About 20,000 acres of alfalfa were harvested for seed in 1931, with a production of 60,000 bushels. In 1931, 3,500 acres of sweet clover produced 17,500 bushels of seed and 2,000 acres of red clover produced 9,000 bushels. Most of the red clover and alfalfa seed are produced in the Arkansas valley, with some alfalfa seed produced on the Western Slope, Northern Colorado and a few eastern counties. In addition to these crops, squash, pumpkins, and flower seed are produced commercially in Colorado.

#### TRUCK CROPS

**Cabbage**—About 3,800 acres of cabbage were harvested in 1931, with a total production of 31,600 tons. This compared with 3,900 acres harvested in 1930 and a production of 48,700 tons. In 1931, 611 cars were shipped, compared with 1,164 cars the previous year. In addition considerable cabbage moved in mixed cars.

**Cauliflower**—In 1931, 3,900 acres of cauliflower were harvested, with an average yield of 260 crates and a total production of 1,014,000 crates. In 1930, 2,800 acres produced an average of 320 crates per acre and a total production of 896,000 crates. The cauliflower acreage is mostly in Pueblo county and the San Luis valley. In 1931, 1,455 cars of cauliflower were shipped, compared with 1,309 cars in 1930. Some cauliflower is moved in mixed cars.

**Onions**—In 1931, 4,050 acres of onions were harvested, yielding 228 bushels per acre, with a total production of 932,000 bushels, compared with 5,600 acres harvested in 1930, a yield of 308 bushels and production of 1,725,000 bushels. In 1929, 7,000 acres were harvested. The Colorado onion acreage has shown rather violent fluctuations in recent years, caused principally by changes in price. The crop value for 1931 was \$683,000, compared with \$552,000 in 1930 and \$1,097,000 in 1929. Shipment from the 1931 crop amounted to 1,482 cars. Of these 744 cars were shipped from the Arkansas valley, 690 from the Western Slope and 48 cars from Northern Colorado. A total of 2,124 cars were shipped from the 1930 crop, of which 1,278 cars were from the Arkansas valley, 732 from the Western Slope and 114 from Northern Colorado.

Melons—In 1931, 8,100 acres of cantaloupes, honey dews and miscellaneous melons were harvested for market, with an average yield of 140 standard crates per acre and a total production of 1,134,000 crates. In 1930, 10,000 acres were harvested, with an average yield of 200 crates and total production of 2,000,000 crates. Cantaloupe shipments were 1,717 cars, compared with 2,758 cars in 1930. Shipments of miscellaneous melons consisting of mixed cars of honey dews, honey balls and cantaloupes and straight cars of honey dews, amounted to 1,055 cars, compared with 1,334 cars in 1930. In 1931, 1,120 acres of water-melons produced 336,000 melons, compared with a production of 342,000 melons on 1,070 acres in 1930. Eighty-seven straight cars of watermelons were shipped in 1931, compared with 90 cars in 1930.

Celery—In 1931, 950 acres of celery were harvested, with an average yield of 220 crates per acre, and production of 209,000 crates, compared with a yield of 260 crates and a production of 247,000 crates on the same acreage in 1930. Fifty-three straight cars of celery were shipped in 1931, compared with 136 cars in 1930.

Lettuce—In 1931, 6,650 acres of lettuce produced 90 crates per acre, or a total of 598,000 crates, compared with a 1930 production of 670,000 crates, or 90 crates per acre on 7,440 acres. Shipments for the 1931 season totaled 1,001 cars, compared with 1,610 cars in 1930. The San Luis valley and Grand and Routt counties lead in lettuce production.

**Carrots**—In 1931, 450 acres of carrots were harvested, with a yield of 200 bushels per acre and total production of 90,000 bushels, compared with a 1930 yield of 225 bushels and a production of 101,000 bushels on the same acreage. In 1931, 41 cars were shipped, compared with 43 cars in 1930.

Cucumber Pickles—In 1931, 1,820 acres of cucumbers were harvested for pickles, with a yield of 128 bushels per acre and production of 233,000 bushels. In 1930, 2,800 acres had a yield of 130 bushels and production of 364,000 bushels.

Tomatoes—In 1931, 3,790 acres of tomatoes were harvested, compared with 3,460 acres in 1930. Of this, 1,290 acres were for table use in 1931 and 1,230 acres in 1930. Two thousand five hundred acres were produced for manufacture in 1931 and 2,230 in 1930. One hundred ninety-five cars of tomatoes were shipped in 1931 and 138 in 1930.

Garden Peas—There were 10,000 acres of garden peas harvested in 1931, compared with 9,520 acres in 1930. Of the 1931 total, 6,500 acres were grown for market, with a yield of 75 bushels per acre and a total production of 488,000 bushels. This compares with 5,820 acres in 1930, an average yield of 75 bushels and total production of 436,000 bushels. Green pea shipments for 1931, 559 cars, were the heaviest on record and compare with 463 cars shipped in 1930. There has been a rapid expansion in the green pea acreage for market. The San Luis valley is the leading area, with an important acreage in Custer, Chaffee, Las Animas, Fremont, Jefferson and Adams counties.

Mixed Vegetables—The shipments of mixed vegetables include a considerable portion of the various vegetable crops produced, and the car-lot movement of individual crops does not fully represent the entire movement. From the 1931 crop 3.613 cars were moved, compared with 4.215 cars the previous season. Denver is the leading shipping point for mixed vegetables, although the San Luis valley ships mixed cars of peas, lettuce and cauliflower. The Western Slope moves mixed cars of onions and potatoes; the Brighton and Greeley districts ship mixed cars of onions, potatoes, cabbage and other vegetables, and growers in the Arkansas valley from Chaffee to Otero counties ship many cars of mixed vegetables.

#### FRUITS

The 1931 Colorado fruit production was materially larger than in 1930. The peach crop was the largest on record but several hundred cars were not marketed because of low prices. Pears and apples in Mesa and Delta counties were injured by spring freezes but the 1931 production was about twice that of 1930. The cherry crop was light. There has been a rapid increase in the number of apple and cherry trees in Colorado in recent years.

Apples—The 1931 apple crop was 2,090,000 bushels, compared with 1,060,000 bushels produced in 1930. Shipments from the 1931 crop were 1,096 cars, compared with 1,082 cars shipped from the 1930 crop. Delta county produces a large part of the state's apple crop, with production also important in Mesa, Montrose, Garfield, Fremont, Otero, Jefferson, Larimer and Boulder counties.

**Peaches**—The 1931 peach crop was the largest on record but growers failed to harvest several hundred cars because of very low prices. The 1931 crop production was 1,130,000 bushels, compared with 787,000 bushels for 1930. The Palisade district in Mesa county produces over 80 per cent of the Colorado peaches, with the North Fork section of Delta county of considerable commercial importance. In 1931, 1,503 cars of peaches were shipped, compared with 1,369 cars in 1930. In addition to shipments in straight cars, several hundred cars were moved by trucks, express and mixed cars. Truck movement in 1931 was unusually heavy.

**Pears**—The 1931 pear production amounted to 385,000 bushels, compared with 146,000 bushels produced in 1930 and 600,000 bushels in 1929. Pears are produced largely in the Clifton district of Mesa county, with some production in Delta county. There were 396 cars shipped from the 1931 crop, compared with 249 cars in 1930 and 1,082 cars in 1929.

**Cherries**—The 1931 cherry crop was 2,500 tons, compared with 3,500 tons produced in 1930. Cherries are produced principally in Larimer, Fremont, Jefferson, Delta, Mesa and Boulder counties. Sweet cherries are grown in Delta and Mesa counties. A large part of the Colorado cherry production is used for canning purposes.

Grapes, Plums and Small Fruits—The 1930 federal census reported 168,000 grape vines of bearing age and 37,000 vines not of bearing age in Colorado. Grapes are produced largely in Boulder, Crowley, Delta, Fremont, Garfield, Jefferson, Mesa, Montezuma, Montrose and Otero counties. The 1931 production was 280 tons, compared with 290 tons in 1930. The 1930 federal census also reports 60,000 plum and prune trees of bearing age. The counties of major importance are Delta, Garfield, Jefferson, Larimer, Mesa, Montezuma, and Montrose counties. The 1930 federal census showed 658 acres of strawberries, 973 acres of raspberries and 296 acres of other small fruits. The federal census for 1920 reported 653 acres of strawberries, 600 acres of raspberries and 545 acres of small fruits.

United States Crops—On pages  $\delta$  and  $\vartheta$  will be found tables showing the acreage, production and value of the principal crops produced in the United States.

#### LIVESTOCK

Information and tables covering livestock will be found in another section of this bulletin.

### SUMMARY OF THE ACREAGE, PRODUCTION AND VALUE OF PRINCIPAL CROPS IN THE UNITED STATES, 1931, 1930 AND 1929, AND COLORADO'S PROPORTION OF TOTALS

Crop and				Price		Colors of l	ado's Per U. S. Tot	Cent als
Year	Acreage	Production	Unit	Per Unit	Value	Acre- age	Pro- duction	Value
Corn: 1931 1930 1929	104,970,000 100,743,000 97,806,000	2,556,863,000 2,060,185,000 2,535,386,000	Bu. Bu. Bu.	\$ .360 .655 .774	\$ 920,142,000 1,349,218,000 1,962,832,000	$1.75 \\ 1.72 \\ 1.57$	.75 1.89 .88	.84 1.79 .85
All Wheat: 1931 1930 1929	54,941,000 61,138,000 62,671,000	892,271,000 858,160,000 812,573,000	Bu. Bu. Bu.	$.443 \\ .600 \\ 1.035$	395,600,000 514,847,000 841,385,000	$2.54 \\ 2.67 \\ 2.46$	1.86 2.72 2.21	1.81 2.41 1.98
Oats (Grain) : 1931 1930 1929	39,722,000 39,729,000 38,148,000	1,112,142,000 1,277,764,000 1,118,414,000	Bu. Bu. Bu.	.231 .315 .426	256,483,000 402,713,000 475,998,000	.37 .49 .53	.31 .47 .53	.40 .64 .59
Barley: 1931 1930 1929	11,471,000 12,662,000 13,523,000	198,965,000 304,601,000 280,242,000	Bu. Bu. Bu.	$.352 \\ .389 \\ .544$	70,119,000 118,359,000 152,334,000	3.99 4.52 4.50	3.57 4.04 3.91	$3.14 \\ 4.16 \\ 3.88$
Rye: 1931 1930 1929	3,143,000 3,543,000 3,054,000	32,746,000 45,379,000 34,950,000	Bu. Bu. Bu.	$.387 \\ .384 \\ .849$	$12,673,000 \\ 17,419,000 \\ 29,685,000$	$1.69 \\ 2.09 \\ 2.10$	$1.13 \\ 1.39 \\ 1.46$	.91 1.34 1.23
Flaxseed: 1931 1930 1929	2,313,000 3,732,000 3.047,000	11,018,000 21,240,000 15,910,000	Bu. Bu. Bu.	$1.202 \\ 1.398 \\ 2.843$	13,243,000 29,684,000 45,240,000			 
Rice, 4 States: 1931 1930 1929	970,000 959,000 860,000	45,014,000 44,299,000 40,604,000	Bu. Bu. Bu.	.609 .782 1.002	27,402,000 34,631,000 40,666,000			
Tobacco: 1931 1930 1929	2,019,000 2,101,100 1,987,300	1,610,098,000 1,635,210,000 1,537,193,000	Lbs. Lbs. Lbs.	.097 .129	156,097,000 211,102,000 286,104,000			
Cotton: 1931 1930 1929	40,495,000 45,091,000 45,793,000	16,918,000 13,982,000 14 828 000	Bale Bale Bale	.057 .095 .164	485,611,000 659,455,000 1 217 829 000			
Grain Sorghums: 1931 1930	7,152,000	104,529,000 64,416,000	Bu. Bu.	.300 .636 705	31,370,000 40,949,000	2.67 2.73	2.01	1.54
Hay, Tame: 1981 1930 1929_	53,449,000 52,622,000 55,019,000	64,233,000 63,463,000 76 114 000	Ton Ton Ton	9.06 12.62 12.19	581,833,000 800,694,000 928 104 000	2.35 2.46 2.28	2.56 3.49 2.96	2.15 2.54 2.79
Hay, Wild: 1931 1930 1929	11,977,000 13,793,000 13,586,000	8,133,000 10,751,000 11,194,000	Ton Ton Ton	$6.18 \\ 7.10 \\ 8.04$	50,277,000 76,345,000 89,975,000	3.02 2.65 2.66	3.57 3.40 3.07	4.33 4.22 3.94
Sweet Sorghums (forage and hay):				5.00	00.005.000			0.72
1931 1930 1929 Clover Seed (Red	2,333,000 1,818,000 1,850,000	3,676,000 2,760,000 3,253,000	Ton Ton Ton	5.69 8.95 8.92	20,925,000 24,703,000 29,010,000	5.67 5.68	4.49 8.22 5.81	5.79 5.21
and Alsike) : . 1931 1930 1929	885,300 1.076.000 1,789,000	1,222,100 1,523,100 2,627,300	Bu. Bu. Bu.	$7.15 \\ 11.78 \\ 10.28$	8,732,000 17,942,000 26,997,000			
Alfalfa Seed : 1931 1930	353,600 419,900 401 400	852,600 1,145,400 982,400	Bu. Bu. Bu	6.51 9.88	5,550,000 11,313,000 10,977,000	5.66 5.12 3.24	7.04 5.63 5.29	$7.03 \\ 4.79 \\ 4.78$
Dry Beans: 1931 1930	1,860,000 2,091,000 1,836,000	12,705,000 13,759,000	100-lb. bag 100-lb. bag 100-lb. bag	2.46 3.90 6.27	31,199,000 53,719,000 76,765,000	17.20 20.66 20.26	6.50 18.84	4.77 10.86 7.85
Potatoes, White: 1931 1930 1929	3,382,000 3,038,000 2,978,000	376,248,000 333,210,000 329,134,000	Bu. Bu. Bu.	.429 .890 1.288	161,264,000 296,505,000 423,896,000	2.99 3.03 3.02	2.555.254.46	1.78 3.54 3.81

#### STATE OF COLORADO

#### SUMMARY OF THE ACREAGE, PRODUCTION AND VALUE OF PRINCIPAL CROPS IN THE UNITED STATES, 1931, 1930 AND 1929, AND COLORADO'S PROPORTION OF TOTALS—Continued

Crop and				Price		Color: of	ado's Pei U. S. Toi	r Cent tals
Year	Acreage	Production	Unit	Per Unit	Value	Acre- age	Pro- duction	Value
Sugar Beets : 1931 1930 1929	720,000 775,000 687,000	7,933,000 9,199,000 7,315,000	Ton Ton Ton	\$ 5,919 7.142 7.082	\$ 46,958,000 65,697,000 51,805,000	31.39 31.23 30.57	31.98 36.00 35.71	29.72 34.82 34.95
Broomcorn : 1931 1930 1929	309,000 391,000 310,000	47,900 49,800 47,300	Ton Ton Ton	51.15 73.61 122.83	2,450,000 3,666,000 5,810,000	14.89 19.69 20.65	12.11 20.88 19.45	9.96 14.46 17.73
TRUCK CROPS							1	j
Snap Beans : 1931 1930 1929	168,110 189,270 159,420	$\begin{array}{c} 184,500\\ 214,000\\ 199,500\end{array}$	Ton Ton Ton	87.42 92.16 101.84	15,970,000 19,336,000 20,322,000	$1.75 \\ 2.03 \\ 2.38$	$3.61 \\ 7.72 \\ 6.47$	2.08 4.97 3.52
Cabbage: 1931 1930 1929	146,010 148,990 142,820	992,800 998,500 1,035,600	Ton Ton Ton	$10.03 \\ 18.62 \\ 18.51$	9,758, <b>0</b> 00 18,588,000 19,169,000	2.60 2.62 2.31	3.18 4.88 3.38	4.81 2.26 3.73
Cantaloupes : 1931 1930 1929	138,180 129,210 108,870	17,962,000 15,951,000 17,393,000	Crate Crate Crate	$1.00 \\ 1.21 \\ 1.31$	17,543,000 19,283,000 22,703,000	5.86 7.74 10.11	6.31 12.54 14.55	5.49 12.45 9.25
Cauliflower: 1931 1930 1929	27,910 27,560 25,070	7,087,000 5.843,000 6,797,000	Crate Crate Crate	.74 .82 .78	5.270,000 4,783,000 5,288,000	$13.97 \\ 10.16 \\ 12.76$	$14.31 \\ 15.33 \\ 16.95$	13.47 14.99 15.24
Lettuce: 1931 1930 1929	176,960 172,620 139,160	18,569,000 19,591,000 20,220,000	Crate Crate Crate	1.44 1.71 1.82	26.664.000 33,582.000 36.794.000	3.76 4.31 5.82	3.22 3.42 4.41	2.91 1.70 3.03
Onions : 1931 1930 1929	76,680 83,060 87,340	18,857,000 26,002,000 25,489,000	Bu. Bu. Bu.	.79 .51 .74	14,171,000 13,186,000 18,735,000	5.28 6.74 8.01	4.89 6.63 10.13	4.82 4.19 5.85
Peas, Green: 1931 1930 1929	$309,060 \\ 347,880 \\ 300,940$	247,800 354,100 294,400	Ton Ton Ton	$67.96 \\ 67.46 \\ 72.63$	16,843,000 23,887,000 21,385,000	$3.24 \\ 2.74 \\ 3.49$	4.20 2.92 4.15	4.91 3.66 4.12
Tomatoes : 1931 1930 1929	448,220 560,000 460,910	1,475,500 2,216,700 1,981,900	Ton Ton Ton	$20.62 \\ 24.26 \\ 27.17$	30,425,000 53,778,000 53,849,000	.85 .62 .67	1.89 1.36 1.36	1.33 .97 .96
FRUITS								
Apples : 1931 1930 1929		211,506,000 155,982,000 135,622,000	Bu. Bu. Bu.	.577 .930 1.310	122,091,000 145,065,000 177,719,000		.99 .68 1.70	1.03 .62 1.23
Peaches: 1931 1930 1929	 	77,743,000 53,864,000 45,026,000	Bu. Bu. Bu.	.562 .887 1.354	$\begin{array}{c} 41,377,000\\ 43,825,000\\ 60,982,000 \end{array}$		$1.45 \\ 1.46 \\ 2.12$	1.37 2.60 2.27
Pears : 1931 1930 1929		23,009,000 25,540,000 21,172,000	Bu. Bu. Bu.	$.602 \\ .749 \\ 1.427$	13.567.000 18,158.000 30.202.000		1.67 .57 2.83	$1.70 \\ 1.05 \\ 2.75$
Cherries: 1931 1930 1929		$108,090 \\ 115,250 \\ 93,130$	Ton Ton Ton	79.77 129.47 165.18	3 8,383,000 14,921,000 15,383,000	 	2.31 3.04 5.48	2.09 2.11 3.98
Crops not listed: 1931 1930 1929	6,707,370 5,960,410 4,925,770				522,860,000 681,496,000 853,424,000			
Totals: 1931 1930 1929	350,672,000 359,927,000 357,827,000				\$4,122.850,000 5,818,849,000 8,088,494,000	1.92 2.01 1.90		1.54 2.14 1.66

Totals	<pre>\$ 2,096,690 538,360 787,830 195,200</pre>	2,666,000 1,068,620 1,695,250	206,610 625,710 10,220	916,470 710,490 735,840 409,750	1,728,300	37,340 310,820	$\begin{array}{c} 431,620\\727,380\\695,370\end{array}$	661,100	$1,001,290\\12,830\\360,040\\420,610$	31,910 $342,760$	716,370 947,470	$\begin{array}{c} 485,410\\ 1,349,110\end{array}$
Miscel- laneous Crops	\$ 567,770 101,420 65,230 2,200	242,200 363,760 164,830	102,390 4,910	$ \begin{array}{r} 316,730\\ 506,660\\ 474,970\\ 133,920\end{array} $	93,340	1,400 5,380	38,830 22,160 45,490	272,100	$\begin{array}{c} 46,000\\ 2,190\\ 86,940\\ 3,210\end{array}$	21,300	1,220 384,790	11,200 $18,580$
Fruits	\$ 6,900 150 6,210 270	$\begin{array}{c} 740\\ 1,410\\ 31,960\end{array}$	5,700	5,100 40	854,520	210	1,000 1,200 1,200	158,960	37,300	1,850		200 680
All Hay	\$ 257,890 274,620 196,810 159,170	$\begin{array}{c} 36,970\\ 242,050\\ 371,950\end{array}$	72,800 25,740	308,220 308,220 118,160 68,390 212,300	404,910	9,730	$\begin{array}{c} 309,340 \\ 116,290 \\ 138,270 \end{array}$	164,840	$\begin{array}{c} 592,960\\ 9,140\\ 259,870\\ 409,940\end{array}$	30,580 250,680	712,840 235,350	$14,270 \\ 68,820$
Sugar Beets	\$ 705,430 15,340 78,480	166,340 652,360		1,870	160,760		53,130		97,460	2,970	52,080	
Sorghums	\$ 27,620 -24,690	213,480 36,800 100	76,760	11,820	60	4,230	19,580	390	130	1,380	400	136,160 100,520
Dry Beans	\$ 87,770 120 85,910 180	33,220 9,640 1,850	330	8,070 8,070 4,690 13,790	1,840	4,820	202,160 178,890	160	380	6.370	£90	1,620 11,440
Potatoes	\$ 5,810 104,900 8,820	80 60 10,000	9,760 580	$\begin{array}{c} 161,500\\ 25,050\\ 42,310\\ \end{array}$	52,630	3,800	$     \begin{bmatrix}       51,700 \\       8,140 \\       10,380     \end{bmatrix}   $	2,910	$131,500 \\ 1,080 \\ 1,580 \\ 2,770 \\ 2,770 \\ 2,770 \\ 2,770 \\ 2,770 \\ 2,770 \\ 2,770 \\ 3,$	180 7,430	1,230 16,940	90 7,080
Rye	\$ 1,640 2,420	1,660	240	110		5,520	6,990 7,680	30	40 160 40	10	150	180 5,480
Barley	\$ 54,140 17,930 31,280 1,660	16,600 $38,670$ $98,490$	$^{8,020}_{29,090}$	57,230 25,390 8,630 3,250	22,770	4,860	5,340 17,330 3,780	1,730	15,820 $40$ $3,400$ $1,560$	1,560	- 320 32,980	7,960 127,280
Oats	\$ 13,920 14,280 16,690 10,400	1,310 8,330 68,070	4,250 2,130	25,380 9,990 3,590 7,120	24,600	1,050 24,510	$15,670 \\ 14,160 \\ 25,280 \\ \end{array}$	7,560	24,580 250 7,330 1,960	700 8,430	760 28,100	11,220
Wheat	\$225,760 9,540 182,940 8,520	$\substack{1,638,600\\37,500\\153,860}$	3,320 78,000	36,280 19,620 5,520 5,230	33,420	10,610 24,070	9,620 101,750 22,200	4,500	40,670 40 640 950	9,890	73,910	37,970 381,380
Corn	$\begin{array}{c} \$ & 142.040 \\ 60 \\ 96.810 \\ 3.980 \end{array}$	481,140 163,970 141,780	404,040 120	1,010 770 35,480 5,400	79,450	4,560	217,620 178,690	47,980	14,450	30,890	37,480	275,570 616,630
COUNTY	A dams A lamosa A rapahoe A rchuleta	BacaBentBoulder	Chaffee Cheyenne Clear Creek	Conejos Costilla Crowley Custer	Delta	Douglas	EagleElbertEl Paso	Fremont	Garfield Gilpin Grand Gunnison	Hinsdale Huerfano	Jackson	Kit Carson

FARM VALUE OF CROPS BY COUNTIES, 1931

10

AGRICULTURAL STATISTICS

$\begin{array}{c} 41,239\\ 596,470\\ 596,470\\ 3,251,590\\ 851,690\\ 747,810\\ 2,861,580\end{array}$	2,030,120 20,800 349,370 569,440 1,172,230 2,786,480	$\begin{array}{c} 1,885,470\\ 152,250\\ 261,800\\ 007,400\\ \end{array}$	113,390 1,094,290 1,873,210	401,720 1,080,080 686,650	580,800	97,760 900,910 61,690	104,860	1,486,090 11,648,810	1,994,850	\$ 63,533,610
200 18,560 147,760 157,320 128,320 128,360	211,730 24,530 15,000 155,960 128,700	948,360 400 1,770	76,010 867,080	$\begin{array}{c} 7,560\\ 374,710\\ 188,560\end{array}$	36,930	1,410 25,700 40	13,950	38,060 865,930	44,640	\$ 8,611,030
$\begin{array}{c} 15,840\\ 198,260\\ 1,150\\ 1,150\\ 640\\ 640\\ \end{array}$	833,770 833,770 86,890 33,340 1,270	10,820 640	460 680 8,370	$\frac{440}{720}$	500	280		1,360 8,240	3,010	\$ 2,412,580
$\begin{array}{c} 41,030\\ 333,560\\ 743,490\\ 214,210\\ 99,540\\ 433,590\end{array}$	$\begin{array}{c} 520,430\\ 20,630\\ 243,470\\ 243,470\\ 452,080\\ 452,080\\ 414,810\\ \end{array}$	$\begin{array}{c} 251,920\\ 122,040\\ 237,490\\ 44,440\end{array}$	$\begin{array}{c} 67,850\\ 263,600\\ 224,320\end{array}$	352,100 291,270 394,070	364,720	77,340 119,910 60,120	66,120	186,860 1,435,800	116,000	\$14,692,000
1,574,380 68,050 1,075,030	106,590 	501,490	242,990	2,750		297,940		32,120 5,961,630		\$13,954,000
2,540 2,540 28,240 61,880 66,360	$\begin{array}{c} 1.040 \\ -1.070 \\ 2.000 \\ 32.000 \end{array}$	6,330	85,230 9,610		1	3,610		60,530 45,750	142,890	\$1,275,000
3,830 8,990 106,240 79,710 21,340	$\begin{array}{r} 49,740 \\ - & 380 \\ - & 380 \\ 47,460 \\ 4,190 \\ 4,190 \\ 65,910 \end{array}$	29,560	1,440	1,200	120	870		53,530 294,450	3,830	\$1,487,000
62,480 33,280 2,430 4,590 28,710	89,960 110 13,520 45,380 268,140 76,470	21,960 21,960	36,330 50 280	1,820 337,660 12,940	153,360	4,640 18,390 360	22,500	3,980 951,700	4,830	\$ 2,878,000
600 640 640 640 640 620 2,120 2,880	90 2,240 160 2,380	140	400 160	160		1,020 80	50	7,150 12,040	46,800	\$115,000
22,820 175,770 19,510 36,740 36,740	14,100 $-5,020$ $10,370$ $22,330$ $22,330$ $114,370$	27,060 2,430 2,430 2,430	50,510 50,510 19,880	2,670 26,140 19,410	7,850	1,990 48,920 290	330	106,200 596,830	53,740	\$2,201,000
49,010 58,390 14,030 1,350 34,130	22,880 -20,780 43,470 39,270 39,270 17,850	19,300 9,610 430	4,280 13,120 11,310	21,490 24,490 44,640	10,170	2.430 21.110 560	1,520	9,640 112,330	10,440	\$1,021,000
74,630 74,630 200,400 40,050 199,240 431,160	40,820 29,890 37,350 80,910 80,910 104,590	12,960 7,700 80 80	219,880 219,880 56,780	15,480 20,980 24,610	7,110	6,280 202,480 240	180	404,940 818,760	604,200	\$ 7,176,000
15.190 15.190 197,710 1997,710 250,170 497,770	138,970 $7,930$ $31,720$ $67,250$ $323,110$	77,420 1,040	140,380	160	40	161,050	21.0	581,720 545,350	964,470	\$ 7,711,000
Lake La Plata Larimer Las Animas Logan	Mesa Mineral Montazuma Montrose Morgan	Ouray Duray Park	Pitkin Prowers	Rio Blanco Rio Grande Routt	Saguache	San Miguel Sedgwick Summit	Teller	Washington	Yuma	State

Note-Miscellaneous Crops include field peas, broomcorn, garden peas, snap beans, cantaloupes for market and seed, cucumbers for pickles and seed, cabbage and kraut, celery, lettuce, cauliflower, tomatoes, waternelons, onions, asparague, graden beets, spinach, carrots, pumpkin and squash, sweet corn, sugar beet tops, rye for pasture, millet seed, allaffa seed, sweet clover seed, red clover and other minor farm garden crops. Fruits include apples, peare, peare, cherries, grapes, plums, apricots, strawberries, ctc.

STATE OF COLORADO

#### COLORADO CROP ACREAGE, PRODUCTION AND VALUE, 1931

		PROD	UCTION	FARM VALU	JE DECEN	IBER 1st
KIND OF CROP	Acreage	Per Acre	Total	Unit	Per Unit	Total
Winter Wheat	1,218,000	12.0	14,616,000	Bus.	\$ .43	\$ 6,285,000
Spring Wheat	176,000	11.0	1,936,000	Bus.	.46	891,000
Corn	1,836,000	10.5	19,278,000	Bus.	.40	7,711,000
Oats for Grain <sup>1</sup>	148,000	23.0	3,404,000	Bus.	.30	1,021,000
Barley for Grain	458,000	15.5	7,099,000	Bus.	.31	2,201,000
Rye for Grain	53,000	7.0	371,000	Bus.	.31	115,000
Grain Sorghums	191,000	11.0	2.101.000	Bus.	.23	483,000
Sweet Sorghums	118,000	1.40	165,000	Tons	4.80	792,000
Broomcorn*	46,000	250.0	5,800	Tons	42.00	244,000
Field Peas	49,000	9.0	441,000	Bus.	.54	238,000
Dry Boons	320,000	2.58	826.000	100-lb, Bags.	1.80	1.487.009
Potatoes	101 000	95.0	9.595.000	Bus.	.30	2.878.000
Sugar Boote	226 000	11 23	2 537 000	Tons	5.50	13,954,000
Cabhaga	3 800	8.31	31,600	Tons	14.84	469.000
Oniona	4 050	228.0	923 000	Bus.	.74	683.000
Cardiformen	8,000	260.0	1 014 000	Crs	70	710.000
Caulillower	2 500	7.0	17 500	Tons	10.50	184 000
Tomatoes for Manufacturing	1 200	286.0	369.000	Rus	60	221 000
Cantaloupes and Honeydew Mel- ons for Market	8,100	140.0	1,134,000	Crs.	.85	964,000
Cantaloupes and Honeydew Mel-	,					
ons for Seed	1,800	227.0	408,050	Lbs.	.28	114,260
Watermelons	1,120	300.0	336,000	Nos.	.15	5,000
Cucumbers for Pickles	1,820	128.0	233,000	Bus.	.48	112,000
Cucumbers for Seed	2,200	313.0	688.400	Lbs.	.25	172,110
Snap Beans for Manufacturing_	1,050	1.9	2,000	Tons	43.20	86,000
Snap Beans for Market	1,890	154.0	291,000	Bus.	.85	247,000
Peas (Green) for Manufactur'g-	3,500	1480.0	5,180,000	Lbs.	.023	119,000
Peas (Green) for Market	6,500	75.0	488,000	Bus.	1.45	708,000
Lettuce	6,650	90.0	598,000	Crs.	1.30	777,000
Celery	950	220.0	209.000	2/3 Crs.	1.20	251,000
Spinach	500	150.0	75,000	Bus.	.25	19,000
Millet Seed <sup>2</sup>	18,000	8.5	153,000	Bus.	.41	62,700
Alfalfa Seed	20,000	3.0	60,000	Bus.	6.50	390,000
All other Farm, Garden and Seed Crops not listed separ-	00.005					1 006 540
ately	22,805		1.045.000		7.00	10 517 000
Tame Hay, All Varieties	1,258,000	1.32	1,647,000	Tons	7.60	12,517,000
Wild Hay	362,000	.80	290,000	Tons	7.50	2,175,000
Apples			2,090,000	Bus.	.60	1,284,000
Peaches			1,130,000	Bus.	.50	565,000
Pears	;-		385,000	Bus.	.60	231,000
Cherries			2,500	Tons	70.00	175,000
Miscellaneous Fruits <sup>3</sup>	32,500					128,000
Sugar Beet Tops						678,000
Rye for Pasture	30,000					75,000
Totals	6,734,925					\$63,488,610

\*County statistics for broomcorn in 1929-30-31 appear on page 26.

In addition to the acreage harvested for grain, there is a large acreage of oats cut green for hay, this additional acreage appearing in the hay table.

"This acreage of millet saved for seed is in addition to the area harvested for hay as shown in the hay table.

"This acreage includes the total acreage of tree, bush and miscellaneous fruits for the state, but the value shown in the last column includes only fruits not separately listed above.

# HARVESTED ACREAGE OF ALL CROPS, 1931

									1				Snap Beans			-			GAR	DEN PEA	s	CUC	CUMBERS	8	C	ABBAGE		TO	MATOES		CANTA HONEY	LOUPES DEW ME	AND LONS	All	Total	······
COUNTY	Wheat	Corn	Oats	Barley	Potatoes	Rye	Sugar Beets	Sor- ghums	Dry Beans	Hay	Broom- corn	Field Peas	for Canning and Market	Lettuce	Celery	Cauli- flower	Water- melons	Onions -	For Market	For Mfg.	Total	For Pickles	For Seed	Total	Early	Late	Total	For Market	For Mfg.	Total	For Market	For Seed	Total	Other Crops	Harvested Acreage	COUNTY
Adams Alamosa Arapahoe Archuleta	53,680 1,370 42,080 1,680	$\begin{array}{r} 43,390\\10\\31,040\\940\end{array}$	1,600 2,070 2,410 2,160	$\begin{array}{r}12,480\\2,410\\9,530\\310\end{array}$	$\begin{array}{r} 240 \\ 5,640 \\ 15 \\ 410 \end{array}$	1,180 1,110	11,350 680 1,170	5,390 5,030	$25,590 \\ 10 \\ 20,340 \\ 40$	23,880 37,620 19,500 16,720	20 	20 3,200 	360  25 	250 70 20	310  30 	210 145 	20 	150 20	30 80 5	440 	470 80 5	275  		275	510 105	315 5 60	825 5 165	60  20	290 	350  20 	110  	· · · · · · · · · · · · · · · · · · ·	110  	$1,770 \\ 740 \\ 440 \\ 130$	183,920 54,050 132,950 22,390	AdamsAlamosaArapahoe Arapahoe
Baca Bent Boulder	237,750 3,850 14,470	$\substack{108,870\\28,720\\14,420}$	$200 \\ 800 \\ 5,310$	6,880 4,760 9,420	5 5 250	$790 \\ 45 \\ 30$	4,320 10,590	70,550 13,340 10	$6,110 \\ 2,080 \\ 420$	$4,560 \\ 26,690 \\ 30,470$	39,560 610 	60 300	 225	· · · · · · · · 5		· · · · · · · · ·	$\begin{array}{c} 10\\65\\10\end{array}$	200	····5 ····	 1,230	5 1,230			···· 80		 5 85	 5 160	···· 5 20	 190	$\begin{array}{c} \dots \\ 5\\ 210 \end{array}$	1,430 20	· · · · · · · · ·	1,430 20	835 4,540 955	476,180, 91,470 88,590	Baca Bent Boulder
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	$510 \\ 17,820 \\ \\ 4,140 \\ 2,100 \\ 270 \\ 640$	$10 \\ 101,010 \\ 10 \\ 120 \\ 80 \\ 9,400 \\ 780$	$\begin{array}{r} 620 \\ 790 \\ 10 \\ 2,350 \\ 900 \\ 500 \\ 1,210 \end{array}$	$1,180 \\ 11,730 \\ \\ 7,100 \\ 3,150 \\ 1,240 \\ 870 \\ \end{array}$	$\begin{array}{r} 465 \\ 65 \\ 35 \\ 7,180 \\ 1,670 \\ 5 \\ 3,620 \end{array}$	160  30 95	 50 5,790	17,710  2,940 25	40 980 540 420 2,740	9,590 3,980 1,280 40,910 12,580 9,010 20,320	· · · · · · · · · · · · · · · · · · ·	1,210  6,990 10,980  360	5   40 	390  270 500  140	5  	20 240 1,430 135	5  60 	215	320 1,830 1,080 800	····· ···· ···· ····	320  1,830 1,080  800	· · · · · · · · · · · · · · · · · · ·	···· ···· ··· 10	···· ···· 10	···· ···· 10 5 ····	20  15 65 5 10	20  15 75 10 10	···· ···· 105	· · · · · · · · · · · · · · · · · · ·	···· ···· 105	3,060	····· ···· 90	3,150	265 710 730 285 1,035 90	$\begin{array}{c} 14,655\\ 154,955\\ 1,335\\ 72,465\\ 35,250\\ 36,550\\ 29,095\\ \end{array}$	Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer
Delta Denver Dolores Douglas	3,350 1,400 5,750	5,100 1,140 17 620	2,000 500 7.020	2,040  110 1 410	1,290  195 290	60 2 575	2,320	10 140 750	160 1,070 1,690	29,690 1,180 17,930	60 	30	60 		5		30	255	5  		5		30 	30 	3	2	5  	10 		10 	25  	· · · · · · · · · · · · · · · · · · ·	25  	9,510  35 195	55,985 5,840 55,230	Delta Denver Dolores Douglas
Eagle Elbert El Paso	950 25,950 5,870	10 60,450 61,900	1,200 5,900 8,340	560 7,980 1,320	1,155 775 765	4,080 4,765	1,110	4,140 5,630	51,020 40,740	24,120 26,240 29,380		60 110 30	···· ···· 5	260  10	10		 	···· ····5	40 5	····	40 5			 	 35	 35	 	···· ···· 5	····	  5		····	· · · · · · · · ·	$105 \\ 875 \\ 640$	28,460 187,520 160,600	Eagle Elbert El Paso
Fremont Garfield Gilpin Grand	530 5,590 10 90	4,140 1,080 i0	1,080 2,100 60 740	390 1,920 10 380	260 2,920 80 130	50 45  80	 1,720 	70 25 	40 30 20	13,630 41,430 1,290 30,850	· · · · · · · · · · · · · · · · · · ·	110 30 50	390  	$     \begin{array}{r}         180 \\         60 \\         15 \\         710     \end{array} $	95 	185	····	15 	160 5 	·····	160 5 	····		····	100 2 	120 3 	220 5 	135 5 		135 5 	30  	180 	210  	4,140 2,175 5 100	26,030 59,140 1,540 33,090	Fremont Garfield Gilpin Grand
Gunnison Hinsdale Huerfano	130  1,430		350 60 1,120	270  320	205 5 390	20 35	  40	300	 1,310	49,240 3,650 21,250		 120	···· ···i				 10								····· ····	····	····· ····	····		•••••		····	····	475	3,725 32,210	Hinsdale Huerfano
Jackson Jefferson Kiowa Kit Carson	8,230 6,910 88,160	4,830 76,550 171,300	$^{110}_{3,770}_{80}_{3,740}$	50 3,960 4,280 58,300	70 605 10 590	10 90 85 3,785	740	100 27,635 21,150	110 450 3,120	93,000 19,750 3,130 13,120	 720 60	···· ···· 10	 150 	140 	295 	85 	10 	50 	510 	····	510 		····	 	55 	···• 90	 145 	410 	· · · · · · · · ·	410 	``io 	 10	10 10	30 2,600 530 1,305	93,270 46,590 120,390 364,640	Jackson Jefferson Kiowa Kit Carson
Lake La Plata Larimer Las Animas Lincoln Logan	$\begin{array}{c} 8,850\\ 23,310\\ 6,250\\ 50,630\\ 126,600\\ 4,210\end{array}$	2,340 13,700 41,420 89,350 116,400	4,320 5,010 2,590 500 5,790	2,480 16,130 4,670 19,470 42,010	1,405 855 170 340 1,410	45 300 420 1,720 6,050	22,190 1,190 18,440	90 440 8,240 19,425 9,670	720 1,390 16,200 26,040 4,620	7,310 29,530 62,760 26,030 18,260 44,950	1,050	50 460 110	 40 10  5	5 190 	555	· · · · · · · · · · · · ·	···· ···· 15	···· 5 ···· 5	700	1,085	1,085 700	···· ···· 135	20  250	20 135 320	 15 3  5	25 2 15	40 5  20	10 10 10 10 25	50  680	60 10 10 705	 5 15  10 205	20  70	 5 35  10 275	51,3054,2251,7157053,64010,200	$\begin{array}{r} 7,315\\ 51,145\\ 152,010\\ 111,030\\ 226,440\\ 379,780\\ 72,670\end{array}$	Lake La Plata Larimer Las Animas Lincoln Logan Mesa
Mesa Mineral Moffat Montezuma Montrose Morgan	4,210 6,830 7,660 8,140 30,070	9,270 1,640 6,130 4,670 81,790	2,160 3,540 5,240 3,680 2,040	1,720 1,020 1,920 2,320 15,840	2,110 5 950 1,625 5,230 1,780	2,300 95 20 4,925	1,730  820 23,190	170 440 5 6,280	3,340 70 8,790 340 15,760	3,110 29,870 21,920 37,220 39,630	· · · · · · · · · · · · · · · · · · ·	20 50 10 420	20  5 175 20	····	  5		 20 5	600				255		255	10  2 10 5	···· ···· 3 5 5	 5 15 10	20  10 5 10		 10 5 10	200 25  10	····	25  10	770 1,780 2,435 1,820	3,115 47,180 55,715 65,690 223,855	Mineral Moffat Montezuma Montrose Morgan
Otero Ouray Park. Phillips Pittin	$1,160 \\ 1,170 \\ 20 \\ 110,200 \\ 280$	10,760 260 82,920	$1,700 \\ 900 \\ 130 \\ 6,400 \\ 420$	3,480 410 20 16,620	$5 \\ 255 \\ 1,830 \\ 125 \\ 865 $	60  3,480	11,690 	1,630  6,180	2,900 10  210	$23,730 \\11,580 \\43,080 \\5,910 \\0.020$	·····	30  40	175 	 10	10 	10 	505   5	1,53 <b>5</b>  	····· ····	····· ····	····· ····	535	1,060 	1,595  	10 	30  	40  	30 	920 	950 	2,030	1,220 	3,250	6,910 60 15 1,205 20	$\begin{array}{c} 72,125\\ 14,645\\ 45,105\\ 233,295\\ 11,710 \end{array}$	Otero Ouray Park Phillips Pitkin
Prowers. Pueblo Rio Blanco Rio Grande	$\begin{array}{r} 230\\ 34,210\\ 9,540\\ 2,540\\ 3,250 \end{array}$	31,160 29,880 30	1,600 1,610 2,070 3,710	10,500 2,990 460 4,960	865 5 20 95 14,630	135 195 115 105	7,890 7,540	27,150 3,290	240 15,240  110	9,930 38,540 21,600 38,640 43,490	3,910	16,990	390	15	150	1,380 1,380	145	565	80	·····	80		830	830	135	310 5	 445 	10 130 		10 130 	 950 	200	1,150 	2,495 2,490 580 180	157,910 99,595 44,490 89,950	Prowers Pueblo Rio Blanco Rio Grande
Routt Saguache San Juan San Miguel Sedgwick Summit	4,820 1,170 	10 380 36,310	$9,000 \\ 2,260 \\ 300 \\ 4,210 \\ 90$	4,410 1,810 570 14,720 80	1,190 7,100  190 740 30	180  70 1,750 40	4,880	 50 750	10 230 60	47,280 75,610 9,200 12,890 8,800	····· ···· ····	50 6,910  	····· ···· ····	1,540 15  	····· ···· ····	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · ·	10  	····	10 	·····	·····	· · · · · · · · · · · · · · · · · · ·	····· ···· ····	···· ···· 5	···· ···· 5	····· ···· ····	· · · · · · · · · · · · · · · · · · ·	····· ···· ····	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	410 60  55 360 	68,890 94,955 11,945 142,605 9,080	
Teller Washington Weld Yuma	40 90,950 131,470 129,050	40 160,530 101,380 267,340	390 3,520 12,230 3,490	90 45,660 69,960 19,260	1,875 345 26,130 350	90 6,725 11,110 23,885	460 86,020	14,025 7,790 28,190	16,520 47,010 1,120	11,160 33,400 132,670 19,780	····	 190 	 830 	110  40 	···· ···· ····	····	5 140 10	 370	····· 10	···· 745	····· 755	 470	·····	····· 470	 495 5	 940 5	1,435 10	260 5	 370	 630 5	 160 	 10	····· 170	40 4,180 5,155 5,660	13,835 376,510 635,770 498,150	Teller Washington Weld Yuma
State	1,394,000	1,836,000	148,000	458,000	101,000	83,000	226,000	309,000	320,000	1,620,000	46,000	49,000	2,940	6,650	950	3,900	1,120	4,050	6,500	3,500	10,000	1,820	2,200	4,020	1,600	2,200	3,800	1,290	2,500	3,790	8,100	1,800	9,900	93,805	6,734,925	State

•

"All Other Crops" includes acreages for fruit crops (tree, bush and vine), alfalfa seed, clover seed, millet seed, garden crops to be consumed by the farmer, and commercial crops such as asparagus, garden beets, spinach. carrots, pumpkin and squash, etc.

#### STATE OF COLORADO

#### PER CENT OF HARVESTED AREA DEVOTED TO PRINCIPAL CROPS IN 1931

										· · · · · · · · · · · · · · · · · · ·
COUNTY	Corn	Oats	Barley	Winter Wheat	Spring Wheat	Pota- toes	Dry Beans	All Sor- ghums	Al- falfa	Sugar Beets
Adams Alamosa Arapahoe Archuleta	23.59 0.02 23.35 4.20	0.87 3.83 1.81 9.62	6.79 4.46 7.17 1.38	26.15 0.09 27.45 1.65	3.03 2.44 4.20 5.85	$0.13 \\10.43 \\0.01 \\1.83$	13.91 0.02 15.30 0.18	2.93 3.78	9.15 21.92 9.74 21.35	6.17 1.26 0.88
Baca Bent Boulder	$22.86 \\ 31.40 \\ 16.28$	0.04 0.87 5.99	$1.44 \\ 5.20 \\ 10.63$	49.86 4.09 9.78	0.07 0.12 6.56	0.01 0.28	1.28 2.27 0.47	14.82 14.58 0.01	0.34 28.33 27.69	4.72 11.95
Chaffee Cheyenne Clear Creek Constilla Crowley Custer	$\begin{array}{c} 0.07 \\ 65.18 \\ 0.75 \\ 0.17 \\ 0.23 \\ 25.72 \\ 2.68 \end{array}$	$\begin{array}{r} 4.23\\ 0.51\\ 0.75\\ 3.24\\ 2.55\\ 1.37\\ 4.16\end{array}$	8.05 7.57 9.80 8.94 3.39 2.99	$0.20 \\ 9.83 \\ \hline 0.19 \\ 0.74 \\ 0.25 \\ 1.44$	3.28 1.67 5.52 5.22 0.49 0.76	$\begin{array}{c} 3.17 \\ 0.04 \\ 2.62 \\ 9.91 \\ 4.74 \\ 0.01 \\ 12.44 \end{array}$	0.27 0.63 0.75 1.19 7.50	11.43  8.04 0.09	$\begin{array}{r} 29.00\\ 0.38\\ 0.74\\ 21.04\\ 17.08\\ 23.37\\ 7.60\end{array}$	 0.07 15.83
Delta Denver Dolores Douglas	9.11 19.52 31.90	3.57 $\overline{8.56}$ 12.71	3.64 1.88 2.55	0.70 17.29 8.91	5.29 6.68 1.50	2.30 3.34 0.53	0.29 18.32 3.06	0.02 2.40 1.36	48.37 5.31 16.13	4.14
Eagle Elbert El Paso	$\begin{array}{c} 0.04 \\ 32.24 \\ 38.54 \end{array}$	$4.22 \\ 3.15 \\ 5.19$	$1.97 \\ 4.26 \\ 0.82$	0.88 10.24 1.64	$2.46 \\ 3.60 \\ 2.01$	$4.06 \\ 0.41 \\ 0.48$	$27.21 \\ 25.37$	2.21 3.51	$34.75 \\ 5.06 \\ 3.66$	0.69
Fremont Garfield Grand Gunnison	15.90 1.83 0.03	4.15 3.55 3.90 2.24 0.79	$ \begin{array}{c} 1.50 \\ 3.25 \\ 0.65 \\ 1.15 \\ 0.54 \end{array} $	0.45 0.91 0.21 0.08	1.31 8.54 0.65 0.06 0.18	1.00 4.94 5.19 0.39 0.41	0.15 0.05 1.30	0.27	28.39 65.02 2.57 4.55	2.91
Hinsdale Huerfano	16.64	1.61 3.48	0.99	2.36	2.08	$\substack{0.13\\1.21}$	4.07	0.93	1.88 44.89	0.12
Jackson Jefferson	10.37	0.12 8.09	$0.05 \\ 8.50$	11.05	6.61	$0.08 \\ 1.30$	0.24	0.21	$\begin{array}{c} 0.01\\32.93\end{array}$	1.59
Kiowa Kit Carson	63.59 46.97	0.07 1.03	$3.56 \\ 15.99$	5.57 17.52	0.17 5.01	$\substack{\textbf{0.01}\\\textbf{0.16}}$	0.37 0.86	22.95 5.80	$\substack{1.35\\0.44}$	
Lake La Plata Las Animas Lincoln Logan	4.58 9.01 37.31 39.46 20.65	8.45 3.30 2.33 0.22 1.52	4.85 10.61 4.21 8.60 11.06	1.88 12.16 4.89 19.04 31.64	$     15.43 \\     3.17 \\     0.74 \\     3.32 \\     1.69     $	2.75 0.56 0.15 0.15 0.37	$ \begin{array}{r}     1.41 \\     0.91 \\     14.59 \\     11.50 \\     1.22 \\ \end{array} $	0.18 0.29 7.42 8.58 2.55	41.04 28.39 14.55 0.86 6.36	14.60 1.07 4.86
Mesa Mineral Montezuma Montezuma Montrose Morgan	$   \begin{array}{r}     12.76 \\     \overline{3.48} \\     11.00 \\     7.11 \\     36.54   \end{array} $	2.97 7.50 9.41 5.60 0.91	$2.37 \\ 2.16 \\ 3.45 \\ 3.53 \\ 7.08 \\ $	$ \begin{array}{r} 2.37 \\ \overline{8.29} \\ 2.69 \\ 1.11 \\ 9.86 \end{array} $	$ \begin{array}{r} 3.43 \\ \hline 6.19 \\ 11.06 \\ 11.28 \\ 3.57 \end{array} $	$2.90 \\ 0.16 \\ 2.01 \\ 2.92 \\ 7.96 \\ 0.80$	$ \begin{array}{r} 4.60 \\ \hline 0.15 \\ 15.78 \\ 0.52 \\ 7.04 \end{array} $	0.33 0.36 0.79 0.01 2.81	45.33 0.32 27.87 51.94 10.25	2.38  1.25 10.36
Otero Ouray	14.92 1.78	2.36 6.15	$4.82 \\ 2.80$	$\begin{array}{c} 1.14\\ 2.32\end{array}$	0.47 5.67	0.01 1.74	4.02 0.07	2.26	$\begin{array}{c} 26.14\\ 24.31\end{array}$	16.21
Park Phillips Pitkin Prowers Pueblo	35.54 19.73 30.00	0.29 2.74 3.59 1.01 1.62	0.04 7.12 0.51 6.65 3.00	46.96 0.26 21.37 8.66	0.04 0.28 2.13 0.29 0.92	4.06 0.05 7.39 0.02	0.09 0.15 15.30	2.65 17.19 3.30	0.04 0.19 26.81 22.89 18.01	5.00
Rio Blanco Rio Grande Routt	0.03	4.65 4.12 13.06	$     \begin{array}{r}       1.03 \\       5.51 \\       6.40     \end{array} $	2.74 0.04 2.05	2.97 3.57 4.95	$0.21 \\ 16.26 \\ 1.73$	0.12		42.23 10.17 14.33	0.09
Saguache San Juan San Miguel Sedgwick Summit	0.01 3.18 25.46	2.38 2.51 2.95 0.99	$ \begin{array}{c c} 1.91 \\ \hline 4.77 \\ 10.32 \\ 0.88 \end{array} $	0.05 5.19 46.08 0.22	1.18 2.34 0.15 0.22	7.48 1.59 0.52 0.33	0.01 1.93 0.04	0.42 0.53	7.52 33.65 3.26 0.33	3.42
Teller Washington Weld	0.29 42.64 15.95	2.82 0.93 1.92	0.65	0.22 21.69 16.85	0.07 2.46 3.83	13.55 0.09 4.11	4.39 7.39	3.72 1.23	1.16 0.81 15.03	0.12 13.53
Yuma State	53.67 27.26	$\begin{array}{c} 0.70 \\ \hline 2.20 \end{array}$	3.87 6.80	$\frac{25.32}{18.08}$	0.59 2.61	$\frac{0.07}{1.50}$	0.22 4.75	$\frac{5.66}{4.59}$	0.50	3.36

# PERCENTAGE OF CROPS GROWN WITH AND WITHOUT IRRIGATION, 1931

										_
	CC	RN	0A	TS	BAR	LEY	POTA	TOES	DRY H	BEANS
COUNTY	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated
Adams Alamosa Arapahoe Archuleta	$ \begin{array}{c} 8.1 \\ 100.0 \\ 3.2 \\ 2.9 \end{array} $	91.9 96.8 97.1	80.3 100.0 48.5 17.8	$     19.7     \overline{51.5}     82.2 $	$23.3 \\100.0 \\12.0 \\39.3$	76.7 88.0 60.7	88.0 100.0 20.0 20.0	12.0 80.0 80.0	2.0 100.0 1.0 8.0	98.0 99.0 92.0
Baca Bent Boulder	.3 44.8 79.9	99.7 55.2 20.1	38.1 98.8 99.1	61.9 1.2 .9	3.9 96.3 94.7	96.1 3.7 5.3		$100.0 \\ 100.0 \\ 2.0$	1.0 14.0 24.0	99.0 86.0 76.0
Chaffee Cheyenne Clear Creek_ Conejos Costilla Crowley Custer	100.0 100.0 100.0 43.0 16.8	100.0 100.0  57.0 83.2	98.6  100.0 100.0 86.9 33.4	$ \begin{array}{r}     1.4 \\     100.0 \\     100.0 \\     \hline     13.1 \\     66.6 \\   \end{array} $	99.0 100.0 100.0 97.0 50.1	$ \begin{array}{c c} 1.0 \\ 100.0 \\ \\ \\ 3.0 \\ 49.9 \\ \end{array} $	$ \begin{array}{c c} 100.0 \\ \hline 23.0 \\ 100.0 \\ \hline 100.0 \\ \hline 6.0 \\ \end{array} $	100.0 77.0  100.0 94.0	100.0  100.0 100.0 11.0	100.0
Delta Denver Dolores Douglas	99.9	.1 100.0 98.7	100.0	 100.0 97.7	100.0	100.0	100.0	100.0	82.0	18.0 100.0 100.0
Eagle Elbert El Paso	80.0  .9	20.0 100.0 99.1	`98.2  .4	1.8 100.0 99.6	89.6 10.5	10.4 100.0 89.5	99.0 	1.0 100.0 99.0	 1.0	100.0
Fremont Garfield Gilpin Grand Gunnison	74.8 85.5 100.0	25.2 14.5 	39.9 91.0 90.4 25.5	60.1 9.0 100.0 9.6 74.5	67.4 91.3 85.2 35.2	32.6 8.7 100.0 14.8 64 8	7.0 98.0 13.0 35.0	93.0 2.0 100.0 87.0 65.0	36.0 100.0 	64.0 100.0
Hinsdale Huerfano	16.1	83.9	100.0 41.2	58.8	41.3	58.7	75.0 24.0	25.0 76.0	7.0	93.0
Jackson Jefferson	65.0	35.0	$49.0 \\ 49.2$	51.0 50.8	$92.6 \\ 80.4$	7.4 19.6	18.0 39.0	82.0 61.0	34.0	66.0
Kiowa Kit Carson_		$\begin{array}{c} 100.0\\ 100.0\end{array}$		100.0 100.0	.2	100.0 99.8		100.0 100.0	1.0	100.0 99.0
Lake La Plata Larimer Las Animas_ Lincoln Logan	28.0 50.2 9.8 	72.0 40.8 90.2 100.0 91.1	78.3 87.5 33.5 38.3	$\begin{array}{r} 21.7\\12.5\\66.5\\100.0\\61.7\end{array}$	77.4 86.7 35.9 .4 23.2	$\begin{array}{r} 22.6 \\ 13.3 \\ 64.1 \\ 99.6 \\ 76.8 \end{array}$	98.0 93.0 11.0 26.0	$ \begin{array}{r}     2.0 \\     7.0 \\     89.0 \\     100.0 \\     74.0 \end{array} $	11.0 51.0 17.0 7.0	29.0 49.0 83.0 100.0 93.0
Mesa Mineral Moffat Montezuma _ Montrose Morgan	94.9 .4 19.6 100.0 11.5	5.1 99.6 80.4 88.5	90.7 11.3 69.8 98.1 58.9	9.3 	$96.2 \\ 12.7 \\ 49.7 \\ 95.4 \\ 52.4$	$3.8 \\ \overline{} \\ 87.3 \\ 50.3 \\ 4.6 \\ 47.6 \\ $	84.0 100.0 9.0 51.0 99.0 98.0	$   \begin{array}{r}     16.0 \\     \overline{ 91.0} \\     49.0 \\     1.0 \\     2.0 \\   \end{array} $	86.0  15.0 98.0 7.0	14.0 100.0 85.0 2.0 93.0
Otero Ouray	87.4 	$\begin{smallmatrix}&12.6\\100.0\end{smallmatrix}$	99.7 87.9	.3 12.1	$95.5 \\ 37.2$	4.5 62.8	$\substack{100.0\\64.0}$	36.0	96.0	4.0 100.0
Park Phillips Pitkin Prowers Pueblo	 37.7 37.6	100.0 62.3 62.4	100.0 68.0 54.1	$   \begin{array}{r}     100.0 \\     100.0 \\     \hline     32.0 \\     45.9   \end{array} $	100.0 53.2 77.4	100.0 100.0 46.8 22.6	100.0	100.0 100.0 100.0 100.0 100.0	 36.0 10.0	100.0 64.0 90.0
Rio Blanco - Rio Grande- Routt	100.0		74.4 100.0 2.6	25.6 97.4	$19.9 \\ 100.0 \\ 1.2$	80.1 98.8	$81.0 \\ 100.0 \\ 4.0$	19.0 96.0	100.0	 
Saguache San Juan San Miguel_ Sedgwick Summit	100.0 22.1 6.8	77.9 93.2	$   \begin{array}{r}     100.0 \\     \overline{50.1} \\     20.3 \\     39.3   \end{array} $	49.9 79.7 60.7	$   \begin{array}{r}     100.0 \\     \overline{17.4} \\     16.9 \\     12.0   \end{array} $	82.6 83.1 88.0	100.0 10.0 76.0	 90.0 24.0 100.0	100.0	100.0 100.0
Teller		100.0		100.0		100.0		100.0		
Washington_ Weld	25.8	99.7 74.2	$\begin{array}{c} 6.1 \\ 74.6 \end{array}$	93.9 25.4	$\begin{array}{c}1.8\\64.1\end{array}$	98.2 35.9	4.0 97.0	96.0 3.0	28.0	100.0
Yuma ' State	.1 8.5	$\begin{array}{c} 99.9 \\ \hline 91.5 \end{array}$	46.8	$\begin{array}{c c}100.0\\\hline 53.2\end{array}$	32.6	$\begin{array}{c}100.0\\\hline 67.4\end{array}$	$\frac{9.0}{81.7}$	$\frac{91.0}{18.3}$	9.5	90.5
			·	[				I		

#### STATE OF COLORADO

#### AVERAGE YIELD, IN BUSHELS, OF PRINCIPAL CROPS PER ACRE FOR FIVE YEARS ENDING WITH 1931

	C	ORN	BAR	LEY	WINTER	WHEAT	SPRING	WHEAT	POTA	TOES
COUNTY	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated
Adams Alamosa Arapahoe Archuleta	34.34 29.33 33.21 31.34	12.29 12.93 12.21	38.22 28.63 37.45 32.80	14.07 13.34 16.12	28.21 25.25 28.55 27.27	11.02 11.81 12.30	28.53 22.44 26.40 26.70	8.34 8.41 10.77	117.82 159.22 112.31 113.84	43.08 55.80 70.57
Baca Bent Boulder	29.54 35.68 32.90	$\begin{array}{r} 12.78 \\ 12.53 \\ 14.99 \end{array}$	$27.07 \\ 34.70 \\ 39.35$	9.11 12.23 18.19	28.18 32.67 31.11	$11.90 \\ 11.80 \\ 15.78$	21.00 27.87 28.81	4.89 8.33 12.68	99.00 133.24	76.67 53.75 51.00
Chaffee Cheyenne Clear Creek Conejos Costilla Srowley Custer	41.00 29.67 28.90 30.37 35.84 34.48	11.50 12.36 22.00 11.00 11.80 14.88	32.44 34.00 31.48 29.53 34.59 29.06	12.00 10.72 21.00  9.86 12.63	25.00  24.89 30.61 30.63 28.80	18.00 7.91   14.09	24.56  22.98 22.56 23.60 25.48	6.23  12.00 12.00 11.07	122.25 100.00 155.27 106.39 60.00 114.05	59.36 54.04 40.00 48.52 85.88
Delta Denver Dolores	40.43	17.03 13.30	39.45	18.20 14.29	31.62 25.00	14.59 11.21	28.94	10.09 9.54	128.32	66.29 56.62
Douglas Eagle Elbe <del>rt</del> El Paso	30.29 34.20 31.40	14.79 13.10 12.42	29.95 40.75 38.00 31.80	17.00 18.87 12.19 11.59	24.57 23.60 23.00 28.71	12.94 16.74 10.96 12.26	24.90 31.62 27.00 24.75	10.49 15.17 8.64 7.89	207.22 91.43	60.10 75.69 59.30 63.91
Fremont Garfield Gilpin Grand	39.24 37.37 29.00	14.70 15.37	36.17 36.42 39.62	14.04 16.54 15.88 15.22	29.36 31.87 29.14	11.00 14.33 12.33	25.58 29.21 29.10	10.28 13.52 9.00 14.00	104.00 180.12 131.84	61.04 68.04 52.44 41.38
Gunnison Hinsdale Huerfano	30.00 29.03	 12.40	35.67 35.00 36.15	15.24 14.94	20.33 28.57	13.71 11.60	28.56 23.07	14.09 	142.79 129.26 114.58	69.85 79.52
Jackson Jefferson	$21.00 \\ 30.29$	14.25	$32.77 \\ 35.81$	$23.00 \\ 14.27$	30.81	15.26	28.00 28.69	11.65	94.00 132.39	101.12 68.37
Kiowa Kit Carson	30.00	$\begin{array}{r}12.12\\12.67\end{array}$	$33.00 \\ 32.00$	8.99 11.74	30.00 24.00	10.89 8.64	26.67 24.00	4.45 6.37	115.00	50.67 52.08
Lake La Plata Larimer Las Animas Lincoln Logan	30.97 33.06 35.02 32.00 33.23	14.89 14.88 11.02 12.33 14.88	34.78 43.04 31.38 28.36 37.64	14.38 16.94 8.81 9.61 15.39	29.71 32.00 26.87 30.00 29.39	12.73 16.72 8.41 9.02 11.52	25.09 29.94 23.42 20.47 27.40	11.14 12.57 5.42 6.56 9.16	145.22 140.92 138.60 85.00 129.45	74.83 66.04 60.01 58.07 65.36
Mesa Mineral Moffat Montezuma Montrose Morgan	39.49 25.36 30.04 38.74 35.60	$13.89 \\ 14.84 \\ 14.66 \\ 15.96 \\ 12.65$	34.76 37.40 39.87 31.07 36.55 41.40	15.21 20.57 13.78 13.39 14.68	31.33 29.60 26.03 32.67 27.45	12.76 16.02 12.56 14.11 10.66	27.3528.6323.3530.1628.11	9.90 13.49 10.47 9.32 7.99	107.30 135.29 132.78 129.90 145.67 161.28	54.38 68.19 63.82 46.74 57.71
Otero Ouray	86.99 40.03	12.86 10.00	$34.28 \\ 38.15$	$\begin{array}{c} 10.14\\ 15.51 \end{array}$	$\substack{33.21\\28.38}$	$\begin{array}{r} 11.01\\14.28\end{array}$	$27.95 \\ 29.21$	6.04 12.03	84.50 137.84	59.00 59.03
Park Phillips Fitkin Prowers Pueblo	35.00 32.56 35.89	16.47 11.21 12.01	36.98 33.91 35.58	17.46 16.81 18.00 9.82 11.34	28.43 29.99 30.13	$10.14 \\ 12.69 \\ 20.00 \\ 10.96 \\ 10.32$	32.67 29.20 28.95	$9.15 \\ 8.55 \\ 14.00 \\ 4.79 \\ 7.09$	80.00 183.20 84.80 75.00	63.07 73.23 40.75 68.50
Rio Blanco Rio Grande Routt	$25.76 \\ 29.00 \\ 27.33$	14.58 15.00	$36.42 \\ 28.38 \\ 42.17$	$22.30$ $\overline{24.07}$	31.78 30.27 30.61	18.12 20.47	$26.33 \\ 22.40 \\ 27.05$	15.15 18.48	$\begin{array}{r} 121.10 \\ 177.77 \\ 167.94 \end{array}$	95.44 81.74
Saguache San Juan San Miguel Sedgwick Summit	26.33 35.34 33.83	14.42 16.33	27.90 37.43 37.64 34.77	16.82 18.26 15.11	$\begin{array}{c c} 32.83 \\ \hline 27.47 \\ 31.17 \\ 26.43 \end{array}$	14.66 13.55 10.18	19.75 25.81 24.98 25.50	10.74 10.20 9.00	163.32 141.72 137.65 138.11	69.35 55.20 61.73
Teller	29 50	17.00		17.74		17.28	 9F 00	11.12		69.90
Weld	34.14	12.53	41.85	14.49	30.06	12.74	27.58	0.93 9.55	106.71	56.72 58.77
State	34.99	14.70	37.76	13.80	80.35	12.12	26.62	8.63	126.86	61.07
	l	<u> </u>	1	·	<u> </u>	I	1	I	I	1

#### IRRIGATED NON-IRRIGATED TOTALS COUNTY Production Average Acreage Average Production Production Acreage Acreage Yield Bushels Yield Bushels Bushels Adams\_\_\_\_\_ 2,930 23 67,390 45,170 9 406,530 48.100 473,920 Alamosa\_\_\_\_\_ 50 $\overline{20}$ 1,000 50 1,000 Arapahoe\_\_\_\_\_ 1.170 26 30,420 35,330 10 353.300 36,500 383,720 Archuleta\_\_\_\_\_ 30 25 750 340 11 3,740 370 4,490 Baca 710 28 19.880 236,690 16 3,787,040 237,400 3,806,920 2,200 Bent 30 66,000 1,540 13 20.020 3,740 86,020 Boulder\_\_\_\_\_ 5,980 29 173,420 2.680 16 42,880 8,660 216,300 Chaffee\_ 30 18 540 30 540 Cheyenne\_ 15.230 11 -----167,530 15,230 -----167,530 Clear Creek\_\_\_\_\_ ---\_\_\_\_ 22 Conejos\_\_\_\_\_ 140 3.080 ~ -140 3.080 -----Costilla\_\_\_\_\_ 260 24 6,240 260 \_\_\_\_\_ ----6.240 \_\_\_\_ Crowley\_\_\_\_\_ 90 28 2,520 90 2,520 Custer\_\_\_\_\_ 220 26200 5,720 13 2.600 420 8,320 390 Delta 29 11.310 390 11,310 ----------Denver\_\_\_\_\_ 220 2,420 790 Dolores\_\_\_\_\_ 25 19,750 īī 1,010 22,170 Douglas\_\_\_\_\_ 180 99 3,960 4 740 10 47.400 4,920 51,360 150 20 Eagle\_\_\_\_ 3,000 100 11 1,100 250 4,100 Elbert\_\_\_\_\_ 19,100 100 23 2,300 10 191,000 19.200 193,300 23 El Paso\_\_\_\_\_ 80 1,840 2.56011 28,160 2 640 30.000 25 110 Fremont 2.75080 13 1,040 190 3,790 160 Garfield\_----28 4,480 380 10 3,800 540 8,280 Gilpin\_\_\_\_ 17 Grand\_\_\_\_\_ 50 850 2010 200 70 1,050 Gunnison\_\_\_\_\_ 40 18 720 40 720 ---------Hinsdale\_\_\_\_\_ 280 24 Huerfano\_\_\_\_\_ 6,720 480 15 7,200 760 13.920 Jackson\_\_\_\_\_ 2,730 26 Jefferson\_\_\_\_\_ 70.980 2.420 15 36,300 5,150 107.280 87,230 6,710 Kiowa\_\_\_\_\_ 13 6.710 87.230 70 24 69,810 Kit Carson 1.680 767.910 69,880 11 769.590 Lake\_\_\_\_\_ La Plata\_\_\_\_\_ 470 $\overline{21}$ 9,870 490 9 4,410 217,260 960 14.280 148,460 Larimer\_\_\_\_\_ 5,710 26 12,780 17 18.490 365,720 Las Animas\_\_\_\_\_ 370 27 9.990 5,060 14 70.840 5,430 43,120 80,830 43,120 10 431,200 431,200 Lincoln\_\_\_\_\_ 480 24 11.520 119,700 8 957,600 120,180 969,120 Logan\_\_\_\_\_ Mesa\_ 1.380 31 42,780 340 13 4.420 1.720 47,200 Mineral\_\_\_\_\_ ----18 50 900 3.860 11 42,460 3,910 43,360 Moffat\_\_\_\_\_ 220 Montezuma\_\_\_\_\_ 19 4,180 1,280 11 14,080 1,500 18,260 20,160 Montrose\_\_\_\_\_ 630 82 100 12 1,200 730 21,360 490 25 12.250 21,590 9 194,310 22,080 206,560 Morgan\_\_\_\_\_ 740 30 22.200 80 23,320 Otero\_\_\_\_\_ 14 1,120 820 26 310 30 780 11 3,410 340 4,190 Ouray\_\_\_\_\_ Park ----109,550 8 876,400 876,400 Phillips\_\_\_\_\_ 109,550 30 $\overline{21}$ 630 630 Pitkin\_\_\_\_\_ 30 2,670 27 72,090 31.080 435,120 33.750 507,210 Prowers\_\_\_\_\_ 14 540 $\overline{26}$ 14.040 119,080 Pueblo\_\_\_ 8.080 13 105.040 8.620 Rio Blanco\_\_\_ 10 19 190 1,210 15 1,220 18,340 18,150 Rio Grande\_\_\_\_\_ 40 18 720 720 40 22 220 1,400 17 23.800 1.410 24,020 Routt\_\_\_\_\_ 10 50 19 950 950 Saguache\_\_\_\_ 50 \_ \_ \_ \_ \_ \_ \_ ---\_\_\_\_\_ San Juan\_\_\_\_\_ 27 9,600 San Miguel\_\_\_\_\_ 110 2,970 510 13 6.630 620 390 25 9,750 65,320 7 457,240 65,710 466.990 Sedgwick\_\_\_\_\_ 20 18 \$60 \$60 Summit\_\_\_\_\_ 20 - -330 Teller\_\_\_\_\_ 30 11 330 30 -----------6,240 901.970 240 26 81.430 895,730 Washington\_\_\_\_ 11 81,670 26 434,460 1,609,920 Weld\_\_\_\_\_ 16,710 90,420 13 1,175,460 107,130 1,389,380 130 26 3.380 126,000 11 1,386,000 126,130 Yuma\_\_\_\_ 50,460 1.336.390 1.167.540 13,279,610 1.218.000 14,616,000 State\_\_\_\_

#### ACREAGE AND PRODUCTION OF WINTER WHEAT, 1931

#### STATE OF COLORADO

#### ACREAGE AND PRODUCTION OF SPRING WHEAT, 1931

	1	RRIGATI	ED	NON	I-IRRIGA	TED	тот	TALS
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	1,590 1,320 740 320	20 15 20 20	31,800 19,800 14,800 6,400	3,990 4,840 990	4 -5 8	15,960 24,200 7,920	5,580 1,320 5,580 1,310	47,760 19,800 39,000 14,320
Baca Bent Boulder	5,700	 23	131,100	350 110 110	10 10 10	3,500 1,100 1,100	350 110 5,810	3,500 1,100 132,200
Chaffee Cheyenne	480	14 	6,720	2,590	-5	12,950	480 2,590	6,720 12,950
Conejos Costilla Crowley Custer	4,000 1,840 160 140	19 20 18 21	76,000 36,800 2,880 2,940	 20 80	  12 8	 240 640	4,000 1,840 180 220	76,000 36,800 3,120 3,580
Delta Denver Dolores	2,950 	21 	61,950 	10	9	90	2,960	62,040 2,840
Douglas	10	22	220	820	5	4,100	830	4,320
Eagle Elbert El Paso	670 <u>5</u> 0	25 23	16,750 	30 6,750 3,180	11 6 6	330 40,500 19,080	700 6,750 <b>3,2</b> 30	17,080 40,500 20,230
Fremont	250	21	5,250	90	11	990	340	6,240
Garfield Gilpin Grand	3,870 <u>2</u> 0	19 21	73,530 	1,180 10	6 9	7,080 90	5,050 10 20	80,610 90 420
Gunnison	40	23	920	50	9	450	90	1,870
Huerfano	240	21	5,040	430	-8	8,440	670	8,480
Jackson Jefferson	2,550	22	56,100	530	-8	4,240	3,080	60,340
Kiowa Kit Carson			 	200 18,280	5 6	1,000 109,680	200 18,280	1,000 109,680
Lake La Plata Larimer Las Animas Lincoln Logan	7,070 3,680 330 	$\overline{20}$ 23 23 $\overline{19}$	141,400 84,640 7,590 7,220	820 1,140 490 7,510 6,040	9 8 8 4	7,380 9,120 3,920 30,040 24,160	7,890 4,820 820 7,510	148,780 93,760 11,510 30,040
Mesa	2,260	19	42,940	230	7	1,610	2,490	44,550
Montezuma Montezuma Montrose	110 3,390 6,930	$18 \\ 14 \\ 22 \\ 27$	1,980 47,460 152,460 2,700	2,810 2,770 480 7,800	8 6 7	22,480 16,620 3,360	2,920 6,160 7,410	24,460 64,080 155,820
Otero Ouray	330 560	19 20	6,270 11,200	10 270	9 6	90 1,620	7,990 340 830	6,360 12,820
Park Phillips Pitkin Prowers Pueblo	 250 20 300	23 18 26	5,750 360 7 800	20 650 	9 4 	180 2,600 3,520	20 650 250 460	180 2,600 5,750 3,880
Rio Blanco Rio Grande Routt	330 3,219 60	20 14	6,600 44,940	990	10	9,900	1,320 8,210	16,500 44,940
Saguache	1,120	13	14,560	0,000	3	30,150	3,410 1.120	31,050
San Juan San Miguel Sedgwick Summit	200 160	20 21	4,000 3,360	 80 60 20	 8 5 9	640 300 180	280 220 20	4,640 3,660 180
Teller				10	9	90	10	90
Washington Weld	9,000	22	198,000	9,280 15,340	4 5	37,120 76,700	9,280 24,340	37,120 274,700
Yuma		=		2,920	5	14.600	2,920	14,600
State	66,730		1,342,700	109,270		593,300	176,000	1,936,000

#### PERCENTAGE DISTRIBUTION OF WHEAT ACREAGE, 1931

### PERCENTAGE DISTRIBUTION OF WHEAT PRODUCTION, 1931

		=						
001131001	Spring Wheat	Winter Wheat	Irrigated Wheat	Non- Irrigated Wheat	Spring Wheat	Winter Wheat	Irrigated Wheat	Non- Irrigated Wheat
COUNTY	Total Wheat Acreage	Total Wheat Acreage	Total Wheat Acreage	% Total Wheat Acreage	Total Wheat Prod.	Total Wheat Prod.	Total Wheat Prod.	% Total Wheat Prod.
Adams Alamosa Arapahoe Archuleta	10.4 96.4 13.3 78.0	89.6 3.6 86.7 22.0	8.4 100.0 4.5 20.8	91.6 95.5 79.2	90.8 4.8 90.8 23.9	9.2 95.2 9.2 76.1	19.0 100.0 10.7 38.0	81.0 89.3 62.0
Baca Bent Boulder	.1 2.9 40.2	99.9 97.1 59.8	.3 57.1 80.7	99.7 42.9 19.3	99.9 98.7 62.1	.1 1.3 37.9	.5 75.8 87.4	99.5 24.2 12.6
Chaffee Cheyenne Clear Creek	94.1 14.5	5.9 85.5	100.0 	100.0	7.4 92.8	92.6 7.2	100.0	100.0
Conejos Costilla Crowley Custer	96.6 87.6 66.7 34.4	$3.4 \\ 12.4 \\ 33.3 \\ 65.6$	100.0 100.0 92.6 56.2	 7.4 43.8	$3.9 \\ 14.5 \\ 44.7 \\ 69.9$	96.1 85.5 55.3 30.1	$     \begin{array}{r}       100.0 \\       100.0 \\       95.7 \\       72.8     \end{array} $	 4.3 27.2
Delta Denver Dolores	88.4 27.9	$\frac{11.6}{72.1}$	99.7 56.4	.3 43.6	15.4 90.5	84.6 	99.9 	.1
Douglas     Eagle     Elbert	14.4 73.7 26.0	85.6 26.3 74.0	3.3 86.3 .4	96.7 13.7 99.6	92.2 19.3 82.7	7.8 80.7 17.3	7.5 93.2 1.0	92.5 6.8 99.0
El Paso Fremont	55.0 64.2	45.0 35.8	2.2 67.9	97.8 32.1	59.7 37.8	40.3 62.2	6.0 79.8	94.0 20.2
Garfield Gilpin Grand Gunnison	90.3 100.0 22.2 - 69.2	9.7 77.8 30.8	72.1 77.8 61.5	$\begin{array}{r} 27.9 \\ 100.0 \\ 22.2 \\ 38.5 \end{array}$	9.3 71.4 34.4	90.7 100.0 28.6 65.6	87.8 86.4 78.5	12.2 100.0 13.6 21.5
Hinsdale Huerfano	46.9	53.1	36.4	63.6	62.1	37.9	52.5	47.5
Jackson	37.4	62.6	64.2	35.8	64.0	36.0	75.8	24.2
Kiowa Kit Carson	2.9 20.7	97.1 79.3	.1	100.0 99.9	98.9 87.5	1.1 $12.5$	.2	100.0 99.8
Lake La Plata Larimer Las Animas Lincoln Logan	89.2 20.7 13.1 14.8 5.1	10.8 79.3 86.9 85.2 94.9	85.2 40.3 11.2 	14.8 59.7 88.8 100.0 99.3	8.8 57.8 87.5 93.5 96.9	91.242.212.56.53.1	92.8 50.7 19.0 1.9	7.2 49.3 81.0 100.0 98.1
Mesa Mineral	59.1	40.9	86.5	13.5	51.4	48.6	93.4	6.6
Moffat Montezuma Montrose Morgan	42.8 80.4 91.0 26.6	57.2 19.6 9.0 73.4	2.3 47.1 92.9 2.0	97.7 52.9 7.1 98.0	63.9 22.2 12.1 85.8	36.1 77.8 87.9 14.2	4.2 62.7 97.4 6.2	95.8 37.3 2.6 93.8
Otero Ouray	29.3 70.9	70.7 29.1	92.2 50.4	7.8 49.6	78.6 24.6	21.4 75.4	95.9 70.4	4.1 29.6
Park Phillips Pitkin Prowers Pueblo	100.0 .6 89.3 1.3 9.6	99.4 10.7 98.7 90.4	100.0 7.9 8.8	100.0 100.0 92.1 91.2	99.7 9.9 99.2 90.8	100.0 .3 90.1 .8 9.2	100.0 6.2 16.6	100.0 100.0 93.8 83.4
Rio Blanco Rio Grande Routt	52.0 98.8 70.7	48.0 1.2 29.3	13.4 100.0 1.5	86.6 98.5	$52.6 \\ 1.6 \\ 43.6$	$47.4 \\ 98.4 \\ 56.4$	$19.5 \\ 100.0 \\ 2.0$	80.5 98.0
Saguache San Juan	95.7	4.3	100.0		6.1	93.9	100.0	
San Miguel Sedgwick Summit	31.1 .3 50.0	99.7 50.0	34.4 .8 50.0	99.2 50.0	99.2 66.7	32.6 .8 33.3	48.9 2.8 66.7	97.2 33.3
Teller	25.0	75.0		100.0	78.6	21.4		100.0
Washington Weld	10.2 18.5	89.8 81.5	.3 19.6	99.7 80.4	$96.0 \\ 85.4$	$\begin{array}{r} 4.0\\14.6\end{array}$	.7 33.5	$99.3 \\ 66.5$
Yuma :	2.3	97.7	.1	99.9 91.6	99.0 	$\frac{1.0}{11.7}$	.2	99.8 83.8
State	12.0	01.4	0.4	51.0	00.0			

#### ACREAGE AND PRODUCTION OF CORN, 1931

	IRRIGATED		ED	NON	I-IRRIGA	TED	TOTAL		
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels	
Adams	3,510	33	115,830	39,880	6	239,280	43,390	355,110	
Alamosa	10	16	160				10	160	
Arapahoe	990	32	31,680	30,050	7	210,350	31,040	242,030	
Archuleta	30	29	870	910	10	9,100	940	9,970	
Rada	330	27	8 910	108 540	11	1.193.940	108.870	1.202.850	
Bent	12.870	22	283,140	15.850	8	126,800	28,720	409,940	
Boulder	11,520	28	322,560	2,900	11	31,900	14,420	354,460	
Chaffee				10	11	1 010 100	101 010		
Chevenne		20		101,010	10	1,010,100	101,010	290	
Coneios	120	21	2.520				120	2,520	
Costilla	80	24	1,920				80	1,920	
Crowley	4,040	14	56,560	5,360	6	32,160	9,400	88,720	
Custer	130	29	3,770	650	15	9,750	780	13,520	
Dolta	5 000	20	109 510	10	19	190	5 100	198 630	
Denta	5,050	55	190,010	10	12	120	0,100	130,000	
Dolores				1.140	10	11.400	1,140	11.400	
Douglas	230	29	6,670	17,390	9	156,510	17,620	163,180	
Faclo	10	21	210				10	310	
Elhe <del>rt</del>	10	31	510	60.450		544 050	60.450	544.050	
El Paso	560	31	17,360	61,340	7	429,380	61,900	446,740	
Promont	2 100	24	105 100	1.040	14	14 560	4 1 4 0	110 060	
riemont	3.100	34	105,400	1,040	14	14,300	4,140	115,500	
Garfield	920	37	34,040	160	13	2,080	1,080	36,120	
Chond									
Gunnison	10	29	290				10	250	
Hinsdale	860	27	22 220	4 500	19	51 000	5 360	77 220	
1146/1440	300	21	20,220	4,300	14	54,000	0,000	11,220	
Jackson									
Jefferson	3,140	25	78,500	1,690	9	15,210	4,830	93,710	
Kiowa				76 550	9	688 950	76 550	688.950	
Kit Carson		1		171,300	9	1,541,700	171,300	1,541,700	
T . 1									
Lake	000	27	17 820	1 680	19	20 160	2 340	37 980	
Larimer	8.110	27	218,970	5,590	9	50.310	13,700	269,280	
Las Animas	4,060	31	125,860	37,360	10	373,600	41,420	499,460	
Lincoln				89,350	7	625,450	89,350	625,450	
Logan	10,360	28	290,080	106,040	9	954,360	116,400	1,244,440	
Mesa	8,800	39	343,200	470	9	4.230	9.270	347,430	
Mineral							·		
Moffat	10	29	290	1,630	12	19,560	1,640	19,850	
Montezuma	1,200	25	30,000	4,930	10	49,300	6,130	79,300	
Montrose	4,670	30	108,120	72 280		506 660	4,670	168,120	
storgan	5,410	- 55	501,120	12,000	•	200,000	01,150	301,100	
Otero	9,400	19	178,600	1,360	11	14,960	10,760	193,560	
Ouray				260	10	2,600	260	2,600	
Park									
Phillips				82,920	11	912,120	82,920	912,120	
Pitkin	11 750	52	176 950	10 (10		174 000	21 1 60	250.040	
Pueblo	11,730	25	281 000	19,410	10	174,690	31,100	467 400	
D: D:	11,410	10	101,000	10,010	10	100,400	20,000		
Rio Blanco		1.2							
Routt	30	13	390				30	390	
Saguache	10	11	110				10	j 110	
San Juan		24	2 720		1 10	2 000		5 790	
Sedgwick	2 470	26	64 220	33 840	10	338,400	26 310	402 620	
Summit								105,020	
Teller		1		10	1.9	500	4.0	= = =	
				40	1 10	020	40	520	
Washington	480	29	13,920	160,050	9	1,440,450	160,530	1,454,370	
	26,150	32	836,800	75,230	7	526,610	101,380	1,363,410	
Yuma	270	28	7,560	267,070	9	2,403,630	267,340	2,411,190	
State	156 790		1 940 540	1 670 000	-	14.000.400	1 090 000	10.050.000	
wate	100,720		4,049,040	1,019,280		14,928,460	1,836,000	19,278,000	
	<u> </u>	1	<u>.</u>	<u> </u>	1	·	•	1	

	1	RRIGAT	ED .	NOI	N-IRRIGA	TED	TOTAL		
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels	
Adams Alamosa Arapahoe Archuleta	1,280 2,070 1,170 390	34 23 38 39	43,520 47,610 44,460 15,210	320 1,240 1,770	$\begin{array}{c c} 9\\ \hline 9\\ \hline 9\\ 11\end{array}$	2,880 11,160 19,470	1,600 2,070 2,410 2,160	46,400 47,610 55,620 34,680	
Baca Bent Boulder	80 790 5,260	35 35 43	2,800 27,650 226,180	120 10 50	13 11 15	$1,560 \\ 110 \\ 750$	200 800 5,310	4,360 27,760 226,930	
Chaffee Cheyenne Clear Creek Conejos Ostilla Crowley Custer	610  2,350 900 440 400	23  36 37 26 31	14.030  84,600 33,300 11,440 12,400	10 790 10  60 810	13 9 12  -9 14	130 7,110 120  540 11,340	620 790 10 2,350 900 500 1,210	14,160 7,110 12¢ 84,606 33,300 11,980 23,740	
Delta Denver Dolores	2,000	41	82,000	500		3,500	2,000 	82,000 	
Eagle Elbert	1,180	39 44	6,240 51,920	6,860 20 5,900	11 16 8	75,460 320 47,200	7,020 1,200 5,900	81,700 52,240 47,200	
Fremont	30 430	39 36	1,170 15,480	8,310 650	10 15	83,100 9,750	8,340 1,080	84,270 25,230	
Garneld Gilpin Grand Gunnison	1,910 670 90	42 35 35	$     \begin{array}{r}             80,220 \\             \overline{23,450} \\             3,150         \end{array}     $	$190 \\ 60 \\ 70 \\ 260$	9 14 14 13	1,710 840 980 3,380	$2,100 \\ 60 \\ 740 \\ 350$	81,930 840 24,430 6,530	
Hinsdale Huerfano	60 460	39 41	2,340 18,860	660	14	9,240	60 1,120	2,340 28,100	
Jackson Jefferson	50 1,860	34 36	1,700 66,960	60 1,910	14 14	840 26,740	110 3,770	2,540 93,700	
Kit Carson				80 3,740	10	640 37,400	80 8,740	640 37,400	
La Plata Larimer Las Animas Lincoln Logan	3,380 4,380 870 2,220	45 42 36 	152,100 183,960 31,320 88,800	940 630 1,720 500 3,570	12 17 9 9 7	11,280 10,710 15,480 4,500 24,990	4,320 5,010 2,590 500 5,790	163,380 194,670 46,800 4,500 113,790	
Mesa Mineral	1,960	38	74,480	200	9	1,800	2,160	76,280	
Moffat Montezuma Montrose Morgan	$400 \\ 3,660 \\ 3,610 \\ 1,200$	24 34 36 44	9,600 124,440 129,960 52,800	$3,140 \\ 1,580 \\ 70 \\ 840$	19 13 14 8	59,660 20,540 980 6,720	3,540 5,240 3,680 2,040	69,260 144,980 130,940 59,520	
Otero Ouray	1,690 790	38 39	64,220 30,810	$10\\110$	13 11	130 1,210	1,700 900	64,350 32,020	
Park Phillips Pitkin Prowers Pueblo	420 1,090 870	 34 35 34	14,280 38,150 29,580	130 6,400 510 740	$     \begin{array}{c}             11 \\             11 \\         $	1,480 70,400 5,610 8,140	130 6,400 420 1,600 1,610	1,430 70,400 14,280 43,760 37,720	
Rio Blanco Rio Grande Routt	1,540 3,710 230	41 22 37	63,140 81,620 8,510	530 	16 16	8,480 140,320	2,070 3,710 9,000	71,620 81,620 148,830	
Saguache San Juan San Miguel	2,260 150	15 	33,900 6,150	150	 13	1,950	2,260 	33,900 	
Sedgwick Summit Teller	860 40	39 29	$33,540 \\ 1,160$	3,350 50 300	11 14 12	36,850 700 5.070	4,210 90 800	1.860 5.070	
Washington Weld	220 9,120	 41 38	9,020 346,560	3,300 3,110	7 9	23,100 27,990	3,520 12,230	32,120 374,550	
Yuma		<u> </u>		3,490	10 	34,900	3,490	34,900	
State	69,310		2,524,790	78,690		879,210	148,000	3,404,000	

# ACREAGE AND PRODUCTION OF OATS, 1931

#### ACREAGE AND PRODUCTION OF BARLEY, 1931

		IRRIGAT	ED	NOI	N-IRRIGA	TED	TO	TAL
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	2,910 2,410 1,140 120	37 24 37 32	107,670 57,840 42,180 3,840	9,570 	7 -7 8	66,990 58,730 1,520	12,480 2,410 9,530 310	174,660 57,840 100,910 5,360
Baca Bent Boulder	270 4,580 8,920	27 27 35	7,290 123,660 312,200	6,610 180 500	7 6 11	46,270 1,080 5,500	6,880 4,760 9,420	53,560 124,740 317,700
Chaffee Cheyenne Clear Creek	1,170	22	25,740	10 11,730	12 3	120 93,840	1,180 11,730	25,860 93,840
Conejos Costilla Crowley Custer	7,100 3,150 1,200 440	26 26 23 15	184,600 81,900 27,600 6,600	 40 430	 -6 9	240 3,870	7,100 3,150 1,240 870	184,600 81,900 27,840 10,470
Delta Denver Dolores	2,040	36	73,440				2,040	73,440
Douglas	150	29	4,350	1,260	9	11,340	1,410	15,690
Eagle Elbert El Paso	500 	33 28	16,500 	60 7,980 1,180	12 7 7	720 55,860 8,260	560 7,980 1,320	17,220 55,860 12,180
Fremont	260	18	4,680	130	7	910	390	5,590
Garfield Gilpin Grand Gunnison	1,750 	28 32 30	49,000 10,240 3,000	170 10 60 170	12 12 12 12 12	2,040 120 720 2,040	1,920 10 380 270	51,040 120 10,960 5,040
Hinsdale Huerfano	130	27	3,510	190	-8	1,520	320	5,030
Jackson Jefferson	50 3,180	21 31	1,050 98,580	780	10	7,800	50 3,960	1,050 106,380
Kiowa Kit Carson	120	$\overline{2}\overline{5}$	3,000	4,280 58,180	6 7	25,680 407,260	4,280 58,300	25,680 410,260
Lake La Plata Larimer Las Animas Lincoln Logan	1,920 13,990 1,680 80 9,750	36 39 25 27 27	69,120 545,610 42,000 2,160 263,250	560 2,140 2,990 19,390 32,260		4,480 21,400 20,930 116,340 193,560	2,480 16,130 4,670 19,470 42,010	73,600 567,010 62,930 118,500 456,810
Mesa Mineral	1,660	27	44,820	60	11	660	1,720	45,480
Moffat Montezuma Montrose Morgan	140 950 2,220 8,300	34 25 32 39	$\begin{array}{r} 4,760\\ 23,750\\ 71,040\\ 323,700\end{array}$	880 970 100 7,540	13 10 10 6	$11,440 \\ 9,700 \\ 1,000 \\ 45,240$	1,020 1,920 2,320 15,840	16,200 33,450 72,040 368,940
Otero Ouray	3,320 150	26 23	86,320 5,750	$\begin{array}{c} 160 \\ 260 \end{array}$	6 8	960 2,080	3,480 410	87,280 7,830
Park Phillips Pitkin Prowers	60 5,590	 32 23	1,920 128,570	20 16,620 4,910	$\frac{12}{7}$	240 116,340 34,370	20 16,620 60 10,500	240 116,340 1,920 162,940
Rio Blanco Rio Grande	2,310 90 4,960	26 34 17	3,060 84,320	370	15	4,080 5,550	2,990 460 4,960	64,140 8,610 84,320
Saguache	50 1,810	31 14	25,340	4,360	14	61,040	4,410 1 830	62,590 25 340
San Juan San Miguel Sedgwick Summit	$100 \\ 2,490 \\ 10$	22 29 24	$\begin{array}{r} 2,200\\ 72,210\\ 240 \end{array}$	470 12,230 70		4,230 85,610 700	570 14,720 80	6,430 157,820 940
Teller			<b>-</b>	90	12	1,080	90	1,080
Washington Weld	820 44,840	35 39	28,700 1,748,760	44,840 25,120	7 7	313,880 175,840	45,660 69,960	842,580 1,924,600
Yuma				19,260	9	173,340	19,260	173,340
State	149,440		4,891,600	308,560		2,207,400	458,000	7,099,000

CONDUCT	I	RRIGATI	ĒD	NON	I-IRRIGA	TED	TOTAL		
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels	
Adams Alamosa Arapahoe Archuleta	210 5,640 5 80	85 62 <b>120</b> 120	17,850 349,680 600 9,600	30  10 330	51 60 60	1,530 	240 5,640 15 410	19,380 349,680 1,200 29,400	
Baca Bent Boulder	<u>245</u>	135	33,075	5 5 5	50 40 55	250 200 275	5 5 250	250 200 33,350	
Chaffee Cheyenne Clear Creek	465	70 60	32,550 	65 30	30 40	1,950 1,200	465 65 35	32,550 1,950 1,500	
Costilla Crowley Custer	1,670 215	50 70	83,500 15,050	5 3,405	$\overline{40}$ 37	200 125,985	7,180 1,670 5 3,620	538,500 83,500 200 141,035	
Delta Denver Dolores	1,290	136	175,440	195	 65	12,675	1,290 	175,440	
Eagle	1,145	150	171,750	290 10 775	30 60 35	8,700 600 27,125	290 1,155 775	8,700 172,350 27,125	
Fremont	20	80 65	400	760 240	45 35	34,200 8,400	260	34,600 9,700	
Garfield Gilpin Grand Gunnison	2,860  20 70	152 70 70	434,720 1,400 4,900	60 80 110 135	60 45 35 32	3,600 3,600 3,850 4,320	2,920 80 130 205	438,320 3,600 5,250 9,220	
Hinsdale Huerfano	5 95	120 90	600 8,550	295	55	16,225	5 390	600 24,775	
Jackson Jefferson	10 235	80 130	800 30,550	60 370	55 70 30	3,300 25,900 300	70 605	4,100 56,450 300	
Kit Carson				590	40	23,600	590	23,600	
La Plata Larimer Las Animas Lincoln Logan	1,375 795 20 	150 135 105 90	206,250 107,325 2,100 	30 60 150 340 1,040	67 60 40 45 60	2,010 3,600 6,000 15,300 62,400	1,405 855 170 340 1,410	208,260 110,925 8,100 15,300 95,700	
Mesa Mineral Moffat Montezuma Montrose	$ \begin{array}{r} 1,770 \\ 5 \\ 90 \\ 830 \\ 5,180 \end{array} $	155 75 90 120 172	274,350 375 8,100 99,600 890,960	340 	$\begin{array}{c} 75\\ \overline{43}\\ 65\\ 60\end{array}$	25,500 36,980 51,675 3,000	2,110 5 950 1,625 5,230	299,850 375 45,080 151,275 893,960	
Morgan Otero Ouray	1,740 5 165	145 70 135	252,300 350 22,275	40 90	65 62	5,580	1,780 5 255	254,900 350 27,855	
Park Phillips Pitkin Prowers Pueblo	865	140 	 121,100 	1,830 125 5 20	40 50 36 47	73,200 6,250 180 940	1,830 125 865 5 20	73,200 6,250 121,100 180 940	
Rio Blanco Rio Grande Routt	75 14,630 50	70 77 65	5,250 1,126,510 3,250	20 	40	800 39,900	95 14,680 1,190	6,050 1,126,510 43,150	
Saguache San Juan San Miguel	7,100	72	511,200			12,580	7,100	511,200	
Sedgwick Summit	560	95	53,200	180 30	45 40	8,100 1,200	740 30	61,300 1,200	
Teller Washington	15	 70 123	1,050	1,875 330 780	40 37 70	75,000 12,210 54,600	1,875 345 26,130	13,260 3,172,650	
Yuma	30	110	3,300	320	40	12,800	350	16,100	
State	82,510		8,754,210	18,490		840,790	101,000	9,695,000	

#### ACREAGE AND PRODUCTION OF POTATOES, 1931

\_\_\_\_

#### ACREAGE AND PRODUCTION OF DRY BEANS, 1931

\_ \_

$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	TOTAL		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	uction unds		
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	75,660 6,500		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	72,200 10,040		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	45,600 35,400 02,600		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	18,400 15,600		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	48,200 60,400 66,000		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $			
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	02,100		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	67,500 54,900		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	24,400		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	8.900		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	21,300		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	5,200		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	54.100		
Kiowa          450         200         90,000         450         90,000           Kit Carson          30         580         17,400         3,090         200         618,000         3,120         635.           Lake           450         200         618,000         3,120         635.           Lake	22 200		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	32,800 30,000		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$			
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	12,800 99,300		
	12,000		
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	53,100		
Montrose 330 700 231,000 10 200 2,000 340 233.	21,000		
Morgan 1,100 530 583,000 14,660 210 3,078,600 15,760 3,661,	37,300 33,000 51,600		
Otero          2,780         580         1,612,400         120         250         30,000         2,900         1,642,           Ouray           10         200         2,000         10         22,	12,400 2,000		
Park	52,500		
Iteration         90         570         51,300         150         190         28,500         240         79,           Prowers         1,530         520         795,600         13,710         140         1,919,400         15,240         2,715,	9,800		
Rio Blanco Rio Grande 110 610 67,100 110 67,	7,100		
Saguache 10 650 6,500 10 6.	6.500		
San Juan 230 210 48,300 230 48.	8.300		
Seegwick          60         150         9,000         60         9,           Summit                 9,	9,000		
Teller			
Washington          16,520         180         2,973,600         16,520         2,973,           Weld          13,160         780         10,264,800         33,850         180         6,093,000         47,010         16,857	3,600		
Yuma 1,120 190 212,800 1,120 212.	2,800		
State 30,370 21,260,400 289,630 61,339,600 320,000 82,600,	0,000		

#### ACREAGE AND PRODUCTION OF SUGAR BEETS AND RYE, 1931 SUGAR BEETS RYE FOR GRAIN Total Acreage COUNTY Aver-Aver-Rye for Rye Production Production Acreage Acreage Pasture Acreage age age Tons Bushels Yield Yield 128.260 Adams \_\_\_\_\_ 11,350 11.3 660 8 5.280 520 1.180 Alamosa \_\_\_\_\_ Arapahoe \_\_\_\_\_ 680 4.1 2,790 10 7.800 1.170 12.2 14.270 780 330 1.110 Archuleta \_\_\_\_\_ -----\_\_\_\_ \_\_\_\_ --\_\_\_\_\_ \_\_\_\_ ..... Baca \_\_\_\_\_ 670 8 5,360 120 790 7.0 4.320 30,240 30 10 300 Bent ------15 45 Boulder \_\_\_\_\_ 10,590 11.2 118,610 30 30 \_\_\_\_\_ --..... Chaffee \_\_\_\_\_ -7 770 \_\_\_\_\_ \_\_\_\_ \_\_\_\_ -50 Cheyenne \_\_\_\_\_ 110 160 \_\_\_\_ \_\_\_\_ \_\_\_\_ Clear Creek\_\_\_\_\_ \_\_\_\_ --------\_----\_\_\_\_ -------Conejos \_\_\_\_\_ 50 6.9 340 \_\_\_\_ \_\_\_\_ \_\_\_\_ ------------30 Costilla \_\_\_\_\_ 200 --------- 8 5 5,790 20.260 25 3.5 Crowley \_\_\_\_\_ 60 95 Custer \_\_\_\_\_ 35 10 350 --------------29,230 2,320 12.6 Delta \_\_\_\_\_ ------- 60 Denver \_\_\_\_\_ Dolores \_\_\_\_\_ ----•--- •• -------\_\_\_\_\_ \_\_\_\_\_ 60 \_\_\_\_ \_\_\_\_ 2.225 8 17.800 350 2.575 Douglas \_\_\_\_\_ \_\_\_\_ \_\_\_ -----Eagle \_\_\_\_\_ Elbert \_\_\_\_\_ \_\_\_\_ \_\_\_\_ ------7 3.220 22,540 860 4.080 1.110 8.7 9.660 $\dot{7}$ 24.780 1.225 4,765 El Paso\_\_\_\_\_ 3.540 9 90 40 50 Fremont \_\_\_\_\_ 10 -----\_\_\_\_ \_\_\_\_ Garfield \_\_\_\_\_ 1.720 10.3 17,720 15 8 120 30 45 Gilpin \_\_\_\_\_ Grand \_\_\_\_\_ -------\_\_\_\_\_ 50 10 500 30 80 ----\_\_\_\_\_ \_ \_ \_ \_ \_ 15 8 120 5 20 Gunnison \_\_\_\_\_ ---\_\_\_\_ \_\_\_\_ Hinsdale \_\_\_\_\_ 540 ------------40 13.4 5 8 40 30 35 Huerfano \_\_\_\_\_ 10 10 Jackson \_\_\_\_\_ 7 740 70 12.8 9,470 490 20 90 Jefferson \_\_\_\_\_ 7 595 85 85 Kiowa \_\_\_\_\_ --------\_\_\_\_\_ 1,260 3.785 2,525 7 17,675 Kit Carson\_\_\_\_\_ -----\_\_\_ \_\_\_\_\_ Lake \_\_\_\_\_ ---\_\_\_\_ 35 6 210 10 45 La Plata 22,190 286.250 300 12.0 250 8 2.000 50 Larimer \_\_\_\_\_ 420 260 8 2.080 160 Las Animas\_\_\_\_\_ 1,190 10.4 12.380 1.140 6 6,840 580 1,720 Lincoln \_\_\_\_\_ 10.6 195.460 1.550 6 9,300 4,500 6.050 18.440 Logan \_\_\_\_\_ 65 8 1.730 11.2 19,380 35 280 30 Mesa \_\_\_\_\_ Mineral \_\_\_\_\_ ---------7 2,300 1.040 7,280 1,260 Moffat \_\_\_\_\_ \_\_\_\_ \_\_\_\_ ---95 75 7 525 20 Montezuma 20 820 10.8 8,860 13 65 15 5 Montrose \_\_\_\_\_ 4.925 273,640 1 275 6 7,650 3.650 23,190 11.8 Morgan \_\_\_\_\_ 440 20 60 7.8 40 11 11.690 91,180 Otero \_\_\_\_\_ Ouray \_\_\_\_\_ . . . . -------------------\_\_\_\_ Park \_\_\_\_\_ \_\_\_\_\_ -----\_\_\_\_ 7 2,260 3.480 1.220 8,540 Phillips \_\_\_\_\_ \_\_\_\_ ----\_\_\_\_ 135 14 70 130 5 Pitkin \_\_\_\_\_ 5.6 44.180 1.280 195 160 35 Prowers \_\_\_\_\_ 8 7.890 50 10 500 65 115 79,920 Pueblo \_\_\_\_\_ 7,540 10.6 105 65 8 520 40 Rio Blanco\_\_\_\_\_ 500 6.2 Rio Grande\_\_\_\_\_ 80 ---180 150 12 1,800 30 Routt \_\_\_\_\_ --------------

\_ \_ \_ \_ \_

25

25

10

3.845

5,550

21.570

53,000

550

\_\_\_\_

----

54,170

-----

\_\_\_\_

1,083,850

2.537.000

-----

5,840

\_ \_

-5

6

10

15

 $\frac{6}{7}$ 

7

-----

200

3,300

250

150

23,070

38,850

150,990

371,000

----

70

1,750

6,725

11,110

23,885

83,000

40

90

----

1,200

2,880

5,560

2.315

30,000

45

15

80

\_\_\_

Saguache \_\_\_\_\_

Sedgwick \_\_\_\_\_

Summit \_\_\_\_\_

Teller .....

Washington \_\_\_\_\_

Weld \_\_\_\_\_

Yuma \_\_\_\_\_

State \_\_\_\_\_

----

----

4.880

-----

460

86.020

----

226,000

-----

----

11.1

----

---

12.7

12.6

----

---

# ACREAGE AND PRODUCTION OF GRAIN AND SWEET SORGHUMS, 1931

	GRAI	N SOR	GHUMS	SWEE	T SORG	HUMS	Total
COUNTY	Acreage	Aver- age Yield	Produc- tion Bushels	Acreage	Aver- age Yield	Produc- tion Tons	Acreage All Sor- ghums
Adams	1,530	10	15,300	3,860	1.3	5,020	5,390
Alamosa	1.610		14,490	3 420	13	4 450	5 030
Archuleta							
Baca Bent Boulder	66,720 12,390	12 11 	800,640 136,290	3,830 950 10	1.6 1.2 1.5	6,130 1,140 20	70,550 13,340 10
Chaffee	19.050	10	150.050	F	.77		
Clear Creek	12,000	13	196,690	5,660	1.5	8,490	17,710
Conejos Costilla							
Crowley	840	9	7,560	2,100	1.0	2,100	2,940
Custer	25	12	300				25
Delta	อ้	11	55	5	1.5	10	10
Dolores	25	12	300	115	1.5	170	140
bougias	110	10	1,100	640	1.3	830	750
Eagle	770	10	7 700	3 370		2 710	4 1 40
El Paso	1,210	10	12,100	4,420	1.1	5,750	4,140 5,630
Fremont	20	11	220	50	1.4	70	70
Garfield	10	12	120	15	1.5	20	25
Gilpin Grand							
Gunnison							
Hinsdale Huerfano	30	īī	360	270	1.0	270	
Jackson Jefferson	75	$\overline{12}$	900	25	1.5		100
Kiowa Kit Carson	10,420 11,660	$\substack{12\\12}$	125,040 139,920	17,215 9,490	1.3 1.5	22,380 14,240	27,635 21,150
Lake							
Larimer	130	11	1,430	60 310	1.5	90 460	90 440
Las Animas	5,560 12,650	10	55,600	2,680	1.2	3,220	8,240
Logan	2,140	10	21,400	7,530	1.7	12,800	9,670
Mesa	145	11	1,595	95	1.6	140	240
Moffat	20	12	240	150	1.4	210	170
Montezuma	225	9	2,025	215	1.5	320	440
Morgan	2,690	10	26,900	3,590	1.5	5,380	6,280
Otero	1,220	12	14,640	410	1.5	620	1,630
Post						·	
Phillips	960	10	9,600	5,220	1.5	7.830	6,180
Pitkin	22,500	10	225 000	4 650	15	090 3	97 150
Pueblo	2,560	8	20,480	730	1.4	1,020	3,290
Rio Blanco						<sup>.</sup>	
Routt					==		
Saguache							
San Juan		11			175		
Sedgwick	330	11	3,630	420	1.4	580	50 750
Tellor							
Washington							
Weld	6,470 2,110	9 10	58,230 21,100	7,555 5,680	1.3 1.5	9,820 8,520	14,025
Yuma	11,710	9	105,890	16,480	1.5	24,720	28.190
State	191,000		2,101,000	118,000		165,000	309,000

----

#### ACREAGE AND PRODUCTION OF BROOMCORN, 1931, 1930 AND 1929

					<u> </u>				
		1931			1930			1929	
COUNTY	Acreage	Aver- age Yield	Production Pounds	Acreage	Aver- age Yield	Production Pounds	Acreage	Aver- age Yield	Production Pounds
Adams	20	190	3,800	25	260	6,500	35	300	10,500
Alamosa									
Arapahoe									
Archuleta									
Baca	39,560	260	10,285,600	55,630	270	15,020,100	52,565	287	15,086,155
Bent	610	240	146,400	740	257	190,180	145	371	53,795
Boulder				<b>-</b>			1		
Chaffee	1								
Cheyenne				760	269	204,440			
Clear Creek									
Conejos									
Crowley									
Custer									
						1			
Delta	-  60	240	14,400						
Denver							<b>-</b>		
Douglas	- 10	230	2,300					+	
8							1		
Eagle			`						
Elbert									
EI raso									
Fremont									
Garfield								<b>-</b>	
Gilpin									
Gunnison									
Gummbon						1			
Hinsdale									
Huerfano									
Jackson		1					1		
Jefferson									
Kiowa Kit Carson	- 720	150 140	108,000 8,400	1,710	303	518,130	650 10	291 299	189,150 2,990
Lake						1			
La Plata									
Larimer									
Las Animas	1,050	200	210,000	1,240	214	265,360	1,060	271	287,260
Lincoln							25	490	12,200
Llogan									
Mesa									
Mineral									
Montezuma									
Montrose									
Morgan									
Otero				10	257	2,570			
Ouray						1			
Dowle	1	1		1		1	2		
Phillips									
Pitkin						1 77777227			0.050.000
Prowers	3,910	210	821,100	16,885	272	4,592,720	9,510	290	2,757,900
Pueblo									
Rio Blanco									
Rio Grande									
Routt									
Saguache									
San Juan									
San Miguel						}			
Summit.									
Tollor	1								
1ener								1	
Washington									
w ela									
Yuma									
State	46 000		11,600,000	77.000		20,800,000	64.000		18,400,000
State	- 40,000		11,000,000	,000			1		
<del> </del>	,				·				

#### STATE OF COLORADO

#### ACREAGE OF HAY CROPS, 1931

COUNTY	Alfalfa	All Clover and Timothy, Alone or Mixed	Millet and Sudan Grass	All Other Tame Hay*	Total Tame Hay	Wild Grass Cut for Hay	Total Hay
Adams Alamosa Arapahoe Archuleta	16,820 11,850 12,950 4,780	170 1,890 150 9,210	3,660 1,210 20	570 10,430 2,890 1,170	21,220 24,170 17,200 15,180	2,660 13,450 2,300 1,540	23,880 37,620 19,500 16,720
Baca Bent Boulder	1,610 25,910 24,530	710 170 870	1,690 290 30	60 30 760	4,070 26,400 26,190	490 290 4,280	4,560 26,690 30,470
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	$\begin{array}{r} 4,250\\ 590\\ 10\\ 15,250\\ 6,020\\ 8,540\\ 2,210\end{array}$	$\begin{array}{r} 3,110 \\ 40 \\ 200 \\ 2,210 \\ 2,290 \\ 40 \\ 3,780 \end{array}$	1,790  210 40	$1,390 \\ 110 \\ 760 \\ 2,740 \\ 2,690 \\ 160 \\ 10,710$	$\begin{array}{r} 8,750\\ 2,530\\ 970\\ 20,200\\ 11,000\\ 8,950\\ 16,740\end{array}$	840 1,450 310 20,710 1,580 60 3,580	9,590 3,980 1,280 40,910 12,580 9,010 20,320
Delta Denver	27,080	610	40	1,780	29,510	180	29,690
Dolores Douglas	310 8,910	320 1,590	1,170	470 4,070	$1,100 \\ 15,740$	80 2,190	1,180 17,930
Eagle Elbert El Paso	9,890 9,490 5,880	12,230 480 1,210	20 4,320 7,120	1,490 7,740 8,990	23,630 22,030 23,200	490 4,210 6,180	24,120 26,240 29,380
Fremont	7,390	1,530	90	4,490	13,500	130	13,630
Garfield Gilpin Grand Gunnison	38,450 850 2,290	$970 \\ 30 \\ 13,520 \\ 21,340$	30 	1,270 750 12,240 10,410	40,720 780 26,610 34,040	710 510 4,240 15,200	41,430 1,290 30,850 49,240
Hinsdale Huerfano	70 14,460	$2,590 \\ 3,780$	100	290 1,990	2,950 20,330	700 920	3,650 21,250
Jackson Jefferson	10 15,340	960 1,090		2,380 1,930	3,350 18,540	89,650 1,210	93,000 19,750
Kiowa Kit Carson	$1,630 \\ 1,620$	80 40	$1,170 \\ 7,150$	$\begin{array}{c} 140 \\ 2,470 \end{array}$	3,020 11,280	110 1,840	3,130 13,120
Lake La Plata Larimer Las Animas Lincoln Logan	20,990 43,150 16,150 1,950 24,150	20 3,370 3,230 4,070 140 880	20 1,570 370 7,310 5,940	1,660 4,370 9,790 4,010 3,920 1,170	$1,680 \\ 28,750 \\ 57,740 \\ 24,600 \\ 13,320 \\ 32,140$	5,630 780 5,020 1,430 4,940 12,810	7,310 29,530 62,760 26,030 18,260 44,950
Mesa Mineral Moffat Montezuma Montrose Morgan	$\begin{array}{r} 32,940 \\ 10 \\ 13,150 \\ 19,460 \\ 34,120 \\ 22,940 \end{array}$	610 1,220 3,870 880 1,810 410	140 90 30 20 4,360	2,280 940 8,870 1,460 1,160 1,330	35,970 2,170 25,980 21,830 37,110 29,040	160 940 3,890 90 110 10,590	36,130 3,110 29,870 21,920 87,220 39,630
Otero Ouray	18,850 3,560	950 5,450	110	$3,670 \\ 1,270$	23,580 10,280	150 1,300	23,730 11,580
Park Phillips Pitkin Prowers Pueblo	20 440 3,140 36,150 17,940	220 50 6,210 90 990	4,370 1,140 510	6,920 850 330 620 410	7,160 5,710 9,680 38,000 19,850	85,920 200 250 540 1,750	43,080 5,910 9,930 38,540 21,600
Rio Blanco Rio Grand Routt	18,790 9,150 9,870	8,840 6,090 31,140		8,430 24,340 4,780	36,060 39,580 45,890	2,580 3,910 1,390	38,640 43,490 47,280
Saguache	7,140	3,130		19,590	29,860	45,750	75,610
San Miguel Sedgwick Summit	4,020 4,650 30	1,290 220 7,320	720	3,690 2,290 690	9,000 7,880 8,040	200 5,010 760	9,200 12,890 8,800
Teller	160	120		9,770	10,050	1,110	11,160
Washington Weld	3,060 95,540	90 1,570	16,860 11,640	3,640 9,720	23,150 118,470	10,250 14,200	83,400 132,670
Yuma	2,490	510	6,870	1,660	11,580	8,250	19,780
State	743,000	182,000	92,000	241,000	1,258,000	362,000	1,620,000

\*Includes grains cut green.

	T T	AME HA	Y	l v	ULD HA	v		HAV
COUNTY		1						Dredus
	Acreage	Yield	Production Tons	Acreage	Yield	Production Tons	Acreage	tion Tons
Adams	21,220	1.5	31,830	2,660	8	2 130	23 880	32.060
Alamosa	24,170	1.2	29,000	13,450	.5	7,230	37,620	36,230
Arapahoe	17,200	1.4	24,080	2,300	.8	1,840	19,500	25,920
Archuleta	15,180	1.0	19,730	1,540	.8	1,230	16,720	20,960
Baca	4,070	1.1	4,480	490	.8	390	4,560	4,870
Bent	26,400	1.2	31,680	290	.6	170	26,690	31,850
Boulder	26,190	1.7	44,520	4,280	1.0	4,480	30,470	49,000
Chaffee	3,750	1.0	8,750	840	1.0	840	9,590	9,590
Cheyenne	2,530	1.0	2,530	1,450	.6	870	3,980	3,400
Clear Creek	970	.9	870	310	1.3	400	1,280	1,270
Costilla	11,000	1.0	14 300	20,710		14,490	40,910	40,750
Crowley	8,950	1.0	8,950	1,080	.8	50	9.010	9,000
Custer	16,740	1.5	25,110	3,580	.8	2,860	20,320	27,970
Delta	29 510	18	53 120	190	0	160	20 600	59.990
Denver				100		100	29,090	03,280
Dolores	1,100	1.1	1,210	80	.9	70	1,180	1,280
Douglas	15,740	1.3	20,460	2,190	.7	1,530	17,930	21,990
Eagle	23,630	1.7	40.170	490	1.1	540	24,120	40.710
Elbert	22,030	.6	13,220	4,210	.5	2,110	26,240	15,330
El Paso	23,200	.6	13,920	6,180	.7	4,330	29,380	18,250
Fremont	13,500	1.6	21,600	130	.7	90	13,630	21,690
Garfield	40,720	1.9	77,370	710	.9	660	41,430	78,030
Gilpin	780	.9	700	510	1.0	510	1,290	1,210
Grand	26,610	1.1	29,270	4,240	1.1	4,990	30,850	34,260
Gunnison	54,040	1.1	31,440	15,200	1.1	10,720	49,240	34,100
Hinsdale Huerfano	2,950 20,330	1.2 1.6	3,540 32,530	700 920	.7 .5	. 490 460	3,650 21,250	4,030 32,990
Jackson	3,350	1.0	3,350	89,650	1.0	91,650	93,000	95,000
Jenerson	18,540	1.0	29,000	1,210	1.1	1,550	19,100	1,000
Kiowa Kit Carson	3,020 11,280	.6 .7	1,810 7,900	110 1,840	.6 .5	$\begin{array}{r} 70\\1,170\end{array}$	3,130 13,120	9,070
Lake	1,680	.9	1,510	5,630	.7	3,940	7,310	5,450
La Plata	28,750	1.5	43,120	780	1.0	780	29,530	43,900
Larimer	24 600	1.0	92,380	5,020	1.1	5,520	26,030	28.200
Lincoln	13.320	.8	10,660	4,940	.5	2,470	18,260	13,130
Logan	32,140	1.5	48,210	12,810	.7	8,960	44,950	57,170
Mesa	35,970	1.9	68,340	160	.9	140	36,130	68,480
Mineral	2,170	1.0	2,170	940	.6	560	3,110	2,730
Moffat	25,980	1.1	28,580	3,890	.9	3,500	29,870	32,080
Montrose	37 110	1.0	59 380	110	1.0	110	37.220	59,490
Morgan	29,040	1.7	49,370	10,590	.8	5,280	39,630	54,650
Otero	23,580	1.4	33,000	150	1.0	150	23,730	33,150
Ouray	10,280	1.4	14,390	1,300	1.3	1,690	11,580	16,080
Park	7.160	.9	6.440	35,920	.7	25,140	43,080	31,580
Phillips	5,710	1.0	5,710	200	.7	140	5,910	5,850
Pitkin	9,680	.9	8,710	250	.9	220	9,930	34 690
Prowers	19 850	.9	34,200	1 750	1.0	1.750	21.600	29,540
D' D'	20,000	1.1	40.070	2,100	1.0	2 1 0 0	38 640	46.370
Rio Grande	39,060	1.2	43,270	2,580	1.2	2,740	43,490	38,360
Routt	45,890	1.1	50,480	1,390	1.0	1,390	47,280	51,870
Saguacha	29.860	7	20 900	45 750	.6	27,450	75,610	48,350
San Juan								10 100
San Miguel	9,000	1.1	9,900	200	1.4	280	9,200	15,180
Sedgwick Summit	7,880	1.5 0	11,820	0,010 760	.8	4,010	8.800	7,920
m-11	10.050		0.040	1 110		670	11 160	8.710
Teller	10,050	•8	8,040	1,110	<i>0</i> .	010	11,100	94 670
Washington	23,150	.8	18,520	10,250	.6	6,150	33,400	189.070
weia	118,470	1.5	177,710	14,200	6.	11,000	10 500	15 230
Yuma	11,530	.9	10,380	8,250	.6	4,950	19,780	10,000
State	1,258,000		1,647,000	362,000		290,000	1,620,000	1,937,000
						1		

# ACREAGE AND PRODUCTION OF HAY, 1931

#### NUMBER AND SIZE OF FARMS AND FARM TENURE, 1931

COUNTY	No. of Farms	Average No. of Acres Per Farm	Total Farm Acreage	Owners	Renters	Home- steaders	Owners and Renters
Adams Alamose. Arapahoe Archuleta	1,430 370 750 330	240.93 287.54 396.75 321.64	344,530 106,390 297,560 106,140	789 234 346 279	541 118 285 41		100 18 117 8
Baca Bent Boulder	1,420 790 980	$583.93 \\ 344.14 \\ 138.88$	829,180 271,870 136,100	459 284 505	548 372 443	5 14 	408 120 32
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	200 470 30 680 330 560 320	234.25 483.19 231.00 113.46 75.12 176.07 465.31	$\begin{array}{r} 46,850\\ 227,100\\ 6,930\\ 77,150\\ 24,790\\ 99,040\\ 148,900\end{array}$	151 197 24 541 193 192 233	45 190 5 117 128 323 72	 1  3 7	4 83  22 9 42 8
Delta Denver* Dolores Douglas	1,430 	83.69 298.33 633.95	119,670 44,750 253,580	1,016 142 231	393 	4	17
Eagle Elbert El Paso	360 1,070 950	249.06 583.74 491.26	89,660 624,600 466,700	310 550 499	41 375 367	8	1 145 84
Fremont Garfield Gilpin Grand	890 780 30 230	98.33 196.58 360.33 586.22	87,510 153,330 10,810 134,830	645 538 18 200	173 207 10 27	2 7 2	70. 28 
Gunnison Hinsdale Huerfano	290 30 490	553.93 338.00 534.73	160,640 10,140 262,020	251 30 485	28 5	3	8
Jackson Jefferson	240 1,400	856.33 143.39	205,520 200,740	225 965	13 370	2	
Kiowa Kit Carson	540 1,460	541.33 533.86	292,320 779,430	228 424	196 703		116 331
Lake La Plata Larimer Las Animas Lincoln Logan	30 760 1,450 880 1,020 1,830	688.33 260.07 186.52 287.15 482.75 412.93	$\begin{array}{r} 20,650\\ 197,650\\ 270,450\\ 252,690\\ 492,400\\ 755,660\end{array}$	24 427 666 593 499 498	6 224 695 222 372 886	 9 1	109 89 56 148 446
Mesa Mineral Moffat Montezuma Montrose Morgan	2,350 30 700 590 1,020 1,360	69.09 582.67 487.23 206.92 123.06 331.82	$162,350 \\ 17,480 \\ 841,060 \\ 122,080 \\ 125,520 \\ 451,280 \\ 125,2$	1,766 25 545 375 562 501	484 3 67 156 374 695	8 2 42 12  1	92 46 47 84 163
Otero Ouray	930 150	$114.62 \\ 246.33$	106,600 36,950	436 106	425 42	 	69 2
Park Phillips Pitkin Prowers Pueblo	230 690 130 1,080 1,190	729.04 494.96 325.31 313.09 290.10	$167,680 \\ 341,520 \\ 42,290 \\ 338,140 \\ 345,220$	174 143 111 397 604	42 305 19 532 406	13 1 	1 241 149 180
Rio Blanco Rio Grande Routt	$350 \\ 450 \\ 640$	605.66 300.56 378.83	211,980 135,250 242,450	348 274 484	2 128 187		48 14
Saguache San Juan San Miguel Sedgwick Summit	350 210 550 60	464.43 502.14 433.85 396.67	162,550 105,450 238,620 23,800	163 <u>177</u> 172 56	165 25 270 4	5	22 
Teller Washington Weld	180 1,600 4,420	343.00 578.88 242.90	61,740 926,210 1,073,600	129 424 1,594	47 682 2,443	8 2 1	1 492 882
State	1,620 46,250	543.62 330.18	880,670 15,268,770	648 24,055	638 16,852	 171	834 5,172

\*No farm reports are taken by the assessor of the City and County of Denver. Its farms are allotted by the Crop Reporting Service to neighboring counties on the best authority available.

# FARM ACREAGE REPORTED UNDER VARIOUS TENURES AND TOTAL ACREAGE HARVESTED, 1931

COUNTY	Acreage Owners	Acreage Renters	Acreage Home- steaders	Acreage Owners and Renters	Total Farm Acreage	Total Harvested Acreage	Harv. Area % of Total Area
Adams Alamosa Arapahoe Archuleta	156,169 70,870 118,118 86,608	$\begin{array}{r} 141,191 \\ 27,818 \\ 115,865 \\ 14,060 \end{array}$	 94 324	$\begin{array}{r} 47,170\\7,702\\63,483\\5,148\end{array}$	344,530 106,390 297,560 106,140	183,920 54,050 132,950 22,390	22.77 11.62 24.67 2.87
Baca Bent Boulder	228,882 94,592 62,114	$267,010 \\ 94,309 \\ 67,858$	1,246 6,458 	$332,042 \\ 76,511 \\ 6,128$	829,180 271,870 136,100	476,180 91,470 88,590	29.15 9.38 18.12
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	37,274 94,875 5,947 59,159 12,624 36,680 116,408	$\begin{array}{r} 8,348\\ 81,529\\ 886\\ 13,719\\ 10,550\\ 56,830\\ 26,924\end{array}$	97  845 2,134	$\begin{array}{r} 1,228\\ 50,696\\ \hline \\ 4,272\\ 1,616\\ 4,685\\ 3,434\\ \end{array}$	$\begin{array}{r} 46,850\\ 227,100\\ 6,930\\ 77,150\\ 24,790\\ 99,040\\ 148,900 \end{array}$	$\begin{array}{r} 14,655\\ 154,955\\ 1,335\\ 72,465\\ 35,250\\ 36,550\\ 29,095\end{array}$	$\begin{array}{c} 2.11\\ 13.63\\ 0.53\\ 9.04\\ 4.65\\ 7.07\\ 6.09\end{array}$
Delta	79,072	37,854	859	1,885	119,670	55,985	7.28
Dolores Douglas	43,035 144,435	1,715 103,582		5,563	44,750 253,580	5,840 55,230	0.87 10.21
Eagle Elbert El Paso	76,998 305,476 224,055	10,444 186,968 176,715	2,087	$131 \\ 132,156 \\ 65,930$	$89,660 \\ 624,600 \\ 466,700$	$28,460 \\ 187,520 \\ 160,600$	2.74 15.78 11.83
Fremont	61,124	19,013	27	7,346	87,510	26,030	2.61
Garfield Gilpin Grand Gunnison	106,033 6,853 119,042 136,752	39,036 3,597 12,233 13,089	2,599 360 1,120	5,662 3,555 9,679	$153,330 \\ 10,810 \\ 134,830 \\ 160,640$	59,140 1,540 33,090 50,300	2.97 1.82 2.77 2.47
Hinsdale Huerfano	$10,140 \\ 260,192$	1.828			$10,140 \\ 262,020$	3,725 32,210	0.60
Jackson Jefferson	$195,171 \\ 133,462$	9,057 60,439	1,292	6,839	205,520 200,740	93,270 46,590	8.93 9.01
Kiowa Kit Carson	114,113 207,693	101,514 333,255		76,693 238,398	292,320 779,430	120,390 364,640	10.46 26.39
Lake La Plata Larimer Las Animas Lincoln Logan	$16,520 \\ 107,885 \\ 141,946 \\ 158,037 \\ 241,861 \\ 189,289$	4,130 48,983 115,927 63,773 144,894 297,906	 1,600 281 	40,782 12,577 29,280 105,364 268,465	20,650 197,650 270,450 252,690 492,400 755,660	$7,315 \\51,145 \\152,010 \\111,030 \\226,440 \\379,780$	$\begin{array}{c c} 3.08 \\ 4.32 \\ 9.03 \\ 3.61 \\ 13.77 \\ 32.57 \end{array}$
Mesa Mineral Moffat Montezuma Montrose Morgan	$113,189 \\ 16,815 \\ 245,296 \\ 73,221 \\ 69,272 \\ 147,876$	$35,629 \\ 498 \\ 37,876 \\ 31,239 \\ 45,529 \\ 191,857$	862 167 20,279 2,997  162	12,670 37,609 14,623 10,719 111,385	162,350 17,480 341,060 122,080 125,520 451,280	72,670 3,115 47,180 55,715 65,690 223,855	$\begin{array}{c c} 3.59\\ 0.56\\ 1.58\\ 4.24\\ 4.53\\ 27.20\end{array}$
Otero Ouray	$52,371 \\ 26,786$	45,790 9,694		8,439 470	106,600 36,950	72,125 14,645	8.95 4.41
Park Phillips Pitkin Prowers Pueblo	132,655 63,109 35,826 120,325 137,468	26,490 132,736 6,464 145,635 94,180	7,707 118 	828 145,557 71,915 113,572	$\begin{array}{r} 167,680\\ 341,520\\ 42,290\\ 338,140\\ 345,220\end{array}$	45,105 233,295 11,710 157,910 99,595	3.14 52.98 1.80 15.14 6.40
Rio Blanco Rio Grande Routt	$210,734 \\ 84,086 \\ 164,019$	1,246 32,805 65,122	2,835	18,359 10,474	211,980 135,250 242,450	44,490 89,950 68,890	21.57 15.65 4.66
Saguache	116,278	33,636		12,636	162,550	94,955	4.74
San Juan San Miguel Sedgwick Summit	96,563 54,848 21,638	6,144 101,968 2,162	1,575	1,168 81,804	$105,450 \\ 238,620 \\ 23,800$	11,945 142,605 9,080	1.45 41.96 2.19
Teller	46,759	13,816	406	759	61,740	13,835	3.95
Washington Weld	189,861 327,653	334,929 506,572	589 167	400,831 239,208	926,210 1,073,600	376,510 635,770	23.34 24.70
Yuma	325,629	293,302		261,739	880,670	498,150	32.88
State	7,131,781	4,908,168	59,636	3,169,185	15,268,770	6,784,925	10.15

# NUMBER OF FARMS REPORTING PRINCIPAL CROPS IN 1931

COUNTY	Corn	Oats	Barley	Winter Wheat	Spring Wheat	Potatoes	All Sor- ghums	Alfalfa	Sugar Beets
Adams Alamosa Arapahoe Archuleta	979 609 14	208 231 124 245	640 241 385 58	464 284 52	278 139 145 133	63 303 15 271	331 332 	567 303 276 272	361 47 47 
Baca Bent Boulder	1,124 742 782	7 79 471	247 320 768	648 92 370	6 3 394	 1 22	1,185 351 2	25 471 895	234 503
Chaffee Cheyenne Clear Creek Conejos Oostilla Crowley Custer	2 463  35 475 39	$122 \\ 25 \\ 1 \\ 238 \\ 40 \\ 82 \\ 187$	128 223 1 435 147 211 142	42  18 17 4 16	$118 \\ 27 \\ 1 \\ 314 \\ 165 \\ 15 \\ 42$	169  509 207 4 172	430  177 1	150 2 321 155 385 21	4  9 1 273
Delta Denver Dolores Douglas	889 131 353	375 -70 300	294  40 98	44  38 98	$532 \\ \\ 40 \\ 41$	396 -99 85	2  40 59	1,197 	183   J
Eagle Elbert El Paso	1,021 856	140 429 414	67 301 88	219 49	96 235 109	143 432 267	416 222	247 243 53	
Fremont Garfield Gilpin Grand Gunnison	546 263 	186 335 29 65 55	124 256 4 31 49	23 33  6 1	105 413 3 6 31	55 453 29 90 230	23 6 	470 715 20 28	2 110 
Hinsdale Huerfano	331	1 185	114	34	-64	8 11	- 37	4 246	
Jackson Jefferson	690	9 551	6 271	3 199	281	13 307	15	777	55
Kiowa Kit Carson	516 1,414	8 288	78 1,154	42 521	270	878	498 1,213	26 21	
Lake La Plata Larimer Las Animas Lincoln Logan	338 848 774 966 1,592	445 551 223 35 492	357 1,027 161 461 1,351	31 295 101 216 783	510 305 93 225 186	440 159 33 472 709	10 30 395 710 672	636 1,174 204 31 595	907 35 470
Mesa Mineral Moffat Montezuma Montrose Morgan	$1,622 \\ -217 \\ -389 \\ -694 \\ 1.168$	646 341 323 489 177	412 139 182 280 775	$     \begin{array}{r}       241 \\       \overline{186} \\       16 \\       36 \\       162     \end{array} $	$ \begin{array}{r} 658 \\ 200 \\ 332 \\ 700 \\ 141 \end{array} $	886 1 352 447 735 220	57 	1,769 1 399 374 911 647	128 
Otero Ouray	775 1	316 71	417 37	65 10	73 82	4 96	117	749 90	600
Park Phillips Pitkin Prowers Pueblo	644 888 974	169 324 104 97 236	76 438 18 526 258	3 591  134	7 15 71 9 117	183 21 105 1 10	460 688 271	1 17 69 552 717	  267 270
Rio Blanco Rio Grande Routt	2	185 289 893	39 308 294	49 -72	184 152 194	237 433 222		272 279 252	
Saguache San Juan San Miguel Sedgwick Summit	 37 456 	189 -71 194 14	199 	15  34 347 	61 -39 6 5	$     102     \overline{39}     177     28 $	 13 81 	123  91 164 2	 130
Teller	1	169	38	1	3	167		3	
Washington Weld	1,361 2,912	198 1,151	1,076 3,070	650 905	226 826	318 1,892	881 347	76 2,852	52 2,767
Yuma	1,523	234	528	771	66	471	1,240	40	
State	80,457	13,626	19,848	9,031	9,445	14,212	11,786	21,204	8,186

#### COLORADO: FARM VALUE, GROSS INCOME AND CASH INCOME FROM FARM PRODUCTION, BY COMMODITIES, 1925-1927

#### In Thousands of Dollars

CROPS

		1925			1926		1927						
COMMODITIES	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income				
Corn	14,382	3,325	3,320	7.437	1.689	1.684	14.727	3.793	3 789				
Wheat	20,683	16,252	16,114	20.296	16.475	16.367	21,922	17,266	17 157				
Oats	2,831	991	991	2,153	667	667	2,795	783	782				
Barley	5,252	1,471	1.471	3,405	1.021	1.021	5 412	1 624	1.62				
Rye	629	390	390	694	440	440	575	343	3/1				
Flaxseed	7	4	4			110	010	010	040				
Grain sorghums	1.921	43	43	681	25	25	2 442	134	134				
Emmer and Speltz	73			45			79	101	104				
Нау	34.328	8.579	8,579	27.984	6.996	6,996	28 250	7.067	7.067				
Sweet sorghum forage	1.344	134	134	1.132	115	115	1 258	128	128				
Cloverseed, sweet*	228	200	200	292	256	256	248	225	225				
Alfalfa seed	235	192	192	137	99	99	108	66	66				
Dry edible beans	5.533	4.645	4.621	3.552	2.664	2.638	4 452	3 4 96	3 468				
Broomcorn	266	266	266	282	282	282	528	528	528				
Potatoes, white	18,860	14,641	14.210	13.911	11.315	11.006	10.512	7 975	7.747				
Truck crops	9,625	9,625	9,167	7.775	7.775	7.405	8.644	8.644	8 232				
Apples	4,160	4,014	3.786	2,686	2,552	2,355	3,136	3.042	2,842				
Peaches	855	855	821	1.074	1.042	1.005	1.070	1.070	1.049				
Pears	586	569	557	367	352	344	672	652	640				
Plums (prunes), cherries				1	-		{						
and apricots	342	342	328	430	417	402	428	428	420				
Grapes	22	21	1	12	12	3	17	17	4				
Strawberries	61	61	57	52	52	48	63	63	60				
Small fruits	64	64	61	55	55	52	66	66	64				
Sugar beets, for sugar_	9,815	9,815	9,815	23,050	23,050	23,050	21,758	21.758	21,758				
Forest products	327	327	177	318	318	172	309	309	167				
Farm gardens	1,810	1,810		1,706	1,706		1,596	1,596					
Nursery products	83	83	83	83	83	83	83	83	83				
Greenhouse products	1,062	1,062	1,062	1,062	1,062	1,062	1,062	1,062	1,062				
Total	135,384	79,781	76,450	120,671	80,520	77,577	132,212	82,218	79,439				

#### LIVESTOCK AND LIVESTOCK PRODUCTS

Cattle and calves	21 808	25 720	25 146	91 790	91 491	20 797	24 460	20.964	20 573
Cattle and carves	21,000	40,140	20,140	21,149	41,461	20,101	24,409	30,204	29,010
Hogs	14,466	15,332	13,414	13,492	13,667	11,587	12,053	11,067	9,472
Sheep and lambs	9,738	9,965	9,807	8,826	14,486	14,340	9,029	1,374	1,234
Horses	1,320	713	713	1,105	734	734	915	580	580
Mules	348	226	226	284	300	300	284	292	292
Chickens	3,588	3,487	1,771	4,288	4,053	2,314	4,146	4,092	2,120
Eggs (chicken)	6,850	6,550	4,300	6,967	6,664	4,660	6,240	5,990	4,014
Milk	16,776	16,200	12,276	19,475	18,867	14,725	22,021	21,356	17,214
Wool	2,676	2,676	2,676	2,632	2,632	2,632	2,273	2,273	2,273
Honey	270	270	231	289	289	253	345	345	310
Beeswax	7	7	7	8	) 8	] 8	11	11	11
Total	77,847	81,155	70,567	79,095	83,121	72,340	81,786	77,644	67,094
Grand Total		160,936	147,017		163,641	149,917		159,862	146,538
		I	I	I	1		l	1	·

\*Cloverseed (red and alsike) included in sweet cloverseed.

Farm value relates to the evaluation of the total outturn of the given commodity, irrespective of use, whether sold, consumed by the farm family, or consumed in the production of further farm products on the farm where grown.

Cash income relates to the value of quantities actually sold off the farms of the State where these were produced.

Gross income relates to cash income plus the value of the products consumed in the farm household on the farm where the commodities were produced.

The farm value, gross income, and cash income of crops are credited to the year in which the commodifies were produced, evaluated at prices received during the marketing season for the particular crop.

Farm value, gross income, and cash income from livestock production are computed on a calendaryear basis, evaluated at average prices for the calendar year.

#### STATE OF COLORADO

#### COLORADO: FARM VALUE, GROSS INCOME AND CASH INCOME FROM FARM PRODUCTION, BY COMMODITIES, 1928-1930

#### In Thousands of Dollars

CROPS

		1928		195	29 (Revise	d)	1930 (Preliminary)						
COMMODITIES	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income				
Corn	14,581	4,035	4,029	16,671	4,118	4,118	24,161	7,079	7,055				
Wheat	15,779	12,260	12,175	16,632	12,973	12,873	12,420	9,315	9,240				
Oats	2,872	804	804	2,826	706	706	2,176	653	653				
Barley	6,958	2,505	2,505	5,910	1,773	1,773	4,919	1,722	1,722				
Rve	562	337	337	364	236	236	233	149	149				
Grain sorghums	1.640	149	149	1.470	193	193	1,170	246	246				
Emmer and speltz	86			98			79						
Hav	81,640	9,498	9,498	29.475	7.369	7.369	27.183	8.155	8.155				
Sweet sorghum forage_	1.230	123	123	1,512	150	150	1,430	142	142				
Popcorn				44	44	44	59	59	59				
Cloverseed (red and alsike)	78	62	62	140	128	128	99	89	89				
Cloverseed, sweet	92	74	74	34	25	25	68	50	50				
Alfalfa seed	274	225	225	525	471	471	542	505	505				
Dry edible beans	4,365	3,387	3,357	6,026	5,110	5,086	5,832	5,371	5,354				
Broomcorn	799	799	799	1,030	1,030	1,030	530	530	530				
Potatoes. white	6,112	3,997	3,818	16,137	13,394	12,974	10.488	8,642	8.401				
Truck crops	8,082	8,082	7,697	9,633	9,633	9,071	8,853	8,853	8,428				
Apples	2,688	2,567	2,371	2,185	2,109	1,932	901	874	769				
Peaches	780	756	731	1,382	1,341	1,307	1,141	1,118	1,093				
Pears	194	188	178	900	872	860	190	184	180				
Plums (prunes)	78	76	73	145	141	137	118	116	114				
Grapes	17	16	5	18	17	6	8	8	1				
Apricots	36	36	35	48	48	47	24	24	23				
Cherries	234	234	210	612	612	550	315	315	276				
Strawberries	39	39	36	39	39	36	39	39	36				
Small fruits	41	41	39	41	41	39	41	41	39				
Sugar beets, for sugar	16,687	16,687	16,687	18,106	18,106	18,106	22,873	22,873	22,873				
Forest products	310	310	167	321	321	173	299	299	161				
Farm gardens	1,820	1,820		1,809	1,809		1,380	1,380					
Nursery products	83	83	83	83	83	83	83	83	83				
Greenhouse													
products	1,062	1,062	1,062	1,062	1,062	1,062	1,062	1,062	1,062				
Total	119,219	70,252	67,329	135,278	83,954	80,585	128,716	79,976	77,488				

LIVESTOCK AND LIVESTOCK PRODUCTS

							the second se	the second se	
Cattle and calves	31,189	31.040	30.371	30.510	29 558	28 943	25 403	23 201	22 567
Hogs	11,900	11,813	10,312	13,363	14,063	12,228	12.167	11.962	10.299
Sheep and lambs	10,273	9,720	9,573	10,407	5,539	5,394	7,903	11,739	11,526
Horses	923	428	428	882	348	348	806	318	318
Mules	296	234	234	327	206	206	262	207	207
Chickens	4,184	4,253	2,486	4,686	4,412	2,477	3,416	3,508	1,817
Eggs (chickens)	7,245	6,952	4,972	8,155	7,829	5,825	6,797	6,566	4,838
Milk	21,552	20,738	16,558	22,729	21,929	17,413	17,395	16,790	13,306
Wool	3,285	3,285	3,285	2,894	2,894	2,894	2,160	2,160	2,160
Honey Beeswax	251 9	251 9	219 9	323 10	323 10	291 10	247 6	247 6	218 6
Total	91,107	88,723	78,447	94,286	87,111	76,029	76,562	76,704	67,262
Grand Total		158,975	145,776		171,065	156,614		156,680	144,750
-					•	•			

(See explanatory footnotes on preceding page.)

CROP OF	1931	1930	1929	1928	1927	1926	1925	1924	1923	1922	1921	1920
Fruits												
Apples	1,096	1,082	2,322	2,804	2.228	2.877	3,193	2,404	2.718	3,385	3,882	3.063
Peaches	1,503	1,369	1,765	1,117	1,709	1.271	834	1.772	1.254	1,428	1.223	3 091
Pears	396	249	1,082	264	737	750	717	955	696	774	745	654
Mixed Deciduous												
Fruits	18	25	34	22	37	44	26	62	60	99		
Vegetables												
Potatoes	7,481	18,080	15,366	13,714	17,328	14,200	15.422	12.386	13.870	15,467	17.697	11.229
Cabbage	611	1,164	810	1,162	683	1,274	1,432	1.473	3.174	1.964	2,523	1.832
Celery	53	136	149	188	161	211	399	197	125	222	211	305
Onions	1,482	2,124	4,035	2,244	1,460	1.758	1.809	1.064	928	651	447	150
Lettuce	1,001	1,610	2,109	2,368	2,848	2,795	3.096	1.036	1.436	812	234	129
Mixed Vegetables	3,613	4,215	4,079	3,780	3,444	3,473	4,111	3,428	2.880	2,178	1.042	1.351
Cauliflower	1,455	1,309	1,500	843	411	220	191	61	101	4	3	2,000
Cantaloupes	2,772	4,094	3,195	2,110	2,993	3,574	3,224	2.654	2,195	4.420	3.288	2.482
Watermelons	87	90	31	35	34	71	80	56	55	148	149	67
Miscellaneous Melons	265	178	1,469	679	985	1,534	613	575	111			
Dry Beans	1,628	4,312	2,347	1,575	1,710	1,866	2,927	1.316	1.732	427	486	333
Peas, Green	659	463	459	348	149	58	35					
Carrots	41	43	96	216	10	62	29	26	12	4	9	1
Spinach	50	28	67	6	8	6	14	3				
Tomatoes	195	138	55	59	20	27	195	77	128	94	38	135
Beans, String	76	165	58	3	5	1	5					
						1				1		

#### CARLOT SHIPMENTS OF COLORADO FRUITS AND VEGETABLES

Note-Shipments of 1931 crops of dry beans cover period from September 1, 1931, to June 1, 1932, and potato shipments cover period from July 1, 1931, to June 28, 1932.

### COLORADO'S BEAN SHIPMENTS, CAR LOTS, CROP YEAR BASIS-SEPT. 1 TO AUG. 31

COUNTY	1931*	1930	1929	1928	1927	1926	1925	1924
Adams	11	72	27	20	23	23	18	10
Arapahoe	85	444	196	81	155	103	158	67
†Baca	45	91	74					
Crowley	8	50	38	48	32	11	40	3
El Paso	274	498	306	262	315	255	427	210
Elbert	224	562	227	147	138	117	255	183
†Kit Carson	5	32	21					
‡Larimer	3							
Las Animas	57	95	100	37	14	37	17	20
Lincoln	96	246	105	114	99	51	87	58
Logan	2	35	37	13	16	20	37	17
Mesa	85	130	119	116	68	30	23	4
†Montezuma	24	123	83					
Morgan	142	429	179	146	223	180	309	136
Otero	65	196	131	119	172	133	98	35
Pueblo	25	135	106	20	84	49	79	21
†Washington	24	96	30					
Weld	443	1,021	501	394	344	827	1,336	530
†Yuma		28	38					
Other Counties	10	29	29	58	27	30	43	22
Total Colorado	1,628	4,312	2,347	1,575	1,710	1,866	2,927	1,316
United States	14,039	18,253	18,422	15,003	13,643	17,086	19,725	14,924
	1	1	1		4	1	τ	•

CROP OF

\*1931 crop shipments only to June 1, 1932.

Shipments previous to 1929 crop included in "Other Counties."

\$\$ Shipments previous to 1931 included in "Other Counties."

#### HARVESTED ACREAGE OF ALL CROPS, 1930

COUNTRY		-				·	Sugar	Son	David		D	Di-11	Snap Beans						GAF	DEN PE	AS	cu	CUMBER	s	·C	ABBAGE		T	OMATOES	3	CANTALOUPES AND HONEY DEW MELONS			All 7	Total	<u> </u>
CODNTY	wneat	Corn	Oats	Barley H	Potatoes	Rye	Beets	ghums	Beans	Нау	corn	Peas	Canning and Market	Lettuce	Celery	flower	melons	Onions	For Market	For Mfg.	Total	For Pickles	For Seed	Total	Early	Late	Total	For Market	For Mfg.	Total	For Market	For Seed	Total	Other H Crops	arvested Acreage	COUNTY
Adams Alamosa Arapahoe Archuleta	74,710 2,000 62,910 1,790	$36,580 \\ 10 \\ 28,850 \\ 1,100$	2,460 4,140 2,680 1,610	20,360 2,460 9,450 350	$\begin{array}{c}310\\6,650\\20\\210\end{array}$	1,250 20 1,335 	11,130 1,170 1,300	5,270 1,905	$26,760 \\ 10 \\ 24,890 \\ 60$	23,420 40,350 19,880 16,650	25 	20 2,690 	515  20 	245 60 20 5	320  30 	200 100	20. 	190  30 	30 70 5	380	410 70 5	410 	····	410	565 	300 50	865	65  15 	340 	405 	105  	· · · · · · · · · · · · · · · · · · ·	105 	1,785 740 440 135	207,765 60,470 153,940 21,910	Adams Alamosa Arapahoe Archuleta
Baca Bent Boulder	$\begin{array}{r} 172,900 \\ 4,110 \\ 18,480 \end{array}$	73,320 27,140 9,260	110 1,220 3,590	5,220 4,840 8,040	5 5 210	$1,055 \\ 60 \\ 70$	5,310 9,910	45,765 15,745 	$8,470 \\ 2,650 \\ 360$	2,700 28,790 29,230	55,630 740 	$\begin{array}{c} \dots \\ 10\\ 290 \end{array}$	 115	···· ···· 10	···· ···· 5		15 55 10	210	····. 5 ····	 1,190	 5 1,190	 135	· · · · · · · · · · · · · · · · · · ·			 5 100	 5 170	5  20	 160	5 180	1,290		1,290	875 4,835 960	366,070 97,020 82,215	Baca Bent Boulder
Chaffee. Cheyenne. Slear Creek. Conejos. Costilla. Crowley. Custer.	890 14,370 6,540 2,300 250 970	$10 \\ 99,100 \\ 20 \\ 140 \\ 90 \\ 12,100 \\ 1,090$	$1,580 \\ 860 \\ 10 \\ 4,530 \\ 1,740 \\ 860 \\ 1,740 $	2,210 11,590 9,530 2,270 1,600 1,010	$610 \\ 80 \\ 30 \\ 6,720 \\ 550 \\ 5 \\ 2,425$	$ \begin{array}{c}     420 \\     30 \\     55 \\     15 \\     140 \end{array} $	80  320 20 5,910 	10,975  4,430 1,175	50 1,340 620 660 7,900	$10,610 \\ 5,020 \\ 830 \\ 47,400 \\ 12,610 \\ 15,280 \\ 18,800$	760	1,590  7,960 11,200  440	5   40 	415  380 475 	10  	20  195 1,040 5 95	5   60 	  185	320  1,855 1,100  620	· · · · · · · · · · · · · · · · · · ·	320  1,855 1,100 620	···· ···· 275	···· ···· ··· 15	290	  10 5	20  5 35 10 10	20  5 45 15 10	····· ···· 110	· · · · · · · · · · · · · · · · · · ·	 110	  4,360	····· ···· 180	4,540	265 830 730 285 1,080 90	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer
Delta Denver Dolores Douglas	3,600 2,430 6,750	. 5,030 	2,340  430 7,370	2,320  180 1,890	910  165 170	5  170 2,145	2,810  	 180 550	220 1,650 2,430	35,250 1,140 16,350	···· ····	30 	95 	5  	5 	 	30 	705	5  5	····	5   5	····· ····	40 	40 	5	5	10 	10 	· · · · · · · · ·	10 	45		45 	9,515  35 195	62,980 7,190 54,065	Delta Denver Dolores Douglas
Eagle Elbert El Paso	$\begin{array}{c} 1,450\\ 32,300\\ 6,220\\ 480\end{array}$	20 57,620 65,530 2 200	1,610 7,860 13,200	310 7,860 2,320	$1,270 \\ 660 \\ 620 \\ 170$	4,695 4,725	660	5,425 4,355	56,790 62,760	24,705 26,150 28,650		10 110 20	···· ···· 5	270  10	5	···· ····	····	 5	40	···· ····	40 5	 	····	····	···· ···· 35	  40	 75	 	····	••••• ••••	····	····		105 955 665	29,790 200,425 189,830	Eagle Elbert El Paso
Garfield Garfield Grand Gunnison	5,890 5,890 	780	2,760 30 890 400	$\begin{array}{c} 520\\ 2,120\\ 10\\ 510\\ 220\\ \end{array}$	2,740 70 80 975	55 150 105	70 1,730 	30 	170 110 	$13,290 \\ 44,760 \\ 1,130 \\ 27,890 \\ 53,000$	····	80 30 90	380	$     \begin{array}{r}       100 \\       60 \\       15 \\       760     \end{array} $	80 5 	175 	····· ····	15  	140 10 	····	140 10 	····	····· ····		85 2 	105 3 	190 5 	115 5 	····	115 5 	10 	130 	140 	4,145 2,240 5 100	25,445 63,425 1,350 30,415	Fremont Garfield Gilpin Grand
Hinsdale Huerfano	2,570	5,590	180 950	360	10 190		  30	 490	2,120	52,230 3,440 21,340	·····	 140	  10		····· ····	 25	 10 	····	···· ···. 15	·····	  15	····	 		····	····	····	····	· · · · ·	····	·····			85  490	53,350 3,640 34,385	Gunnison Hinsdale Huerfano
Jackson Jefferson Kiowa Kit Carson	12,930 3,950 87,510	5,690 72,420 182,660	$110 \\ 4,450 \\ 120 \\ 4,460$	$     \begin{array}{r}       10 \\       3,730 \\       4,100 \\       83,500     \end{array} $	70 500 10 550	15 60 100 4,465		25,225 23,495	190 440 4,340	$91.430 \\ 19,330 \\ 3,040 \\ 12,950$	 1,710	····· ···· 10	120 	170 	310 	 85 	``io 	60 	550	••••	550 - 	5	····	····. 5 ····	 50	`iż; 	 	 405 		405	10 	  15	``i0 15	$ \begin{array}{r} 30 \\ 2,600 \\ 610 \\ 1,495 \end{array} $	91,665 52,090 111,740	Jackson Jefferson Kit Carson
Lake La Plata Larimer Las Animas Lincoln Logan	$\begin{array}{r} 9,870\\ 35,130\\ 5,750\\ 56,640\\ 154,350\end{array}$	2,100 14,190 31,800 98,990 107,460	5,890 5,760 2,380 890 7,400	1,960 17,750 2,510 25,820 57,600	960 690 155 305 1,005	55 175 420 3,730 8,550	22,940 700 20,640	80 40 6,805 22,285 9,625	1,280 900 23,720 36,630 7,020	5,090 33,030 57,540 25,810 19,420 48,930	 1,240 	30 450 120	290 10 5	5 100	5 5 5	····· ···· ····	 10 15	 10 10 	5 10	1,250 	 5 1,250 10 	···· ···· 120	···· 20	 20  120	···· 2 15 7 5	···· 35 35 3 ····	 50 10  20	 10 10 		10 10 5	 5 15  10	 35 	 5 50  10	5 1,335 4,235 1,855 795 4,230	5,095 56,610 161,420 103,500 265,505 426,990	Lake La Plata Larimer Las Animas Lincoln Logan
Mesa. Mineral. Moffat. Montezuma Montrose Morgan.	$\begin{array}{r} 4,700\\ 8,710\\ 8,540\\ 9,390\\ 50,850\end{array}$	$ \begin{array}{r} 13,030 \\ 1,220 \\ 4,460 \\ 3,880 \\ 80,750 \\ \end{array} $	3,570 3,920 5,780 4,990 3,420	$1,450 \\ \dots \\ 1,340 \\ 1,360 \\ 2,670 \\ 21,920$	1,595 5 475 905 4,120 1,320	130 2,645 285 95 3,555	1,890  2,750 26,660	155 100 260 7,150	6,290  60 4,990 790 21,930	34,970 2,630 31,925 22,700 41,000 41,170	····· ···· ····	60 10 430	15  5 160 20	15   5	15  5	· · · · · · · · · · · · ·	50  20 5	45  1,380 5	···· ···· 5	···· ···· ····	···· ···· 5	100   210	300  	400   210	10  2 10 5	15  3 10 10	25  5 20 15	25  10 10 5	540   10	565  10 10 15	170  15 	75  	245  15 5	10,310 820 1,810 2,460 2,050	79,465 2,635 51,215 51,205 73,735 261,485	
Otero. Ouray. Park. Phillips.	2,150 1,080 145,150 200	14,880 490  77,170	2,240 1,010 150 8,660	2,920 420 30 24,260	5 290 1,650 160	40 20 120 4,750	13,800	2,315  7,820	3,880 20  580	22,070 11,400 43,030 6,860	10 	20  40	320 	 20	10 	20  	455   5	2,060 	15  10 	· · · · · · · · · · · · · · · · · · ·	15  10 	990 	2,080	3,070	2  	3 	5  	20 	760 	780	2,950 	1,740	4,690 	7,215 60 15 1,440	82,970 14,790 45,035 276,895	Otero Ouray Park Phillips
Prowers Pueblo Rio Blanco	24,030 11,860 3,150 4,190	36,310 21,950	1,700 1,620 1,260 2,350 7,110	$ \begin{array}{r} 100\\ 10,400\\ 2,050\\ 580\\ 5420 \end{array} $	730 5 10 90	$10 \\ 180 \\ 90 \\ 180 \\ 20$	7,200 6,820	23,980 3,695	450 27,430	9,480 46,900 22,360 38,980 41,460	16,885	30	 440 	20	130	 830	10 135	265 	60	···· ···· ····	 60	••••• •••• ••••	 1,945 	 1,945 	 130	 260	390	10 135 	···· ····	10 135 	5 870	 225 	5 1,095 	20 2,645 2,560 620	12,330 170,660 105,530 45,950	Pitkin Prowers Pueblo Rio Blanco
Routt Saguache San Juan San Miguel Sedgwick	6,730 1,550 650 83,990	10  420 33,520	11,600 3,200 500 4,910	4,180 2,040  620 16,720	1,075 8,050 210 620	140 90  130 2,610	4,700	25 1,980	130 10 150 130	9,070 12,510	····	4,910	···· ····	1,870 2,140 10 			····	·····	20 	····· ····	20 	· · · · · · · · · · · · · · · · · · ·	····	·····	· · · · · · · · · · · · · · · · · · ·	5  	5 5  	···· ····	· · · · · · · · · · · · · · · · · · ·	····	····· ····	· · · · · · · · · · · · ·	····	180     430     60     55     385     385	97,470 80,590 95,250 11,830 162085	Rio Grande Routt Saguache San Juan San Miguel Sadgwick
Summit Teller Washington Weld	50 10 97,040 216,390	50 140,820 98,660	170 500 3,910 18,690	70 110 54,700 95,320	30 1,535 460 20,250	30 40 8,590 13,435	 410 92,340	20,230 10,260	 14,450 71,630	8,690 9,600 30,770 134,500	····· ····	10 190 60	  1,280	115  40	···· ···· 5	····· ····	 5 125	420	···· ···· 10				••••			  1,005	  1,580	···· ···· 240	420			· · · · · · · · · · · · · · · · · · ·	···· ···· 135	40 5,025 5,590	9,040 12,010 376,600 782,815	Summit Teller Washington Weld
Yuma State	$\frac{161,260}{1,632,000}$	$\frac{245,350}{1,732,000}$	5,300 195,000	28,790 572,000	540 92,000	29,640 101,000	242,000	21,150 283,000	4,520 432,000	21,950 1,658,000	77,000	210 49,000	3,850	7,440	950	2,800	20 1,070	5,600	5,820	3,700	9,520	2,800	4,400	7,200	1,705	5 2,195	5 3,900	<u> </u>	2,230	<u> </u>	10,000	2,400		6,775 99,340	525,510 7,222,530	Yuma

"All Other Crops" includes acreages for fruit crops (tree, bush and vine), alfalfa seed, clover seed, millet seed, garden crops to be consumed by the farmer, and commercial crops such as asparagus, garden beets, spinach, carrots, pumpkin and squash, etc.

.
#### COLORADO CROP ACREAGE, PRODUCTION AND VALUE, 1930

		PROD	UCTION	FARM VAI	UE DECE	MBER 1ST
KIND OF CROP	Acreage	Per Acre	Total	Unit	Per Unit	Total
linter Wheat	1,324,000	14.5	19,198,000	Bus.	\$ 0.53	\$ 10,175,000
oring Wheat	308,000	13.5	4,158,000	Bus.	.54	2,245,000
	1.732.000	22,5	38,970,000	Bus.	.62	24,161,000
ats for Grain <sup>1</sup>	195,000	31.0	6,045,000	Bus.	.36	2,176,000
arley for Grain	572,000	21.5	12,298,000	Bus.	.40	4,919,000
ve for Grain	74,000	8.5	629,000	Bus.	.37	233,000
rain Sorghums	180,000	13.0	2,340,000	Bus.	.50	1,170,000
weet Sorghums	103,000	2.2	227,000	Tons	6.00	1,430,000
roomcorn*	77,000	270	10,400	Tons	51.00	530,000
ield Peas	49,000	12	588,000	Bus.	.90	529,000
ry Beans	432,000	6.00	2,592,000	100-lb. Bags	2.25	5,832,000
otatoes	92,000	190.0	17,480,000	Bus.	.60	10,488,000
ugar Beets	242,000	13.69	3,312,000	Tons	6.94	22,873,000
abbage	3,900	12.48	48,700	Tons	8.62	420,000
nions	5,600	308	1,725,000	Bus.	.32	552,000
auliflower	2,800	320	896,000	Crs.	.80	717,000
omatoes for Mfg.	2,230	8.5	19,000	Tons	10.90	207,000
'omatoes for Market	1,230	320	394,000	Bus.	.80	315,000
antaloupes and Honeydew Melons for Market	10,000	200	2,000,000	Std. Crs.	1.20	2,400,000
antaloupes and Honeydew Melons		252	000.040	TL.		169 010
for Seed	2,400	250	600,040	Lbs.	.28	100,010
Vatermelons	1,070	320	342,000	Nos.	.11	102 000
lucumbers for Pickles	2,800	130	364,000	Bus.	.00	153,000
lucumbers for Seed	4,400	461	2,026,880	Lbs.	.029	501,000
hap Beans for Mfg	2,100	4.0	5,400	Tons	00.00	457.000
inap Beans for Market	1,750	290	508,000	Bus.	.90	401,000
'eas (Green) for Mfg	3,700	1820	6,734,000	Los.	.023	155,000
'eas (Green) for Market	5,820	75	436,000	Bus.	1.00	570.000
lettuce	7,440	90	670,000	2/ Cm	.85	999 000
elery	950	200	241,000	73 CIS.	.50	32 800
pinach	450	180	259 600	Dus.	58	208 000
fillet Seed <sup>2</sup>	22,000	10.0	64 500	Bus.	8.40	542 000
dfalfa Seed	21,500	3.0	64,300	Dus.	0.40	042,000
All Other Farm, Garden and Seed	22 890					1.347.510
'ama Way All Varieties	1.292.000	1.71	2.215.000	Tons	9.20	20,378,000
Vid How	366.000	1.00	366,000	Tons	8.80	3.221.000
ing ing			1.060.000	Bus.	.85	901.000
)eachos			787.000	Bus.	1.45	1.141.000
lasra			146,000	Bus.	1.30	190,000
there is a second secon			3,500	Tons	90.00	315,000
Aiscellaneous Fruits <sup>8</sup>	32,500					206.000
hear Best Tons						847.000
lye for Pasture	27,000					108,000
Total	7 222 530					\$124,442 320
10(819	1,442,000			1		+,,020

\*County statistics for broomcorn in 1929-30-31 appear on page 26.

<sup>1</sup>In addition to the acreage harvested for grain, there is a large acreage of oats cut green for hay, this udditional acreage appearing in the hay table.

<sup>2</sup>This acreage of millet saved for seed is in addition to the area harvested for hay as shown in the lay table.

<sup>3</sup>This acreage includes the total acreage of tree, bush and miscellaneous fruits for the state, but the 'alue shown in the last column includes only fruits not separately listed above.

Totals	\$ 3,560,260 1,595,870 1,504,280 389,250	2,221,970 2,313,600 2,254,840	390,850 1,485,520 10.700	2,159,740 891,360 2,322,300 727,760	2,005,010	73,890 671,520	622,030 2,112,160 2,394,970	921,800	$1,648,910 \\ 17,170 \\ 486,900 \\ 574,850$	44,410 419,120	916,820 1,342,040	1,128,120 3,862,530
Miscel- laneous Crops	\$ 706,190 117,060 68,570 3,180	418,740 552,470 188,650	108,460 14,220	403,590 573,300 1,195,680 118,030	159,460	3,100	30,470 34,150 52,910	346,220	55,450 2,370 62,730 4,040	540 25,940	1,560 458,320	26,360 30,740
Fruits	\$ 9,940 250 8,760	1,100 1,650 26,170	2,790	220 200 5,640	651,200	1,260	1,520 1,520	198,000	46,940	2,210	98,420	260 820
All Hay	<pre>\$ 325,620 487,980 243,190 318,270</pre>	$\begin{array}{c} 31,950\\ 552,810\\ 481,900\end{array}$	153,270 51,000 8 930	565,510 151,620 280,760 297,470	652,860	12,310	$\begin{array}{c} 317,380\\ 279,400\\ 328,140\end{array}$	243,740	$\begin{array}{c} 815,290\\ 10,420\\ 396,470\\ 540,590\end{array}$	41,290 253,380	905,630 340,330	30,410 159,860
Sugar Beets	\$ 1,029,960 54,140 114,920	458,420 876,030	2,210	$13,260 \\ 1,040 \\ 453,030$	172,720		49,650	4,490	176,790	1,800	53,380	5 F 1 J 1 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2
Sorghums	\$ 59,260 20,430	280,450 97,010	98,430	38,540		2,130	51,750	60	250	5,630	130	254,600
Dry Beans	\$ 302,920 180 280,580 650	51,460 20,480 5,800	1,010 11,460	13,110 10,920 69,450	4,800	20,790	804,990 883,030	3,140	1,880	19,270	4,020	3,910 37,600
Potatoes	\$ 30,900 833,910 1,780 13,740	330 340 24,700	60,020 5,230 1,420	244,580	104,840	9,310 12,240	214,930 43,160 40,550	12,750	$\begin{array}{c} 373,240\\ 4,120\\ 5,760\\ 22,730\end{array}$	850 14,650	7,770 $35,300$	30,690
Rye	\$ 2,370 90 3,170	2,390	1,130	220 110 30 240			7,600	06	530 180 60	160	190	7,700
Barley	<pre>\$ 132,290 28,540 48,060 3,380</pre>	20,880 72,520 129,360	28,280	129,600 25,420 26,240 8,400	34,170	1,150	4,520 31,440 16,850	5,570	30,220 70 8,160 2,270	3,670	120 44,110	23,180 467,600
Oats	\$ 29,580 50,670 24,440 14,190	440 19,760 54,040	26,160 5,260	61,970 21,920 14,860 20,430	37,490	3,560	30,530 48,100 77,530	19,320	$\begin{array}{c} 46,340\\ 190\\ 12,500\\ 3,890 \end{array}$	1,730	1.740 $49.070$	30,540
Wheat	\$ 470,970 22,790 341,820 15,670	732,350 56,760 266,760	20,870	77,890 30,020 3,570 8,840	52,930	36,400	22,880 131,270 32,460	5,100	82,950 1,100 1,050	17,060	165,600	24,610 485,070
Corn	\$ 460,260 348,560 19,850	681,880 481,200 201,430	250 1,167,400	234,170 2,230 2,200 2	134,540	241,210	678,760 864,730	83,320	19,030	64,490	93,170	763,310 2,378,130
COUNTY	Adams Alamosa Arapahoe Archuleta	BacaBentBoulder	Chaffee Cheyenne Clear Creek	Conejos Costilla Crowley Custer	Delta	Dolores Douglas	EagleEagleEl Paso	Fremont	Garfield Gilpin Grand Gunnison	Hinsdale Huerfano	JacksonJefferson	Kiowa Kit Carson

FARM VALUE OF CROPS BY COUNTIES, 1930

.

250 58,240 23,910 546,910 25,130 4,819,740 25,050 1,075,540 20,410 2,189,250 35,110 6,601,540	34,500         3,193,870           24,410         24,430           34,410         689,490           0,150         830,940           0,150         2,088,520           1,4520         5,689,330	3,040 4,029,520 570 212,450	8,990         443,740           8,620         3,065,350           750         2,63,340           11,020         2,674,690           6,710         3,055,680	0,410         683,970           (2,980         3,339,970           (2,990         1,141,020	15,800         1,829,290           1,930         1,76,880           1,930         2,397,870           29,300         2,397,870	0,180 255,160	35,760 4,055,480 13,490 21,171,550	3,820 6,274,320	53,810 \$124,442,320	F F F
13,960 218,000 250 630 860 17	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	15,260 1,79 740	520 510 1,000 8,640 1,12	520 940 2,500 17	600 400 840 2 2	1	1,510 8 11,240 1,23	4,860 10	2,787,510 \$12,35	
57,990 570,180 327,390 198,150 720,540	673,660 23,830 475,450 416,890 791,050 578,250	404,170	330,430 87,030 129,320 857,110 415,490	591,610 561,170 645,930	835,520 -132,760 178,130 85,600	118,550	354,310 2,106,850	250,830	\$23,699,000 \$	
2,202,120 58,980 1,910,060	110,910	1,200,820	571,820	270	451,170		37,090 9,438,270		\$22,873,000	
940 940 56,950 192,680 130,580	1,380 800 1,870 86,560	16,690	$\frac{113,480}{173,700}$		23,070		210,690 115,450	246,720	\$2,600,000	
$\begin{array}{c} 16,470\\ 16,470\\ 15,990\\ 186,670\\ 370,880\\ 370,550\\ 100,550\end{array}$	$156,900 \\620 \\ 64,540 \\ 19,660 \\ 328,950 \\ 328,950 \\ 0 \\ 0 \\ 0 \\ 0 \\ 0 \\ 0 \\ 0 \\ 0 \\ 0 \\$	82,260	7,440 	2,940	180 1,820 2,760		176,970 1,286,980	53,390	\$5,832,000	
87,060 65,610 11,780 16,470 83,480	168,520 600 87,810 73,5810 516,430 153,860	340 24,800	107,910 11,520 95,480 330 520	2,149,330 2,149,330 90,260	869,400 15,080 64,740 3,090	120,650	30,040 2,528,080	36,770	\$10,488,000	-
190 1,580 6,270 23,110	$ \begin{array}{r} 180\\ -3,730\\ 870\\ 300\\ 7,880\\ 7,880 \end{array} $	160	12,070 40 470 60	300 100 480	300 370 6,960 60		14,520 25,800	85,810	\$233,000	
$\begin{array}{c} 22,840\\ 284,900\\ 12,300\\ 98,220\\ 98,220\\ 520,640\end{array}$	$\begin{array}{c} 19,730\\ 10,720\\ 14,740\\ 37,380\\ 37,380\\ 230,630\end{array}$	42,860 3,650	220 203,780 1,120 106,960 27,600	4,890 56,360 39,160	$19,580 \\ -5,040 \\ 183,830 \\ 1.020$	750	314,920 1,052,930	207,900	\$4,919,000	
75,310 90,230 90,230 4,810 87,160	$\begin{array}{c} 51,210\\ 41,670\\ 75,670\\ 77,110\\ 42,850\end{array}$	40,320 15,700	$\begin{array}{c} 1,130\\74,820\\31,220\\22,940\\13,800\end{array}$	$\begin{array}{c} 36,840\\74,230\\128,380\end{array}$	33,410 6,780 58,050 3,120	4,320	25,100 221,680	42,040	\$2,176,000	1 F1
$\begin{array}{c} 110.380\\ 392,400\\ 392,400\\ 39,330\\ 181,000\\ 181,000\\ 1,129,930\end{array}$	$\begin{array}{r} 59,210\\ -66,760\\ 80,6560\\ 138,260\\ 309,840\\ 309,840\end{array}$	31,710 12,900	$\begin{array}{c} 60\\ 1,375,880\\ 4,900\\ 186,430\\ 84,010\\ 84,010\end{array}$	$\begin{array}{c} 31,250\\ 40,890\\ 55,320\end{array}$	14,260 6,840 890,610 790	60	615,110 1,791,550	1,591,470	\$12,420,000	1 1 1
$\begin{array}{c} 25,670\\ 287,670\\ 286,970\\ 1,104,730\\ 1,721,520\end{array}$	$\begin{array}{c} 310,030\\ -$	401,890 12,760	1,148,290 $566,230$ $387,290$	760	240 5,710 508,030	650	2,189,460 1,359,230	3,650.710	\$24,161,000	
Lake La Plata La Plat	Mesa Mineral Moffat Montezuma Mortrose	Otero	Park Phillips Pitkin Prowers Pueblo	Rio Blanco Rio Grande Routt	Saguache San Juan Sedgwick	Teller	Washington	Yuma	State	

Note-Miscellaneous Crops include field peas, broomcorn graden peas, snap bens, cantaloupes for market and seed, cucumbers for pickles and seed, cabbage and kraut, celery, lettuce, cauliflower, tomatoes, watermelons, onions, asparagus, garden beets, spinach, carrots, pumpkin and squash, sweet corn, sugar beet tops, rye for pasture, millet seed, allifla seed, sweet clover seed, red clover and other minor farm garden and commercial crops. Fruits include apples, peaches, pears, cherries, grapes, plums, apricots, strawberries, etc.

STATE OF COLORADO

	ACKE	AGE AN		TION OF V	WINTER	WHEAT, 193	10	
CONNER		IRRIGAT	ED	NOI	N-IRRIGA	TED	TO	ral
	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe	5,630 50 1,570	25 26 24	$140.750 \\ 1,300 \\ 37,680$	53,680 50,620	10 10	536,800 506,200	59,310 50 52 190	677,550 1,300 543,880

#### ACREACE AND PRODUCTION OF WINTER W

COUNTY					-india	IED	10	I'AL
	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams	5.630	25	140 750	53 680	10	596 900	E0 910	
Alamosa	50	26	1,300	00,000	10	030,000	50	677,550
Arapahoe	1,570	24	37,680	50,620	10	506.200	52,190	543 880
Archuleta								
Baca			]	171 280		1 970 940	177.000	1 050 0.0
Bent	3,090	31	95,790	490	9	4 410	3 580	1,370,240
Boulder	7,950	33	262,350	3,810	16	60,960	11.760	323.310
Chaffee	30	82	080					
Chevenne		52	300	10 890	10	108 000	10 800	960
Clear Creek						100,000	10,050	108,900
Conejos	70	28	1,960				70	1,960
Crowlow	320	32	10,240		1		320	10,240
Custer	260	26	6.760	390	111	4 200	140	4,060
-					1	1,200	000	11,000
Delta	370	33	12,210	70	13	910	440	13,120
Dolores				1 620		14 590	1.000	
Douglas				5,220	11	57,420	5 220	14,080
The solution							0,220	01,420
Elbert	280	30	10,080	190	20	3,800	470	13,880
El Paso	20	28	560	1.690	12	20,280	19,740	157,920
				-,			1,110	20,040
Fremont	80	24	1,920	90	11	990	170	2,910
Garfield	230	36	8,280	240	18	4 320	470	12 600
Gilpin						4,020	410	12,000
Grand	70	27	1,890	10	19	190	80	2,080
Gunnison				50	14	700	50	700
Hinsdale Huerfano	10	29	290	1.710	12	20 520	1 720	20 810
- ·				-,		20,020	1,120	20,810
Jackson	4 980	21	154 280	2 460	77	20.000		
venerson	4,000	01	104,000	2,460	10	36,900	7,440	191,280
Kiowa				3,720	12	44,640	3,720	44,640
Kit Caison				59,410	12	712,920	59,410	712,920
Lake								
Larimer	6,900	23	23,000	18 960	13	3,120	1,240	26,120
Las Animas	1,010	25	25,250	3,500	10	35.000	4,510	60 250
Lincoln				41,920	6	251,520	41,920	251,520
Logan	1,150	29	33,350	141,940	14	1,987,160	143,090	2,020,510
Mesa	1,610	31	49,910	500	13	6,500	2,110	56,410
Mineral		55			175			
Montezuma	500	29	13 500	4,140	17	70,380	4,240	73,280
Montrose	990	33	32,670	200	14	2.800	1,110	35,470
Morgan	2,820	26	73,320	33,460	12	401,520	36,280	474,840
Otero	1.420	32	45,440	170	10	1,700	1.590	47.140
Ouray				140	13	1,820	140	1,820
Park							_	
Phillips				143,010	18	2,574,180	143,010	2,574,180
Pitkin	40	34	1,360				40	1,360
Prowers	5,840	29	22 630	17,510	10	175,100	23,350	344,460
1 ucolo		00	22,000	10,000	10	121,000	10,020	140,010
Rio Blanco	30	33	990 870	1,350	18	24,300	1,380	25,290
Routt	30	30	900	1,860	21	39,060	1.890	39,960
Securabe	10	26	260				10	260
San Juan		20	200				10	200
San Miguel				270	11	2,970	270	2,970
Sedgwick	330	29	9,570	82,780	20	1,655,600	83,110	1,665,170
Summit	40	30	1,200	•			40	1.200
Teller				10	11	110	10	110
Washington	160	27	4,320	79,080	13	1,028,040	79,240	1,032,360
Weld	17,860	31	553,660	132,210	14	1,850,940	150,070	2,404,600
Yuma				154,320	19	2,932,080	154,320	2,932,080
		_						10 100 000
State	67,750		2,043,620	1,256,250		17,154,380	1,324,000	19,198,000
		1		······				

## ACREAGE AND PRODUCTION OF SPRING WHEAT, 1930

	1	IRRIGAT	ED	NON	NON-IRRIGATED			TOTALS		
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels		
Adams Alamosa Arapahoe Archuleta	4,940 1,950 1,420 540	25 21 24 26	$123,500 \\ 40,950 \\ 34,080 \\ 14,040$	10,460 9,300 1,250	8 -7 12	83,680 65,100 15,000	15,400 1,950 10,720 1,790	207,180 40,950 99,180 29,040		
Baca Bent Boulder	$\begin{array}{r}180\\ 6,380\end{array}$	$\overline{22}$ $\overline{27}$	3,960 172,260	1,620 350 340	7 8 13	11,340 2,800 <b>4,420</b>	1,620 530 6,720	11,340 6,760 176,680		
Chaffee Cheyenne	860	17	14,620	3,480	-7	24,360	860 3,480	14,620 24,360		
Control Contro	6,470 1,980 110	22 23 24 22	142,34045,5402,6402,860				6,470 1,980 110 320	142,340 45,540 2,640 5,520		
Delta Denver	3,150	22	85,050	10	12	120	3,160	85,170		
Dolores Douglas	20	24	480	810 1,510	12 7	9,720 10,570	810 1,530	9,720 11,050		
Eagle Elbert El Paso	940 10 450	30 25 25	28,200 250 11,250	$40 \\ 12,550 \\ 4,060$	14 7 7	560 87,850 28,420	$980 \\ 12,560 \\ 4,510$	28,760 88,100 39,670		
Fremont	240	24	5,760	70	12	840	310 5 420	6,600 141,260		
Garneid Gilpin Grand Gunnison					 16			141,200		
Hinsdale Huerfano	220	$\overline{25}$	5,500	630	-9	5,670	850	11,170		
Jackson Jefferson	4,880	23	112,240	610	īī	6,710	5,490	118,950		
Kiowa Kit Carson	10 110	23 24	230 2,640	220 27,990	7 7	1,540 195,930	230 28,100	1,770 198,570		
Lake La Plata Larimer Las Animas Lincoln Logan	6,840 6,470 160 		157,320     174,690     4,000     12,500     12,500	1,790 2,800 1,080 14,720 10,760	12 11 9 6 9	21,480 30,800 9,720 88,320 96,840	8,630 9,270 1,240 14,720 11,260	178,800 205,490 13,720 88,320 109,340		
Mesa Mineral	2,320	22	51,040	270	12	3,240	2,590	54,280		
Moffat Montezuma Montrose Morgan	160 3,030 8,190 360	27 24 27 23	4,320 72,720 221,130 8,280	4,310 3,800 10 14,210	$ \begin{array}{c c} 11 \\ 12 \\ 13 \\ 7 \end{array} $	47,410 45,600 130 99,470	4,470 6,830 8,200 14,570	51,730 118,320 221,260 107,750		
Otero Ouray	500 640	24 28	12,000 17,920	60 300	8 14	480 4,200	560 940	12,480 22,120		
Park Phillips Pitkin Prowers Pueblo	250 160 370	 31 22 23	7,750 3,520 8,510	10 2,140  520 670	$     \begin{array}{c}             11 \\             10 \\           $	110 21,400 	10 2,140 250 680 1,040	110 21,400 7,750 7,160 14,540		
Rio Blanco Rio Grande Routt	340 4,160 20	30 18 28	10,200 74,880 560	1,430	16 13	22,880 62,660	1,770 4,160 4,840	33,080 74,880 63,220		
Saguache San Juan	1,540	17	26,180				1,540	26,180		
San Miguel Sedgwick Summit	370 270 10	26 26 28	9,620 7,020 280		14 13 	140 7,930 	380 880 10	9,760 14,950 280		
Washington Weld	70 21,220	25 26	1,750 551,720	17,730 45,100	 7 9	124,110 405,900	17,800 66,320	125,860 957,620		
Yuma				6,940	10	69,400	6,940	69,400		
State	97,630		2,417,680	210,370		1,740,320	308,000	4,158,000		

#### PERCENTAGE DISTRIBUTION OF WHEAT ACREAGE, 1930

#### PERCENTAGE DISTRIBUTION OF WHEAT PRODUCTION, 1930

COUNTY	Spring Wheat Total Wheat Acreage	Winter Wheat % Total Wheat Acreage	Irrigated Wheat % Total Wheat Acreage	Non- Irrigated Wheat Total Wheat Acreage	Spring Wheat % Total Wheat Produc- tion	Winter Wheat % Total Wheat Produc- tion	Irrigated Wheat Total Wheat Produc- tion	Non- Irrigated Wheat % Total Wheat Produc- tion
Adams Alamosa Arapahoe Archuleta	20.6 97.5 17.0 100.0	79.4 2.5 83.0	$14.1 \\ 100.0 \\ 4.8 \\ 30.2$	85.9 95.2 69.8	23.4 96.9 15.4 100.0	76.6 3.1 84.6	29.9 100.0 11.2 48.3	70.1 88.8 51.7
Baca Bent Boulder	.9 12.9 36.4	99.1 87.1 63.6	79.6 77.5	$\begin{array}{c} 100.0 \\ 20.4 \\ 22.5 \end{array}$	.8 6.3 35.3	99.2 93.7 64.7	93.3 86.9	$100.0 \\ 6.7 \\ 13.1$
Chaffee Cheyenne Clear Creek	96.6 24.2	3.4 75.8	100.0	100.0	93.8 18.3	6.2 81.7	100.0	100.0
Conejos Costilla Crowley Custer	98.9 86.1 44.0 33.0	$ \begin{array}{c c} 1.1 \\ 13.9 \\ 56.0 \\ 67.0 \\ \end{array} $	100.0 100.0 100.0 40.2	59.8	98.6 81.6 39.4 33.3	1.4     18.4     60.6     66.7	100.0 100.0 100.0 58.1	41.9
Delta Denver Dolores	87.8 33.3 22.7	12.2 66.7	97.8	2.2 100.0	86.7 40.0	13.3	99.0 	1.0
Eagle Elbert El Paso	67.6 38.9 72.5	32.4 61.1 27.5	.3 84.1 .1 7.6	15.9 99.9 92.4	67.4 35.8 65.6	32.6 64.2 34.4	.7 89.8 .1 19.5	99.3 10.2 99.9 80.5
Fremont	64.6	35.4	66.7	33.3	69.4	30.6	80.8	19.2
Garfield	92.0	8.0	83.2	16.8	91.8	8.2	90.4	9.6
Grand Gunnison	54.6	100.0 45.4	87.5 18.2	12.5 81.8	64.3	100.0 35.7	90.9 31.6	9.1 68.4
Hinsdale Huerfano	33.1	66.9	8.9	91.1	34.9	$\overline{65.1}$	18.1	81.9
Jackson Jefferson	42.5	57.5	76.3	23.7	38.3	61.7	85.9	14.1
Kiowa Kit Carson	5.7 $32.1$	$\begin{array}{c} 94.3\\67.9\end{array}$	.3 .1	99.7 99.9	3.8 21.8	96.2 78.2	.5 .3	99.5 99.7
Lake La Plata Larimer Las Animas Lincola Logan	87.4 26.4 21.6 26.0 7.3	$ \begin{array}{c} 12.6 \\ 73.6 \\ 78.4 \\ 74.0 \\ 92.7 \end{array} $	79.4 38.1 20.3 1.1	20.6 61.9 79.7 100.0 98.9	87.3 27.9 18.5 26.0 5.1	12.7 72.1 81.5 74.0 94.9	88.0 54.6 39.5 2.2	12.0 45.4 60.5 100.0 97.8
Mesa Mineral Moffat Montezuma Morgan	55.1 51.3 80.0 87.3 28.7	44.9 48.7 20.0 12.7 71.3	83.6  3.0 41.3 97.8 6.3	16.4 97.0 58.7 2.2 93.7	$ \begin{array}{c} 49.0 \\ 41.4 \\ 78.9 \\ 86.2 \\ 18.5 \end{array} $	51.0 58.6 21.1 13.8 81.5	91.2 5.8 57.5 98.9 14.0	$     8.8          \overline{94.2}     42.5     1.1     86.0     $
Otero Ouray	26.0 87.0	74.0 13.0	89.3 59.3	10.7 $40.7$	20.9 92.4	79.1 7.6	96.3 74.9	3.7 25.1
Park Phillips Pitkin Prowers Pueblo	100.0 1.5 86.2 2.8 8.8	98.5 13.8 97.2 91.2	100.0 25.0 9.3	100.0 100.0 75.0 90.7	100.0 .8 85.1 2.0 9.2	99.2 14.9 98.0 90.8	100.0 49.2 19.7	100.0 100.0 50.8 80.3
Rio Blanco Rio Grande Routt	56.2 99.3 71.9	43.8 .7 28.1	11.7 100.0 .7	88.3 99.3	$56.7 \\ 98.8 \\ 61.3$	43.3 1.2 38.7	$19.2 \\ 100.0 \\ 1.5$	80.8 98.5
Saguache	99.4	.6	100.0		99.0	1.0	100.0	
San Miguel Sedgwick	58.5 1.0 20.0	41.5 99.0 80.0	56.9 .7 100.0	43.1 99.3	76.7 .9 18.9	23.3 99.1 81.1	75.6 1.0 100.0	24.4 99.0
Teller		100.0		100.0		100.0	100.0	
Washington Weld	18.3 30.6	81.7 69.4	.2 18.1	99.8 81.9	$10.9 \\ 28.5$	89.1 71.5	.5 32.9	$99.5 \\ 67.1$
Yuma	4.8	95.7		100.0	2.8	97.7		100.0
State	18.9	81.1	10.1	89.9	17.8	82.2	19.1	80.9

## ACREAGE AND PRODUCTION OF CORN, 1930

	]	RRIGATI	ED	NOI	1-IRRIGA	TED	TOT	TAL _
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
	0 620	97	07 210	33.050	10	645 050	36 580	742 360
Adams	2,650	42	420	33,300	15		10	420
Arapahoe	780	37	28,860	28,070	19	533,330	28,850	562,190
Archuleta	940	31	29,140	160	18	2,880	1,100	32,020
Daaa				73 320	15	1 009 800	73 320	1 099 800
Baca	12 590	$\overline{42}$	528,780	14,550	17	247.350	27,140	776,130
Boulder	6,770	41	277,570	2,490	19	47,310	9,260	324,880
01 m	10	1	410				10	410
Chovenne	10	41	410	99 100	19	1.882.900	99.100	1.882.900
Clear Creek				20	22	440	20	440
Conejos	140	38	5,320				140	5,320
Costilla	90	40	3,600	5 720	17	07 410	19 100	3,600
Crowiey	120	44	5 280	970	22	21.340	1.090	26,620
Ouster	120		0,200	0.0		,		
Delta	4,870	44	214,280	160	17	2,720	5,030	217,000
Denver		1		S10	16	12 960	810	12 960
Douglas				16.210	24	389.040	16.210	389.040
Douglab 12				,	1	,		
Eagle	20	40	800				20	800
Elbert	1.240	50	14 640	57,620	19	1,094,780	57,520	1,094,780
El raso	1,240	30	44,040	04,290		1,300,050	00,000	1,004,100
Fremont	2,540	47	119,380	750	20	15,000	3,290	134,380
Garfield	690	42	28,980	90	19	1,710	780	30,690
Gilpin		1						
Grand								
Gunnison						}		
Hinsdale Huerfano	340	$\overline{2}\overline{8}$	9,520	5,250	18	94,500	5,590	104,020
Jackson								
Jefferson	3,190	33	105,270	2,500	18	45,000	5,690	150,270
Kiowa				72,420	17	1.231.140	72,420	1.231.140
Kit Carson				182,660	21	3,835,860	182,660	3,835,860
Lake								
La Plata	780	26	20,280	1,320	16	21,120	2,100	41,400
Larimer	8,300	41	340,300	5,890	21	123,690	14,190	463,990
Las Animas	1,400	47	65,800	30,400	12	364,800	31,800	430,600
Logan	6.020	40	240,800	101.440	25	2.536.000	107,460	2.776.800
Mass	12 110	10	181 100	020	17	15.640	12.020	500.040
Mineral	14,110	40	404,400	520	1.	15,040	13,030	500,040
Moffat				1,220	23	28,060	1,220	28,060
Montezuma	910	29	26,390	3,550	19	67,450	4,460	93,840
Montrose	3,820	44	291 480	73 810	20	1 476 200	3,880	1 767 680
autorgan	0,540	444	201,400	10,010		1,410,200	50,100	1,101,000
Otero	12,750	48	612,000	2,130	17	36,210	14,880	648,210
	400	42	20,000				450	20,000
Park				77 100	51	1 050 000	77.170	1 070 000
Phillips				11,110	24	1,852,080	(1,170	1,852,080
Prowers	14,960	40	598,400	21,350	14	298,900	36,310	897,300
Pueblo	7,860	49	385,140	14,090	17	239,530	21,950	624,670
Rio Blanco		1						
Rio Grande	30	41	1,230				30	1,230
Routt								
Saguache	10	38	380				10	380
San Juan		10			17	5 610		
San Miguel	90	40	3,600	330	28	705.410	99 520	9,210
Summit								013,410
Teller	1		1	50	21	1.050	50	1 050
WF1 *				100.00		1,000		1,000
washington	990	36	35,640	139,830	25	3,495,750	140,820	3,531,390
	19,830	39	113,310	18,800	18	1,418,940	98,000	2,192,310
ruma				245,350	24	5,888,400	245,350	5,888,400
State	143.480		5,961.710	1,588,520		33,008.290	1,732.000	38,970.000
		<u> </u>		,				
	the set of			the second se				

OOUNTR	1	RRIGATI	ED	NO	NON-IRRIGATED			FAL
	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	1,540 4,140 840 200	42 34 37 42	64,680 140,760 31,080 8,400	920 1,840 1,410	19 20 22	$   \begin{array}{r}     17,480 \\     \overline{36,800} \\     31,020   \end{array} $	2,460 4,140 2,680 1,610	82,160 140,760 67,880 39,420
Baca Bent Boulder	1,220 3,150	$\overline{45}$ 45	54,900 141,750	110 <u>440</u>	11 19	1,210 	110 1,220 3,590	1,210 54,900 150,110
Chaffee Cheyenne Conejos Costilla Crowley Custer	1,580  4,530 1,740 860 730	46  38 35 48 39	72,680  172,140 60,900 41,280 28,470	860 10  1,010	17 22  28	14,620 220  28,280	$1,580 \\ 860 \\ 10 \\ 4,530 \\ 1,740 \\ 860 \\ 1,740 \\ 1,740 \\ 860 \\ 1,740$	$\begin{array}{r} 72,680\\ 14,620\\ 220\\ 172,140\\ 60,900\\ 41,280\\ 56,750\end{array}$
Delta Denver Dolores Douglas	2,290	45  36		50 	22 23 22	1,100 9,890	2,340  430 7 370	104,150 9,890
Eagle Elbert El Paso	1,590	53 39	84,270	20 7,860 13,020	27 17 16	540 133,620 208,320	1,610 7,860 13,200	84,810 133,620 215,340
Fremont	680	40	27,200	1,150	23	26,450	1,830	53,650
Garfield Gilpin Grand	2,610	48 39	125,280 34,710	150 30	23 18 55	3,450 540	2,760 30 890	128,730 540 34,710
Hinsdale Huerfano	20 240	40 47	800 11,280	160 710	23 25 27	4,000 19,170	400 180 950	4,800 30,450
Jackson	90 2,250	48 42	4,320 94,500	$\begin{array}{c} 20 \\ 2.200 \end{array}$	25 19	500 41.800	$110 \\ 4.450$	4,820
Kiowa Kit Carson		27	270	120 4,450	17 19	2,040 84,550	120 4,460	2,040 84,820
Lake La Plata Larimer Las Animas Lincoln Logan	4,240 4,670 920 	40 49 37 50	169,600 228,830 34,040 149,500	1,650 1,090 1,460 890 4,410		39,600 21,800 20,440 13,350 92,610	5,890 5,760 2,380 890 7,400	209,200 250,630 54,480 13,350 242,110
Mesa Mineral Moffat Montezuma Montrose	3,220 600 4,300 4,970	42 38 42 43	135,240 22,800 180,600 213,710	350 3,320 1,480 20	20 28 20 24	7,000 92,960 29,600 480	3,570 3,920 5,780 4,990	142,240 115,760 210,200 214,190
Morgan Otero	2,030	47	95,410 112,000	1,390	17	23,630	3,420 2,240	119,040 112,000
Park Phillips Pitkin Prowers Pueblo	860  1,700 1,400 580	46  51 43 45	39,560  86,700 60,200 26,100	150 150 8,660  220 680	27 21 24 16 18	4,050 3,150 207,840  3,520 12,240	1,010 150 8,660 1,700 1,620 1,260	43,610 3,150 207,840 86,700 63,720 38,340
Rio Blanco Rio Grande Routt	$1,620 \\ 7,110 \\ 430$	51 29 50	82,620 206,190 21,500	730	27 30	19,710 335,100	2,350 7,110 11,600	102,330 206,190 356,600
Saguache San Juan San Miguel Sedgwick Summit	3,200	29 51 50 51	92,800 10,710 70,000 8,670	290 3,510	28 26	8,120 91,260	3,200 500 4,910 170	92,800 18,830 161,260 8,670
Teller				500	24	12,000	500	12,000
Washington Weld	130 12,170	42 41	5,460 498,970	3,780 6,520	17 18	64,260 117,360	3,910 18,690	69,720 616,330
Yuma State	10 92,670	41 	410 3,865,980	5,290  102,330	22 	$\frac{116,380}{2,179,020}$	5,300 195,000	116,790
		I		•	I			

# ACREAGE AND PRODUCTION OF OATS, 1930

# ACREAGE AND PRODUCTION OF BARLEY, 1930

	:	IRRIGAT	ED	NON-IRRIGATED			TOTAL		
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels	
	2 900	20	124 800	17 160	12	205 920	20.360	330.720	
Adams	3,200	20	71 340	11,100		200,020	2,460	71.340	
Alamosa	2,400	25	95 110	8 640	11	95 040	9 450	120,150	
Arapahoe	810	31 97	25,110	280	21	5 880	350	8,470	
Archuleta	10	01	2,000	200	21	0,000	000	-,	
Dana				5 220	10	52,200	5.220	52,200	
Baca	4 7 40	20	180 120	100	12	1 200	4,840	181,320	
Bent	7 790	41	318 080	260	17	4,420	8.040	323,400	
Boulder	1,100	41	510,000	200		1,120	0,010	,	
Chaffer	9 910	29	70 720				2.210	70,720	
	2,210	02	10,120	11 590	13	150.670	11.590	150.670	
Chevenne				11,000	10	100,010			
Concion	9 530	34	324 020				9.530	324.020	
Contillo	9 970	28	63 560				2.270	63,560	
Crowley	1,600	41	65 600				1.600	65,600	
Custor	390	30	11,700	620	15	9,300	1.010	21,000	
ouster	000	00	11,000			-,	•		
Delta	2.300	37	85,100	20	17	340	2,320	85,440	
Denver									
Dolores				180	16	2,880	180	2,880	
Douglas				1,890	18	34,020	1,890	34,020	
		1							
Eagle	300	37	11,100	10	22	220	310	11,320	
Elbert				7,860	10	78,600	7,860	78,600	
El Paso	420	37	15,540	1,900	14	26,600	2,320	42,140	
Fremont	350	34	11,900	170	12	2,040	520	13,940	
			1						
Garfield	1,960	37	72,520	160	19	3,040	2,120	75,560	
Gilpin				10	19	190	10	190	
Grand	510	40	20,400		==		510	20,400	
Gunnison	100	34	3,400	120	19	2,280	220	5,680	
Hinsdala									
Huerfane	180	35	6 300	180	16	2.880	360	9,180	
nuerrano	100	00	0,000	100	10	2,000			
Jackson	10	30	300				10	300	
Jefferson	2,930	33	96,690	800	17	13,600	3,730	110,290	
		0.0	000	4 070	1 14	56 000	4 100	57 070	
Kiowa	80	33	990	4,070	14	1 160 000	82 500	1 160 000	
Kit Carson				83,000	14	1,109,000	00,000	1,103,000	
Lake									
La Plata	1.420	33	46.860	540	19	10,260	1,960	57,120	
Larimer	14.290	45	643.050	3,460	20	69,200	17,750	712,250	
Las Animas	340	33	11,220	2,170	9	19,530	2,510	30,750	
Lincoln	30	32	960	25,790	9	232,110	25,820	233,070	
Logan	12,610	39	. 491,790	44,990	18	809,820	57,600	1,301,610	
-			10.110	100	10	0.000	7 450	40.990	
Mesa	1,290	36	46,440	100	15	2,380	1,400	49,020	
Mineral		55	0.040	1 960	10	22 680	1.940	25 320	
Monat	1 020	00	2,040	1,200	10	5 940	1,340	36 840	
Montezuma	1,030	00	02 450	000	10	0,040	2,670	03,450	
Montrose	2,670	30	90,400	19 100	16	109 600	21 920	576 580	
Morgan	5,020	09	002,000	12,100	10	150,000	21,020	010,000	
Otero	2.780	38	105,640	140	11	1,540	2,920	107,180	
Ouray	150	32	4,800	270	16	4,320	420	9,120	
		1		90	10	540	90	540	
Park				94960	91	500 460	24 260	500 460	
Phillips			2 200	24,200		005,400	100	2 900	
Pitkin	100	20	2,000	2 500	10	35 900	10 400	267 440	
Provers	1,620	204	69 570	420	1 18	5 460	2 050	69,030	
rueblo	1,030	0.0	00,010	140	10	0,100	2,000	05,000	
Rio Blanco	40	36	1,440	540	20	10,800	580	12,240	
Rio Grande	5,420	26	140,920				5,420	140,920	
Routt	160	34	5,440	4,020	23	92,460	4,180	97,900	
0	0.040		40.000	1			2 0 4 0	49 060	
Saguache	2,040	24	40,000				2,040	*0,300	
San Juan		54	2 060	590	18	9.540	620	12 600	
Sodowiel	06 6	04	140 690	19 900	94	120,040	16 720	450 500	
Summit	3,430	41	9 590	10,200	2°*	010,000	70	9 590	
Sammit	1 10	00	2,020		1		1 10		
Teller				110	17	1,870	110	1,870	
Weahington	000	0.0	95 900	F0 700	1 14	759 000	54 700	707 900	
wasnington	18 040	30	2 017 690	17 920	14	614 640	95 290	000,101	
	40,040	44	2,011,000	*1,400	10	014,040	00,020	2,002,020	
Yuma	110	32	3,520	28,680	18	516,240	28,790	519,760	
			· · · · · ·	I	- 1	1		1	
State	159,580		6,140,870	412,420		6,157,130	572,000	12,298,000	
	1	1	<u> </u>	<u> </u>	I	<u> </u>	<u> </u>	<u> </u>	

Acreage         Average         Production Bunches         Acreage         Average         Production Bunches           Adams         280         174         48.720         98         2.780         6.660         1.39           Aransoa         6.660         209         1.45.720         98         2.780         6.660         1.39           Aransoa         2.660         210         109         22.890         210         64.550           Aransoa         210         196         41.160			IRRIGAT	ED	NO	N-IRRIG	ATED	то	TAL
Adamos         220         174         45.700         30         93         2.790         310         51.5           Arapabo         20         145         1.55.950          6.600         210         22.9           Arabuleta          145         2.500          6.600         210         22.9           Baca           5         110         556         5         5           Boulder         -210         196         41.160           210         101           Chargeen          100         164         100.040           37.700         610         100.0         2.2         141.1           Chargeen           5.700         610         100.0         2.2         1.455.120           5.650         122.3         101         124.3         124.300           5.700         101         174.7         5.700         101         174.7         5.700         101         124.3         124.300         124.300         124.300         124.300         124.300         124.300         124.	COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Baca	Adams Alamosa Arapahoe Archuleta	280 6,650 20	174 209 148 	48,720 1,389,850 2,960	30  210	93  109	2,790  22,890	310 6,650 20 210	51,510 1,389,850 2,960 22,890
	Baca Bent Boulder	 210	 196	41,160	5 5	110 115	550 575	5 5 210	550 575 41,160
	Chaffee Cheyenne Clear Creek Constilla Crowley Custer	610 5 6,720 550 95	$   \begin{array}{r}     164 \\     \overline{120} \\     221 \\     226 \\     \overline{195}   \end{array} $	$     \begin{array}{r}       100,040 \\      $	80 25   5 2,330	$     \begin{array}{r}         109 \\         71 \\         \\         109 \\         167     \end{array}     $	8,720 1,775  545 389,110	610 80 30 3,720 550 5 2,425	$100,040 \\ 8,720 \\ 2,375 \\ 1,485,120 \\ 124,390 \\ 545 \\ 407,635$
	Delta Denver Dolores	910 	192  	174,720 	165	 94	15,510	910 	174,720 15,510
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Eagle Elbert El Paso	1,260 	283	356,580	170 10 660 620	120 164 109 109	20,400 1,640 71,940 67,580	170 1,270 660 620	20,400 358,220 71,940 67,580
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Fremont	<b>-</b>		<b>_</b>	170	125	21,250	170	21,250
$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Garfield Gilpin Grand Cunnison	2,685  80 85	229 120 202	614,865 9,600	55 70	131 98	7,205 6,860	2,740 70 80	622,070 6,860 9,600
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Hinsdale Huerfano	10 80	142 147	1,420 4,410	150	105	20,010	10 190	1,420 24,410
Kiowa         10       82       820       10       88         Kit Carson          550       93       61,150       550       51,11         Lake	Jackson Jefferson	90	180	16,200	70 410	$\begin{array}{c} 185\\104 \end{array}$	12,950 42,640	70 500	12,950 58,840
Lake	Kiowa Kit Carson				10 550	82 93	820 51,150	10 550	820 51,150
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Lake La Plata Larimer Las Animas Lincoln Logan	$620 \\ 535 \\ 40 \\225$	$     \begin{array}{r}             177\\             176\\             160\\             \overline{185}         \end{array}     $	109,740 94,160 6,400 41,625	340 155 115 305 780	$     104 \\     98 \\     115 \\     90 \\     125     $	35,360 15,190 13,225 27,450 97,500	960 690 155 305 1,005	$145,100 \\ 109,350 \\ 19,625 \\ 27,450 \\ 139,125$
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Mesa Mineral Moffat Montezuma Montrose	1,325 5 35 475 4,080 1,290	192 200 229 174 210 196	254,400 1,000 8,015 82,650 856,800 252,840	270 	98 125 93 98 120	26,460 55,000 39,990 3,920 3,600	1,595 5 475 905 4,120 1,820	280,860 1,000 63,015 122,640 860,720 256,440
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Otero Ouray	170	174	29,580	5 120	115 98	575 11,760	5 290	575 41,340
Rio Blanco       10       222       2,220       80       142       11,360       90       13,55         Rio Grande       18,465       194       3,582,210 $$ $$ $$ 131       130,345       1,075       150,47         Saguache       80       251       20,080       995       131       130,345       1,075       150,47         Saguache       8,050       180       1,449,000          8,050       1,449,00         San Miguel       30       214       6,420       180       104       18,720       210       251,150,47         Sedgwick       560       181       101,360       60       109       6,540       620       107,97         Summit       20       195       3,900       10       125       1,535       201,00         Washington       25       158       3,950       435       106       46,110       460       50,01         Weld       19,680       211       4,152,480       670       107       60,909       20,255       540       61,21         Yuma       55       153       8,415       485       109	Park Phillips Pitkin Prowers Pueble	730	 218 	 159,140 	1,650 160 5	109 120 110 87	179,850 19,200 550 870	1,650 160 730 5	179,850 19,200 159,140 550 870
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Rio Blanco Rio Grande Routt	10 18,465 80	222 194 251	2,220 3,582,210 20,080	80 995	142 131	11,360 130,345	90 18,465 1,075	13,580 3,582,210 150,425
Summit         2.0         1.00         3,000         10         12.0         1,000         50         6.4           Teller           1,535         131         201,085         1,535         201,00           Washington         2.5         158         3,950         435         106         46,110         460         50,00           Weld          19,680         211         4,152,480         570         107         60,990         20,250         4,213,41           Yuma          55         153         8,415         485         109         52,865         540         61,21	Saguache San Juan San Miguel Sedgwick	8,050 	180 214 181 195	1,449,000 6,420 101,360		 104 109 125	18,720 6,540	8,050 	1,449,000 25,140 107,900 5 150
Washington         25         158         3,950         435         106         46,110         460         50,00           Weld         19,680         211         4,152,480         570         107         60,990         20,250         4,213,4'           Yuma         55         153         8,415         485         109         52,865         540         61,2'	Teller		190	3,800	1,535	125	201,085	30 1,535	201,085
Yuma 55   153   8,415   485   109   52.865   540   61.24	Washington Weld	25 19,680	158 211	3,950 4,152,480	435 570	106 107	46,110 60,990	460 20,250	50,060 4,213,470
State 76,795 15,632,625 15,205 1,847,375 92,000 17,480,00	Yuma State	55 76,795	153	8,415 15,632,625	485	109	52,865 1,847,375	540 92,000	61,280 17,480,000

# ACREAGE AND PRODUCTION OF POTATOES, 1930

## ACREAGE AND PRODUCTION OF DRY BEANS, 1930

$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$										
COUNTY         Acreage         Permet         Production         Acreage         Production         Acreage         Production           Adamas         430         100         7.955         7.955         13.033.350         25.760         13.463.365           Alamos         10         7.905         7.955         24.520         500         12.410.000         24.530         12.410.000         24.530         12.410.000         24.530         12.410.000         24.530         12.410.000         24.530         12.410.000         2.45.900         12.410.000         2.45.900         12.410.000         2.45.900         2.26.5000         2.45.900         2.26.500         2.45.900         2.26.500         2.45.900         2.26.500         2.45.900         2.26.500         2.45.900         2.56.900         2.45.900         2.56.900         2.45.900         2.56.900         2.45.900         2.56.900         2.45.900         2.56.900         2.45.900         2.56.900         2.45.900         2.56.900         2.45.900         2.52.950         2.65.900         2.45.900         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950         2.52.950		1	RRIGATE	D	NO	N-IRRIGA	TED	TOTAL		
Adama         430         1,000         430,000         26,330         445         13,033,350         26,760         13,462,355           Arapahoe         70         856         0,280         24,850         500         12,410,000         24,890         22,150         60         22,410,200           Arapahoe         700         750         750         750         750         750         750         750         750         750         750         750         750         750         750         750         2,285,00         2,2	COUNTY	Acreage	Average Yield	Production Pounds	Acreage	Average Yield	Production Pounds	Acreage	Production Pounds	
Archuleta         10         700         7,00         50         425         21,250         60         23,150           Beat	Adams Alamosa Arapahoe	$\begin{array}{r} 430\\10\\70\end{array}$	1,000 795 860	$430,000 \\ 7,950 \\ 60,200$	26,330 24,820	495 500	13,033,350	26,760 10 24,890	13,463,350 7,950 12,470,200	
Ball,         370         662         126,000         2.00	Archuleta Baca	10	790	7,900	50 8,470	425 270	21,250 2,286,900	60 8,470	29,150 2,286,900	
Cheyenne	Boulder	50 170 50	965 900	164,050 45.000	190	495	94,050	2,650 360 50	258,100 45.000	
Castilla         660         735         984,200         6,570         520         2,102,400         7,900         3,085,600           Caster         1.90         1,030         105,700         30         5855         17,550         220         2,132,400         1,666         924,060         1,666,600           Denver          2,430         620         1,565,600         2,430         1,666,600         2,430         1,666,600           Denver          2,430         622         39,187,500         62,770,700         56,750,83,247,77,700         56,750,83,245,700           Bebert	Cheyenne Clear Creek Conejos	 620	 940	582,800	1,340	380 	509,200	1,340 620	509,200 582,800	
Delts         190         1,030         195,700         30         555         17,550         220         213,250           Dolores           1,650         560         924,060         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         924,000         1,656         957         55,200         627         1,657         93,245,700         62,750         35,777,700         55,790         627,760         630         35,777,700         65,750         35,777,700         65,750         35,777,700         65,750         35,777,700         65,750         35,777,700         65,750         35,777,700         65,750         35,777,700         65,750         35,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777,700         75,500         75,777	Costilla Crowley Custer	660 1,330	735 740 	485,100 984,200	6,570	320 	2,102,400	660 7,900	485,100 3,086,600	
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	Delta Denver Dolores	190 	1,030	195,700	30 	585 560	17,550 924,000	220 	213,250 924,000	
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	Douglas Eagle				2,430	620	1,506,600	2,430	1,506,600	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Elbert El Palso	60	970	58,200	56,790 62,700	630 625	35,777,700 39,187,500	56,790 62,760	35,777,700 39,245,700	
Angin         Angin <th< td=""><td>Garfield</td><td>110 110</td><td>1,000 760</td><td>110,000 83,600</td><td>60</td><td>495</td><td>29,700</td><td>170 110</td><td>139,700 83,600</td></th<>	Garfield	110 110	1,000 760	110,000 83,600	60	495	29,700	170 110	139,700 83,600	
Hinsdale	Grand Gunnison									
Jefferson       190       940       178,600       111       190       178,600         Kiowa        4.340       385       1,78,800       440       173,800         Kiowa        4.340       385       1,670,900       4.340       1,670,900         Lake        4.340       385       1,670,900       4.340       1,670,900         Lake         4.340       385       1,670,900       4.340       1,670,900         Las Animas       1,870       1,030       339,900       570       650       370,500       900       710,400         Logan       1,020       940       958,800       6,000       585       3,510,000       7,020       4,468,500         Moftat         60       455       27,500       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800       60       27,800	Hinsdale Huerfano Jackson	80	760	60,800	2,040	390	795,600	2,120	856,400	
Alt Carson        4.340       385       1.670,900       4.340       1.670,900         Lake         4.340       385       1.670,900       4.340       1.670,900         Lake        330       705       514,650       550       395       217,250       1.280       731,900         Las Animas       1.870       1.165       2.178,550       366,630       450       370,500       900       710,400         Lincoln       1.020       940       955,800       6,000       555       3,510,000       7,020       4,468,800         Mineral         60       455       27,500       60       27,7300       60       27,7300       60       27,800       8,990       2,885,500         Montrose       740       1.145       847,300       19,630       620       12,170,600       21,330       14,620,100         Otray          580       570       330,600       580       330,600       580       330,600       580       330,600       580       330,600       580       330,600       580       330,600       580       330,600       580	Jefferson Kiowa	190	940	178,600	440	  395	 173,800	190 440	178,600 173,800	
Larimer       330       1,030       333,900       570       650       371,500       1,150       1,140         Las Animas       1,870       1,165       2,178,550       21,850       280       6,118,000       23,720       8,296,550         Logan       1,020       940       958,800       6,000       585       3,510,000       7,020       4,468,500         Morea       5,850       1,145       6,698,250       440       625       27,500       6,290       6,973,250         Morea	Lake Lake La Plata	730		514 650	4,340	385 395	217 250	4,340	1,670,900	
Mesa       5.850       1,145       6,698,250       440       625       275,000       6,290       6,973,250         Mineral          60       455       27,300       60       27,300         Montauma       310       950       294,500       4,680       550       2,574,000       4,990       2,868,500         Montrose       740       1,145       847,800       50       525       26,250       790       873,550         Morgan       2,300       1,065       2,449,500       19,630       620       12,170,600       21,930       14,620,100         Otero       3,740       965       3,609,100       140       335       46,900       3,880       3,656,000         Ouray        20       490       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,800       20       9,27,100       10       16,16,100       11,50	Larimer Las Animas Lincoln Logan	330 1,870 	1,030 1,165 $\overline{940}$	339,900 2,178,550 958,800	570 21,850 36,630 6,000	650 280 450 585	370,500 6,118,000 16,483,500 3,510,000	900 23,720 36,630 7,020	710,400 8,296,550 16,483,500 4,468,800	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Mesa Mineral Moffat	5,850	1,145	6,698,250	440 <u>-</u> 60	$625 \\ \overline{455}$	275,000	6,290	6,973,250	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Montezuma Montrose Morgan	$310 \\ 740 \\ 2,300$	950 1,145 1,065	294,500 847,300 2,449,500	4,680 50 19,630	550 525 620	2,574,000 26,250 12,170,600	4,990 790 21,930	2,868,500 873,550 14,620,100	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Otero Ouray Park	3,740	965 	3,609,100	140 20	335 490	46,900 9,800	3,880 20	3,656,000 9,800	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Phillips Pitkin Prowers	260	 865	224,900	580	570	330,600	580	330,600	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Pueblo Rio Blanco	4,420	1,055	4,663,100	23,010	500	11,505,000	27,430	16,168,100	
San Miguel        10       5,000         San Miguel        10       100       100         Bedgwick       110       1,010       111,100       20       585       11,700       180       122,800         Summit                Teller               Washington       120       1,060       127,200       14,330       540       7,738,200       14,450       7,865,400         Weld        21,630       1,165       25,198,950       50,000       640       32,000,000       71,630       57,198,950         Yuma         4,520       525       2,373,000       4,520       2,373,000         State        52,097,200       383,930        207,102,800       432,000       259,200,000	Routt		870  820	8.200				150	130,500	
Teiler	San Juan San Miguel Sedgwick Summit		1,010	111,100	150 20	540 585	81,000 11,700	150 130	81,000 122,800	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Teller									
Yuma          4,520         525         2,373,000         4,520         2,373,000           State $\overline{52,097,200}$ $\overline{333,930}$ $\overline{207,102,800}$ $\overline{432,000}$ $\overline{259,200,000}$	Washington Weld	120 21,630	1,060 1,165	127,200 25,198,950	14,330 50,000	540 640	7,738,200 32,000,000	14,450 71,630	7,865,400 57,198,950	
State 48,070 52,097,200 383,980 207,102,800 432,000 259,200,000	Yuma				4,520	525	2,373,000	4,520	2,373,000	
	State	48,070		52,097,200	383,930		207,102,800	432,000	259,200,000	

# ACREAGE AND PRODUCTION OF SUGAR BEETS AND RYE, 1930

$ \begin{array}{c c c c c c c c c c c c c c c c c c c $		su	GAR BE	ETS	· RYE	FOR G	RAIN		Total
Adama         11.150         18.4         149.140         640         10         6.400         610         1.22           Arapaho         1.300         12.8         16.640         950         19         8.550         385         1.33           Arapaho         1.300         12.5         16.640         950         19         8.550         385         1.33           Baca         5.310         12.5         126.850	COUNTY	Acreage	Aver- age Yield	Production Tons	Acreage	Aver- age Yield	Production Bushels	Acreage Rye for Pasture	Acreage All Rye
Bacs $$	Adams Alamosa Arapahoe Archuleta	11,130 1,170 1,300	13.4 6.7 12.8	149,140 7,840 16,640	640 20 950	10 12 9 	6,400 240 8,550	610 	1,250 20 1,335
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Baca Bent Boulder	5,310 9.910	12.5 12.8	66,380 126,850	920 60	7 8	6,440 480	135	1,055
$ \begin{array}{c cccc} Creek & 220 & 6.0 & 1,920 & 30 & 20 & 600 &$	Chaffee Cheyenne	80	4.0	320			3,060		
Delta         Delta         Denver         Denver <thdenver< th=""> <thdenver< th=""></thdenver<></thdenver<>	Clear Creek Conejos Costilla Crowley Custer	320 20 5,910	$\begin{array}{r} \\ 6.0 \\ 7.6 \\ 11.1 \end{array}$	$     \begin{array}{r}       1,920 \\       150 \\       65,600     \end{array} $	30 20 10 60	20 15 9	600 300 90 660	35	30 55 15
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Delta Denver	2,810	8.9	25,010				5	5
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Dolores Douglas				90 1,800	10 10	900 18,000	80 345	2,145
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Elbert El Paso	660	10.9	7,190	2,930 2,750	7777	20,510 19,250	1,765 1,975	4,695
Cilipin       I.100       I.1000       I.1000 <thi.1000< th="">       I.1000       I.1000<!--</td--><td>Fremont</td><td>70</td><td>9.3</td><td>650 25 600</td><td>20 130</td><td>12</td><td>240</td><td>35</td><td>55</td></thi.1000<>	Fremont	70	9.3	650 25 600	20 130	12	240	35	55
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Gilpin Grand Gunnison				 60 20		480	45 10	105
	Hinsdale Huerfano	30	8.6	260		īī		25	65
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Jackson Jefferson	690	11.2	7,730	50	ĩõ	500	15 10	15 60
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Kiowa Kit Carson				$\begin{array}{r}100\\2,600\end{array}$	8	700 20,800	1,865	100 4,465
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Lake La Plata Larimer Las Animas Lincoln Logan	22,940 700 20,640	13.9 12.2 13.4	318,870 8,540 276,580	50 150 420 2,420 6,240	10 10 10 7 10	$\begin{array}{r}$	5 25 1,310 2,310	55 175 420 3,730 8,550
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Mesa Mineral	1,890	8.5 	16,060	40	12	480	90	130
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Montezuma Montrose Morgan	2,750 26,660	7.3	20,080 389,240	260 260 70 2,660	9 12 8	2,340 840 21,280	25 25 895	286 95 3,555
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Otero Ouray	13,800	12.6	173,880	40	11	440	20	40
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Park Phillips Pitkin Prowers Pueblo	7,200	 11.5 12.8	 82,800 87,300	3,620 10 160 20	 9 10 8 8	32,580 100 1,280 160	$ \begin{array}{c c} 120 \\ 1,130 \\ \hline 20 \\ 70 \\ \end{array} $	4,759 10 180 90
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Rio Blanco Rio Grande Routt	10	3.6	40	100 30 130	8 9 10	800 270 1,300	80 <u>1</u> 0	180 30 140
Teller         40       44         Washington $410$ 13.1 $5.370$ $4.900$ $8$ $39.200$ $3.690$ $8.59$ Weld $92,340$ 14.8 $1,366,630$ $9.950$ $7$ $69,650$ $3.485$ $13.43$ Yuma $242,000$ $3.312,000$ $74.000$ $629,000$ $27,000$ $101,000$	Saguache San Juan San Miguel Sedgwick Summit	4,700	 13.9	65,330	90	9 10 10 8	810 1,000 18,800 160	 30 730 10	90 
Weld        92,340       14.8       1,366,630       9,950       7       69,650       3,435       13,435         Yuma           25,740       9       231,660       3,900       29,64         State        242,000        3,312,000       74.000        629,000       27,000       101,000	Teller Washington	410	13.1	5,370	4,900		39,200	40 3,690	40 8,590
State 242,000 3,312,000 74.000 629,000 27,000 101,00	Weld Yuma	92,340	14.8	1,366,630	9,950 25,740	9	69,660 231,660	3,485	29.640
ų ·	State	242,000	·	3,312,000	74.000		629,000	27,000	101,000

# ACREAGE AND PRODUCTION OF GRAIN AND SWEET SORGHUMS, 1930

	GRAI	N SOR	GHUMS	SWEE	T SORG	HUMS	Total
COUNTY	Acreage	Aver- age Yield	Produc- tion Bushels	Acreage	Aver- age Yield	Produc- tion Tons	Acreage All Sor- ghums
Adams	1,445	12	17,340	3,825	2.1	8,030	5,270
Alamosa	710	13	9 230	1 195	21	2 510	1 905
Archuleta							
Baca	44,515	12	534,180	1,250	1.7	2,120	45,765
Boulder	15,275	12	183,300	470	1.8	850	15,745
Chaffee							
Cheyenne	8,160	15	122,400	2,815	2.1	5,910	10,975
Conejos							
Costilla	2,400	14	33,600	2.030	1.7	3,450	4,430
Custer	10	12	120	1,165	1.8	2,090	1,175
Delta							
Delores	50	īī	600	130	2.2	290	180
Douglas	30	15	450	520	2.0	1,040	550
Eagle	2 410	19	21 220	2 015	1 0	5 720	E 40E
El Paso	2,825	15	42,375	1,530	2.0	3,060	5,425 4,355
Fremont	10	12	120				10
Garfield	20	12	240	10	2.3	20	30
Grand							
Gunnison							
Huerfano	70	<b>ī</b> 4	980	420	1.9		490
Jackson							
Jefferson	20	13	260				20
Kit Carson	$12,400 \\ 14,245$	$15 \\ 14$	186,000 199,430	12,825 9,250	$\begin{array}{c} 2.0 \\ 2.3 \end{array}$	25,650 21,280	25,225 23,495
Lake	20	īī	240		22		
Larimer	5	15	75	35	2.0	70	40
Lincoln	4,055 13,350	11	44,605 160,200	2,750 8,935	$2.0 \\ 2.0$	5,500 17,870	6,805 22,285
Logan	2,400	14	33,600	7,225	2.5	18,060	9,625
Mesa Mineral	135	16	2,160	20	2.5	50	155
Moffat	50 230	12	600	50	1.7	80	100
Montrose		10	2,550				260
Otero	2,005	12	24,060	5,145	2.3	11,830	7,150
Ouray			24,000	310	2.4	740	2,315
Park	1 055	17	01 505				
Pitkin	1,800		31,535	5,965	2.6	15,510	7,820
Pueblo	18,985 3,265	12 12	227,820 39,180	4,995 430	$\frac{1.9}{2.0}$	9,490 860	23,980 3.695
Rio Blanco						<b>-</b>	
Routt							
Saguache							
San Juan San Miguel	25	$\overline{12}$					
Sed (wick Suramit	1,120	17	19,040	860	2.5	2,150	1,980
Teller							
Washington	11,720	14	164,080	8,510	2.4	20,420	20 230
Weld	4,600	13	59,800	5,660	2.4	13,580	10,260
iuma	9,580	15	143,700	11,570	2.4	27,770	21,150
State	180,000		2,340,000	103,000		227,000	283,000
						······	

## ACREAGE OF HAY CROPS, 1930

COUNTY	Alfalfa	All Clover and Timothy, Alone or Mixed	Millet and Sudan Grass	All Other Tame Hay*	Total Tame Hay	Wild Grass Cut for Hay	Total Hay
Adams Alamosa Arapahoe Archuleta	$18,610 \\ 17,150 \\ 14,490 \\ 4,500$	320 1,950 120 10,120	$1,600 \\ 50 \\ 860 \\ 240$	400 8,100 2,210 880	20,930 27,250 17,680 15,740	2,490 13,100 2,200 910	23,420 40,350 19,880 16,650
Baca Bent Boulder	$1,700 \\ 27,980 \\ 23,400$	30 190 1,090	800 300 200	30 20 570	2,560 28,490 25,260	140 300 3,970	2,700 28,790 29,230
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	5,400 510 20 19,850 6,610 14,820 2,190	$\begin{array}{r} 3,410\\ 50\\ 210\\ 4,460\\ 2,340\\ 60\\ 4,120\end{array}$	2,960  40 250	900 60 240 1,990 2,010 100 8,900	9,710 3,580 470 26,300 11,000 15,230 15,210	$\begin{array}{r} 900 \\ 1,440 \\ 360 \\ 21,100 \\ 1,610 \\ 50 \\ 3,590 \end{array}$	10,610 5,020 830 47,400 12,610 15,280 18,800
Delta	32,850	800	30	1,400	35,080	170	35,250
Dolores Douglas	310 8,790	400 1,780	10 780	350 2,980	1,070 14,330	70 2,020	1,140 16,350
Eagle Elbert El Paso	10,120 11,310 7,290	12,720 690 800	5 4,180 7,190	1,300 5,820 7,020	24,145 22,000 22,300	560 4,150 6,350	24,705 26,150 28,650
Fremont	7,490	2,160	80	3,450	13,180	110	13,290
Garfield Gilpin Grand Gunnison	42,140 	$910 \\ 80 \\ 14,120 \\ 24,730$		1,020 530 9,590 8,110	44,080 620 24,520 36,130	680 510 3,370 16,100	44,760 1,130 27,890 52,230
Hinsdale Huerfano	100 14,890	2,460 3,850		$\begin{array}{r}140\\1,450\end{array}$	2,700 20,530	740 810	3,440 21,340
Jackson Jefferson	20 15,390	1,010 1,030	150	1,700 1,410	2,730 17,980	88,700 1,350	91,430 19,330
Kiowa Kit Carson	$1,100 \\ 1,810$	90 30	1,650 8,250	80 1,170	2,920 11,260	120 1,690	3,040 12,950
Lake La Plata Larimer Las Animas Lincoln Logan	24,810 42,920 16,550 2,190 27,020	30 3,580 3,120 3,950 150 840	130 290 1,050 9,040 6,110	$150 \\ 3,590 \\ 5,990 \\ 2,710 \\ 2,840 \\ 860$	$180 \\ 32,110 \\ 52,320 \\ 24,260 \\ 14,220 \\ 34,830$	4,910 920 5,220 1,550 5,200 14,100	5,090 33,030 57,540 25,810 19,420 48,930
Mesa Mineral Moffat Montezuma Montrose Morgan	$\begin{array}{r} 31,870\\ 20\\ 16,380\\ 20,120\\ 38,910\\ 26,250\end{array}$	$1,350 \\ 1,180 \\ 3,990 \\ 1,240 \\ 1,640 \\ 800$	80  135 50 20 4,440	1,500 510 7,410 1,180 310 1,020	34,800 1,710 27,915 22,590 40,880 32,510	170 920 4,010 110 120 8,660	34,970 2,630 31,925 22,700 41,000 41,170
Otero	20,750 3,490	600 5,590	60	460 910	21,870 9,990	200 1,410	22,070 11,400
Park Phillips Pitkin Prowers Pueblo	400 3,120 44,910 18,890	200 60 5,800 100 1,150	5,650 40 970 160	5,780 490 220 310 590	5,980 6,600 9,180 46,290 20,790	37,050 260 300 610 1,570	48,030 6,860 9,480 46,900 22,360
Rio Blanco Rio Grande Routt	19,380 10,500 9,320	$10,970 \\ 5,970 \\ 39,540$	 10 80	5,990 17,750 8,710	36,340 34,230 52,650	2,640 7,230 1,540	38,980 41,460 54,190
Saguache	9,890	3,850		14,430	28,170	47,150	75,320
San Juan San Miguel Sedgwick Summit	4,590 4,930 30	1,400 140 7,300	10 1,160 100	2,880 1,080 510	8,880 7,310 7,940	190 5,200 750	9,070 12,510 8,690
Teller	170	350		7,840	8,360	1,240	9,600
Washington	3,650 107,100	80 1,500	14,130 9,450	2,610 2,500	20,470 120,550	10,300 13,950	80,770 134,500
Yuma	2,900	400	8,850	940	13,090	\$,860	21,950
State	826,000	203,000	92,000	171,000	1,292,000	366,000	1,658,000

\*Includes grains cut green.

## ACREAGE AND PRODUCTION OF HAY, 1930

	T	AME H	AY	V	VILD HA	Y	TOTAI	HAY
COUNTY	Acreage	Yield	Production Tons	Acreage	Yield	Production Tons	Acreage	Produc- tion Tons
Adams Alamosa Arapahoe Archuleta	20,930 27,250 17,680 15,740	$1.6 \\ 1.6 \\ 1.4 \\ 1.7$	33,490 43,600 24,750 26,760	2,490 13,100 2,200 910	.8 .7 .8 .9	1,990 9,870 1,760 8,190	23,420 40,350 19,880 16,650	35,480 53,470 26,510 34,950
Baca Bent Boulder	2,560 28,490 25,260	$1.3 \\ 2.1 \\ 1.9$	3,330 59,830 47,990	$140 \\ 300 \\ 3,970$	$1.1 \\ .9 \\ 1.1$	150 270 4,590	2,700 28,790 29,230	3,480 60,100 52,580
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	$9,710 \\ 3,580 \\ 470 \\ 26,300 \\ 11,000 \\ 15,230 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 15,210 \\ 10,20 \\$	$1.6 \\ 1.2 \\ 1.2 \\ 1.8 \\ 1.4 \\ 2.0 \\ 1.9$	$15,540 \\ 4,300 \\ 560 \\ 47,340 \\ 15,400 \\ 30,460 \\ 28,900$	$900 \\ 1,440 \\ 360 \\ 21,100 \\ 1,610 \\ 50 \\ 3,590$	$1.3 \\ .9 \\ 1.2 \\ .7 \\ .7 \\ 1.0 \\ 1.0$	$1,170 \\ 1,300 \\ 430 \\ 14,770 \\ 1,130 \\ 60 \\ 3,590$	$10,610 \\ 5,020 \\ 830 \\ 47,400 \\ 12,610 \\ 15,280 \\ 18,800$	$16,710 \\ 5,600 \\ 990 \\ 62,110 \\ 16,530 \\ 30,520 \\ 32,490$
Delta	35,080	2.0	70,160	170	1.2	840	35,250	71,000
Dolores Douglas	1,070 14,330	1.2 1.8	1,280 25,790	70 2,020	.9 .9	60 1,820	1,140 16,350	1,340 27,610
Eagle Elbert El Paso	24,145 22,000 22,300	$1.4 \\ 1.2 \\ 1.3$	33,800 26,400 28,990	$560 \\ 4,150 \\ 6,350$	$1.3 \\ 1.0 \\ 1.1$	730 4,150 6,980	24,705 26,150 28,650	34,530 30,550 35,970
Fremont	13,180	2.0	26,360	110	1.3	140	13,290	26,500
Garfield Gilpin Grand Gunnison	$\begin{array}{r} 44,080\\ 620\\ 24,520\\ 36,130\end{array}$	2.0 1.2 1.6 1.2	$88,160 \\ 740 \\ 39,230 \\ 43,360$	680 510 3,370 16,100	.7 .8 1.1 1.0	$ \begin{array}{r} 480 \\ 410 \\ 4,040 \\ 16,100 \end{array} $	$\begin{array}{r} 44,760 \\ 1,130 \\ 27,890 \\ 52,230 \end{array}$	$88,640 \\ 1,150 \\ 43,270 \\ 59,460$
Hinsdale Huerfano	$2,700 \\ 20,530$	$\substack{1.4\\1.3}$	3,780 26,690	$740 \\ 810$	1.0 1.1	740 890	$3,440 \\ 21,340$	4,520 27,580
Jackson Jefferson	2,730 17,980	$\begin{array}{c} 1.1 \\ 2.0 \end{array}$	3,000 35,960	88,700 1,350	1.1 .8	99,770 1,080	$91,430 \\ 19,330$	$102,770 \\ 37,040$
Kiowa Kit Carson	2,920 11,260	1.1 1.4	$3,210 \\ 15,760$	$\begin{smallmatrix}&120\\1,690\end{smallmatrix}$	.8 1.0	100 1,690	3,040 12,950	$3,310 \\ 17,450$
Lake La Plata Larimer Las Animas Lincoln Logan	$180 \\ 32,110 \\ 52,320 \\ 24,260 \\ 14,220 \\ 34,830 $	$1.1 \\ 1.9 \\ 2.0 \\ 1.4 \\ 1.2 \\ 1.9$	200 61,010 104,640 33,960 17,060 66,180	4,910 920 5,220 1,550 5,200 14,100	$1.3 \\ 1.1 \\ 1.0 \\ 1.1 \\ .9 \\ .9 \\ .9$	$\begin{array}{r} 6,380\\ 1,010\\ 5,220\\ 1,700\\ 4,680\\ 12,690\end{array}$	5,090 33,030 57,540 25,810 19,420 48,930	6,580 62,020 109,860 35,660 21,740 78,870
Mesa Mineral Moffat Montezuma Montrose Morgan	34,800 1,710 27,915 22,590 40,880 32,510	$2.1 \\ 1.0 \\ 1.7 \\ 2.0 \\ 2.1 \\ 1.8$	$\begin{array}{c} 73,080\\ 1,710\\ 47,460\\ 45,180\\ 85,850\\ 58,520 \end{array}$	170 920 4,010 110 120 8,660	.9 1.0 1.1 1.3 1.2 .8	$150 \\ 920 \\ 4,410 \\ 140 \\ 140 \\ 4,530$	34,970 2,630 31,925 22,700 41,000 41,170	73,230 2,630 51,870 45,320 85,990 63,050
Otero Ouray	$21,870 \\ 9,990$	$\begin{array}{c} 2.0\\ 1.4 \end{array}$	43,740 13,990	200 1,410	$\begin{array}{c} 1.0\\ 1.0\end{array}$	$\begin{array}{c} 200\\ 1.410\end{array}$	$22,070 \\ 11,400$	$43,940 \\ 15,400$
Park Phillips Phillips Pitkin Prowers Pueblo	5,980 6,600 9,180 46,290 20,790	$1.2 \\ 1.4 \\ 1.5 \\ 2.0 \\ 2.1$	$7,180 \\9,240 \\13,770 \\92,580 \\43,660$	37,050 260 300 610 1,570	.8 .9 1.0 1.0 1.0	30,040 230 300 610 1,570	$\begin{array}{r} 43,030\\ 6,860\\ 9,480\\ 46,900\\ 22,360\end{array}$	37,220 9,470 14,070 93,190 45,230
Rio Blanco Rio Grande Routt	$36,340 \\ 34,230 \\ 52,650$	$1.7 \\ 1.6 \\ 1.3$	$61,780 \\ 54,770 \\ 68,440$	$2,640 \\ 7,230 \\ 1,540$	$1.0 \\ .9 \\ 1.2$	$2.640 \\ 6,510 \\ 1.850$	38,980 41,460 54 190	64,420 61,280 70,290
Saguache	28,170	1.5	42,260	47,150	1.1	50,760	75,320	93,020
San Miguel Sedgwick Summit	8,880 7,310 7,940	1.6 1.9 1.1	14,210 13,890 8,730	190 5,200 750	1.2 1.1 .8	230 5,720 600	9,070 12,510 8 690	14,440 19,610
Teller	8,360	1.4	11,700	1,240	1.0	1,240	9,600	12.940
Washington Weld	$20,470 \\ 120,550$	1.4 1.8	28,660 216,990	10,300 13,950	1.0 .9	10,300 12,560	30,770 134,500	38,960 229,550
Yuma	13,090	1.5	19,640	8,860	.9	7,970	21,950	27,610
State	1,292,000		2,215,000	366,000		366,000	1,658,000	2,581,000

Totals	$\begin{array}{c} 4.377,300\\ 2,101,030\\ 2,089,940\\ 2,089,390\\ 389,390\end{array}$	3,283,500 2,485,760 2,627,230	467,880 1,015,470 11,090	2,714,060 1,057,290 2,178,670 596,520	3,392,300	128,310 634,620	$\begin{array}{c} 993,800\\ 1,884,500\\ 1,834,960\end{array}$	944,370	$\begin{array}{c} 2,188,460\\ 22,680\\ 527,950\\ 770,920 \end{array}$	57,430 637,080	932,940 1,749,100	926,020 2,494,150
Miscel- laneous Crops	847,750 128,310 120,520 3,370	870,800 563,000 194,360	142,020 9,480 690	540,210 708,710 897,130 109,740	203,710	2,250 9,420	73,280 37,800 74,190	296,680	$\begin{array}{c} 61,020\\ 3,800\\ 89,400\\ 6,000\end{array}$	57,040	1,880 505,060	22,540 36,070
Fruits	33,660 480 27,260 230	$ \begin{array}{c} 1,400\\ 4,620\\ 91,420 \end{array} $	7,800 450	2,120 19,360	1,592,590	2,150	1,410 2,830 2,440	273,840	113,680	11,800	268,980	$500 \\ 1,320$
All Hay	\$ 504,910 541,350 361,450 305,230	42,200 759,330 641,360	178,540 34,650 7 940	711,170 175,300 437,070 259,620	929,070	17,640 255,260	498,100 316,070 288,730	213,980	$1,005,350\\13,690\\411,720\\726,470$	54,780 360,400	926,220 411,160	23,360 98,690
Sugar Beets	\$ 941,440 42,340 143,450	305,610 788,290		10,310	170,270		27,030	6,580	133,190		42,830	
Sorghums	\$ 71,200 46,270	453,320 109,520 1,040	164,040	51,680	250	4,300	40,080	1,760	360	6,460	340	255,200 189,280
Dry Beans	\$ 305,570 760 273,870 1,430	$\begin{array}{c} 92,050\\ 37,430\\ 7,390\end{array}$	1,980 24,100	22,360 22,270 110,380	6,030	28,840	639,820 730,470	4,980	6,770	39,910	2,150	3,200 31,140
Potatoes	\$ 43,550 1,218,620 2,660 18,830	$390 \\ 750 \\ 24,500$	53,680 5,150	1,054,820 47,380 47,380 180,700	150,980	13,090 13,200	320,860 29,170 36,380	30,270	590,140 4,780 8,450 28,510	1,760 19,600	<b>4,710</b> <b>47,500</b>	1,250 20,000
Rye	\$ 4,370 110 7,840	2,840	930	360 50 390		10,800	27,590 20,730	70	1,200 780 220	170	160	730 12,710
Barley	\$ 170,330 35,930 99,660 3,630	$\begin{array}{c} 81,330\\ 77,530\\ 167,160\end{array}$	32,080 76,520	131,700 30,050 31,160 10,800	60,840	20,260	9,950 50,240 17,100	8,710	38,690 80 6,050 2,020	17,100	240 66,000	21,480 364,500
Oats	\$ 49,090 85,550 39,350 21,810	1,720 15,240 64,560	27,800	102,530 25,410 16,130 13,990	65,910	11,050	44,430 51,500 81,760	15,880	$\begin{array}{c} 66,550\\ 330\\ 10,940\\ 4,970\end{array}$	890 25,310	890 53,170	520 25,670
Wheat	\$ 1,072,150 47,360 703,700 25,090	967,100 137,960 471,650	23,980	$\frac{136,800}{5,480}$	108,990	29,010 101,310	45,320 311,380 50,510	12,220	158,890 600 2,150	32,750	264,980	63,130 721,640
Corn	\$ 333,280 220 263,910 9,690	770,350 474,600 175,600	617,510	450 3,360 2,250 163,460 5,640	103,660	19,460 141,980	450 378,020 456,520	79,400	12,620	66,540	86,770	534,110 993,130
COUNTY	Adams Alamosa Arapahoe	BacaBentBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBoulderBBOULDER	ChaffeeCheyenne	Conejos Conejos Costilla Crowley	Delta	Dolores	Eagle Elbert El Paso	Fremont	Garfield Gilpin Grand Gunnison	Hinsdale	Jackson	Kiowa Kit Carson

FARM VALUE OF CROPS BY COUNTIES, 1929

48,740 1,215,130 4,782,120 1,542,370 1,999,310 5,880,470	4,828,000 82,950 848,740 848,740 1,153,410 3,086,350 4,835,040	<b>4,</b> 267,990 300,640	$\begin{array}{c} 516,480\\ 2,596,980\\ 467,830\\ 3,492,980\\ 3,492,980\\ 2,890,390\end{array}$	870,980 6,552,830 1,914,700	2,811,810	223,090 2,105,620 138,840	237,760	3,079,650 21,486,730	6,316,520	\$134,537,170
20,660 227,560 94,480 24,370 157,670	$\begin{array}{c} 231,560\\ 29,030\\ 29,030\\ 23,040\\ 377,920\\ 144,300\\ \end{array}$	2,058,330	$     \begin{array}{c}       5,350\\       28,700\\       3,650\\       229,680\\       891,580   \end{array} $	8,050 656,730 275,590	88,290	2,800 35,820 50	13,120	84,400 1,270,220	107,920	\$13,708,170
47,230 45,940 4,570 1,430 5,700	2,324,930 $-2,090$ $149,270$ $143,100$ $4,520$	21,120 2,230	$\begin{array}{c} 1.920 \\ 670 \\ 4.420 \\ 22,810 \end{array}$	1,320 1,770 4,980	1,790	940		2,030 29,290	12,640	\$ 5,700,000
48,440 619,910 970,180 416,870 147,200 891,370	$1,137,580\\ 31,820\\ 604,030\\ 479,100\\ 962,630\\ 824,990\\ 824,990\\$	614,190 209,660	395,680 66,180 218,730 1,378,380 1,378,380	745,170 708,370 1,166,950	822,580	164,800 225,460 128,960	97,620	300,710 2,894,960	255,670	\$29,475,000
1,792,650 53,360 1,137,070	116,020   1,33,400 1,657,860	954,680	576,440	8,300		327,440		144,560 7,613,390	10,120	\$18,106,000
	$\begin{array}{r} 3,200\\ -1,240\\ 4,360\\ 4,360\\ 63,420\end{array}$	22,820	86,080 212,360 29,520			10,750		184,820 147,070	850,720	\$2,982,000
22,880 22,880 19,900 438,110 369,750 113,270	360,480 	126,590 880	11,000 5,870 308,380	10,080	350	2,170		150,770 1,213,230	72,880	\$6,026,000
101,700 55,200 9,500 20,460 82,700	193,060 1,060 65,880 968,410 968,410 272,140	630 33,210	$113,280 \\ 15,780 \\ 208,030 \\ 630 \\ 630 \\ 1,020 \\ 1,0$	$\begin{array}{c} 11,500 \\ 4,856,540 \\ 131,380 \end{array}$	1,762,800	17,130 42,680 4,980	120,530	27,940 2,920,020	44,080	\$16,137,000
490 450 1,920 9,350 22,720	490 8,230 1,750 16,900	780	20,480 190 1,350 410	130     1,300	850	900 11,930 140	70	18,390 54,040	96,600	\$364,000
	28,000 16,820 16,070 16,070 303,890	59,090 5,120	$\begin{array}{c} 270\\ 196,570\\ 2,260\\ 172,330\\ 49,030\end{array}$	6,730 91,950 66,190	30,250	10,180 255,300 780	006	245,370 1,345,010	204,620	\$5,910,000
90,030 114,990 32,960 6,910 99,490	74,420 $-5,780$ $77,280$ $77,280$ $100,160$ $60,340$	55,890 26,280	1,800 87,350 26,110 26,110 27,070 16,700	41,620 128,230 137,640	73,590	57,900 3,460	5,300	24,790 355,640	69,610	\$2,826,000
225,690 616,760 76,980 549,790 1,196,200	$140,600 \\ -165,980 \\ 137,600 \\ 137,600 \\ 227,170 \\ 439,610 \\ \end{array}$	56,190 19,680	$1154,980 \\ 1,154,980 \\ 7,930 \\ 298,770 \\ 298,770 \\ 111,030 \\ 111$	56,020 89,770 128,490	31,080	12,780 776,100 470		$^{678,670}_{2,511,670}$	1,292,140	\$16,632,000
55,130 160,790 256,260 659,260 916,050	$\begin{array}{c} 217,660\\ -11,360\\ 77,420\\ 96,560\\ 799,160\end{array}$	297,680 2,880	$\begin{array}{c} 927,940\\ 927,940\\ 639,040\\ 346,530\end{array}$	2,180	230	4,310 358,330	220	1,217,200	2,798,520	\$16,671,000
Lake La Plata Larimer Las Animas Lincoln Logan	Mesa Mineral Monfezuma Montrose Morgan	OteroOtero	Park Phillips Pitkin Prowers	Rio Blanco Rio Grande Routt	Saguache	San Miguel	Teller	Washington Weld	Yuma	State

Note--Miscellaneous Crops include field peas, broomcorn, garden peas, snap beans, cantaloupes for market and seed, cucumbers for pickles and seed, cabbage and kruut, celery, lettore, cauliflower, tomatoes, waternelons, onions, asparatus, garden beets, spinach, carrots, pumpkin and squash, sweet corn, sugar beet tops, ref for pasture, milite seed, atterial, sweet clover seed, red clover and other minor farm garden and commercial crops. Fruits include apples, peaches, pears, cherries, grapes, plums, apricots, strawberries, etc.

#### STATE OF COLORADO

## COLORADO CROP ACREAGE, PRODUCTION AND VALUE, 1929

VIND OF GDOD		PROD	UCTION	FARM VAI	UE DECE	MBER 1ST
KIND OF CROP	Acreage	Per Acre	Total	Unit	Per Unit	Total
Winter Wheat	1,204,000	11.0	13,244,000	Bus.	\$ 0.93	\$ 12,317.000
Spring Wheat	335,000	14.0	4,690,000	Bus.	.92	4,315,000
Corn	1,533,000	14.5	22,228,000	Bus.	.75	16,671,000
Oats for Grain <sup>1</sup>	203,000	29.0	5,887,000	Bus.	-48	2,826,000
Barley for Grain	608,000	18.0	10,944,000	Bus.	.54	5,910,000
Rye for Grain	64,000	8.0	512,000	Bus.	.71	364.000
Grain Sorghums	175,000	10.5	1,838,000	Bus.	.80	1,470,000
Sweet Sorghums	105,000	1.80	189,000	Tons	8.00	1,512,000
Broomcorn*	64,000	286	9,200	Tons	112.00	1.030.000
Field Peas	49,000	12.0	588,000	Bus.	1.20	706.000
Dry Beans	372,000	3.60	1.339.000	100-lb. Bags	4.50	6,026,000
Potatoes	90.000	163.0	14,670,000	Bus.	1.10	16,137,000
Sugar Beets	210,000	12.44	2,612,000	Tons	6.95	18,106,000
Cabbage	3.300	10.6	35,000	Tons	20.43	715.000
Onions <sup>2</sup>	7,000	369	2,583,000	Bus.	.45	1,097,000
Cauliflower	3,200	360	1,152,000	Crs.	.70	806,000
Tomatoes for Mfg.	2,030	8.7	17,700	Tons	11.00	195,000
Tomatoes for Market	1.070	310	332,000	Bus.	.97	322,000
Cantaloupes and Honeydew Melons for Market	11,000	230	2,530,000	Crs.	.83	2,100,000
Cantaloupes and Honeydew Melons	1.700	237.6	403.920	Lbs.	.30	121.180
Watermelons	1.070	300	321,000	Nos.	.165	53.000
Cumphers for Pickles	2,000	115	230.000	Bus.	.60	138.000
Cusumbers for Seed	3 800	259.5	986,170	Lbs.	.28	276.130
Span Beans for Mfg	2 300	3.0	6,900	Tons	58.00	400.000
Span Beans for Market	1,500	250	375,000	Bus.	.84	315.000
Peas (Green) for Mfg	3,400	1776	6.038.000	Lbs.	.022	133.000
Pees (Green) for Market	7,100	81	575,000	Bus.	1.30	748.000
Lettuce	8,100	110	891.000	Crs.	1.25	1.114.000
Calery	1.100	240	264,000	Crs.	1.10	290,000
Spinach	400	240	96,000	Bus.	.70	67,000
Millet Seed <sup>3</sup>	18.000	11.5	207,000	Bus.	.75	155,200
Alfalfa Soci	13,000	4.0	52,000	Bus.	10.10	525,000
All Other Farm, Garden and Seed	28,350					1,741,660
Tomo How All Varieties	1.255.000	1.8	2.255.000	Tons	11.50	25,932,000
Wild How	362.000	.95	344.000	Tons	10.30	3,543,000
Wild Hay			2,300,000	Bus.	.95	2.185.000
Apples			953,000	Bus.	1.45	1,382,000
Peaches			600,000	Bus.	1.50	900,000
Pears			5,100	Tons	120	612.000
Minerller cours Empire!	32,500					291.000
Miscellaneous Fruits	00000			1		840.000
Sugar Beet 10ps	30 000			l		150.000
Kye for rasture						
Totals	6,810,920					\$134,537,170

\*County statistics for broomcorn in 1929-30-31 appear on page 26.

<sup>1</sup>In addition to the acreage harvested for grain, there is a large acreage of oats cut green for hay, this additional acreage appearing in the hay table.

<sup>2</sup>Including 146,000 bushels onions lost by freeze but not included in computing value.

"This acreage of millet saved for seed is in addition to the area harvested for hay as shown in the hay table.

'This acreage includes the total acreage of tree, bush and miscellaneous fruits for the state, but the value shown in the last column includes only fruits not separately listed above.

.

## HARVESTED ACREAGE OF ALL CROPS, 1929

							~	~			-		Snap Beans						GAI	RDEN PE	AS	CU	CUMBER	s	C. (Inclu	ABBAGE uding Krau	ut)	T	OMATOES	s	CANTA HONEY	LOUPES DEW ME	AND LONS	A11	Total	
COUNTY	Wheat	Corn	Oats	Barley	Potatoes	Rye	Sugar Beets	sor- ghums	Beans	Hay	corn	Field Peas	Canning and Market	Lettuce	Celery	Cauli- flower	melons	Onions	For Market	For Mfg.	Total	For Pickles	For Seed	Total	Early	Late	Total	For Market	For Mfg.	Total	For Market	For Seed	Total	Other Crops	Harvested Acreage	COUNTY
Adams Alamosa Arapahoe Archuleta	$\begin{array}{c} 98,520 \\ 2,320 \\ 71,940 \\ 1,250 \end{array}$	$\begin{array}{c c}32,980\\10\\25,960\\460\end{array}$	2,740 4,690 3,250 1,910	23,600 2,660 11,900 280	$\begin{array}{r} 315 \\ 5,770 \\ 25 \\ 195 \end{array}$	$1,450$ $10$ $1,430$ $\ldots$	$10,450 \\ 650 \\ 1,800 \\ \cdots$	4,950 3,070 5	$19,300 \\ 20 \\ 16,260 \\ 50$	22,680 38,800 19,810 17,030	35  	2,720 $5$ $5$	520  20 	$255 \\ 85 \\ 55 \\ \cdots$	385  40 	$220 \\ 110 \\ 5 \\ \cdots$	20 	195  90 	$30 \\ 150 \\ 10 \\ \cdots$	480 	$510 \\ 150 \\ 10 \\ \cdots$	275  	····	275  	530 123 	270  42 	800 165	25  20 	340  	365 20	70 10	· · · · · · · · · · · · · · · · · · ·	70 10	$^{1,755}_{\begin{array}{c}850\\435\\130\end{array}}$	222,400 58,845 156,300 21,315	Adams Alamosa Arapahoe Archuleta
Baca Bent Boulder	87,550 5,030 22,400	68,090 27,370 9,100	$170 \\ 750 \\ 3,800$	$\begin{array}{c}15,060\\4,450\\8,800\end{array}$	$\begin{array}{c}5\\5\\225\end{array}$	$650 \\ 10 \\ 80$	3,500 9,100	41,900 12,640 90	$6,620 \\ 1,710 \\ 270$	$\begin{array}{r} 2,340 \\ 27,640 \\ 28,810 \end{array}$	$52,565$ $145$ $\cdots$	10 230	 120	$\begin{array}{c} & 15 \\ & 20 \end{array}$	· · · · · · · · 5	  10	30 50 10	· 200 10	 5 	 970	 5 970				 60	···· 90	···· 150	 5 15	 125	 5 140	1,955 25	· · · · · · · · · · · · · · · · · · ·	1,955 25	765 4,095 965	275,745 89,585 85,415	Baca BentBent
Shaffee Sheyenne Clear Creek Conejos Costilla Crowley Custer	1,190 12,240 7,060 2,330 230 1,040	$74,850 \\ 20 \\ 160 \\ 100 \\ 9,980 \\ 480$	$1,810 \\ 1,190 \\ 10 \\ 5,340 \\ 1,260 \\ 840 \\ 1,540$	1,980 14,170 8,410 2,140 1,620 1,100	$\begin{array}{r} 400\\ 90\\ 30\\ 5,240\\ 295\\ 5\\ 1,490\end{array}$	350 20 50 15 140	 150 5,750	18,090  3,600 20	60 2,600 700 730 6,980	$10,690 \\ 4,080 \\ 840 \\ 52,610 \\ 12,320 \\ 15,250 \\ 18,480$	· · · · · · · · · · · · · · · · · · ·	$   \begin{array}{r}     1,610 \\     \ddots \\     8,280 \\     10,300 \\     5 \\     430   \end{array} $	5   40 	440 5 490 645 75		20  285 1,145 160	5   55 	  280	360  2,570 1,605 440	· · · · · · · · · · · · · · · · · · ·	360 2,570 1,605 440	  395	···· ···· ···	  405	···· ···· ···· ····	20  5 15  6	20  5 15  10	  105	• • • • • • • • • • • • • • • • •	····· ···· 105	  3,740	  150	  3,890	260 705  840 285 980 90	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Chaffee Cheyenne Clear Creek Conejos Costilla Costilla Crowley Custer
Delta Denver Dolores Douglas	4,090 2,980 8,970	3,430 1,730 13,490	3,160 1,000 5,160	2,760 240 2,680	855  170 200	5 165 1,905	2,100  	20  300 590	110 1,450 1,950	33,750 1,310 16,690	••••• •••• ••••	30  5	40  	 	5 · · · ·	· · · · · · · · ·	30  	870 	5  5	····	5  5	· · · · · · · · · · · · · ·	40  	40 	4  	6  	10 	15 	 	15  	30  	••••	30 	9,510 35 195	60,865 9,380 51,840	Delta Denver Dolores Douglas
Eagle Elbert El Paso Fremont	1,910 49,790 6,330 560	$\begin{array}{r} 20 \\ 45,820 \\ 57,640 \\ 3,590 \end{array}$	2,520 6,310 9,320 1,220	480 11,630 2,670 650	1,135 510 525 320	6,800 6,345 45	 500 100	3,975 4,940 95	47,080 55,390 150	22,850 26,550 28,530 12,450	· · · · · · · · ·	$\begin{array}{c}10\\140\\20\\75\end{array}$	· · · · 5 335	450  30 165	···· 5 80	5  130		···· 5 40	40  10 80		40 iò 80		· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	···· 32 49	 33 106	 65 155	···· 5 120	· · · · · · · · · · · · · · · · · · ·	···· 5 120	  5	••••• •••• 40		105     850     645     4.140	29,525 199,455 172,980 24,545	Eagle Elbert El Paso Fremont
Garfield Gilpin Grand Gunnison	6,500 	570 	$3,110 \\ 30 \\ 600 \\ 400$	$2,050 \\ 10 \\ 320 \\ 170$	2,625 75 80 240	105 115 50	1,550  	30  	160 	$41,900 \\ 1,135 \\ 26,770 \\ 45,820$	  	30 100 5	  	$75 \\ 15 \\ 610 \\ \dots$	15  	• • • • • • • • • • • • •	10 	5  	 	····	····· ····	· · · · · · · · ·	····	····	2  2	3	5  5	5  	· · · · · · · · · · · · · · · · · · ·	5  	· · · · · · · · · · · · · · · · · · ·			2,055 5 100 85	60,800 1,370 28,635 46,905	Garfield Gilpin Grand Gunnison
Hinsdale Huerfano	2,820	6,240	60 1,770	1,150	$10\\170$	65	 	350	2,490	3,490 22,650	····	180	5	120	 			 	···;; 20		···:: 20	••••		····		····;	15		····					445	3,560 38,565	Hinsdale Huerfano
Jackson Jefferson Kiowa Kit Carson	13,210 5,780 99,710	4,960 54,780 147,130	$\begin{array}{r} 60\\3,550\\120\\4,860\end{array}$	$20 \\ 4,270 \\ 4,420 \\ 67,500$	65 510 10 505	15 30 60 5,030	650 	35 21,340 22,290	60 350 3,740	$     \begin{array}{r}       89,820 \\       20,440 \\       2,570 \\       10,920     \end{array} $	 650 10	···· ···· 10	75 	165 	330 	70 	10 5	60 	590 	·····	590 	**************************************	···· 5	30 5	35 	'140 	<sup>•</sup> 175 	330 	· · · · · · · · ·	330 	5 	 15 	5 15	30 2,595 520 1,305	90,010 52,150 90,620 363,015	Jackson Jefferson Kiowa Kit Carson
Lake. La Plata Larimer. Las Animas Lincoln. Logan	11,780 30,970 5,730 87,950 125,000	3,070 10,170 22,840 79,910 88,920	5,490 5,960 2,930 1,440 8,400	1,940 17,880 3,020 21,700 62,100	845 580 140 310 960	$\begin{array}{r} 40\\ 110\\ 300\\ 4,075\\ 6,565\end{array}$	22,300 950 14,650	95 125 11,050 17,840 9,500	680 640 20,250 37,350 6,960	5,160 31,790 52,850 26,720 18,820 46,760	 1,060 25 	25 415 110 	60 10	5 10 5 	10 5 	···· 5 ····	 15  20	···· 10 30 ····	····· iò	1,210 	1,210 10 	 60  140	···· 15 ····	 60 15  140.	···· 2 10 15 ···· 1	···· 35 15 ···· 14	 5 45 30  15	50 10 10	· · · · · · · · · · · · · ·	50 50 10 	 35 	 30 	 65  10	$5 \\ 1,295 \\ 4,230 \\ 1,550 \\ 700 \\ 3,650 \end{cases}$	5,165 57,060 147,690 96,845 270,120 373,670	Lake La Plata Larimer Las Anīmas Lincoln Logan
Mesa Mineral Moffat Montezuma Montrose Morgan	6,060 12,090 8,440 8,510 48,090	8,260 1,010 4,770 3,870 78,170	$\begin{array}{r} 3,480 \\ - \cdot \cdot \cdot \\ 4,630 \\ 4,710 \\ 4,810 \\ 3,950 \end{array}$	1,440 $1,300$ $1,130$ $2,500$ $23,500$	$     \begin{array}{r}       1,370 \\       545 \\       780 \\       4,300 \\       1,450 \\     \end{array} $	135 2,700 275 80 2,825	1,350  1,750 19,450	$\begin{array}{r} 240 \\ \\ 105 \\ 390 \\ 10 \\ 6,100 \end{array}$	5,770 20 3,930 580 17,170	39,690 2,870 29,165 21,970 36,420 35,690	· · · · · · · · · · · · · · · · · · ·	$5 \\ 10 \\ 50 \\ 10 \\ 415$	15  365 	20  	15   5 	· · · · · · · · · · · · · · · · · · ·	45  25  5	45  5 1,665 5	10  	····· ···· 20	10   20	  125	150  	150   125	12  2 10 5	18  3 10 15	30  5 20 20	5  10 5 15	455   10	460  10 5 25	225  30 5	60  	285  30 5	10,025 690 1,725 2,475 1,795	78,895 2,880 52,265 48,250 67,375 238,810	Mesa Mineral Moffat Montezuma Montrose Montrose
Otero Ouray Park Phillips Pitkin.	$2,270 \\ 1,130 \\ 10 \\ 124,560 \\ 340$	12,030 120 72,780	$2,680 \\ 1,200 \\ 170 \\ 10,110 \\ 1,700$	3,040 480 30 28,000 110	225 1,355 205 960	55 20 130 4,445 10	11,200 	2,370  6,600	3,260 20 1,020	21,450 11,140 41,990 5,820 10,070	····· ····	20  50	5765  	5  20  20	10 	60 	440  5	2,770 	30  10 	····	30  10	450 	1,950	2,400  	····	15 	15  	· · · · · · · · ·	780  	780 	4,360  	1,235  	5,595  	6,795 55 1,205 20	77,845 14,390 43,730 254,800 13 240	Otero Ouray Park Phillips Pitkin
Prowers Pueblo Rio Blanco Rio Grande Routt.	$\begin{array}{r} 23,270\\ 8,540\\ 3,360\\ 4,420\\ 7,120\end{array}$	40,960 24,070  40 100	1,570 1,300 2,670 7,220 9,950	$ \begin{array}{r} 13,760\\ 3,190\\ 510\\ 6,810\\ 5.080 \end{array} $	5 10 95 19,710 960	$120 \\ 100 \\ 180 \\ 20 \\ 130$	6,800 6,550 150	23,430 3,130 	380 22,590 270	46,620 23,060 36,550 43,620 54,210	9,510	30  18,120 80	330	125 2,060 1.900	185	900 	15 130	10 255	1,005 20		70 1,005		1,630	1,630 	5 93 	142 5	235 5	10 100	· · · · · · · · · · · · · · · · · · ·	10 100	10 340	170	10 510	2,250 2,425 515 195 380	168,755 99,435 43,880 103,645 79,935	Prowers Pueblo Rio Blanco Rio Grande Boutt
Saguache San Juan San Miguel Sedgwick Summit	1,870  620 68,730 20	10 330 29,980	4,380 600 5,360 180	2,800 	7,385 155 400 30	80 110 2,490 30	4,500	 95 1,020	10 60 120	76,540 9,680 12,980 8,130	· · · · · · · · · · · · · · · · · · ·	4,970 5	· · · · · · · · · · · · · · · · · · ·	100	···· ····	· · · · · · · · · · · · · · · · · · ·		 15	5	· · · · · · · · · · · · · · · · · · ·	5	· · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·	  10	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · 5	· · · · · · · · · · · · · · · · · · ·		60 55 345	98,210 12,520 146,855 8,430	Saguache San Juan San Miguel Sedgwick Summit
Teller Washington Weld Yuma	 109,970 203,010 119,220	20 133,960 95,430 233,210	460 4,470 22,100 8,530	120 54,900 99,320 34,400	$1,320 \\ 400 \\ 22,820 \\ 580$	50 9,280 13,370 21,335	1,400 82,550 100	 18,070 10,730 30,770	 14,930 61,740 6,020	9,570 29,950 129,610 19,080	• • • • • • • • • • • • •	10 200 55 210	 1,285	75  40	····. 5	· · · · · · · · · · · · · · · · · · ·	 5 110 30	 420 5	10 i	· · · · · · · · · · · · · · · · · · ·	10 730 	 440 	· · · · · · · · ·	····· 440	····· 380 4	····· * 870 6	 1,250 10	···· 200 10	 320 	 520 10	···· 135 5	····· ····	 135 5	40 4,165 5,175 5,640	11,675 381,700 750,845 479,155	Teller Washington Weld Yuma
State	1,539,000	1,533,000	203,000	608,000	90,000	94,000	210,000	280,000	372,000	1,617,000	64,000	49,000	3,800	8,100	1,100	3,200	1,070	7,000	7,100	3,400	10,500	2,000	3,800	5,800	1,400	1,900	3,300	1,070	2,030	3,100	11,000	1,700	12,700	92,250	6,810,920	State

"All Other Crops" includes acreages for fruit crops (tree, bush and vine), alfalfa seed, clover seed, millet seed, garden crops to be consumed by the farmer, and commercial crops such as asparagus, garden beets, spinach, carrots, pumpkin and squash, etc.

## ACREAGE AND PRODUCTION OF WINTER WHEAT, 1929

		IRRIGAT	ED	NOI	N-IRRIGA	TED	TOTAL		
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels	
Adams	5,440	25	136.000	75.740	10	757,400	81.180	893,400	
Alamosa	60	29	1,740				60	1,740	
Arapahoe	1,390	29	40,310	59,060	10	590,600	60,450	630,910	
Archuleta					1				
Baca				85,440	12	1,025,280	85,440	1,025,280	
Bent	4,580	31	141,980		1 11	40.900	4,580	141,980	
Boniget	9,360	20	234,000	4,490	11	49,390	15,850	285,590	
Chaffee				30	18	540	30	540	
Cheyenne				8,870	7	62,090	8,870	62,090	
Coneios	60	28	1.680				60	1.680	
Costilla	290	30	8,700				290	8,700	
Crowley	120	30	3,600		1 57		120	3,600	
Custer	180	21	4,860	490	14	6,860	610	11,720	
Delta	520	29	15,080	30	19	570	550	15,650	
Denver					10	14.000			
Douglas	240	24	5 760	6,990	10	14,000	7 230	14,000	
			-,	.,		00,000	()200	00,010	
Eagle	910	20	18,200	20.040		050 500	910	18,200	
ElDert	140	25	3.500	36,940	8	258,580	36,940	258,580	
D. 1 000			0,000		Ŭ	10,100	1,000	11,200	
Fremont	290	29	8,410	40	11	440	330	8,850	
Garfield	240	29	6 960	280	13	3 640	520	10 600	
Gilpin								10,000	
Grand	10	29	290	30	12	360	40	650	
Gunnison	20	25	500	50	12	600	70	1,100	
Hinsdale Huerfano	230	$\overline{2}\overline{5}$	5,750	1,860	īī	20,460	2,090	26,210	
Jackson									
Jefferson	5,090	26	132,340	2,960	11	32,560	8,050	164,900	
Kiowa Kit Carson				5,570 69,750	12 9	$66,840 \\ 627,750$	5,570 69,750	66,840 627,750	
Lake									
La Plata	970	24	23,280	580	12	6,960	1,550	30,240	
Las Animas	1,130	26	203,980	3,170	10	183,560	20,700	387,540	
Lincoln				71,190	7	498,330	71,190	498,330	
Logan	1,130	26	29,380	111,630	10	1,116,300	112,760	1,145,680	
Mesa	1,810	28	50,680	700	14	9,800	2,510	60,480	
Mineral		55		6 000	72	101.050		1000000	
Montezuma	460	28 24	11.040	1.200	15	101,850	6,840 1,660	103,250	
Montrose	990	31	30,690	120	17	2,040	1,110	32,730	
Morgan	1,180	27	31,860	30,840	9	277,560	32,020	309,420	
Otero	1,370	31	42,470	180	14	2,520	1,550	44,990	
Ouray	40	29	1,160	160	16	2,560	200	3,720	
Park					==				
Phillips				121,180	10	1,211,800	121,180	1,211,800	
Prowers	5,130	$\overline{2}\overline{7}$	138,510	17,350	10	173,500	22.480	1,600	
Pueblo	1,380	29	40,020	5,850	10	58,500	7,230	98,520	
Rio Blanco	40	31	1,240	1,380	16	22,080	1.420	28 320	
Rio Grande	40	30	1,200				40	1,200	
Koutt	240	29	6,960	1,210	18	21,780	1,450	28,740	
Saguache	10	30	300				10	300	
San Miguel	30	20			15				
Sedgwick	200	29	5,800	67,150	12	805.800	67.350	4,170	
Summit	10	29	290				10	290	
Teller									
Washington	an	28	2 520	89 280	7	624 960	80.970	607 40-	
Weld	20,710	27	559,170	112,900	10	1,129,000	133.610	027,480	
Yuma		ĺ		112 990	19	1 846 640	119 900	1 0 / 0 0/-	
								1,346,640	
State	72,760		1,981,860	1,131,240		11,262,140	1,204,000	13,244,000	
								1	

# ACREAGE AND PRODUCTION OF SPRING WHEAT, 1929

$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$									
	COIINTY	]	RRIGATI	ED	NON	I-IRRIGA	TED	тот	ALS
Adamo         5.900         27         157.200         11,440         9         102,960         17.240         282,950           Arepaho         2,260         25         51,760         5420         5         76,360         23         773,100           Arephoto         2,170         55         1,170         550         1,250         277,270           Bent         170         23         3,510         228         9         5,520         450         1,470           Bent         1,60         22         25,520         1,160         25,520         1,160         25,520         5,570         25,220         1,160         25,220         1,160         25,225,200         1,147,660         1,147,660         1,147,660         1,147,660         1,147,660         1,147,660         1,147,660         1,147,660         1,147,660         1,147,660         1,160         1,24,040         3,540         1,260         1,17,360         1,560         1,17,660         1,17,360         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60         1,17,60	COUNTI	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Atamasa         2.2400         2.25         40.729         -9.420         -3         -75.305         11.400         127.10           Baca         -710         27         10.170         540         15         8.100         1.260         427.210           Baca         -770         27         2510         2.110         1         4.770         22.226.20         460         15         8.100         12.256.00         4.650         22.262.00         4.650         22.262.00         2.620         460         2.620         460         2.620         460         2.620         460         2.620         460         2.620         460         2.620         460         2.620         2.620         3.370         22.620         2.620         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         2.620         1.600         1.600         2.620         1.600         1.600         1.600         1.600         1.600         1.600         1.600         1.600         1.600         1.600 <t< td=""><td>Adams</td><td>5,900</td><td>27</td><td>159,300</td><td>11,440</td><td>9</td><td>102,960</td><td>17,340</td><td>262,260</td></t<>	Adams	5,900	27	159,300	11,440	9	102,960	17,340	262,260
Arapabo         2700         25         16,759         9,420         3         75,560         11,450         27,270           Baca         770         27         19,170         540         15         8,100         12,200         27,270           Baca         770         23         3,010         2260         9         2,620         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         4,100         2,100         2,220         3,370         2,0220         3,370         2,0220         3,370         2,0220         3,370         2,0220         3,370         2,020         2,020         3,370         2,020         2,020         3,370         2,020         2,020         3,370         2,020         2,020         3,370         2,020         2,020         2,020         3,370         2,020         2,020         3,360         117         13,360         117,380         11,350         11,350         11,350         11,350         11,350         11,350         11,350         11,350         11,350         11,350         11,350         11,350         11,350	Alamosa	2,260	22	49,720				2,260	49,720
Archnitez         10         27         19,170         540         15         8,100         1,250         27,200           Bent	Arapahoe	2,070	25	51,750	9,420	8	75,360	11,490	127,110
Baca         Image: Constraint of the second se	Archuleta	710	27	19,170	540	15	8,100	1,250	27,270
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	D							ł	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Daca				2,110	7	14,770	2,110	14,770
Dotation         Dotation         Description         Description <thdescription< th=""> <thdescription< th=""> <thde< td=""><td>Bent</td><td>170</td><td>23</td><td>3,910</td><td>280</td><td>9</td><td>2,520</td><td>450</td><td>6,430</td></thde<></thdescription<></thdescription<>	Bent	170	23	3,910	280	9	2,520	450	6,430
	boulder	8,240	27	222,480	310	12	3,720	8,550	226,200
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Chaffer	1 1 00	00	05 500					
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Charren -	1,100	44	29,520				1,160	25,520
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Close Crock				3,370	6	20,220	3,370	20,220
	Congios	7 000	21	147 000		~-			
$ \begin{array}{c ccccc} \hline Crowley & 110 & 21 & 9,210 & & & & & 2,040 & 33,450 & 5,000 \\ \hline Coster & 70 & 20 & 1,400 & 300 & 12 & 3,600 & 370 & 5,000 \\ \hline Denvet & & & & 3,540 & 102,660 & & & 3,540 & 102,660 & 1,700 & 11 & 15,700 & 11,740 & 10,560 & 17,738 & 1,580 & 17,738 & 1,580 & 17,738 & 1,580 & 17,738 & 1,580 & 17,738 & 1,580 & 17,738 & 1,580 & 17,740 & 12,850 & 6 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 12,850 & 77,100 & 16,1980 & 1,270 & 20 & 25,400 & 5,980 & 161,980 & 1,270 & 20 & 25,400 & 5,980 & 161,980 & 1,270 & 20 & 25,400 & 7,580 & 161,980 & 1,270 & 20 & 25,400 & 7,580 & 10,1980 & 1,220 & 18,800 & -1,220 & 66 & 1,220 & 118 & -720 & 66 & 1,220 & 118 & -720 & 66 & 1,220 & 118 & -720 & 66 & 1,220 & 118 & -720 & 66 & 1,220 & 116,980 & 19,980 & 19,980 & 19,980 & 19,980 & 19,980 & 19,980 & 19,980 & 19,980 & 19,980 & 19,980 & 149,980 & 29,960 & 149,980 & 29,960 & 149,980 & 29,960 & 149,980 & 29,960 & 149,980 & 29,960 & 149,800 & 29,960 & 149,800 & 29,960 & 149,800 & 29,960 & 149,800 & 29,960 & 149,800 & 29,860 & 122,820 & 1,273 & 0,580 & 10,100 & 10 & 10,100 & 10,270 & 273,640 & 1,280 & 723,640 & 1,280 & 723,640 & 1,280 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 149,800 & 29,860 & 128,860 & 128,860 & 128,860 & 11,280 & 3,860 & 10,287 & 273,640 & 1,280 & 128,86$	Costille	2 040	10	141,000		]		7,000	147,000
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Crowley	110	91	9 210				2,040	38,760
Delta         1.0         0.0         1.0         0.000         1.2         0.000         3.00         1.0         0.000           Denver	Custer	70	20	1 400	200	10	2 000	110	2,310
Delta         3,540         29         102,660            3,540         102,660           Dolores            1,550         11         17,380         17,60         17,50           Dolores            1,550         11,780         17,50         1,600         30,640           Eagle         990         31         ,30,690         10         15         7,160         12,850         77,160         12,850         77,160         12,850         77,160         12,850         77,160         12,850         77,160         12,850         77,160         12,850         161,990           Garheid <td>ouster</td> <td>10</td> <td>20</td> <td>1,400</td> <td>300</td> <td>12</td> <td>3,600</td> <td>370</td> <td>5,000</td>	ouster	10	20	1,400	300	12	3,600	370	5,000
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Delta	3 5 4 0	29	102 660		1		2 5 4 0	100 000
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Denver	0,010	1 20	102,000				3,540	104,000
Dougins	Dolores				1 580	11	17 990	1 500	17 990
	Douglas	40	20	800	1,000	11	10 700	1,000	10,000
		10	1 20	000	1,100	1 11	10,100	1,140	19,000
Elbert	Eagle	990	31	30 690	10	15	150	1 000	20.840
El       Paso       440       21 $9,240$ $4,030$ 7 $28,210$ $4,470$ $37,450$ Fremont       170       22 $3,740$ 60       10       600       230 $4.340$ Garfield       4,710       29       136,590 $1,270$ 20       25,400 $5,980$ 161,990         Grand	Elbert		01	\ 00,000	12 850	6	77 100	12,850	77 100
Fremont         170         22         3,740         60         10         600         230         4,340           Garfield         4,710         29         136,590         1,270         20         25,400         5,380         161,980           Grand	El Paso	440	21	9.240	4 030	1 7	28 210	4 470	37 450
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $					1,000	· ·	20,210	1,110	01,100
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Fremont	170	22	3,740	60	10	600	230	4.340
$ \begin{array}{c} \mbox{Garfield} & \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ $						1	_	-	1
Glipin	Garfield	4,710	29	136,590	1,270	20	25,400	5,980	161,990
Grand	Gilpin								
Gunnison         20         25         500         40         18         720         60         1,220           Hinsdale	Grand								
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Gunnison	20	25	500	40	18	720	60	1,220
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Hinsdala								
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Huerfano	150	22	3 300	580	10	5 800	720	0 100
Jackson	inderiano	100		0,000	000	10	3,000	100	5,100
Jefferson       4,520       25       113,000       640       13       8,320       5,160       121,320         Kiowa	Jackson								
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Jefferson	4,520	25	113,000	640	13	8,320	5,160	121,320
Kibwa	T7:		}		910	=	1 1050	910	1.050
Ait Carson         25,500       5       143,600       25,660       143,800         Lake        9,260       29       268,540       1,010       10       10,100       10,270       278,640         Las Animas       750       22       136,680       1,290       14       18,660       10,230       214,740         Las Animas       750       22       136,500       680       5       540       1,433       21,840         Lincoin       670       20       13,400       16,690       5       80,450       16,760       93,850         Logan        750       23       83,800       260       11       2,860       3,550       91,690         Mineral        75,130       5,066       14       70,840       5,250       75,976         Montzeuma       2,630       25       7,560       4,160       14       58,100       6,780       123,860         Mortrose        7,860       22       15,180       30       14       420       720       15,600         Ouray        10       11       110       400       10	Klowa				20.060	5	1,000	210	1,000
	Kit Carson				23,500		145,000	29,900	149,000
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Lake	<b>-</b>							
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	La Plata	8,940	22	196,680	1,290	14	18,060	10,230	214,740
Las Animas	Larimer	9,260	29	268,540	1,010	10	10,100	10,270	278,640
	Las Animas	750	22	16,500	680	8	5,440	1,430	21,940
	Lincoln	670	20	13,400	16,090	5	80,450	16,760	93,850
Mesa         3,290         27         38,830         260         11         2,860         3,550         91,690           Mineral         190         27         5,130         5,060         14         70,840         5,250         75,970           Montezuma         2,630         25         65,750         4,150         14         58,100         6,780         123,860           Montrose         7,360         29         213,440         40         10         400         7,400         213,840           Morgan         290         25         7,250         15,780         10         157,800         16,070         166,060           Ouray         490         27         13,230         440         10         4,400         930         17,630           Park          -         -         -         -         380         9         30,420         3,380         30,420           Prowers         -         160         23         3,680         630         9         5,670         700         9,356           Prowers         -         160         23         3,680         630         9         5,670         70,9,20	Logan	620	23	14,260	11,620	11	127,820	12,240	142,080
Mass	34	2 200	97	00 090	960	11	2 960	2 550	01 600
Ministrat         190         27         5,130         5,060         14         70,840         5,250         75,970           Montrose         7,360         25         65,750         4,150         14         58,100         6,780         123,840           Morgan         290         25         7,250         15,780         10         157,800         16,070         165,050           Otero         690         22         15,180         30         14         420         720         15,600           Ouray         490         27         13,230         440         10         4,400         930         17,630           Park          10         11         110         10         110           Prikins         249         28         6,720         20         14         280         260         7,000           Prowers         160         23         3,680         630         9         5,670         790         9,350           Pueblo          3,000         810         10         8,0600         1,940         37,320           Rio Blanco         240         28         6,720         1,700         18	Mesa	3,290	21	30,000	200		2,000	3,000	91,090
Atomat       1.000       21       0.000       1.000	Moffet	100	97	5 130	5 060	14	70.840	5 250	75 070
Bolt Calling       23,330       23,430       40,40       10       400       7,400       218,840         Morgan       290       25       7,250       15,780       10       157,800       16,070       166,660         Otero       690       22       15,180       30       14       420       720       15,660         Ouray       490       27       13,230       440       10       4,400       930       17,630         Park        10       11       110       10       10       110         Phillips        10       11       110       10       110         Prowers       160       23       3,680       630       9       5,670       790       9,350         Prowers       500       26       13,000       810       10       8,100       1,310       21,100         Rio Blanco       240       28       6,720       1,700       18       30,600       1,940       37,320         Rio Grande       4,880       22       96,660         4,880       96,660         San Juan        1860       18       33,480	Montogume	2 630	25	65 750	4 150	14	58 100	6,780	123 850
Montrose       1300       25       13,250       15,780       10       157,800       16,070       146,050         Otero       690       22       15,180       30       14       420       720       156,060         Ouray       490       27       13,230       440       10       4,400       930       17,630         Park        3,380       9       30,420       3,380       30,420         Phillips        3,380       9       30,420       3,380       30,420         Pitkin       249       28       6,720       20       14       280       260       7,000         Prowers       1600       23       3,680       630       9       5,670       790       9,350         Pueblo       500       26       13,000       810       10       8,100       1,310       21,100         Rio Grande       4,380       22       96,360        4,380       96,360         Rout        360       27       9,720       5,310       19       100,890       5,670       10,610         Saguache        1,860       13       3	Montezuna	7,960	20	213 440	4,100	10	100	7 400	219 840
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Mongon	200	25	7 250	15 780	10	157 800	16 070	165 050
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Molgan	100		.,200	10,.00	1	10.,000	20,010	100,000
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Otero	690	22	15,180	30	14	420	720	15,600
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Ouray	490	1 27	13,230	440	10	4,400	930	17,630
1 air	Davis		1		10	11	110	10	110
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Dhilling				3 380	1 îĝ	30 420	3 380	30 420
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Phillips	240	28	6 720	20	14	280	260	7 000
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Pitkin	160	23	3 680	630	9	5 670	790	9 350
Fuend $240$ $23$ $6,720$ $1,700$ $18$ $30,600$ $1,940$ $37,320$ RioGrande $4,380$ $22$ $96,360$ $1,700$ $18$ $30,600$ $1,940$ $37,320$ Routt $360$ $27$ $9,720$ $5,310$ $19$ $100,890$ $5,670$ $110,610$ Saguache $1,860$ $18$ $33,480$ $$ $$ $$ $1,860$ $33,480$ SanJuan $$ $350$ $27$ $9,450$ $20$ $11$ $220$ $370$ $9,670$ SanMiguel $350$ $27$ $9,450$ $20$ $11$ $220$ $370$ $9,670$ SanMiguel $350$ $27$ $9,450$ $20$ $11$ $220$ $370$ $9,670$ Sedgwick $$ $780$ $22$ $17,160$ $600$ $10$ $6,000$ $1,380$ $23,160$ Summit $$ $$ $$ $$ $$ $$ $$ $$ Teller $$ $$ $$ $$ $$ $$ $$ Washington $20,202$ $24$ $480$ $20,580$ $5$ $102,900$ $20,600$ $103,380$ Weld $$ $23,533$ $24$ $564,720$ $45,870$ $10$ $458,700$ $69,400$ $1,023,420$ Yuma $$ $70$ $23$ $1,610$ $6.930$ $6$ $41,580$ $7,000$ $43,190$ State $$ $111,990$ $$ $2,803,360$ $22$	Pueblo	500	26	13,000	810	10	8 100	1 310	21,100
Rio       Blanco       240       23       6,720       1,700       18       30,600       1,940       37,320         Rio       Grande       4,380       22       96,360          4,380       96,360         Routt       360       27       9,720       5,310       19       100,890       5,670       110,610         Saguache       1,860       18       33,480         1,860       33,480         San       Juan        9,450       20       11       220       370       9,670         San       Miguel       350       27       9,450       20       11       220       370       9,670         Sedgwick       780       22       17,160       600       10       6,000       1,380       23,160         Summit           10       230         Teller          10       230         Weld       23,530       24       564,720       45,870       10       458,700       69,400       1,023,420         Yuma       70       23	1 debio	000		10,000	0.10		0,200	2,020	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	Rio Blanco	240	28	6,720	1,700	18	30,600	1,940	37,320
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Rio Grande	4,380	22	96,360				4,380	96,360
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $	Routt	360	27	9,720	5,310	19	100,890	5,670	110,610
Sag Juan	Sognasha	1 660	10	32 480				1 860	33 480
San         Miguel         350         27         9,450         20         11         220         370         9,670           Sedgwick         780         22         17,160         600         10         6,000         1,380         23,160           Summit         10         23         230          -         -         10         230           Teller          -         -         -         -         -         -         -         -         -         -         -         23,160         23,160         23,160         23,160         23,00         10         23,00         10         23,00         23,160         23,160         23,160         23,160         23,00         23,160         23,00         23,00         23,160         23,00         23,00         23,000         10,23,160         23,000         23,000         10,23,400         23,000         20,000         103,380         23,160         23,000         20,000         20,000         100,380         9,000         1,023,420         10,023,420         10,023,420         10,023,420         10,023,420         10,023,420         10,023,420         10,023,420         10,023,420         10,023,420         10,023,420	Saguache	1,000	10	00,400				1,000	00,200
Sam mig definition       780       22       17,160       600       10       6,000       1,380       23,160         Summit       10       23       230          10       230         Teller          10       230       230        10       230         Washingtom       20       24       480       20,580       5       102,900       20,600       103,880         Weld        23,533       24       564,720       45,870       10       458,700       69,400       1,023,420         Yuma       70       23       1,610       6.930       6       41,580       7,000       43,190         State       111,990        2,803,360       223,010        1,886,640       335,000       4,690,000	San Juan	250	27	9 450	20	11	220	370	9.670
Sturg with         10         23         1100         23         10000         10000         10000         10000         10000         100000         100000         1000000         1000000         1000000         1000000         10000000         10000000         10000000         100000000         100000000         1000000000000000000000000000000000000	Sadamiak	790	22	17 160	600	10	6 000	1 380	23,160
Statistic	Summit	10	22	230	000	1	3,000	10	230
Teller	Dammin	10		200				10	
Washington         20         24         480         20,580         5         102,900         20,600         103,380           Weld         23,533         24         564,720         45,870         10         458,700         69,400         1,023,426           Yuma         70         23         1,610         6.930         6         41,580         7,000         43,190           State         111,990          2,803,360         223,010          1,886,640         335,000         4,690,000	Teller								
Washington       23,533       24       564,720       45,870       10       458,700       69,400       1,023,420         Yuma       70       23       1,610       6.930       6       41,580       7,000       43,190         State       111,990       2       2,803,360       223,010       -       1,886,640       335,000       4,690,000	We shin at su	20	24	180	20 580	5	102 900	20 600	103,380
Yuma         70         23         1,610         6.930         6         41,580         7,000         43,190           State         111,990          2,803,360         223,010          1,886,640         335,000         4,690,000	wasnington	20	24	564 720	45 870	10	458 700	69 400	1.023,420
Yuma         70         23         1,610         6.930         6         41,580         7,000         43,190           State         111,990          2,803,360         223,010          1,886,640         335,000         46,90,000	AA 610	20,000	4ª	004,120	-0,010		100,100	00,200	
State 111,990 2,803,360 223,010 1,886,640 335,000 4,690,000	Yuma	70	23	1,610	6,930	6	41,580	7,000	43,190
State 111,990 2,803,360 223,010 1,886,640 335,000 4,690,000						-			1 000 000
	State	111,990	l I	2,803,360	223,010		1,886,640	335,000	4,690,000
	1		I [			I			!

#### PERCENTAGE DISTRIBUTION OF WHEAT ACREAGE, 1929

#### PERCENTAGE DISTRIBUTION OF WHEAT PRODUCTION, 1929

COUNTY	Spring Wheat Total	Winter Wheat % Total	Irrigated Wheat Total	Non- Irrigated Wheat % Total	Spring Wheat % Total Wheat	Winter Wheat % Total Wheat	Irrigated Wheat % Total Wheat	Non- Irrigated Wheat % Total Wheat
	Acreage	Acreage	Acreage	Wheat Acreage	Produc- tion	Produc- tion	Produc- tion	Produc- tion
Adams Alamosa Arapahoe Archuleta	17.6 97.4 16.0 100.0	82.4 2.6 84.0	$ \begin{array}{r} 11.5 \\ 100.0 \\ 4.8 \\ 56.8 \end{array} $	88.5 95.2 43.2	22.7 96.6 16.8 100.0	77.3 3.4 83.2 	25.6 100.0 12.1 70.3	74.4 87.9 29.7
Baca Bent Boulder	2.4 8.9 38.2	97.6 91.1 61.8	94.4 78.6	$100.0 \\ 5.6 \\ 21.4$	$1.4 \\ 4.3 \\ 44.4$	98.6 95.7 55.6	98.3 89.6	100.0 1.7 10.4
Chaffee Cheyenne Clear Creek	97.5 27.5	2.5 72.5	97.5	2.5 100.0	97.9 24.6	2.1 75.4	97.9 	$\begin{array}{c} 2.1 \\ 100.0 \end{array}$
Conejos Costilla Crowley Custer	99.2 87.6 47.8 35.6	.8 12.4 52.2 64.4	100.0 100.0 100.0 24.0	  76.0	98.9 81.7 39.1 29.9	1.1 18.3 60.9 70.1	100.0 100.0 100.0 37.4	62.6
Delta Denver Delores	86.6	13.4	99.3 	.7	86.8	13.2	99.5 	.5
Douglas	19.4	80.6	3.5	96.5	17.9	82.1	6.0	94.0
Eagle Elbert El Paso	52.4 25.8 70.6	47.6 74.2 29.4	99.5 9.2	.5 100.0 90.8	62.9 23.0 68.5	37.1 77.0 31.5	99.7 23.3	.3 100.0 76.7
Fremont	41.1	58.9	82.1	17.9	32.9	67.1	92.1	7.9
Garfield	92.0	8.0	76.2	23.8	93.9	6.1	83.2	16.8
Grand Gunnison	46.2	100.0 53.8	25.0 30.8	75.0 69.2	52.6	100.0 47.4	44.6 43.1	55.4 56.9
Huerfano	25.9	74.1	13.5	86.5	25.8	74.2	25.6	74.4
Jefferson	39.1	60.9	72.7	27.3	42.4	57.6	85.7	14.3
Kiowa Kit Carson	3.6 30.0	96.4 70.0		100.0 100.0	1.5 19.3	98.5 80.7		100.0 100.0
Lake La Plata Larimer Las Animas Lincoln Logan	86.8 33.2 25.0 19.1 9.8	13.2 66.8 75.0 80.9 90.2	84.1 51.1 32.8 .8 1.4	15.9 48.9 67.2 99.2 98.6	87.7 41.8 26.4 15.8 11.0	12.3 58.2 73.6 84.2 89.0	89.8 70.9 55.3 2.3 3.4	10.2 29.1 44.7 97.7 96.6
Mesa	58.6	41.4	84.2	15.8	60.3	39.7	91.7	8.3
Moffat Montezuma Montrose Morgan	43.4 80.3 87.0 33.4	56.6 19.7 13.0 66.6	2.0 36.6 98.1 3.1	98.0 63.4 1.9 96.9	42.4 83.0 86.7 34.8	57.6 17.0 13.3 65.2	3.6 51.4 99.0 6.3	96.4 48.6 1.0 93.7
Otero Ouray	$\substack{\textbf{31.7}\\\textbf{82.3}}$	68.3 17.7	$90.7 \\ 46.9$	9.3 53.1	25.7 82.6	$74.3 \\ 17.4$	95.1 67.4	4.9 32.6
Park Phillips Pitkin Prowers Pueblo	$   \begin{array}{r}     100.0 \\     2.7 \\     76.5 \\     3.4 \\     15.3   \end{array} $	97.3 23.5 96.6 84.7	70.6 22.7 22.0	100.0 100.0 29.4 77.3 78.0	100.0 2.4 81.4 2.9 17.6	97.6 18.6 97.1 82.4	78.1 44.2 44.3	$100.0 \\ 100.0 \\ 21.9 \\ 55.8 \\ 55.7$
Rio Blanco Rio Grande Routt	57.7 99.1 79.6	42.3 .9 20.4	8.3 100.0 8.4	91.7 91.6	61.5 98.8 79.4	$38.5 \\ 1.2 \\ 20.6$	18.1 100.0 12.0	86.9
Saguache	99.5	.5	100.0		99.1	.9	100.0	
San Miguel Sedgwick Summit	59.7 2.0 50.0	40.3 98.0 50.0	61.3 1.4 100.0	38.7 98.6	69.9 2.8 44.2	30.1 97.2 55.8	74.6 2.7 100.0	25.4 97.3
Teller								
Washington	$\frac{2.0}{34.2}$	98.0 65.8	.1	99.9 78 2	14.1	85.9	.4	99.6
Yuma	5.9	94.1	.1	99.9	8.1	02.3 96.9	41.4 1	58.6 90 0
State	21.8	78.2	12.0	88.0	26.2	73.8	26.7	73.3
				ų			·····	

	I	RRIGATI	ED	NON	V-IRRIGA	TED	TOT	TAL
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams	2,210	34	75,140	30,770	12	369,240	32,980	444,380
Arapahoe Archuleta	960 300	28 34	26,880 10,200	25,000 160	13 17	325,000 2,720	25,960 460	351,880 12,920
Baca Bent Boulder	$\begin{array}{r} 340 \\ 13,190 \\ 6,500 \end{array}$	32 34 30	$\begin{array}{r} 10,880\\ 448,460\\ 195,000 \end{array}$	$67,750 \\ 14,180 \\ 2,600$	15 13 15	1,016,250 184,340 39,000	68,090 27,370 9,100	1,027,130 632,800 234,000
Chaffee Cheyenne				74,850	īī	823,350	74,850	823,350
Clear Creek	20	30	600				20	600 4.480
Costilla	100	30	3,000				100	3,000
Crowley Custer	4,900 40	31 34	$151,900 \\ 1,360$	5,080 440	13 14	66,040 6,160	9,980 480	217,940
Delta	3,320	41	136,120	110	19	2,090	3,430	138,210
Denver Dolores				1,730	15	25,950	1,730	25,950
Douglas	30	29	870	13,460	14	188,440	13,490	189,310
Eagle	20	30	× 600	45 820	11	504.020	45.820	504,020
El Paso	1,900	$\overline{27}$	51,300	55,740	10	557,400	57,640	608,700
Fremont	2,360	36	84,960	1,230	17	20,910	3,590	105,870
Garfield	460	33	15,180	110	15	1,650	570	16,830
Glipin								
Gunnison								
Hinsdale Huerfano		32	12,800	5,840	13	75,920	6,240	88,720
Jackson Jefferson	2,950	$\overline{29}$	85,550	2,010	15	30,150	4,960	115,700
Kiowa Kit Carson				54,780 147,130	13 9	712,140 1,324,170	54,780 147,130	712,140
Lake					1.5			78 510
La Plata	1,380	30	41,400	4,300	19	55,900	10,170	214,390
Las Animas	3,380	32	108,160	19,460	12	233,520	22,840	841,680 879.010
Lincoln	4.090	29	118,610	84,830	13	1,102,790	88,920	1,221,400
Mesa	7,920	36	285,120	340	15	5,100	8,260	290,220
Mineral				1 010	15	15,150	1,010	15,150
Montezuma	900	33	29,700	3,870	19	73,530	4,770	103,230
Montrose	3,340	36	120,240	70.670	16	848,040	78,170	1,065,540
Otero	10,880	35	380,800	1,150	14	16,100	12,030	396,900 3,840
Ouray	120	32	3,840					
Phillips				72,780	17	1,237,260	72,780	1,237,260
Pitkin	20 030	35	600,900	20,930	12	251,160	40,960	852,060
Pueblo	8,660	32	277,120	15,410	12	184,920	24,070	462,040
Rio Blanco		32	1.280				40	1,280
Routt	100	29	2,900				100	2,900
Saguache	10	30	300				10	
San Juan	50	31	1.550	280	15	4,200	330	5,750
Sedgwick	1,560	33	51,480	28,420	15	426,300	29,980	
Summit				20	15	300	20	300
Washington	670	35	23.450	133,290	12	1,599,480	133,960	1,622,930
Weld	19,180	31	594,580	76,250	12	915,000	95,430	1,009,000
Yuma				233,210	16	3,731,360	233,210	0, 101,000
State	135,860		4,333,350	1,397.140		17,894,650	1,533,000	22,223,000

## ACREAGE AND PRODUCTION OF CORN, 1929

-

# ACREAGE AND PRODUCTION OF OATS, 1929

· · · · · · · · · · · · · · · · · · ·								
0.011N/BY	) 	IRRIGAT	ED	NO	N-IRRIGA	TED	TO	TAL
	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	1,920 4,690 1,110 650	46 38 43 35	88,320 178,220 47,730 22,750	820 2,140 1,260	17 16 18	$   \begin{array}{r} 13,940 \\     \overline{34,240} \\     22,680 \\   \end{array} $	2,740 4,690 3,250 1,910	102,260 178,220 81,970 45,430
Baca Bent Boulder	80 730 3,440	30 43 37	2,400 31,390 127,280	90 20 360	$\begin{array}{c}13\\17\\20\end{array}$	$1,170 \\ 340 \\ 7,200$	170 750 3,800	3,570 31,730 134,480
Chaffee Cheyenne Clear Creek Conejos Costilla	1,810  5,340 1,260	32  40 42	57,920  213,600 52,920	1,190 10	11 20 	13,090 200	1,810 1,190 10 5,340 1260	57,920 13,090 200 213,600
Crowley Custer	840 410	40 38	33,600 15,580	1,130	 12	13,560	1,260 840 1,540	82,920 33,600 29,140
Denver Dolores Douglas	3,090	44  36		70 1,000 5,150	19 23	1,330	3,160 1,000	137,290 23,000
Eagle Elbert	2,480	37	91,760	40 6,310	20 17	82,400 800 107,270	2,520 6,310	92,560 107,270
Fremont	170 450	38 41	5,610 18,450	9,150 770	18 19	164,700 14,630	9, <b>320</b> 1,220	170,310 33,080
Garfield Gilpin Grand	2,940 	46 38	135,240	$\begin{array}{c} 170\\ 30\end{array}$	20 23	3,400 690	3,110 30 600	138,640 690
Gunnison Hinsdale Huerfano	130 40 830	36 36	4,680	270 20	21 20	5,670 400	400 60	10,350
Jackson Jefferson	50 1,940	33 38	1,650 73,720	940 10 1,610	19 21 23	17,860 210 37,030	1,770 60 3,550	52,720 1,860 110,750
Kiowa Kit Carson				120 4,860	9 11	1,080 53,460	120 4,860	1,080 53,460
La Plata Larimer Las Animas Lincoln Logan	4,380 5,030 1,300	38 43 34	166,440 216,290 44,200	1,110 930 1,630 1,440	19 25 15 10	21,090 23,250 24,450 14,400	5,490 5,960 2,930 1,440	187,530 239,540 68,650 14,400
Mesa	3,260	46	149,960	5,330 220	23	90,610 5,060	8,400 8,480	207 <b>,270</b> 155,020
Mottat Montezuma Montrose Morgan	370 3,710 4,690 2,200	38 38 44 46	$\begin{array}{c} 14,060 \\ 140,980 \\ 206,360 \\ 101,200 \end{array}$	$4,260 \\ 1,000 \\ 120 \\ 1,750$	23 20 19 14	97,980 20,000 2,280 24,500	4,630 4,710 4,810 3,950	112,040 160,980 208,640 125,700
Ouray Park	2,620 1,070	44 48	115,280 51,360	60 130	19 26	1,140 3,380	2,680 1,200	116,420 54,740
Phillips Pitkin Prowers Pueblo	1,700 1,090 640	32 46 40	54,400 50,140 25,600	10,110  480 660		3,740 181,980 6,240 9,240	$ \begin{array}{r} 170\\ 10,110\\ 1,700\\ 1.570\\ 1,300 \end{array} $	3,740 181,980 54,400 56,380 34,840
Rio Blanco Rio Grande Routt	1,100 7,220 510	46 37 44	50,600 267,140 22,440	1,570 	23 28	36,110 264,320	2,670 7,220 9,950	86,710 267,140 286,760
San Juan San Miguel Sedgwick Summit	4,380  1,180 180	35 40 42 40	153,300 8,400 49,560	 390 4,180	19 17	7,410 71,060	4,380 600 5,860	153,300 15,810 120,620
Teller		40	7,200	460	 24	11,040	180 460	7,200
Weld Yuma	80 12,910	42 46	3,360 593,860	4,390 9,190 8,520	11 16	48,290 147,040	4,470 22,100	51,650 740,900
State	97,910		4,007,030	105,090		140,010 1,879,970	8,530	145,010 5,887,000
							I	_

	I	RRIGATH	D	NON	-IRRIGA	TED	тот	AL
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	3,610 2,660 1,300 150	32 25 36 31	$115,520 \\ 66,500 \\ 46,800 \\ 4,650$	19,990 10,600 130	$10\\\overline{13}\\16$	199,900 137,800 2,080	23,600 2,660 11,900 280	815,420 66,500 184,600 6,730
Baca Bent Boulder	3,870 8,470	$\overline{35}$ 36	$135,450 \\ 304,920$	$15,060 \\ 580 \\ 330$	10 14 14	$150,600 \\ 8,120 \\ 4,620$	$15,060 \\ 4,450 \\ 8,800$	150,600 143,570 309,540
Chaffee Cheyenne	1,980	30 	59,400 	14,170	10	141,700	1,980 14,170	59,400 141,700
Clear Creek Conejos Costilla Crowley Custer	8,410 2,140 1,590 300	29 26 36 32	243,890 55,640 57,240 9,600	  30 800	  15 13	 450 10,400	8,410 2,140 1,620 1,100	243,890 55,640 57,690 20,000
Delta	2,740	41	112,340	20	16	320	2,760	112,660
Dolores Douglas				240 2,680	16 14	3,840 37,520	240 2,680	3,840 37,520
Eagle Elbert El Paso	420 <u>510</u>	41 24	× 17,220 12,240	60 11,630 2,160	20 8 9	1,200 93,040 19,440	480 11,630 2,670	18,420 93,040 31,680
Fremont	370	33	12,210	280	14	3,920	650	16,130
Garfield Gilpin Grand	1,850	37	68,450 11,200	200 10	16 14 15	3,200 140	2,050 10 320	71,650 140 11,200 3,750
Gunnison Hinsdale	470	37	17 390	680	21	14,280	1,150	31,670
Jackson	20	22	440		12	10 680	20 4.270	440
Jefferson Kiowa Kit Carson	3,380			4,420 67,500	9 10	39,780 675,000	4,420 67,500	39,780 675,000
Lake La Plata Larimer Las Animas Lincoln	1,480 15,470 860		47,360 665,210 28,380 447,120	460 2,410 2,160 21,700 49,680		8,280 31,330 23,760 130,200 695,520	1,940 17,880 3,020 21,700 62,100	55,640 696,540 52,140 130,200 1,142,640
Mesa	1,370	37	50,690	70	16	1,120	1,440	51,810
Mineral Moffat Montezuma Montrose Morgan	$     \begin{array}{r}             150 \\             730 \\             2,470 \\             8,410         \end{array}     $	39 32 36 40	5,850 23,360 88,920 336,400	$ \begin{array}{r} 1,150\\ 400\\ 30\\ 15,090 \end{array} $	$\begin{array}{r} \overline{22}\\ 16\\ 16\\ 15\end{array}$	$\begin{array}{r} 25,300 \\ 6,400 \\ 480 \\ 226,350 \end{array}$	$\begin{array}{r} 1,300\\ 1,130\\ 2,500\\ 23,500\end{array}$	31,150 29,760 89,400 562,750
Otero	3,040 120	36 34	109,440 4,080	360	15		3,040 480	109,440 9,480
Park Phillips Pitkin Prowers	 110 6,710	 38 36	4,180 241,560	30 28,000 7,050	17 13 11	510 364,000 77,550	30 28,000 110 13,760 2,100	51( 364,00( 4,18( 319,11( 90,80(
Pueblo Rio Blanco Rio Grande Boutt	2,020 110 6,810 50	38 37 25 37	76,760 4,070 170,250 1,850	400 	12 21 24	8,400 120,720	510 6,810 5,080	12,470 170,250 122,570
Saguache San Juan San Miguel Sedgwick Summit	2,800 	20 38 34 36	56,000 9,120 234,940 1,440	 570 13,990	 17 17	9,690 237,830	2,800 	56,000 18,810 472,770 1,440
Teller				120	14,	1,680	120	1,68
Washington Weld	660 44,790	31 41	20,460 1,836,390	54,240 54,530	8 12	433,920 654,360	54,900 99,320	454,380 2,490,750
Yuma		28	840	34,370	11	378,070	34,400	10,944,000
State	162,460		5,930,010	445,540		9,019,990	000,000	1

## ACREAGE AND PRODUCTION OF BARLEY, 1929

## ACREAGE AND PRODUCTION OF POTATOES, 1929

COLINITY	IRRIGATED		ED	NC	ON-IRRIG	ATED	то	TAL
	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	290 5,770 15 40	131 192 115 114	37,990 1,107,840 1,725 4,560	25  10 155	64 -69 81	1,600 	315 5,770 25 195	39,590 1,107,840 2,415 17,115
Baca Bent Boulder	5 225	137 99	685 22,275	5 	70	350 	5 5 225	350 685 22,275
Chaffee Cheyenne Clear Creek Conejos Costilla	400  5,240 295	122  183 146	48,800  958,920 48,070	90 30	52 58	4,680 1,740	400 90 30 5,240	48,800 4,680 1,740 958,920
Crowley Custer	5	184	<u>-</u> 920	5 1,485	70 110	$\begin{array}{r} 350\\163,350\end{array}$	295 5 1,490	43,070 350 164,270
Delta Denver Dolores	800	166 	132,800	55	81 -70	4,455	855	137,255
Douglas	1 135			200	60	12,000	200	12,000
Elbert El Paso				510 525	52 63	$26,520 \\ 33,075$	1,135 510 525	291,695 26,520 33,075
Fremont				320	86	27,520	320	27,520
Garfield Gilpin Grand	2,505	210 - 96	526,050 7,680	120 75	87 58	10,440 4,350	2,625 75 80	536,490 4,350 7,680
Hinsdale	160 10	129 160	20,640 1,600	80	66	5,280	240 10	25,920
Huerfano Jackson	30 20	160 70	4,800 1,400	140 45	93 64	13,020	170	17.820
Jefferson Kiowa	70 10	114 115	7,980	440	80	35,200	510	43,180
Kit Carson   Lake				505	36	18.180	505	1,150 18,180
La Plata Larimer Las Animas Lincoln Logan	620 470 20 	123 96 138 110	76,260 45,120 2,760 41,250	225 110 120 310 585	72 46 49 60 58	16,200 5,060 5.880 18,600 33,930	845 580 140 310 960	92,460 50,180 8,640 18,600 75,180
Mesa Mineral	1,070 5	143 192	153,010 960	300	75	22,500	1,370	175.510
Monfat Montezuma Montrose Morgan	5 450 4,290 1,420	116 132 205 173	580 59,400 879,450 245,660	$540 \\ 330 \\ 10 \\ 30$	93 70 92 58	50,220 23,100 920 1,740	545 780 4,300 1,450	50,800 82,500 880,370 247,400
Otero Ouray	180 5	115 143	575 25,740		- 99	4,455	5 225	575 30,195
Park Phillips Pitkin Prowers Pueblo	 960 5	 197 114	 189.120 570	1,355 205	76 70 	102.980 14,350	1,355 205 960 5	102,980 14,350 189,120 570
Rio Blanco Rio Grande Routt	19,710	224	4,415,040	95	93 110	930 10,450	10 95 19,710	980 10,450 4,415,040
Saguache	7,385	217	1,602,545			106,480	960 7,385	119,440 1.602.545
San Miguel Sedgwick Summit	55 205 30	114 136 151	6,270 27,880 4,530	100 195	93 56	9,300 10,920	155 400 30	15,570 38,800 4,530
Teller				1,320	83	109,560	1,320	109,560
Weld	$\begin{array}{c}10\\22,250\end{array}$	161 118	$1.610 \\ 2,625,500$	390 570	61 51	23,790 29,070	$\begin{array}{r} 400\\22,820\end{array}$	25,400 2,654,570
state	25	115	2,875	555	67	37,185	580	40,060
	10,100		13,042,245	18,270		1,027,755	90,000	14,670,000

	IRRIGATED		D	NOI	N-IRRIGA	TED	TOTAL		
COUNTY	Acreage	Average Yield	Production Pounds	Acreage	Average Yield	Production Pounds	Acreage	Production Pounds	
Adams Alamosa Arapahoe Archuleta	1,330 20 300 20	782 830 762 930	1,040,060 16,600 228,600 18,600	17,970 15,960 30	320 367 442	5,750,400 5,857,320 13,260	19,300 20 16,260 50	6,790,460 16,600 6,085,920 31,860	
Baca Bent Boulder	980 180	655 772	641,900 138,960	6,620 730 90	309 260 280	2,045,580 189,800 25,200	6,620 1,710 270	2,045,580 831,700 164,160	
Chaffee Cheyenne	60 	730	43,800	2,600	206	535,600	60 2,600	43,800 535,600	
Conejos Costilla Crowley Custer	700 730 1,590	710 678 702	497,000 494,940 1,116,180	5,390	 248 	1,336,720	700 730 6,980	497,000 494,940 2,452,900	
Delta Denver Dolores	110  200	1,218			442	640,900	110 1,450 1,950	133,980 640,900 755,500	
Eagle Elbert El Paso		786	× 86,460	47,080	302 292	14,218,160 16,141,760	47,080	14,218,160 16,228,220	
Fremont	150	738	110,700				150	110,700	
Garfield Gilpin Grand	140	1,026	148,640	20	334	6,680	160	150,320	
Gunnison Hinsdale Huerfano			176,580		 320	710,400	2,490	886,980	
Jackson	60	796	47 760				60	47.760	
Kiowa Kit Carson			·	350 3,740	202 185	70,700 691,900	350 3,740	70,700 691,900	
Lake La Plata Larimer Las Animas Lincoln	460 500 5,700	894 791 978 772	411,240 395,500 5,574,600	220 140 14,550 37,350 6,000	442 334 286 220 296	97,240 46,760 4,161,300 8,217,000 1,776,000	680 640 20,250 37,350 6,960	508,480 442,260 9,735,900 8,217,000 2,517,120	
Mesa	5,420	1,458	7,902,360	350	310	108,500	5,770	8,010,860	
Monat Montezuma Montrose Morgan	540 470 1,670	994 1,172 830	536,760 550,840 1,386,100	3,390 110 15,500	476 400 266	1,613,640 44,000 4,123,000	3,930 580 17,170	2,150,400 594,840 5,509,100	
Otero Ouray	3,070 20	899 979	2,759,930 19,580	190	280 	53,200	3,260 20	2,813,130 19,580	
Park Phillips Pitkin			45 900	1,020	240	244,800	1,020	244,800	
Pueblo	3,230	803	2,593,690	19,360	220	4,259,200	22,590	6,852,890	
Rio Blanco Rio Grande Routt	270	830	224,100				270	224,100	
Saguache San Juan San Miguel Sedgwick Summit	10  20	778	7,780	 60 100	· 280 334 	16,800 33,400	10 60 120 	7,780 16,800 48,280	
Teller								0.050.994	
Washington Weld	90 17,220	786 800	70,740 13,776,000	14,840 44,520	221 296	3,279,640 13,177,920	14,930 61,740 6.020	26,953,92	
Yuma	120		42 182 560	325 230		91,717.440	372.000	133,900,000	
State	40,770		42,182,000	020,200					

# ACREAGE AND PRODUCTION OF DRY BEANS, 1929

## ACREAGE AND PRODUCTION OF SUGAR BEETS AND RYE, 1929

	s	JGAR BE	ETS	RYF	FOR C	RAIN		Total
COUNTY	Acreage	Aver- age Yield	Production Tons	Acreage	Aver- age Yield	Production Bushels	Acreage Rye for Pasture	Acreage All Rye
Adams Alamosa Arapahoe Archuleta	10,450 650 1,800	13.0 9.4 11.5	135,850 6,110 20,700	770 10 1,000	8 15 11 	6,160 150 11,000	680 	1,450 10 1,430
Baca Bent Boulder	3,500 9,100	$12.6 \\ 12.5$	44,100 113,750	500 10	8 15 	4,000 150	150 	650 10 80
Chaffee Cheyenne Clear Creek Contille	  150	9.9	  1,490	260 	-5 25	1,300	90	<u>350</u> <u>20</u>
Crowley Custer	5,750	11.2	64,400	10 10 50	20 11	80 200 550	40 5 90	50 15 140
Delta Denver Dolores Douglas	2,100 	11.7 	24,570 	 75 1,520	 	600 15,200	5 5 90 385	5 165 1,905
Eagle Elbert El Paso	 500	7.8	3,900	4,840 4,150	- <u>-</u> 8 7	38,720 29,050	1,960 2,195	6,800 6,345
Fremont	100	9.5	950	5	20	100	40	45
Garfield Gilpin Grand	1,550 	12.4	19,220 	85 <u>65</u>	$\frac{20}{\overline{17}}$	1,700	20 50	105 115
Hinsdale Huerfano			 	40 	8 -7	320 	10 <u>30</u>	50 <u>65</u>
Jackson Jefferson	650	9.5	6,180	20	11	220	15 10	15 80
Kiowa Kit Carson				$\begin{smallmatrix}&60\\2,960\end{smallmatrix}$	17 6	1,020 17,760	2,070	60 5,030
Lake La Plata Larimer Las Animas Lincoln Logan	22.300 950 14,650	11.6 8.1 11.2	258,680 7,700 164,080	35 80 300 2,620 4,000	20 8 9 5 8	700 640 2,700 13,100 32,000	5 30 1,455 2,565	40 110 300 4,075 6,565
Mesa Mineral Moffat	1,350	12.4	16,740	35 1,160	20 10	700	100 1,540	135 
Montrose	1,750 19,450	11.0 12.3	19,250 239,230	250 50 1,830	$\begin{array}{c}10\\24\\13\end{array}$	2,500 1,200 23,790	25 30 995	275 80 2,825
Ouray Park	11,200	12.3	137,760	55 	20	1,100	20	55 20
Phillips Pitkin Prowers Pueblo	6,800 6,550	 11.1 12.7	75,480 83,180	3,190 10 95 25	-9 27 20 23	28,710 270 1,900 575	130 1,255 	130 4,445 10 120 100
Rio Blanco Rio Grande Routt	150	8.0	1,200	90 20 120	9 9 16	810 180 1,920	90 <u>1</u> 0	180 20 130
Saguache San Juan San Miguel Sedgwick Summit	4,500	 10.5	47,250	80 75 1,680 20	15 17 10 10	1,200 1,275 16,800 200	 35 810	80 110 2,490
Teller				5	20	100	45	50
Washington Weld	$1,400 \\ 82,550$	$\begin{array}{c} 14.9\\ 13.3\end{array}$	20,860 1,097,910	$5,180 \\ 9,500$	5 8	25,900 76,000	4,100 3,870	9,280 13,370
Yuma	100	14.6	1,460	17,000	8	136,000	4,335	21,335
State	210,000		2,612,000	64,000		512,000	30,000	94,000

# ACREAGE AND PRODUCTION OF GRAIN AND SWEET SORGHUMS, 1929

	GRAI	N SORG	HUMS	SWEE	T SORG	HUMS	Total
COUNTY	Acreage	Aver- age Yield	Produc- tion Bushels	Acreage	Aver- age Yield	Produc- tion Tons	Acreage All Sor- ghums
AdamsAlamosa	1,250	12	15,000	3,700	2.0	7,400	4,950
Arapahoe	970	12	11,640	2,100 5	2.2 2.0	4,620 10	3,070
Baca Bent Boulder	40,200 11,940 20	13 10 10	522,600 119,400 200	1,700 700 70	$2.6 \\ 2.5 \\ 1.6$	4,420 1,750 110	41,900 12,640 90
Chaffee Cheyenne Clear Creek	15,390	īō	153,900	2,700	1.9	5,130	18,090
Conejos							
CrowleyCuster	1,000 20	10 9	10,000 180	2,600	2.1	5,460	3,600 20
Delta	10	12	120	10	2.0	20	20
Dolores Douglas	40 40	$\overline{12}$ 11	480 440	260 550	1.9 1.4	490 770	300 590
Eagle Elbert El Paso	1,100 3,740	 9 10	9,900 37,400	2,875 1,200	1.4 2.0	4,020 2,400	3,975 4,940
Fremont	25	20	500	70	2.5	170	95
Garfield	20	13	260	10	2.0	20	30
Grand							
Gunnison							
Hinsdale Huerfano	40	-7	280	310	2.5	780	350
Jefferson		īī	330	5	1.6	10	35
Kiowa Kit Carson	8,140 13,290	10 9	81,400 119,610	13,200 9,000	$1.8 \\ 1.3$	23,760 11,700	21,340 22,290
Lake La Plata Larimer Las Animas Lincoln Logan	25 40 8,050 12,840 1,500	$     \begin{array}{r}             14 \\             12 \\             10 \\             9 \\             11 \\           $	350 480 80,500 115,560 16,500	70 85 3,000 5,000 8,000	2.1 1.6 2.7 1.2 2.0	140 140 8,100 6,000 16,000	95 125 11,050 17,840 9,500
Mesa	150	14	2,100	90	2.1	190	240
Moffat Montezuma Montrose	50 220 10	9 8 13	450 1,760 130	55 170	2.0	110 370	105 390 10
Morgan	2,900	13	37,700	3,200	1.3	4,160	6,100
Ouray	1,970					1,080	
Park Phillips	1,400	īō	14,000	5,200	1.8	9,360	6,600
Pitkin Prowers Pueblo	19,535 2,330	10 10	195,350 23,300	3,895 800	1.8 1.7	7,010 1,360	23,430 3,130
Rio Blanco Rio Grande							
Routt							
San Juan		19	1 140				
San Miguel	320	7	2,240	700	1.6	1,120	1,020
Summit							
Washington	10.470	9	94,230	7,600	1.8	18,680	18,070
Weld	8,730	8	29,840	7,000	2.2	15,400	10,730
Yuma	12,100	10	121,000	18,670		31,740	80,770
State	175,000		1,888,000	105,000		189,000	280,000

-

## ACREAGE OF HAY CROPS, 1929

COUNTY	Alfalfa	All Clover and Timothy, Alone or Mixed	Millet and Sudan Grass	All Other Tame Hay*	Total Tame Hay	Wild Grass Cut for Hay	Total Hay
Adams Alamosa Arapahoe Archuleta	17,680 16,470 14,100 5,690	230 1,940 160 9,120	1,600 70 860	480 8,120 2,410 880	19,990 26,600 17,530 15,690	2,690 12,200 2,280 1,340	22,680 38,800 19,810 17,030
Baca Bent Boulder	$1,850 \\ 27,000 \\ 22,990$	10 120 920	$350 \\ 210 \\ 400$	30 20 570	2,240 27,350 24,880	100 290 3,930	2,340 27,640 28,810
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	5,460 790 21,950 6,480 14,850 2,150	$\begin{array}{r} \textbf{3,140} \\ \textbf{50} \\ \textbf{220} \\ \textbf{4,330} \\ \textbf{2,490} \\ \textbf{50} \\ \textbf{3,880} \end{array}$	1,720   190 20	1,100 60 250 4,540 1,790 100 8,880	9,700 2,620 490 30,820 10,760 15,190 14,930	$990 \\ 1,460 \\ 350 \\ 21,790 \\ 1,560 \\ 60 \\ 3,550$	10,690 4,080 840 52,610 12,320 15,250 18,480
Delta Denver	31,290	880	30	1,350	33,550	200	33,750
Dolores Douglas	350 9,300	440 1,940	50 780	390 2,710	1,230 14,730	1,960	16,690
Eagle Elbert El Paso	8,960 12,400 7,610	$12,180 \\ 800 \\ 730$	3,030 6,990	$1,190 \\ 5,820 \\ 7,100$	22,330 22,050 22,430	4,500 6,100	22,880 26,550 28,530
Fremont	7,230	1,600	50	3,450 1,060	12,330 41 230	120 670	12,450 41,900
Gilpin Grand Gunnison	39,130 340 3,330	75 13,380 17,130	10	530 9,730 8,140	615 23,450 28,600	520 3,320 17,220	1,135 26,770 45,820
Hinsdale Huerfano	80 15,920	2,520 4,160		90 1,500	2,690 21,770	800 880	3,490 22,650
Jackson Jefferson	20 16,360	1,020 1,320	150	1,700 1,330	2,740 19,160	87,080 1,280	89,820 20,440
Kiowa Kit Carson	1,080 1,660	80 20	1,200 6,280	90 1,180	$2,450 \\ 9,140$	120 1,780	2,570 10,920
Lake La Plata Larimer Las Animas Lincoln Logan	23,870 39,300 17,620 3,010 25,600	$\begin{array}{r} 30 \\ 3,400 \\ 2,850 \\ 4,340 \\ 150 \\ 690 \end{array}$	40 320 300 7,610 6,200	$150 \\ 3,670 \\ 4,980 \\ 2,770 \\ 2,840 \\ 860$	180 30,980 47,450 25,030 13,610 33,350	4,980 810 5,400 1,690 5,210 13,410	5,160 31,790 52,850 26,720 18,820 46,760
Mesa Mineral Moffat Montezuma Montrose Morgan	36,270 20 13,920 18,620 33,890 26,250	1,240 1,350 3,845 1,520 1,960 490	60  120 100 80 3,730	$1,930 \\ 510 \\ 7,250 \\ 1,600 \\ 340 \\ 650$	39,500 1,880 25,135 21,840 36,270 31,120	190 990 4,030 130 150 4,570	39,690 2,870 29,165 21,970 36,420 35,690
Otero Ouray	20,160 3,490	600 5,420	90 	470 910	$21,320 \\ 9,820$	$\begin{smallmatrix}&130\\1,320\end{smallmatrix}$	$21,450 \\ 11,140$
Park Phillips Pitkin Prowers Pueblo	20 570 3,990 44,730 19,410	200 60 5,570 60 1,070	4,340 50 1,060 200	5,790 660 220 50 820	6,010 5,630 9,830 45,900 21,500	35,980 190 240 720 1,560	41,990 5,820 10,070 46,620 23,060
Rio Blanco Rio Grande Routt	17,680 12,170 9,860	12,000 6,260 38,760	10 160	4,180 17,750 3,770	33,860 36,190 52,550	2,690 7,430 1,660	36,550 43,620 54,210
Saguache San Juan	9,800	4,370		14,430	28,600	47,940	76,540
San Miguel Sedgwick Summit	5,020 4,630 30	$1,380 \\ 210 \\ 7,240$	10 1,570	$3,040 \\ 1,040 \\ 160$	9,450 7,450 7,430	230 5,530 700	9,680 12,980 8,130
Teller	170	270		7,850	8,290	1,280	9,570
Washington Weld	3,540 101,010	80 1,410	13,280 9,530	2,890	19,790	10,160	29,950 129,610
Yuma	2,790	220	6,960	940	10,910	8,170	19,080
State	810,000	193,000	80,000	172,000	1,205,000	362,000	1,617,000

\*Includes grains cut green.

\_

\_\_\_\_\_

	T	AME HA	AY	1	WILD HA	AY	TOTAL	L HAY
COUNTY	Acreage	Yield	Production Tons	Acreage	Yield	Production Tons	Acreage	Produc- tion Tons
Adams Alamosa Arapahoe Archuleta	19,990 26,600 17,530 15,690	2.1 1.4 1.7 1.6	41,980 37,240 29,800 25,100	2,690 12,200 2,280 1,340	.8 .9 .8 1.2	2,150 10,980 1,820 1,610	22,680 38,800 19,810 17,030	44,13( 48,22( 31,62( 26,71(
Baca Bent Boulder	2,240 27,350 24,880	$1.6 \\ 2.4 \\ 2.1$	3,580 65,640 52,250	100 290 3,930	1.0 1.5 1.0	100 440 3,930	2,340 27,640 28,810	3,68( 66,08( 56,18(
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	9,700 2,620 490 30,820 10,760 15,190 14,930	$     \begin{array}{r}       1.5 \\       .8 \\       .9 \\       1.5 \\       1.3 \\       2.5 \\       1.3 \\     \end{array} $	$\begin{array}{r} 14,550\\ 2,100\\ 440\\ 46,230\\ 13,990\\ 37,970\\ 19,400 \end{array}$	990 1,460 350 21,790 1,560 60 3,550	$ \begin{array}{c} 1.1 \\ .7 \\ .8 \\ .9 \\ .7 \\ 1.0 \end{array} $	$ \begin{array}{c c} 1,090\\ 1,020\\ 280\\ 17,430\\ 1,400\\ 40\\ 3,550\\ \end{array} $	10,690 4,080 840 52,610 12,320 15,250 18,480	15,64( 3,12( 72( 63,66( 15,39( 38,01( 22,95(
Delta	33,550	2.4	80,520	200	1.5	300	33,750	80,82(
Dolores Douglas	1,230 14,730	$\begin{array}{c} 1.2\\ 1.4 \end{array}$	1,480 20,620	80 1,960	.7 .9	60 1,760	1,310 16,690	1,54( 22,38(
Eagle Elbert El Paso	22,330 22,050 22,430	1.9 1.1 .9	42,430 24,260 20,190	520 4,500 6,100	1.9 .8 .9	990 3,600 5,490	22,850 26,550 28,530	48,42( 27,86( 25,68(
Fremont	12,330	1.5	18,490	120	1.1	130	12,450	18,620
Garfield Gilpin Grand Gunnison	41,230 615 23,450 28,600	$2.1 \\ 1.1 \\ 1.4 \\ 1.4$	86,580 680 32,830 40,040	670 520 3,320 17,220	1.4 1.1 1.0 1.5	940 570 3,320 25,830	41,900 1,135 26,770 45,820	87,528 1,250 36,150 65,870
Hinsdale Huerfano	2,690 21,770	1.4 1.4	3,760 30,470	800 880	1.4 1.1	1,120 970	3,490 22,650	4,880 31,440
Jackson Jefferson	2,740 19,160	.9 1.8	2,470 34,490	87,080 1,280	1.0 1.1	87,080 1,410	89,820 20,440	89,550 35,900
Kiowa Kit Carson	2,450 9,140	.8 .8	1,960 7,310	120 1,780	.7 .8	80 1,420	2,570 10,920	2,040 8,730
Lake La Plata Larimer Las Animas Lincoln Logan	180 30,980 47,450 25,030 13,610 33,350	1.1 1.7 1.8 1.4 .7 2.0	200 52,670 80,010 35,040 9,530 66,700	$\begin{array}{r} 4,980\\ 810\\ 5,400\\ 1,690\\ 5,210\\ 13,410\end{array}$	.9 1.7 .9 .8 .7 .9	$\begin{array}{r} 4,480\\ 1,380\\ 4,860\\ 1,350\\ 3,650\\ 12,070\end{array}$	5,160 31,790 52,850 26,720 18,820 46,760	4,680 54,050 84,870 36,390 13,180 78,770
Mesa Mineral Moffat Montezuma Montrose Morgan	39,500 1,880 25,135 21,840 36,270 31,120	$2.5 \\ 1.0 \\ 1.6 \\ 1.9 \\ 2.3 \\ 2.2$	$\begin{array}{r} 98,750 \\ 1,880 \\ 40,220 \\ 41,500 \\ 83,420 \\ 68,460 \end{array}$	190 990 4,030 130 150 4,570	1.0 1.0 1.4 2.1 .8	190 990 4,030 180 320 3,660	39,690 2,870 29,165 21,970 36,420 35,690	98,940 2,870 44,250 41,680 83,740 72,120
Otero Ouray	21,320 9,820	$\substack{\textbf{2.5}\\\textbf{1.7}}$	53,300 16,690	$130\\1,320$	.9 1.3	120 1,720	$21,450 \\ 11,140$	53,420 18,410
Park Phillips Pitkin Prowers Pueblo	6,010 5,630 9,830 45,900 21,500	.9 1.0 1.9 2.6 2.1	5,410 5,630 18,680 119,340 45,150	$35,980 \\ 190 \\ 240 \\ 720 \\ 1,560$	.9 .8 1.6 .8 1.1	32,380 150 380 580 1,720	41,990 5,820 10,070 46,620 23,060	87,790 5,780 19,060 119,920 46,870
Rio Blanco Rio Grande Routt	$33,860 \\ 36,190 \\ 52,550$	1.8 1.5 1.9	60,950 54,280 99,840	2,690 7,430 1,660	1.6 1.1 1.1	4,300 8,170 1,830	36,550 43,620 54,210	65,250 62,450 101,670
Saguache San Juan San Miguel	28,600 9,450	1.3 1.5	37,180 14.170	47,940 <u>230</u>	.8 	38,350 	76,540	75,530
Sedgwick Summit	7,450 7,430	1.9 1.4	$14,160 \\ 10,400$	5,530 700	1.1 1.8	6,080 910	12,980 8,130	20,240 11,310
Teller	8,290	.9	7,460	1,280	.9	1,150	9,570	8,610
Weld	114,840	2.1	241,160	14,770	.8	11,820	29,950 129,610	252,980
Yuma State	10,910 1,255,000	1.3 	14,180 2,255,000	8,170	1.1 	8,990 344,000	19,080 1,617,000	23,170

# ACREAGE AND PRODUCTION OF HAY, 1929

#### ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH

WHEAT (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept	Oct.	Nov.	Dec.
1910	98	99	98	97	96	98	96	94	90	86	84	80
1911	78	77	77	79	82	83	88	86	80	80	82	84
1912	84	84	87	92	94	94	92	82	76	76	76	70
1913	72	75	75	75	74	73	72	72	74	74	76	76
1914	74	75	76	78	78	77	76	78	81	81	84	90
1915	107	121	118	118	120	104	95	92	82	84	83	84
1916	93	97	94	91	91	88	92	112	128	135	145	145
1917	148	152	156	180	220	242	232	210	200	194	190	192
1918	190	190	192	193	192	195	200	198	194	192	194	194
1919	198	195	194	201	203	206	204	196	194	198	200	210
1920	216	212	212	215	225	234	226	212	196	178	152	136
1921	138	138	130	108	112	118	96	86	86	82	76	78
1922	80	94	102	99	99	90	84	84	78	84	90	92
1923	95	96	99	100	100	94	80	72	79	84	84	86
1924	84	83	84	82	84	82	95	105	100	115	118	127
1925	142	163	155	133	139	141	128	145	138	129	136	145
1926	152	147	135	131	132	127	111	108	105	107	110	109
1927	110	113	109	111	109	119	118	109	107	105	103	107
1928	108	109	115	118	132	127	114	83	80	85	85	87
1929	89	93	95	89	84	80	91	101	100	98	91	95
1930	96	90	84	89	84	84	68	64	63	57	53	54
1931	52	51	51	51	52	45	32	28	30	33	46	42
1932	43	42	40			<b></b> .						

CORN (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	70	70	68	66	72	72	70	73	70	64	62	58
1911	56	54	53	54	59	62	64	68	72	75	76	76
1912	75	76	74	79	83	86	85	80	75	72	62	44
1913	41	44	50	52	50	52	54	62	72	76	74	71
1914	70	69	70	70	70	72	72	71	72	72	66	62
1915	66	68	70	68	66	65	66	68	66	56	52	55
1916	58	62	64	66	66	66	72	76	78	77	83	90
1917	92	92	98	120	145	161	174	186	184	155	130	122
1918	128	144	150	150	147	148	152	156	154	146	138	140
1919	142	136	134	143	150	156	166	168	172	164	146	141
1920	133	120	124	144	155	160	160	150	126	98	80	61
1921	48	43	42	48	50	48	49	42	36	33	31	32
1922	34	39	44	48	50	51	50	45	44	55	66	64
1923	61	62	66	78	84	82	78	74	73	75	70	68
1924	60	60	58	59	65	62	90	95	93	94	90	104
1925	115	115	106	87	100	110	108	99	98	92	70	70
1926	72	65	60	57	62	65	68	72	75	79	76	73
1927	70	71	72	73	79	91	97	97	94	83	70	69
1928	69	72	80	87	93	94	92	85	83	80	73	78
1929	76	80	80	78	79	78	80	87	87	88	80	76
1930	71	71	66	68	68	71	68	77	77	70	61	55
1931	48	44	42	44	48	40	42	42	38	84	41	37
1932	36	35	88									

.

# ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

OATS (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	54	54	56	56	56	58	58	56	52	46	46	45
1911	44	44	44	47	50	50	53	55	52	50	49	48
1912	48	47	52	58	60	60	57	47	41	39	37	38
1913	38	40	40	38	40	42	44	47	47	46	45	45
1914	45	46	47	48	50	50	45	42	46	48	46	40
1915	49	48	48	52	53	50	50	48	43	42	40	40
1916	42	45	50	52	54	55	56	54	54	58	58	69
1917	64	64	69	84	97	98	92	86	82	72	71	77
1918	76	80	96	101	100	96	90	92	90	84	80	96
1919	90	86	82	89	96	90	89	87	83	84	86	00
1920	90	92	97	99	100	110	104	90	84	74	64	56
1921	53	51	56	53	51	56	53	48	40	36	34	32
1922	32	36	40	43	44	44	44	42	38	38	49	46
1923	49	53	58	64	66	67	66	58	50	46	46	40
1924	48	47	50	48	45	49	55	56	54	50	54	55
1925	60	63	65	67、	62	63	58	53	49	49	40	48
1926	46	47	47	49	48	48	47	44	43	40	43	41
1927	47	49	48	50	50	55	56	50	49	45	46	48
1928	50	50	55	58	62	60	62	47	43	44	45	40
1929	48	52	53	54	54	50	53	49	47	45	47	46
1930	45	44	45	45	45	44	39	38	37	35	35	34
1981	34	32	35	34	33	32	29	26	26	23	29	99
1932	29	30	30									

#### BARLEY (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	68	68	72	66	70	76	74	69	62	60	60	63
1911	64	58	56	60	62	65	68	68	68	66	67	68
1912	65	68	76	86	86	81	81	60	55	49	52	46
1913	46	48	44	48	49	48	48	52	56	55	54	56
1914	59	59	58	60	60	58	56	57	60	64	60	56
1915	60	66	66	66	64	60	58	58	52	48	50	55
1916	58	57	62	66	64	64	62	69	76	76	81	85
1917	88	88	101	128	146	142	125	119	114	105	104	111
1918	123	134	151	159	149	135	124	125	132	120		124
1919	128	133	131	116	122	138	152	143	126	130	128	123
1920	122	124	136	146	147	148	144	137	106		73	65
1921	62	60			62	63		60	55			40
1922	41	44	46	46	46	48	50	50	45	49	58	58
1923	60	61	65	75	78	67	58	54	50	52	54	50
1924	49	51	53	52	55	57	64	68	65	70	71	76
1925	86	90	90	79	79	84	75	67	60	62	58	57
1926	57	57	56	58	61	55	56	48	55	54	54	55
1927	58	59	61	64	65	69	70	62	58	55	54	56
1928	59	63	67	73	75	76	74	51	46	48	52	55
1929	60	60	63	62	61	58	57	54	54	56	56	57
1930	56	52	53	53	55	53	42	44	43	41	39	36
1931	35	34	35	35	35	32	30	23	25	22	29	29
1932	30	29	29									

#### ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

RYE

(Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	74	74	74	71	75	79	78	78	70	68	68	66
1911	64	63	64	65	64	61	60	72	76	68	68	68
1912	68	72	80	82	78	75	76	70	59	54	54	54
1913	53	52	50	52	57	62	64	63	62	59	58	60
1914	62	58	56	62	64	60	62	61	59	60	62	64
1915	69	80	90	98	96	84	78	78	70	64	67	72
1916	72	74	76	75	74	71	72	79	84	94	105	100
1917	104	110	108	128	148	148	146	135	142	151	144	140
1918	136	139	162	176	163	138	138	165	166	151	141	138
1919	128	125	138	151	144	134	140	151	147	132	129	131
1920	142	136	125	152	172	194	184	150	138	121	110	98
1921	101	92	90	96	95	90	77	68	70	67	60	58
1922	58	62	66	68	70	72	68	57	51	60	68	67
1923	67	65	65	70	75	70	56	50	56	60	58	56
1924	54	58	58	60	60	55	59	70		83	85	95
1925	103	118	112	89	82	95	82	83	82	69	63	70
1926	70	71	61	59	58	61	65	70	70	73	71	65
1927	68	73	72	70	72	78	80	72	71	68	67	72
1928	73	73	79	80	89	87	85	67	67	70	71	71
1929	72	76	75	75	70	66	69	76	73	73	71	73
1930	71	66	59	63	61	57	38	42	46	41	33	33
1931	31	30	28	31	32	29	22	20	21	24	32	32
1932	32	32	33				~					

#### POTATOES (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	62	59	54	35	26	32	50	75	80	70	60	53
1911	54	60	60	70	77	122	170	162	135	98	90	94
1912	90	95	102	120	146	140	115	94	70	55	46	38
1918	35	39	42	36	30	34	49	69	70	62	63	62
1914	60	60	60	58	58	74	86	88	81	72	62	48
1915	50	58	57	63	71	73	86	82	54	42	48	58
1916	70	76	80	95	105	118	133	130	100	103	130	130
1917	138	194	220	228	258	257	244	186	113	88	90	94
1918	106	104	85	64	51	51	120	168	132	97	88	88
1919	76	70	66	77	83	76	120	160	155	150	158	162
1920	181	226	274	330	428	450	400	265	123	94	76	70
1921	60	56	64	68	67	81	96	110	103	90	81	66
1922	77	80	70	64	55	62	70	88	76	48	41	32
1923	41	40	34	45	43	41	96	128	95	74	65	64
1924	71	65	65	70	71	180	150	120	60	53	51	52
1925	63	64	80	77	85	113	166	152	114	110	188	173
1926	193	178	175	230	180	145	140	105	110	115	130	125
1927	130	110	110	115	135	170	200	140	85	65	60	60
1928	55	55	80	80	60	55	75	65	55	35	45	45
1929	45	40	45	45	45	50	100	120	115	110	115	115
1980	110	115	120	120	140	150	115	105	85	70	70	60
1931	60	55	50	60	55	50	75	70	35	30	30	30
1932	29	26	27									

# ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

HAY (LOOSE) (Dollars per ton)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	11.25	11.00	10.55	10.00	10.00	10.30	10.05	10.40	10.45	10.90	10.00	10.07
1911	10.75	10.60	10.55	10.40	10.70	10.50	10.00	10.40	10.40	10.30	10.00	10.65
1912	9.80	10.30	11.55	13.00	13.75	12.85	10.55	0.05	9.00	9.90	9.00	9.40
1913	8.85	8.50	8.30	8.30	8.30	8.60	8 70	8.45	0.10	0.00	0.90	0.00
1914	10.15	11.10	10.65	9.65	9.80	9.55	8 50	8 20	8.20	0.00	7.05	9.60
1915	7.45	7.50	7.30	7.30	7.85	8.40	8.65	8 15	7 45	7 40	7.60	(.40
1916	8.55	9.15	9.55	9.65	10.00	10.35	10.10	9.10	9.75	0.95	10.00	1.90
1917	11.55	12.55	13.65	15.95	18.95	19.60	16.00	13 75	14 50	0.00	16.00	10.00
1918	18.05	17.85	15.50	15.65	16.00	15.15	14 65	13.85	14.50	15.10	10.20	16.85
1919	14.70	15.75	17.15	20.05	21.80	19.40	18.50	18.60	19.10	17 50	10.00	10.00
1920	18.50	18.75	18.15	18.65	20.60	20.60	18 75	17.55	16.20	19.90	11 50	18.00
1921	10.55	10.20	9.95	9.35	8.85	9.20	8 90	8 20	7 20	6 70	7.05	11.50
1922	6.40	6.50	6.95	7.32	7.02	6.40	6.80	7.95	8.70	0.10	10.00	0.00
1923	10.95	12.05	12.30	13.15	14.20	13.05	10.30	9.00	0.10	0.15	10.20	10.00
1924	11.00	10.50	10.50	10.00	10.00	10.50	9.50	10.80	10.00	9.10	11.20	12.90
1925	12.30	12.30	13.60	11.60	11.20	12.00	13 70	12.00	11.60	11.50	11.30	12.00
1926	11.50	10.70	11.30	10.50	11 90	11 10	10.50	0.90	0.50	10.70	12.00	12.20
1927	8.00	7.60	7.50	8 50	9.00	8 50	8 70	9.00	9.00	9.80	8.90	9.00
1928	8.50	8.10	9.00	10.00	11 00	10.60	9.70	0.40	10.00	9.00	9.30	9.20
1929	11.00	12.00	13.00	12.20	12 70	12 70	11 70	11 70	11.00	10.80	10.00	11.00
1930	10.80	10.00	9.60	8 90	9 30	0.20	200	0.00	10.00	10.90	10.90	10.60
1931	9.00	8.00	7.60	7 90	810	7 30	7 10	9.90 7 90	7.60	8.90	9.00	8.60
1932	8.30	8.80	8.60		0.10	1.50		(.80	1.60	7.50	7.80	8.40
1000	0.00	0.00	0.00			<b>-</b>						

APPLES (Dollars per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	1.17	1.14		1.27	1.25	1.13	1.61	1.17	1.25	1.00	1.10	1.20
1911	1.35	1.54	1.50	2.47	2.09	2.50	1.25	1.03	.77	.96	1.17	1.27
1912	1.00	1.15	1.17	1.60	1.80	2.00	1.96	.85	.88	.97	.83	.78
1913	.90	.75	.90	.65	1.25	2.07	1.40	.82	.85	1.00	1.05	1.10
1914	1.00	1.20	1.20	1.30	1.50	1.50		.80	.75	.60	.75	.65
1915	.65	.70	.80	1.05	1.05		1.30	1.00	1.00	.85	.95	.95
1916	.90	1.00	.95	1.00	1.05	1.40	2.00	1.20	.95	.85	1.00	1.25
1917	1.20	1.30	1.40	1.60	2.50	3.20		1.20	1.20	.90	1.10	1.35
1918	1.25	1.30	1.15	1.40	2.60		1.80	1.70	1.50	1.50	1.70	2.00
1919	2.25	2.10	2.50	2.10	2.70	2.60	2.30	1.50	1.70	1.60	2.00	2.10
1920	2.20	2.10	2.30	2.25	3.60	2.40	2.70	2.00	1.50	1.60	1.70	1.92
1921	.65	1.00	.98	1.40	1.60	1.25	1.00	1.50	1.70	1.70	1.60	1.40
1922	, 1.50	1.50	1.80	1.80	1.60	2.20	1.90	.75	.65	.75	.70	.50
1923	1.00	1.10	1.18	1.30	2.38	3.20	1.90	1.76	1.26	1.24	1.23	1.20
1924	1.25	1.00	1.00	1.10		1.00	2.00	.94	1.00	1.09	1.26	1.17
1925	1.41	1.43	1.62	1.71		2.50	1.61	1.19	1.24	1.22	1.39	1.32
1926	1.64	1.27	1.14	1.58		1.60	1.80	1.10	.80	.75	.65	.90
1927	.90	.95	.90	1.00	1.05	1.50	1.60	1.25	1.10	1.15	1.20	1.50
1928	1.30	1.35	1.30	1.35	1.55	1.55	1.45	1.25	.95	.90	.85	.75
1929	.80	.90	.95	.90	.95	1.20	1.70	1.30	1.15	1.10	1.05	1.10
1930	1.10	1.20	1.10	1.20	1.20	1.45	1.70	1.45	1.00	.80	.85	.95
1931	1.05	.85	.95	1.00	1.00	1.05	1.25	1.00	.70	.55	.55	.70
1932	.70	.65	.60									

#### ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

COLORADO HOG PRICES BY MONTHS (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	7.60	7.50	9.00	8.80	8.20	9.60	8.50	7.80	8.50	8.20	8.00	7.70
1911	7.60	7.60	7.20	6.30	6.20	5.60	5.70	6.90	7.00	6.20	6.00	6.10
1912	6.00	5.90	6.00	6.90	7.00	6.90	6.80	7.20	7.40	7.60	7.60	7.50
1913	7.20	7.10	7,50	7.90	7.80	7.70	7.80	7.80	7.60	7.70	7.70	7.40
1914	7.30	7.70	7.60	7.70	7.70	7.70	7.70	8.10	8.30	7.70	7.50	6.80
1915	6.90	6.40	6.50	6.60	6.80	6.90	7.00	7.20	6.80	7.10	6.50	6.10
1916	6.00	6.60	7.70	7.80	8.20	8.10	8.30	8.50	9.00	8.30	8.60	8.70
1917	9.10	10.10	12.20	14.00	14.20	14.30	13.50	14.90	16.20	17.30	15.50	15.70
1918	15.20	14.80	15.70	15.60	15.80	15.40	15.50	17.00	17.30	16.20	15.50	15.60
1919	15.30	15.00	15.20	17.20	17.90	17.90	19.20	19.40	16.50	14.50	12.80	12.70
1920	12.70	13.20	13.30	13.00	12.90	12.50	13.00	12.90	13.70	13.70	11.50	8.40
1921	7.30	7.80	8.60	7.80	7.10	6.60	8.00	8.60	7.10	6.80	6.80	5.80
1922	6.00	7.50	9.00	8.90	8.80	9.00	8.90	8.70	8.50	8.20	7.50	7.00
1923	7.30	7.20	7.10	7.10	6.50	6.00	6.30	6.50	7.70	7.00	6.50	6.10
1924	6.30	6.00	6.10	6.30	6.10	6.00	6.00	8.30	8.00	8.70	8.20	7.80
1925	8.80	9.30	12.20	11.50	10.00	10.40	12.20	12.10	11.70	11.20	10.60	10.30
1926	10.60	11.60	11.60	11.30	11.70	12.60	13.10	11.90	12.00	12.30	11.70	10.70
1927	10.60	10.80	10.60	10.40	9.30	8.50	8.60	9.60	10.20	10.50	9.10	8.50
1928	7.70	7.50	7.50	7.50	8.40	8.60	9.60	9.90	11.00	9.60	8.70	7.80
1929	8.00	8.70	9.70	10.00	9.70	9.70	10.30	10.50	9.80	9.40	8.80	8.40
1930	8.70	9.00	9.30	8.90	8.80	8.90	8.20	8.50	9.40	8.80	8.30	7.40
1931	7.20	6.70	6.80	6.00	6.20	5.60	6.00	6.20	5.40	4.40	4.30	3.50
1932	3.40	3.20	3.70									

#### BEEF CATTLE (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	5.70	6.00	4.80	6.00	5.80	6.20	5.50	4.60	4.50	4.90	4.50	4.20
1911	5.00	5.00	5.00	5.00	4.90	5.00	4.80	4.40	4.70	4.00	4.60	4.60
1912	4.80	4.90	5.20	5.70	6.00	5.90	5.70	5.40	5.60	5.80	5.50	6.10
1913	6.00	6.10	6.30	6.50	6.90	6.70	6.70	6.50	6,30	6.30	6.70	6.60
1914	6.50	6.90	6.70	6.90	6.90	7.00	7.00	6.50	6.70	6.00	6.30	6.50
1915	6.60	6.70	6.60	6.50	7.00	7.00	6.60	6.60	6.20	6,20	6.30	6.00
1916	6.30	6.50	6.70	7.00	7.10	7.40	7.50	7.30	6.70	6.60	6.60	7.10
1917	7.80	7.80	8.40	9.30	9.30	10.20	10.00	8.50	8.70	9.00	8.80	8.80
1918	8.60	9.50	9.90	11.00	12.40	11.80	11.00	10.90	9.00	9.20	9.90	9.90
1919	11.00	11.10	11.20	12.20	12.00	11.80	10.50	10.50	9.20	9.20	9.00	8.70
1920	9.00	8.90	9.20	9.20	9.40	10.00	9.50	8.80	8.70	6.70	7.20	6.20
1921	6.30	5.60	6.90	6.40	6.10	5.80	5.80	5.40	4.60	4.50	4.60	4.60
1922	4.90	5.50	5.80	6.00	6.20	6.40	6.30	5.80	5.70	5.60	5.50	5.70
1923	5.80	5.70	6.20	6.30	6.50	6.50	6.40	5.70	6.00	5.30	5.30	5.20
1924	6.00	5.60	6.00	6.40	6.50	6.40	6.20	5.60	5.70	5.30	5.00	5.50
1925	5.60	5.60	6.80	7.80	6.90	7.10	6.80	7.10	6.30	6.30	6.40	6.20
1926	6.50	7.10	7.30	7.70	7.00	7.40	7.10	7.10	6.80	6.50	6.60	6.50
1927	6.60	6.80	7.20	8.00	7.90	8.00	8.20	7.70	7.30	8.10	8.00	8.90
1928	9.00	9.40	8.80	9.10	10.10	9.80	9.50	10.10	10.40	10.10	9.80	9.10
1929	9.40	9.30	10.10	10.40	10.30	10.20	10.90	11.20	9.70	9.30	9.20	9.20
1930	9.30	9.10	9.20	9.20	9.10	9.00	7.90	7.00	7.10	7.20	7.10	7.30
1931	7.20	6.50	6.50	6.50	5.90	5.30	5.60	5.70	5.50	5.00	4.90	4.00
1932	3.90	3.60	4.10									
# ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

VEAL CALVES (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	May	June	Jŭly	Aug.	Sept.	Oct.	Nov.	Dec.
1910	9.30	7.60	6.00	10.10	11.00	9.50	8.50	7.60	7.30	6.70	5.90	7.00
1911	7.00	6.50	7.30	7.30	6.60	6.70	7.30	7.20	7.00	6.10	6.20	6 30
1912	6.30	6.70	6.70	7.20	7.30	7.70	7.40	7.70	7.20	7.20	7.00	7 70
1913	7.90	8.00	8.30	8.80	9.00	8.60	9.30	9.50	8.20	8.30	8.70	8 20
1914	8.40	9.00	8.60	8.70	9.00	9.30	9.40	8.20	8.60	7.50	8.00	8.30
1915	8.50	8.70	8.90	9.00	9.50	9.00	8.40	8.50	8.30	9.00	8.10	8.40
1916	8.00	8.70	8.90	9.80	9.60	9.70	10.10	10.00	9.30	9.20	8.60	9.00
1917	9.30	9.80	10.30	11.00	12.50	11.90	13.40	11.50	11.70	11.10	10.20	11.00
1918	11.30	11.80	12.60	12.70	13.40	12.70	12.80	12.50	11.80	10.50	10.50	11.80
1919	12.10	12.60	13.30	12.70	12.60	12.90	12.50	11.80	11.40	11.60	11.60	11.00
1920	12.00	12.10	12.80	12.50	12.90	11.90	12.80	11.00	11.10	9.90	9.50	7 90
1921	8.00	8.00	8.80	8.90	8.20	8.10	7.60	7.00	7.00	6.80	6.50	6.50
1922	7.10	7.50	7.20	7.50	7.70	7.70	7.30	6.80	6.60	6.60	6.30	6.40
1923	6.90	8.00	8.20	8.50	8.40	8.50	8.10	7.40	8.00	7.30	6.80	7.10
1924	7.90	7.80	8.20	8.50	8.30	8.30	8.40	7.80	7.80	7.30	7.00	7.30
1925	7.90	7.90	8.80	8.70	9.00	8.60	8.20	8.50	7.90	8.60	8.60	7.80
1926	8.60	9.90	10.00	10.10	10.00	10.50	10.20	9.10	9.80	9,50	9,10	9.40
1927	9.50	10.00	9.80	10.50	10.40	10.30	10.70	10.50	10.60	10.50	10.80	11.30
1928	10.70	11.50	11.50	11.80	11.30	12.70	12.90	12.90	13.00	12.70	11.80	11 40
1929	12.10	12.10	12.70	13.50	13.80	13.20	13.30	13.60	13.00	12.40	12.00	12 30
1930	12.20	11.90	11.70	11.60	11.40	11.70	10.80	9.70	9.80	10.30	10.20	9,90
1931	9.70	8.90	9.10	8.70	8.10	8.00	7.50	7.50	7.20	6.50	6.50	6.00
1932	6.00	5.80	6.30		<b>-</b>							

### SHEEP (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	6.20	6.50	3.50	8.20	5.20	6.00	5.20	5.00	5.00	4.20	4.60	4.80
1911	4.60	4.70	4.20	4.40	4.90	4.00	4.10	4.70	4.10	3.80	3.30	4.00
1912	4.00	4.00	4.50	5.20	5.50	5.10	5.00	4.30	4.40	4.30	4.10	4.80
1913	5.00	4.90	5.40	6.00	5.20	5.10	5.00	4.70	4.10	4.00	4.50	4.70
1914	5.30	4.60	5.10	5.50	6.00	4.50	5.00	5.50	4.50	4.40	5.00	5.20
1915	4.80	5.30	5.90	6.30	6.40	6.10	6.60	5.90	5.00	5.00	5.60	5.70
1916	5.60	6.20	7.00	7.80	7.80	7.80	7.70	6.90	6.60	6.90	6.90	8.20
1917	8.40	9.30	9.80	10.90	11.40	12.20	10.80	11.30	11.30	11.40	10.30	11.40
1918	11.90	12.00	12.60	13.90	14.40	12.60	12.40	13.20	13.90	11.00	9.60	10.50
1919	10.20	10.30	10.50	11.90	11.70	12.50	10.30	10.80	10.90	9.20	9.40	9.60
1920	10.00	11.60	11.70	11.20	11.60	10.00	10.00	6.80	7.00	7.10	7.30	5.90
1921	4.50	5.00	6.40	5.60	5.60	5.10	5.00	4.50	4.40	4.50	4.50	4.70
1922	6,70	7.50	7.40	7.40	7.20	6.20	7.20	6.70	6.40	6.20	6.20	7.00
1923	7.20	8.10	7.80	8.20	7.70	8.00	7.00	6.40	7.30	7.30	6.70	6.90
1924	7.50	7.60	8.00	8.30	8.50	8.60	7.60	6.60	6.80		6.80	8.00
1925	8.40	9.00	8.60	10.00	9.00	8.60	8.20	8.00	8.50	7.60	7.70	7.70
1926	9.30	9.20	8.80	8.50	8.40	8.90	6.90	6.50	7.60	6.10	6.80	8.00
1927	7.00	7.00	8.00	8.70	8.10	8.00	6.70	6,70	6.70	6.00	7.30	7.50
1928	7.40	7.20	8.40	7.90	8.80	7.60	7.60	7.60	7.70	7.00	7.30	7.10
1929	7.40	7.90	8.40	9.10	8.70	8.20	7.20	6.40	5.70	5.80	6.10	6.20
1930	6.40	6.40	5.60	5.70	5.80	5.40	4.50	4.40	4.30	3.40	3.20	3.60
1931	3.80	4.20	4.50	4.30	3.80	3.60	2.60	3.00	2.60	2.50	2.20	2.00
1932	2.10	2.20	2.40									

### ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

LAMBS (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	7.00	7.50	4.30		5.90	7.40	6.70	5.80	6.00	6.30	5.30	5.60
1911	6.50	5.80	4.80	5.60	6.20	5.10	5.30	6.50	5.40	4.50	4.60	5.10
1912	5.00	5.30	6.10	6.60	7.50	6.80	7.00	6.00	5.80	5.60	5.80	6.20
1913	6.70	6.60	7.00	7.30	6.60	6.00	6.50	6.30	5.60	5.50	5.70	5.70
1914	6.70	6.50	6.80	7.30	7.00	7.20	7.40	7.20	6.00	6.00	6.10	7.40
1915	7.20	7.20	7.60	8.10	8.40	8.00	7.90	7.20	7.00	7.00	7.30	7.70
1916	7.70	8.50	9.50	8.70	10.00	10.00	9.80	9.30	8.50	9.00	9.00	10.00
1917	11.40	12.00	12.20	12.90	14.20	15.30	13.70	13.50	14.60	16.30	15.50	15.70
1918	15.80	16.00	14.80	17.80	17.10	15.70	15.70	15.50	16.60	14.30	13.00	13.60
1919	14.20	14.30	14.50	15.70	14.60	15.20	13.80	15.50	14.60	12.30	12.80	13.20
1920	14.80	16.70	16.40	15.70	16.20	16.10	13.40	11.10	11.30	11.10	11.10	8.20
1921	8.40	7.30	8.00	7.30	7.90	8.00	8.10	7.00	5.50	6.00	5.80	6.00
1922	8.00	10.40	12.40	12.40	12.00	10.70	11.10	10.50	10.30	10.80	11.00	11.00
1923	11.20	11.50	12.30	12.00	12.70	12.00	11.20	10.50	11.50	11.80	11.00	11.50
1924	11.40	11.60	12.00	12.50	13.00	12.70	11.50	11.00	11.20	11.40	11.80	12.20
1925	14.00	14.50	14.70	12.60	12.70	12.80	12.50	12.90	13.20	12.90	13.40	13.40
1926	14.30	12.60	12.00	11.30	12.00	12.90	12.60	11.50	12.00	12.00	11.80	11.70
1927	11.20	11.30	12.40	13.00	13.00	13.50	13.00	12.60	11.90	12.00	12.80	11.80
1928	11.80	13.00	13.30	14.10	12.80	15.20	12.50	12.90	12.90	12.40	12.00	12.10
1929	12.90	13.40	14.00	14.60	14.20	13.10	12.80	12.30	11.90	12.00	11.70	11.40
1930	11.70	10.00	9.20	8.70	9.10	9.80	9.00	7.60	7.30	6.50	6.70	6.60
1931	7.10	7.60	7.70	7.80	8.10	7.30	6.20	5.90	5.40	5.00	4.70	3.80
1932	4.30	4.80	5.80									

MILK COWS (Dollars per head)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	42.90	39.70	44.70	47.00	42.80	48.00	51.00	45.00	45.00	45,50	46.50	46.00
1911	51.00	49.00	49.10	48.00	50.00	52.00	50.00	48.00	48.30	47.00	49.00	49.70
1912	49.30	51.00	52.90	54.00	55.00	55.20	55.00	57.20	55.80	56.20	57.30	59.20
1913	59.00	58.20	63.50	66.40	67.80	66.90	62.20	67.00	67.00	69.00	66.60	60.70
1914	67.50	68.00	69.00	70.00	68.60	70.00	75.00	70.00	73.00	77.00	76.10	72.90
1915	76.00	76.00	75.40	72.20	72.30	73.00	73.60	72.00	73.50	74.10	78.50	77.10
1916	72.10	72.00	76.00	75.00	75.80	78.00	76.60	82.00	75.20	72.70	75.00	80.00
1917	79.00	80.20	83.40	84.00	88.50	92.00	90.00	88.80	90.20	87.40	90.50	91.50
1918	89.30	92.20	87.90	92.10	96.50	95.50	88.40	94.30	93.00	90.00	97.80	92.00
1919	93.00	91.30	92.00	90.20	96.00	95.00	91.00	96.00	96.40	91.70	86.50	92.80
1920	86.10	92.60	96.50	97.00	97.20	92.80	92.60	100.70	87.00	85.00	82.00	65.50
1921	69.00	64.00	69.00	68.00	63.00	62.50	63.00	63.00	60.00	62.00	60.00	58.00
1922	60.00	60.00	63.50	65.00	68.00	68.00	65.00	63.00	59.00	55.00	53.00	56.00
1923	56.00	59.20	56.70	55.50	58.50	60.00	58.00	57.20	60.00	57.50	53.00	53.10
1924	55.00	55.00	57.00	58.00	58.00	57.90	55.00	57.00	56.50	53.00	51.00	48.00
1925	50.00	48.00	54.40	53.50	53.40	52.60	52.50	56.60	51.50	51.60	54.00	52.80
1926	58.20	59.60	61.00	61.00	61.00	61.00	63.00	64.00	58.00	56,00	59.00	63.00
1927	61.00	64.00	68.00	71.00	70.00	69.00	69.00	69.00	69.00	72.00	74.00	72.00
1928	75.00	80.00	82.00	82.00	84.00	86.00	\$8.00	88.00	93.00	92.00	89.00	84.00
1929	86.00	\$6.00	87.00	88.00	91.00	92.00	93.00	93.00	92.00	87.00	89.00	84.00
1930	85.00	80.00	74.00	73.00	75.00	76.00	68.00	63.00	64.00	62.00	61.00	59.00
1931	58.00	56.00	56.00	56.00	52.00	50.00	49.00	48.00	45.00	42.00	40.00	38.00
1932	38.00	36.00	36.00									

### ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

HORSES (Dollars per head)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	134	125	136	139	112	133	128	128	125	122	125	115
1911	129	120	125	125	122	130	115	121	129	111	115	118
1912	105	110	115	118	119	119	117	118	123	115	124	122
1913	122	118	122	122	119	120	115	112	116	105	101	105
1914	110	108	103	98	102	102	110	105	105	105	103	110
1915	111	120	118	114	116	112	114	103	110	120	125	112
1916	115	114	119	115	118	113	115	118	119	112	120	125
1917	123	121	125	126	125	136	119	126	126	136	126	127
1918	137	135	135	134	129	125	124	126	122	124	123	122
1919	124	124	123	121	128	120	113	120	109	113	105	112
1920	105	125	117	112	112	106	110	119	103	104	95	80
1921	71	77	79	82	82	80	81	79	78	68	63	60
1922	67	72	72	78	78	80	78	74	67	67	53	52
1923	60	64	66	70	70	70	65	67	70	66	60	55
1924	54	55	57	58	60	59	60	60	62	58	60	55
1925	56	63	70	75 `	64	62	62	69	66	53	61	58
1926	68	67	67	72	71	75	69	71	61	61	59	61
1927	60	63	70	69	72	60	65	68	63	65	60	61
1928	60	61	60	63	51	65	65	62	61	61	61	56
1929	54	55	59	62	57	62	61	63	63	60	56	55
1930	55	54	55	57	53	54	46	48	47	46	44	49
1931	45	48	48	48	50	45	42	40	40	39	37	37
1932	37	37	40									

#### CHICKENS (Cents per pound)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	13.0	13.3	13.5	13.4	14.1	14.6	15.0	15.0	13.6	13.5	13.2	12.4
1911	12.8	13.2	13.1	12.5	12.4	13.1	13.8	14.0	13.7	13.4	12.3	12.0
1912	12.6	12.8	13.1	13.0	12.8	13.1	13.2	13.2	12.7	12.6	12.6	12.5
1913	13.0	13.1	13.2	13.1	12.4	12.8	13.4	14.1	13.0	12.2	11.9	12.0
1914	11.3	12.7	12.2	12.2	12.6	12.3	15.0	12.5	13.0	12.0	11.4	10.4
1915	12.0	11.9	12.3	12.1	12.6	13.2	10.8	11.7	10.6	11.4	12.2	11.4
1916	11.5	11.6	11.8	11.6	13.0	12.8	12.6	13.3	13.1	12.1	12.0	11.7
1917	12.7	13.2	14.0	15.0	16.3	17.2	14.6	15.5	16.5	17.7	15.5	16.0
1918	16.4	19.5	17.9	19.3	20.0	21.0	21.5	22.0	22.1	21.0	19.2	17.4
1919	17.6	18.0	20.5	22.5	24.0	22.5	23.0	25.0	33.0	22.0	20.0	20.0
1920	20.0	22.0	23.8	24.6	25.4	25.1	26.5	28.0	22.0	22.0	21.0	17.0
1921	19.0	19.0	20.0	20.0	19.0	19.0	21.0	21.0	18.0	17.0	17.0	16.0
1922	17.0	16.0	17.0	18.0	18.0	18.0	17.0	17.0	16.0	16.0	15.0	14.0
1923	15.7	15.0	16.1	16.0	16.0	16.9	19.1	18.0	17.0	17.4	15.5	14.6
1924	15.3	15.2	16.3	17.0	18.0	17.3	19.3	18.6	17.8	15.2	15.4	14.9
1925	16.3	14.8	17.8	16.9	17.9	18.4	19.0	20.1	17.8	16.8	17.6	17.2
1926	18.5	18.1	19.6	21.3	20.3	20.3	21.7	20.7	19.4	18.5	18.4	18.9
1927	18.4	19.2	18.6	20.4	19.7	17.4	19.9	18.5	19.0	18.3	18.4	18.0
1928	17.7	17.5	17.7	18.5	20.2	18.7	20.8	18.9	20.0	19.0	19.3	18.7
1929	18.7	19.3	19.4	19.9	20.6	21.2	21.0	21.0	20.2	18.8	18.4	16.0
1930	17.2	17.2	18.0	18.6	18.0	17.1	14.9	15.2	16.5	15.2	14.0	14.1
1931	13.8	13.2	14.1	14.9	13.8	13.3	14.6	14.0	13.5	12.8	12.9	12.0
1932	12.0	11.1	11.0									

•

# ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

### BUTTER (Cents per pound)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	33	33	32	28	28	28	28	30	31	32	32	32
1911	32	28	27	26	24	24	24	25	27	28	30	32
1912	33	32	30	29	28	27	26	27	28	30	32	31
1913	31	30	30	28	27	28	28	28	29	31	32	31
1914	31	30	28	28	26	25	25	26	29	30	31	32
1915	32	30	28	27	26	26	24	26	26	28	29	30
1916	30	28	28	28	28	27	27	28	30	32	34	36
1917	36	34	34	36	38	36	36	38	41	43	44	46
1918	46	45	44	42	40	40	40	42	45	51	56	58
1919	58	50	46	52	51	48	50	52	54	57	62	66
1920	63	56	57	59	56	52	53	54	56	57	58	53
1921	46	42	40	40	34	27	29	34	37	40	42	39
1922	32	28	29	30	30	29	29	30	32	36	42	46
1923	45	44	44	42	41	40	38	38	41	43	45	45
1924	45	44	42	40	36	35	38	36	33	38	36	40
1925	40	35	37	36	37	37	38	40	41	43	49	45
1926	50	41	40	42	40	41	39	39	42	42	43	46
1927	45	44	45	45	43	41	40	40	42	45	44	46
1928	47	45	45	45	43	43	42	43	44	46	46	47
1929	47	46	46	45	45	44	43	44	45	45	42	42
1930	38	37	37	37	89	33	31	37	40	38	37	33
1931	29	28	29	29	26	25	24	27	29	33	29	28
1932	23	22	22									

EGGS (Cents per dozen)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	36	30	24	22	22	24	24	26	28	81	99	95
1911	34	28	22	18	18	18	20	22	24	27	21	96
1912	36	30	26	22	20	20	21	23	25	29	33	9.4
1918	32	27	22	17	15	17	19	21	22	29	35	37
1914	38	26	20	16	16	17	20	19	24	24	80	99
1915	32	24	18	16	15	17	17	20	21	27	89	20
1916	32	30	16	15	17	20	20	22	27	30	40	45
1917	40	37	25	27	29	31	29	34	40	40	45	50
1918	46	49	30	29	29	80	32	39	41	47	54	62
1919	59	36 '	35	33	36	35	36	42	45	53	62	72
1920	60	45	38	36	37	35	39	47	50	56	60	72
1921	59	30	25	20	17	19	25	25	25	38	.48	52
1922	34	29	19	17	22	19	19	21	25	33	40	40
1923	37	28	20	19	19	19	20	25	31	37	46	40
1924	39	33	18	19	20	21	23	26	32	36	45	40 51
1925	53	32	23	24	23	25	27	33	33	37	50	40
1926	36	27	21	23	23	23	25	27	30	37	47	40 50
1927	87	28	20	19	18	18	21	23	28	36	49	49
1928	39	26	22	20	22	22	24	28	30	35	49	40
1929	35	32	28	22	21	22	25	28	81	37	40	40
1930	35	33	20	20	19	18	18	20	25	20	40	49
1931	21	14	15.5	5.6	11.5	12.6	14.5	17.8	18.7	23 0	900	32
1932	19.0	14.0	9.0									31.0

### ESTIMATED PRICE OF FARM PRODUCTS RECEIVED BY PRODUCERS AS OF THE 15TH OF THE MONTH—Continued

#### ALFALFA (Dollars per ton)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910												
1911												
1912												
1913						<b>-</b>						
1914										6.60	7.70	7.00
1915	8.50	7.80	8.30	8.50	9.00	7.80	7.70	7.40	7.50	7.50	8.70	8.10
1916	9.00	8.80	9.50	9.70	10.50	11.50	10.20	10.50	9.60	9.70	9.85	11.50
1917	12.10	12.60	13.20	14.60	20.10	19.30	13.60	14.80	15.00	15.30	17.40	18.90
1918	18.20	18.20	16.80	15.60	15.50	14.50	14.30	15.26	17.00	17.20	17.20	17.40
1919	17.90	18.20	20.50	21.00	22.70	20.10	18.20	18.00	18.10	18.10	17.50	19.00
1920	19.50	19.90	19.00	20.10	22.60	21.60	18.30	17.20	14.50	14.00	12.50	11.70
1921	8.50	8.00	8.80	8.50	8.75	8.50	6.00	5.50	5.00	5.70	5.00	4.70
1922	4.40	6.50	7.00	7.50	7.50	7.00	7.00	9.00	9.80	9.80	10.40	11.50
1923	12.30	12.20	13.40	13.80	16.00	14.60	12.00	11.00	10.10	10.00	12.40	12.90
1924	11.00	11.50	11.00	11.00	11.30	11.00	10.00	10.30	11.00	11.50	11.70	12.20
1925	12.50	12.80	12.90	11.40	12.60	11.70	12.20	12.60	12.40	12.00	12.60	13.40
1926	13.30	11.80	11.30	12.10	10.80	10.10	9.60	9.80	9.40	9.70	10.00	10.00
1927	9.00	8.30	8.50	9.00	8.70	9.50	8.50	9.00	9.10	9.50	9.60	9.30
1928	9.10	9.00	10.00	10.20	11.90	11.20	10.20	10.40	11.40	12.30	12.30	13.10
1929	13.80	14.30	14.80	14.60	14.50	13.50	12.40	11.70	12.30	12.10	12.10	11.60
1930	11.60	11.30	10.30	9.70	9.90	9.50	9.20	9.00	9.80	10.00	9.20	9.50
1931	9.00	8.20	7.80	8.00	8.20	7.60	6.80	8.10	7.40	7.20	8.00	8.70
1932	8.60	8.60	8.70									

### BEANS, DRY (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910									4.32	4.50	4.33	4.70
1911	4.15	5.08	4.93	4.77	4.87	5.07	5.08	5.27	5.42	4.72	5.13	4.75
1912	4.60	4,43	4.42	4.82	4.65	4.25	4.23	3.92	3.83	3.93	3.18	3.00
1913	3.50	3.58	2.88	3.00	2.80	3.33	3.33	2.92	3.17	4.08	4.17	4.00
1914	3.58	3.42	3.50	3.83	3.75	3.75	3.50	4.17	4.90	3.83	3.33	3.33
1915	3.58	4.38	4.43	3.87	4.40	4.83	3.75	3.83	3.33	3.83	3.80	4.12
1916	4.73	4.78	4.27	4.87	5.17	5.17	6.33	5.83	7.00	5.00	5.83	6.83
1917	7.50	7.50	7.92	9.00	13.67	14.33	13.17	10.50	9.67	8.67	8.00	7.33
1918	8.00	8.17	8.33	8.33	8.67	8.67	8.58	7.92	8.00	7.33	7.33	6.67
1010	6.67	5.92	5.33	5.00	5.00	5.33	5.33	5.83	6,17	5.50	5.83	6.00
1920	6.42	6.33	5.83	5.92	6.17	6.17	6.17	6.17	6.00	5.50	5.25	4.73
1021	3 00	3.67	3.75	4.00	3.67	4.33	4.50	4.50	4.50	4.50	4.50	4.58
1921	4 50	4.83	5.50	5.58	5.83	6.00	5.83	5.42	5.33	5.42	7.33	7.83
1022	7 50	8 67	8.33	8.33	8.08	8.25	7.67	7.83	6.57	7.00	6.17	5.17
1020	5.00	4.92	4.92	4.50	4.33	4.50	4.33	4.75	5.00	5.67	5.17	4.83
1025	5.33	5.83	6.00	6.33	6.83	6.05	6.33	6.50	4.75	4.98	4.00	4.67
1096	3 70	3.98	3.80	3.90	4.20	4.50	5.00	4.70	4.30	4.40	4.80	4.90
1027	1 90	4 90	5.00	5.50	5,60	5.80	5.90	6.10	6.15	5.10	4.40	4.55
1921	4.00	5.40	5.60	6 10	6.10	6.30	6.20	5.40	4.75	5.00	5.20	5.70
1920	5.80	5.95	5.90	6.25	6.05	6.20	6.25	6.25	6.25	5.30	4.90	4.60
1949	4 30	1 20	4 30	4.15	4.30	4.30	4.00	4.25	4.40	3.20	2.45	2.15
1001	2 15	2 15	2 10	1 95	1.80	1.65	1.60	1.50	1.50	1.30	1.95	1.50
1932	1.45	1.25	1.20	1.25								

The estimated number of livestock in Colorado on January 1, 1932, compared with January 1, 1931, shows an increase in swine, range cattle, milk cows, sheep and lambs on feed, no change in the number of farm and range sheep, and a decreased number of horses, mules, and cattle on feed. Colorado livestock on January 1, 1932, were valued at \$60,656,000, compared with \$97,617,000 on January 1, 1931, and \$130,515,000 on January 1, 1930.

When the numbers of all livestock are combined into units, which allows for difference in size and feed requirements among the several species, the total number of animal units on January 1, 1932, was about 1 per cent more than on January 1, 1931. In spite of increased numbers of all livestock declining prices have drastically reduced inventory values. Feed supplies are very limited. On May 1, 1932, farm hay stocks were 5 per cent of the total 1931 production, compared with 12.5 per cent a year ago, and 11 per cent of the five-year (1927-1931) average.

**Cattle**—Cattle numbers remain unchanged from a year ago and are estimated at 1,541.000 head. This is a reduction of 216,000 head from 1,757.000 on hand January 1, 1920. Colorado cattle and calves were valued at \$34,670,000 on January 1, 1932, compared with \$58,324,000 on January 1, 1931, and \$73.985,000 on January 1, 1930. There has been a gradual increase in milk cow numbers since 1920 and on January 1, 1932, it was estimated there were 266,000 cows and heifers two years old and over being kept for milk. This compares with 260.000 on January 1, 1931, and is an increase fo 64,000 over the 202,000 head on farms January 1, 1920. Beef cattle showed a slight decrease, with a marked reduction from the year before in the number of cattle and calves. The 1931 marketings of cattle and calves were about 583.000, of which 529,000 were cattle and 54,000 were calves. In 1930, 458,000 cattle and 50,000 calves were marketed, and in 1929, 529,000 cattle and 55,000 calves.

Sheep—The Colorado sheep population on January 1, 1932, was 3,361,000 head, compared with 3.351,000 sheep and lambs on hand January 1, 1931, and 3,750,000 on January 1, 1930. Colorado sheep and lambs on January 1, 1932, were valued at \$10,575,000, compared with \$18,659,000 the previous year and \$33,843,000 on January 1, 1930. The number of farm and range sheep was estimated at 1,801,000 head on January 1, 1932, or no change from a year earlier, and compares with 1,715,000 on hand January 1, 1930. Stock sheep have shown a steady increase since 1922, when Colorado had 900,000 head. The 1931 lamb crop was 1.230,000 head, compared with 1.245,000 in 1930 and 1,033,000 in 1929. The numbers of lambs saved, per one hundred ewes, one year old and over, on hand January 1, was 82 in 1931, compared with 85 in 1930 and 78 in 1929. Colorado had 1,560,000 sheep and lambs on feed on January 1, 1932. This compares with 1.550,000 on January 1, 1931, and 2,035,000 on January 1, 1930, which was the largest number on record.

Wool—Colorado wool clip in 1931, was estimated at 13,541,000 pounds; in 1930 at 13,446,000 pounds. Fleeces in 1931 averaged 7.8 pounds and in 1930. 8.1 pounds.

Hogs—Colorado hogs, including pigs. were estimated at 624.000 head on January 1, 1932, compared with 520.000 on January 1, 1931 and 495,000 on January 1, 1930. On January 1, 1932, hogs were valued at \$3,271,000, compared with \$5,769.000 the previous year and \$5,943,000 on January 1, 1930. Marketings of hogs in 1931, amounted to 380,000 head compared with 391.000 head in 1930, and 451,000 head in 1929. The June 1931 pig survey indicated that about 118.1 per cent as many sows farrowed in the spring of 1931 as the previous spring, with an average of 5.5 pigs saved per litter, compared with 5.6 pigs per litter in the spring of 1930, making the total pig crop 116.7 per cent of the spring crop in 1930. The pig survey in the fall of 1931, showed that 144.5 per cent as many sows were farrowed as in the fall of 1930, with an average of 5.8 pigs per litter, or the same as the fall of 1930. This indicates that 144 per cent as many pigs were saved in the fall of 1931 as in the fall of 1930. The survey also indicated that the number of sows bred for next spring's farrowing was 126.6 per cent of the number farrowed in the spring of 1931. Horses—There has been a gradual reduction in the number of work stock in Colorado, and it is estimated that 324,000 horses and colts were on farms on January 1, 1932, compared with 331,000 on January 1, 1931, and 338,000 on January 1, 1930. There were 421,000 horses and colts on Colorado farms January 1, 1920. January 1, 1932, horses and colts were valued at \$11,008,000 compared with \$13,420,000 on January 1, 1931; \$15,023,000 on January 1, 1930, and \$33,375,000 on January 1, 1920.

#### CATTLE AND SHEEP FEEDING

**Cattle Feeding**—Cattle feeding is an important part of the agriculture in the irrigated sections of northern Colorado, the Arkansas valley and the Western Slope. The feeding of cattle provides an outlet for by-products from the sugar beet factories, surplus alfalfa hay, grains and other feeds.

It is estimated that there were 74,000 cattle and calves on feed for market January 1, 1932, compared with 142,000 on January 1, 1931.

#### Estimated Number of Cattle on Feed by Sections

1932	1931	1930	1929	1928	1927
Northern Colorado	120,000	105,000	120,000	120,000	130,000
Arkansas Valley 9,000	14,000	14,000	13,000	12,000	12,000
Western Slope 2,000	3,000	3,000	3,000	4,000	4,000
Other Sections 3,000	5,000	3,000	4,000	4,000	4,000
- <del></del>	<u> </u>				
State Total	142.000	125.000	140.000	140.000	150.000

Lamb Feeding—Colorado is the leading lamb feeding state and had 1,560,000 lambs on feed January 1, 1932, compared with 1,550,000 on January 1, 1931, and 2,035,000 on January 1, 1930.

On January 1, 1932, Colorado had 25.2 per cent of the lambs on feed in the United States.

Northern Colorado and the Arkansas valley are the leading lamb feeding areas, with smaller operations in the San Luis valley and Western Slope sections.

During the past 10 years northern Colorado has averaged about 1,100,000 lambs on feed. Larimer and Weld counties are the leading counties in lamb feeding, each county having fed annually from 400,000 to 500,000 lambs. This is a larger number than is fed in any Corn Belt state except Nebraska.

Lamb feeding operations have increased during the past few years in the Fort Morgan-Sterling section of northeastern Colorado.

Year	Northern Colorado	Arkansas Valley	San Luis Valley	Western Slope	Miscel- laneous Sections	State Total
1922		225,000	30,000	25,000		1,040,000
1923	<b>1,175,00</b> 0	235,000	65,000	25,000		1,500,000
1924		170,000	55,000	25,000		1,400,000
1925	1,250,000	265,000	60,000	25,000		1,600,000
1926		285,000	75,000	25,000		1,475,000
1927	520,000	177,000	54,000	19,000		770,000
1928	1,265,000	275,000	30,000	10,000		1,580,000
1929		385,000	22,000	13,000	· · · · · · ·	1,520,000
1930	1,490,000	475,000	45,000	25,000		2,035,000
1931	975,000	360,000	90,000	80,000	45,000	1,550,000
1932		360,000	35,000	25,000	40,000	1,560,000

ESTIMATED NUMBER OF SHEEP AND LAMBS ON FEED JANUARY 1 OF EACH YEAR ---BY SECTIONS

Note-"Miscellaneous Sections" division first established in 1931.

Year	Colorado Number	Per cent of total in United States	United States Number
1914			
1915	1,116,000		
1916			
1917	1,250,000		
1918	1,135,000		
1919			
1920			· · · · · · · · ·
1921			· · · · · · · · · ·
1922			
1923		34.5%	4,351,000
1924	1,400,000	32.6%	4,297,000
1925		39.7%	4,028,000
1926		31.7%	4,646,000
1927		18.0%	4,284,000
1928		35.2%	4,488,000
1929		31.5%	4,822.000
1930		34.6%	5,886,000
1931		28.6%	5,428,000
1932		25.2%	6,186,000

# ESTIMATED NUMBER OF SHEEP AND LAMBS ON FEED JANUARY 1

Note-United States estimates were not made prior to Jan. 1, 1923.

	COLOR	ADO	UNITED STATES				
Year		Weight	Prod	Weight			
	Production Pounds	Per Fleece	Shorn, Lbs.	Pulled, Lbs.	Per Fleece		
1920	6,266,000	6.5	244,179,000	42,900,000	7.3		
1921	6,325,000	6.7	235,129,000	48,500,000	7.3		
1922	6,138,000	6.6	221,713,000	42,000,000	7.3		
1923	6,486,000	6.9	225,696,000	42,500,000	7.5		
1924	6,486,000	6.9	235,575,000	43,800,000	7.6		
1925	6,956,000	7.4	252,832,000	46,800,000	7.6		
1926	8,132,000	7.6	268,900,000	49,600,000	7.7		
1927	8,877,000	7.3	289,909,000	50,100,000	7.7		
1928	11,300,000	8.1	314,588,000	51,900,000	7.9		
1929	12,269,000	7.8	327,566,000	54,500,000	7.8		
1930	13,446,000	8.1	351,521,000	61,900,000	7.9		
1931	13,541,000	7.8	369.315.000	66,100,000	80		

### WOOL PRODUCTION

Year	Colorado Pounds	Per cent of Preceding Year	United States Pounds	Per cent of Preceding Year
1919			868,125,000	••••
1920		98.7	863,577,000	99.5
1921		117.8	1,054,938,000	122.2
1922	16,410,000	107.3	1,153,515,000	109.3
1923		113.5	1,242,214,000	107.7
1924		97.3	1,356,080,000	109.2
1925		103.7	1,361,526,000	100.4
1926		97.1	1,451,766,000	106.6
1927		114.3	1,496,495,000	103.1
1928		103.6	1,487,049,000	99.4
1929		101.4	1,597,027,000	107.4
1930		103.3	1,595,231,000	97.4
1931		98.4	1,626,338,000	101.9

### ESTIMATED CREAMERY BUTTER PRODUCTION

CORN AND HOG RATIOS FOR THE UNITED STATES, 1910-1932

Number of Bushels of Corn Required to Buy 100 Pounds of Live Hogs Based on Averages of Farm Prices of Corn and Hogs for the Month

Year	January	February	March	April	May	June	July	August	September	October	November	December	Average
	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.
1910	12.2	12.0	13.6	14.4	13.3	12.9	12.2	11.7	13.0	14.2	15.1	14.9	13.3
1911	15.3	14.4	13.7	12.1	10.7	9.8	9.4	9.9	9.9	9.3	9.3	9.3	11.1
1912	9.1	8.8	8.6	9.0	8.4	8.1	8.3	9.1	10.1	12.0	13.2	14.1	9.9
1913	13.6	13.9	14.4	14.4	12.7	12.3	12.1	11.1	10.2	10.4	10.5	10.3	12.2
1914	10.8	11.3	11.2	10.9	10.3	9.9	10.1	10.3	10.2	10.0	10.4	10.2	10.5
1915	9.5	8.6	8.4	8.5	8.7	8.7	8.7	8.5	9.2	10.8	10.6	10.1	9.2
1916	9.8	10.5	11.4	11.5	11.4	11.0	10.9	10.6	11.1	10.4	10.1	9.8	10.7
1917	9.9	10.5	11.5	10.3	8.8	8.3	7.4	7.7	9.0	10.1	11.2	12.0	9.7
1918	11.2	10.3	10.1	10.2	10.3	10.0	9.9	10.1	10.8	11.0	11.5	11.8	10.6
1919	11.1	11.3	11.2	11.1	10.8	10.2	10.5	10.2	9.3	9.7	9.2	9.2	10.3
1920	9.3	9.2	8.9	8.4	7.6	7.1	7.8	8.5	10.1	13.0	15.0	13.2	9.8
1921	13.5	13.5	14.3	13.0	12.5	11.6	13.1	14.8	14.0	15.9	16.0	15.2	14.0
1922	15.4	16.5	15.8	15.7	15.0	14.7	14.7	13.7	13.4	13.4	12.8	11.7	14.4
1923	11.1	10.9	10.2	9.8	8.8	7.9	7.5	7.7	8.5	8.8	8.2	9.0	9.0
1924	9.0	8.5	8.6	8.6	8.5	8.1	6.7	8.0	7.7	8.7	8.7	7,9	8.2
1925	8.3	8.4	10.6	11.2	10.0	9.7	11.5	11.4	11.6	13.4	14.3	14.9	11.3
1926	15.8	17.2	17.5	17.5	17.8	18.7	17.7	14.7	15.8	16.2	17.3	17.0	16.9
1927	17.1	16.8	16.7	15.9	12.9	9.4	9.3	9.5	10.3	11.6	12.2	10.8	12.7
1928	10.3	9.6	8.7	8.4	8.6	8.5	9.4	10.2	11.7	11.3	11.3	10.4	9.9
1929	10.2	10.2	11.3	11.7	11.6	11.3	11.3	10.7	9.8	9.9	10.5	10.9	10.8
1930	11.4	12.2	12.8	11.7	11.6	11.5	10.9	9.5	10.3	10.7	12.4	11.5	11.4
1931	11.8	11.6	12.0	12.0	11.3	10.6	11.5	12.3	12.6	14.1	11.9	10.9	11.9
1932	11.2	10.9											

#### COLORADO LIVESTOCK ASSESSMENTS

	HORS	SES			MULES		RAN	GE CATTL	Е
Year	Number	Assessed	Aver. Per		Assessed	Aver. Per	Number	Assessed	Aver. Per
1010	ivumber	value	Head	Number	Value	Head	Number	value	Head
1910	246,975	\$7,506,000	\$30.39	14,277	\$ 524,559	\$36.74	720,297		
1911	259,990	7,752,000	29.81	16,741	601,292	35.91	715,315		
1012	200,011	7,254,000	28.38	16,821	600,442	35.69	701,542		
1014	270,000	18,028,000	63.99	19,329	1,568,328	81.12	793,957	\$23,912,000	\$30.11
1915	206 269	18,211,000	65.05	19,635	1,669,737	85.03	868,261	30,167,000	34.73
1916	308.062	20,031,000	67.59	23,284	1,991,820	85.64	997,823	37,548,000	37.63
1917	326 002	23 837 000	70.54	26,280	2,303,481	87.04	1 1 1 47 499	41,864,000	39.38
1918	352 794	26,836,000	76.14	29,209	2,110,010	92.00	1 969 616	40,000,000	40.00
1919	354 868	25,254,000	71.10	29,838	2,843,990	90.01 00 EC	1 996 547	56 080 000	40.10
1920	337 903	22 856 000	67.65	00,040	2,000,101	96.29	1 107 490	51 994 000	44.00
1921	333.669	18 495 000	55 49	20,002	2,410,010	69.56	1 123 594	S1 856 000	944.00
1922	318,808	15,350 168	48 15	21 741	1 787 969	56 31	1 112 299	29 719 000	26.00
1923	304.262	11,901,589	39 12	92 528	1 499 818	46 10	1 060 189	26 084 000	24 60
1924	290,784	10.722.327	36.87	35 325	1 495 797	42.34	972.984	20,619,000	21 20
1925	280,094	10.248.460	36.59	32 939	1.417.710	43.04	905,618	18.023.000	19.90
1926	268,346	9,634,799	35,90	31,653	1,335,301	42.19	828,797	17.095.126	20.62
1927	250,008	8,764,003	35.06	30,306	1.250.836	41.27	804.545	18.212.260	21.98
1928	239,759	8,207,666	34.23	26,189	1.116.295	42.63	796,725	23,622,220	29.64
1929	233,855	7,893,333	33.75	25,318	1,072,270	41.92	793,974	27,050,976	34.07
1930	225,609	7,294,217	32.33	21,994	917,187	41.70	800,198	27,312,372	34.13
1931	216,811	6,704,193	30.92	20,588	803,274	39.02	864,846	23,119,472	26.73
	DAIRY C	ATTLE		R STC	ANGE OR DCK SHEEP			SWINE	
Year	Number	Assessed Value	Aver. Per Head	Number	Assessed Value	Aver. Per Head	Number	Assessed Value	Aver. Per Head
1910	63,671			1.463.861	\$ 2.165.838	\$ 1.48	60.871	\$ 253 678	\$ 4 16
1911	70,996			1,757,771	2.400.404	1.36	75,954	281,762	3.68
1912	66,273			1,352,900	1,788,897	1.32	70.261	245,102	3.48
1913	73,768	\$3,324,000	\$45.06	1,579,560	4,776,626	3.02	83,859	630,919	7.52
1914	97,732	4,994,869	51.10	1,555,165	4,853,413	3.12	112,342	883,609	7.86
1915	101,037	5,786,218	57.26	1,157,544	4,032,950	3.48	163,143	1,183,742	7.25
1916	110,298	6,727,172	60.99	1,044,380	5,092,433	4.88	181,169	1,359,799	7.50
1010	127,342	7,919,512	63.69	1,003,168	7,182,427	7.16	165,329	1,630,154	9.86
1010	137,125	9,449,630	68.91	1,164,411	12,659,415	10.87	194,576	2,768,632	14.23
1020	142 001	10,170,007	71.06	1,089,037	11,386,972	10.46	199,988	2,955,440	15.14
921	145,981	7 081 501	70.56	915,394	9,230,084	10.08	182,097	2,129,493	12.00
922	1/0 110	7,981,091	65.02	855,873	3,216,728	3.76	175,064	1,619,404	9.37
928	149 169	6 945 997	48.92	810,114	0,441,980 1,900,000	4.22	209,017	1,882,647	9.14
924	149 425	6 038 056	40.02	800,400	4,390,920	5.70	259,917	2,211,060	8.61
1925	147 411	5 789 318	30.97	860 600	6 189 636	7 10	109 170	1,794,677	7.29
1926	147.176	5,795,951	39.38	1 014 931	7 421 145	7 81	140 768	1,400,804	7.92
927		6.467.821	39.86	1.212.716	9.028.761	7.45	164 059	1,440,208	5.85
928	148,474	7.390.272	49.78	1.260.863	10.234.087	8.12	172 200	1,001,001	9.98
929		8.505.365	47.82	1.436.385	10.644.536	7.41	184 530	1 802 000	9.13
930		8,092,468	47.22	1,486,492	8,340,788	5.61	178,906	1.746.068	9.11
1931	168,487	6,548,819	38.87	1,508,675	5,446,916	3.61	184,383	1,652,581	8.96
Note	: The discre	pancy betw	een cens	us and asses	sors' figures	is less	than appear	s from the	totals,

as enumerations are made at different seasons and not on an identical basis. In 1913 Colorado's assessment basis was raised from one-third of actual value to full value, accounting for the large increase in 1913 values.

C	ATTLE FED IN TRANSIT	SHEEP FED IN	I TRANSIT	
Year	Number	Assessed Value	Number	Assessed Value
1916 1917 1918 1919 1920	47,292 77,211 78,651 	\$ 927,860 1,149,145 1,447,860 1,643,400 1,286,830	767,468 946,156 806,560 656,455 666,810	\$ 591,870 929,650 1,420,495 1,151,155 929,150
1922 1923 1924 1925 1926	77,813           82,480           83,248           85,829           92,857           96,495	1,077,590 685,285 581,495 708,895 760,645 928,495	1,029,242 762,872 1,187,399 1,137,349 1,870,479 1,811,481	679,600 730,805 1,115,046 1,135,710 1,485,635 1,270,847
1927 1928 1929 1930 1931	122,462 101,877 127,500 128,828 136,268	1,156,235 1,239,890 1,839,000 1,274,889 1,576,450	678,984 1,392,935 1,582,282 1,863,330 1,302,892	1,270,847 883,156 1,660,625 1,750,968 1,424,824 997,090

Note: Assessment made on April 1. Cattle Fed in Transit covers cattle in feed lots after January 1. Sheep Fed in Transit covers sheep and lambs in feed lots after January 1 and also some sheep on summer range.

### STOCKYARD RECEIPTS OF LIVESTOCK FROM COLORADO\*

SHEEP	AND	LAMBS†
131	1	· • • • • • • • • • • • • • • • • • • •

		(Number o	f Head)			
MONTH	1926	1927	1928	1929	1930	1931
January	170,690	65,858	150,706	189,086	232,928	131,753
February	295,756	90,911	425,693	328,893	381,263	271,120
March	518,824	278,440	010,871	401,271	624,761	494,331
	415,676	308,101	440,340	440,201	007,307	007 252
May	130,790	90,040	19 095	49 096	15 201	10 586
Julie	29 569	17.008	38 979	20,708	20,697	10,000
August	49 991	59 /19	58 690	47 280	46 132	48 632
Sentember	290,935	238 242	289,489	245,997	304,553	290,428
October	397 272	493.764	584,920	492,127	444,945	403,409
November	93,019	122.274	110.833	115.765	130,233	128,602
December	51,974	75.100	65,263	70,479	68,353	112,046
Total	2,467,198	1,857,249	2,789,691	2,645,106	3,115,288	2,645,554
		CATI (Number o	TLE of Head)			
•		1	1	1	1	, <u> </u>
January	36,071	55,566	49,754	44,856	44,553	34,305
February	24,073	43,742	32,689	23,999	29,933	24,547
March	42,269	46,279	35,956	44,521	49,664	37,000
April	37,514	40,950	44,565	47,698	42,769	40,300
May	32,794	43,940	28,890	43,182	30,801	00,807
June	22,983	17,699	18,200	22,000	14 800	40,049
July	14,052	10,279	13,908	20,410	14,890	24 025
August	10,700	20.791	10,920	97 169	20.848	33 486
September	41,041	117 551	42,022	94 258	66 681	68 451
October	101 461	100 519	92 206	88 951	63 023	99,913
December	39,712	40,531	54,516	44,372	39,160	35,828
Total	490,942	567,548	525,716	528,598	457,613	528,879
		CAL (Number)	VES of Head)			
	1.035	1 000	6 799	6 595	E 924	5 959
January	4,617	4,809	0,120	2 770	3 /87	2 300
February	3,072	2 215	3 188	3 778	4 024	2 945
April	3,503	3,393	4 4 4 4 7	5,302	3,297	3,507
May	4 777	3 543	3,394	4,268	2,943	3,971
June	3 600	2,955	2.570	3,220	2.854	2.942
July	2 262	2,300	2,392	2,705	2.034	2,480
August	3,605	3.256	2,729	2,741	1,867	3,424
Sentember	4.375	3,119	3,397	3,038	2,509	4,327
October	5,009	9,602	11,804	6,031	7,061	6,404
November	7,173	10,223	9,457	10,235	8,569	10,762
December	3,189	3,160	4,636	4,530	5.034	5,172
Total	49,025	52,716	58,118	55,162	49,513	54,092
. <u></u>		HO (Number	GS of Head)			
	1	1	<u> </u>	1		1
January	27,336	34,695	44,572	57,733	47,997	39,582
February	27,703	33,984	44,919	49,897	44,382	35,781
March	36,124	37,934	40,940	46,125	38,581	31,812
April	33,736	26,656	35,468	42,897	41,505	29,908
Мау	24,102	31,112	32,107	39,845	37,425	34,980
June	21,434	25.147	29,534	32,575	33,320	34,298
July	13,138	15,578	24,138	31,733	20,941	01,490
August	18,813	15,975	10,089	28,034	20,030	25,000
September	16,911	14,737	21,737	48,030	24,029	20,004
October	11,707	14,739	27,429	30,306	24,192	07,000
November	21,064 23,727	21,470 24,071	39,492	37,230	28,630	29,894
Metal	275 705	296 098	387.551	451.379	391.421	380.141
10181	210,190	230,030				

\*Some duplication between markets has been eliminated. The figures include all stockyards receipts of Colorado livestock, whether shipped to Colorado stockyards or to yards in other states.

<sup>†</sup>Net receipts include some New Mexico, Wyoming and Utah sheep shipped from Colorado points.

# ESTIMATED NUMBERS AND VALUES OF LIVESTOCK ON FARMS JANUARY 1

### ALL CATTLE AND CALVES

		COLORAL	0			UNITE	D STATES		
	Nur	nbers	Values, Dollars		Nu	mbers	Values, Dollars		
Year	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate	
1910 1920 1921 1922 1923 1924 1925 1926 1927 1928 1929 1930 1931	155.5 95.8 99.8 96.1 95.4 95.1 96.0 100.0 97.9 103.2 102.3 106.0	1,130,000 1,757,000 1,683,000 1,680,000 1,540,000 1,465,000 1,406,000 1,406,000 1,377,000 1,421,000 1,454,000 1,541,000	\$27,50 49,70 36.90 29,40 28,30 27,70 26,00 32,00 36,20 46,70 55,30 50,90 37,80	\$31,075,000 87,323,000 62,103,000 49,392,000 45,676,000 42,658,000 38,090,000 44,992,000 50,897,000 64,306,000 78,581,000 78,581,000 58,324,000	113.8 97.6 100.0 98.1 97.7 95.9 95.0 95.9 98.6 102.1 103.2 102.0	61,803,000 70,325,000 68,633,000 67,384,000 65,832,000 63,115,000 59,977,000 57,528,000 56,701,000 57,878,000 59,730,000	\$ 24.50 52.67 39.10 30.41 31.69 32.14 31.77 36.94 40.11 50.81 58.77 56.69 30.31	\$1,513,063,000 3,703,896,000 2,683,246,000 2,185,710,000 2,116,009,000 2,005,351,000 2,215,400,000 2,307,401,000 2,800,802,000 3,401,534,000 3,386,010,000 2,364,11,000	

# COWS AND HEIFERS 2 YEARS OLD AND OVER KEPT FOR MILK

158.6	145,000	\$86.00	\$19.780.000	104.0	20.625,000	\$ 35.29	\$ 727,856,000
101.7	234,000	69.00	16 146 000	99.9	21,455,000	61.01	
102.6	240,000	56.00	13,440,000	101.8	21.822.000	48.69	1 062 478 000
102.1	245,000	52.00	12,740,000	101.3	22,099,000	48.68	1.075.752.000
102.0	250,000	49.00	12,250,000	100.9	22,288,000	49.94	1,113,127,000
102.4	256,000	44.00	11,264,000	101.0	22,505.000	48.38	1,088,900,000
100.0	256,000	49.00	12,544,000	99.1	22,311,000	54.73	1,221,113,000
100.4	257,000	56.00	14,392,000	99.3	22,159,000	59.24	1,312,673,000
	257,000	69.00	17,733,000	99.9	22,129,000	73.47	1,625,875,000
100.4	255,000	72.00	19,860,000	100.9	22,330,000	83.99	1,875,538,000
100.4	260,000	56.00	14 560 000	102.6	22,910,000	82.80	1,897,011,000
102.3	266,000	36.00	9,576,000	102.8	24,379,000	39.61	965,758,000
	158.6 101.7 162.6 102.1 102.0 102.4 100.0 100.4 100.4 100.4 100.4 100.4 100.4	$\begin{array}{c ccccc} & 145,000\\ 101.7 & 234,000\\ 101.7 & 234,000\\ 102.6 & 240,000\\ 102.1 & 245,000\\ 102.0 & 250,000\\ 102.4 & 256,000\\ 100.0 & 255,000\\ 100.4 & 257,000\\ 100.4 & 257,000\\ 100.4 & 258,000\\ 100.4 & 258,000\\ 100.4 & 260,000\\ 102.3 & 266,000 \end{array}$	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c c c c c c c c c c c c c c c c c c $	$\begin{array}{c c c c c c c c c c c c c c c c c c c $	$\begin{array}{c c c c c c c c c c c c c c c c c c c $

### HEIFERS 1 TO 2 YEARS OLD BEING KEPT FOR MILK COWS

	A DESCRIPTION OF A DESC								
	1	1			1 1			i.	
1		4,420,000				46,000			1920
i		4 164 000	94.2			47,000	102.2		1921
		3 972 000	95.4			48 000	102.1	1	1922
i		4 155 000	104.6			49,000	102 1	- 1	1923
		4.155,000	104.0			49,000	102.1		1024
!		4,143,000	99.7			30,000	102.0		1005
		4,171,000	100.7			55,000	110.0		1925
		4,045,000	97.0			55,000	100.0		1926
	1	4.048.000	100.1			55,000	100.0		1927
		4 158 000	102.7			56,000	101.8		1928
		4 404 000	105.9			57 000	101.8		1929
		4,500,000	106.7			57 000	100.0	1	1930
		4,700,000	100.7			57,000	100.0		1091
		4,777,000	101.6			57,000	100.0	i	1931
		4,665,000	97.7	!		59,000	103.5		1932
	1				i i	, ,			

# ALL SHEEP AND LAMBS. INCLUDING SHEEP AND LAMBS ON FEED

1910 1920 1921 1922 1923	137.7 114.4 86.3 126.2	1,426,000 1.964,000 2,247,000 1,940,000 2,449,000	\$ 4.80 9.10 5.40 4.70	\$ 6,845,000 17,872,000 12,134,000 9,118,000	77.4 96.9 93.5	52,488.000 40,643,000 39,378,000 36,821,000		\$ 216.030,000 424,644.000 246.744,000 176,447,000
1924 1925 1926 1927 1928 1929 1930 1931	98.0 110.2 100.0 80_0 147.2 103.3 120.3 89.4	$\begin{array}{c} 2,327,000\\ 2,565,000\\ 2,565,000\\ 2,051,000\\ 3,020,000\\ 3,118,000\\ 3,750,000\\ 3,351,000\\ 3,351,000\\ \end{array}$	$\begin{array}{c} 7.40 \\ 10.30 \\ 10.50 \\ 9.40 \\ 9.60 \\ 10.60 \\ 9.00 \\ 5.60 \end{array}$	$1^{7},220,000$ 26,420,000 26,933,000 19,279,000 28,992,000 33,051,000 33,843,000 18,659,000	$100.9 \\ 103.7 \\ 104.7 \\ 105.3 \\ 106.7 \\ 106.9 \\ 106.5 \\ 102.7 \\ 102.$	$\begin{array}{c} 37,020,000\\ 38,392,000\\ 40,183,000\\ 42,302,000\\ 45,121,000\\ 48,249,000\\ 51,383,000\\ 52,745,000\\ \end{array}$	$\begin{array}{r} 7.88\\ 9.68\\ 10.48\\ 9.67\\ 10.22\\ 10.59\\ 8.94\\ 5.35\end{array}$	$\begin{array}{c} 291,840,000\\ 371,639,000\\ 421,086,000\\ 409,184,000\\ 461,198,000\\ 510,869,000\\ 459,208,000\\ 459,208,000\\ 282,352,000\end{array}$
1932	100.8	3,361,000	3.10	10,575,000	102.2	53.912.000	3.40	183,255,000

# ESTIMATED NUMBERS AND VALUES OF LIVESTOCK ON FARMS JANUARY 1

		COLORAD	00		UNITED STATES			
	Numbers		Values, Dollars		Numbers		Values Dollars	
Year	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate	Fer Cent Prec'd'g Year	Total Number	Per Head	Aggregate
1910 1920 1921 1922 1923 1924 1925 1926 1927 1928 1929 1930 1931 1932	251.4 92.0 109.9 130.1 97.1 85.7 89.8 100.0 114.8 108.0 90.0 105.0 120.0	$\begin{array}{c} 179,000\\ 450,000\\ 414,000\\ 552,000\\ 575,000\\ 575,000\\ 493,000\\ 443,000\\ 443,000\\ 443,000\\ 599,000\\ 550,000\\ 495,000\\ 520,000\\ 520,000\\ 524,000\end{array}$		$\begin{array}{c} \$ 1.566,000\\ 8.010,000\\ 5.051,000\\ 4.322,000\\ 6.157,000\\ 5.405,000\\ 5.374,000\\ 6.025,000\\ 7.088,000\\ 6.668,000\\ 6.665,000\\ 5.943,000\\ 5.769,000\\ 3.271,000\\ \end{array}$	$\begin{array}{c} \hline 103.4\\ 98.0\\ 101.5\\ 115.8\\ 96.1\\ 83.8\\ 93.4\\ 106.5\\ 111.4\\ 95.2\\ 94.1\\ 98.3\\ 169.4\\ \end{array}$	$\begin{array}{c} 58.186, c00\\ 60, 159, 000\\ 58, 942, 000\\ 59, 849, 000\\ 69, 304, 000\\ 66, 576, 000\\ 55, 770, 000\\ 55, 770, 000\\ 55, 778, 000\\ 61, 772, 000\\ 55, 468, 000\\ 61, 772, 000\\ 55, 301, 000\\ 54, 374, 000\\ 59, 511, 000\\ \end{array}$	\$ 9.17 20.00 13.63 10.58 12.29 10.30 13.15 15.66 17.19 13.17 12.94 13.46 11.36	\$ 533,309,000 1,203,052,000 803,544,000 851,838,003 655,574,000 953,495,000 815,412,000 953,495,000 760,695,000 764,308,000 617,668,3000 345,133,000

### SWINE, INCLUDING PIGS

# 'HORSES AND COLTS

1910	1421	294,000	\$93.13	\$27,380,000	101.0	19,833,000	\$108.00	\$2,141,964,000
1921 1922 1923	100.0 98.6 96.4	421,000 415,000 400,000	$63.00 \\ 56.00 \\ 48.00$	26,523,000 23,240,000 19,200,000	96.4 96.9 96.6	19,366,000 18,760,000 18,123,000	56.48 84.54 71.05 70.51	1,938,447,000 1,637,181,000 1,332,822,000 1,277,873,000
$     1924 \\     1925 \\     1926 \\     1927 $	96.3 95.3 98.1 96.1	385,000 367,000 360,000 346,000	$45.00 \\ 43.00 \\ 47.00 \\ 44.00$	17,325,000 15,781,000 16,920,000 15,224,000	95.8 95.8 96.6 95.6	17,365,000 16,640,000 16,067,000 15,368,000	$     \begin{array}{r}       65.42 \\       64.28 \\       65.32 \\       63.74     \end{array} $	1,135,967,000 1,069,654,000 1,049,442,000 979,500,000
$1928 \\ 1929 \\ 1930$	99.1 100.0 98.5	$343,000 \\ 343,000 \\ 338,000$	$\begin{array}{r} 43.00 \\ 47.00 \\ 44.00 \end{array}$	$\begin{array}{r}14,749,000\\16,121,000\\15,023,000\end{array}$	96.0 96.2 96.3	$\begin{array}{c} 13,033,000\\ 14,768,000\\ 14,203,000\\ 13,684,000 \end{array}$	66.68 69.63 69.86	979,309,000 984,763,000 988,953,000 955,964,000
$\frac{1931}{1932}$	97.9 98.0	331,000 324,000	$\begin{array}{c} 41.00\\ 34.00\end{array}$	13,420,000 11,008,000	$96.2 \\ 96.3$	$\begin{array}{c}13,165,000\\12,679,000\end{array}$		795,541,000 676,698,000

#### MULES AND MULE COLTS

$1910 \\ 1920$	210.9	14,700 \$122.03 31,000 102.00	\$ 1,794,000 3,162,000	134.3	4,210,000 5,656,000	$\$120.20 \\ 148.25$	\$ 506,042,000 838,530,000
1921	103.2	32,000 91.00	2,912,000	102.1	5,772,000	117.37	677,475,000
1922	106.3	34,000 70.00	2,380,000	101.0	5,827,000	88.99	518,558,000
1923	105.9	36,000 62.00	2,232,000	101.2	5,895,000	86.86	512,067,000
1924	105.6	38,000 61.00	2,318,000	100.2	5,908,000	85.89	507,435,000
1925	100.0	38,000 57.00	2,166,000	100.2	5,918,000	82.91	490,668,000
1926	97.3	37,000 59.00	2,183,000	99.7	5,903,000	81.51	481,153,000
1927	94.6	35,000 55.00	1,925,000	98.3	5,801,000	74.50	432,181,000
1928	91.6	32,000 56.00	1,792,000	97.3	5,647,000	79.79	450,585,000
1929	96.9	31,000 58.00	1,798,000	97.3	5,496,000	82.39	452,825,000
1930	96.8	30,000 57.00	1,721,000	97.6	5,366,000	83.76	449,480,000
1931	93.3	28,000 52.00	1,445,000	97.2	5,215,000	69.17	360,736,000
1932	96.0	27,000 42.00	1,132,000	97.4	5,082,000	60.69	308,440,000

#### TOTAL VALUE OF ALL LIVESTOCK JANUARY 1

C	Colorado	United States	Colorado	United States
1910         \$6           1920         14           1921         10           1922         8           1923         9           1924         8           1925         8           1925         8	38,660,000 9,626,000 8,723,000 8,452,000 1,388,000 4,926,000 7,831,000	\$4,910,408,000 8,108,569,000 6,048,190,000 4,748,947,000 5,052,481,000 4,736,825,000 4,670,532,000	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	\$4,982,493,000 5,081,770,000 5,590,982,000 6,114,876,000 5,994,970,000 4,450,708,000 3,195,748,000

# HORSES IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

		1931			1930	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	5,669 1,460 2,646 1,275	\$ 186,290 81,795 85,705 38,345	\$32.86 56.02 32.39 30.08	5,772 1,656 2,660 1,161	\$ 203,530 97,580 96,280 36,635	\$35.26 58.93 36.20 31.55
Baca Bent Boulder	7,167 4,207 3,591	$135,745 \\ 110,765 \\ 129,120$	$18.94 \\ 26.33 \\ 35.96$	$\begin{array}{c} 6.864 \\ 4.412 \\ 3.473 \end{array}$	124,238 117,265 141,440	$\begin{array}{c} 18.10 \\ 26.57 \\ 40.73 \end{array}$
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	893 2,370 210 2,146 1,885 2,597 1,092	32,680 60,395 7,515 90,660 47,190 87,515 31,730	36.60 25.49 35.79 42.25 25.03 33.73 29.06	$\begin{array}{c} 921\\ 2,801\\ 124\\ 2,151\\ 1,345\\ 2,576\\ 1,111\end{array}$	$\begin{array}{c} 38,120\\ 70,345\\ 5,125\\ 85,960\\ 47,665\\ 88,100\\ 32,865 \end{array}$	41.39 25.11 41.33 39.96 35.44 34.20 29.58
Delta Denver Dolores Douglas	3,975 556 415 1,591	129,345 24,510 9,985 83,125	$32.54 \\ 44.08 \\ 24.06 \\ 52.24$	3,848 613 464 1,945	134,765 28,180 10,950 99,150	35.02 45.97 23.60 50.98
Eagle Elbert El Paso	2,297 5,454 4,987	78,040 173,096 140,600	$33.97 \\ 31.74 \\ 28.19$	2,348 5,928 4,670	88,965 190,985 138,360	37.89 32.22 29.63
Fremont	1,299	37,685	29.01	1,432	42,395	29.61
Garfield Gilpin Grand Gunnison	5,316 130 1,859 2,523	$193,995 \\ 4,130 \\ 48,700 \\ 93,900$	$36.50 \\ 31.77 \\ 26.20 \\ 37.22$	4,691 125 2,201 2,528	193,6853,73559.07099,190	41.29 29.88 26.84 39.24
Hinsdale	196 1.819	4,590 51,085	23.42 28.08	$159 \\ 1.856$	5,185 51,475	$32.61 \\ 27.73$
Jackson Jefferson	$2,862 \\ 2,921$	58,430 79,950	$\begin{array}{c} 20.41\\ 27.37\end{array}$	2,580 2,912	50,440 96,645	$19.55 \\ 33.19$
Kiowa Kit Carson	957 7,622	38,280 234,091	$\begin{array}{c} 40.00\\ 30.71 \end{array}$	$1,110 \\ 7,393$	44,360 265,736	39.96 35.94
Lake La Plata Larimer Las Animas Lincoln Logan	1502,8567,4526,3104,9459,503	6,225 71,400 250,540 126,091 114,790 295,280	41.50 25.00 33.62 19.98 23.21 31.07	234 2,931 7,764 6,908 5,487 9,831	8,360 83,005 267,700 139,139 131,835 319,250	35.73 28.32 34.48 20.14 24.03 32.47
Mesa Moffat Moffat Montezuma Montrose Morgan	5,325 280 4,571 1,725 3,703 7,598	185,150 8,395 88,320 65,355 130,990 239,010	34.77 29.98 19.32 37.88 35.38 31.46	5,510 323 5,284 2,315 4,724 8.187	$\begin{array}{r} 200.655\\ 9.195\\ 104.380\\ 67,875\\ 148,010\\ 269,310 \end{array}$	36.41 28.46 19.75 29.32 31.33 32.90
Otero Ouray	5,204 600	$160,990 \\ 16,800$	30.93 28.00	5,557 590	$188,445 \\ 16,570$	33.91 28.08
Park Phillips Pitkin Prowers Pueblo	1,774 3.283 822 8,515 4,244	60,760 106,215 21,320 175.085 141,180	$\begin{array}{r} 34.25\\ 32.35\\ 25.94\\ 20.56\\ 33.27\end{array}$	$1.643 \\ 3.264 \\ 847 \\ 8,814 \\ 4,405$	58,860 105,175 27,400 185,516 155,295	35.83 32.22 32.35 21.05 35.25
Rio Blanco Rio Grande Routt	$2,465 \\ 2,196 \\ 5,399$	81,760 85,075 190,990	33.17 38.74 35.38	2.660 2.437 5,638	88,115 106,085 209,750	33.13 48.53 37.20
Saguache San Juan San Miguel Sedgwick Summit	$2,100 \\ 37 \\ 609 \\ 2,399 \\ 449$	71.020 1,785 24,925 90,515 15,655	$\begin{array}{c} 33.82 \\ 48.24 \\ 40.93 \\ 37.73 \\ 34.87 \end{array}$	2,415 44 627 2,506 465	80.918 2,255 29,215 98,440 17,670	33.50 51.25 46.59 39.28 38.00
Teller	664	21,560	32.47	689	19,450	28.23
Washington Weld	8,378 21,071	202,935 791,850	24.22 37.58	8,728 22,000	218,945 848,670	25.09 \$8.58
Yuma	8,197	253,240	30.89	8,952	300,310	33.55
State	216,811	\$6,704,193	\$30.92	225,609	\$7,294,217	\$32.33

# MULES IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

		1931	· · · · ·		1930	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	329 114 214 58	\$ 12,565 8,200 8,345 1,875	\$38.20 71.93 39.00 32.33	352 147 200 59	\$ 13,540 10,675 8,215 2,240	\$38.46 72.62 41.08 37.97
Baca Bent Boulder	878 440 335	22,445 16,165 16,270	$25.56 \\ 36.74 \\ 48.57$	650 465 382	16,510 18,635 19,580	25.40 40.07 51.26
Chaffee Cheyenne Clear Creek Concios Costilla Crowley Custer	$ \begin{array}{r} 21\\ 242\\\\ 262\\ 84\\ 399\\ 33\\ \end{array} $	840 7,365 12,870 4,020 15,755 960	40.00 30.43 49.12 47.85 39.48 29.08	18 302 234 76 377 29	$770 \\ 10,085 \\ 80 \\ 11,680 \\ 2,780 \\ 17,390 \\ 1,000$	42.78 33.40 15.00 50.00 36.58 46.13 34.48
Delta Denver Dolores Douglas	341 53 55 86	13,650 1,660 1,620 4,280	$\begin{array}{r} 40.03\\ 31.32\\ 29.45\\ 49.76\end{array}$	304 53 79 69	$13,480 \\ 2,450 \\ 2,320 \\ 3,550$	44.34 46.23 29.37 51.45
Eagle Elbert El Paso	95 720 1,119	4,415 25,090 36,260	46.47 34.85 32.40	82 735 1,124	4,190 28,375 39,450	51.10 38.61 35.10
Fremont	141	5,360	38.02	130	6,796	52.28
Garfield Gilpin Grand Gunnison	270 1 14 256	12,220 25 495 10,110	45.26 25.00 35.36 39.49	264 1 18 256	12,300 30 540 12,900	46.60 30.00 30.00 50.40
Hinsdale Huerfano	2 215	30 9,575	15.00 44.53	416	32,605	78.37
Jackson Jefferson	27 111	730 4,175	27.04 37.61	55 144	1,460 6,345	26.54 44.06
Kiowa Kit Carson	171 911	6,840 30,550	40.00	166 1.021	6,640 37,825	40.00
Lake La Plata Larimer Las Animas Lincoln Logan	$ \begin{array}{r}$	4,195 27,240 51,485 17,805 28,460	$\begin{array}{c} 25.12 \\ 41.27 \\ 59.87 \\ 29.14 \\ 40.66 \end{array}$	$\begin{array}{c} 2\\ 171\\ 810\\ 1,160\\ 685\\ 800 \end{array}$	100 4,900 30,980 68,920 21,075 32,855	50.00 28.65 38.25 59.41 30.77 41.07
Mesa Mineral Moffat Montezuma Montezuma Montrose Morgan	302 15 137 249 253 733	$11,920 \\740 \\4,410 \\11,020 \\8,690 \\30,780$	39.47 49.33 32.19 44.25 34.35 41.99	430 12 215 277 247 764	18,310 710 6,905 9,100 9,340 34,320	42.58 59.16 32.11 32.86 37.81 44.92
Otero Ouray	964 36	45,740 900	$47.45 \\ 25.00$	926 46	46,155 1,250	49.84 27.17
Park Phillips Pitkin Prowers Pueblo	74 389 12 1,049 393	3,220 16,010 380 29,364 18,190	$\begin{array}{r} 43.51 \\ 41.15 \\ 31.67 \\ 27.99 \\ 46.28 \end{array}$	63 388 14 1,084 396	3,430 16,160 340 31,551 18,645	54.44 41.65 24.29 29.11 47.09
Rio Blanco Rio Grande Routt	172 432 36	6,480 19,555 1,440	$37.67 \\ 45.26 \\ 40.00$	$179 \\ 480 \\ 30$	6,935 24,730 1,500	38.74 51.52 50.00
Saguache San Juan San Miguel Sedgwick Summit	$211 \\ 30 \\ 24 \\ 251 \\ 2$	$8,065 \\ 940 \\ 920 \\ 11,935 \\ 70$	38.22 31.33 38.33 47.55 35.00	$240 \\ 30 \\ 31 \\ 275 \\ 3$	9,2651,2201,23012,24090	38.60 40.66 39.68 44.51 30.00
Teller	34	1,420	41.77	40	2,430	60.75
Washington Weld	$\begin{smallmatrix}&609\\2,030\end{smallmatrix}$	$16,160 \\ 88,780$	$\begin{array}{r} 26.54 \\ 43.73 \end{array}$	$\begin{smallmatrix} 628 \\ 2,132 \end{smallmatrix}$	17,335 93,060	43.65
Yuma	1,156	42,200	36.51	1,226	47,720	38.92
State	20,588	\$803,274	\$39.02	21,994	\$917,187	\$41.70

### DAIRY CATTLE IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

		1931			1930	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	6,661 1,116 4,511 806	\$ 270,525 48,775 204,115 40,380		6,760 1,164 4,359 651	\$ 321,010 58,190 227,770 32,695	\$47.49 49.99 52.25 50.22
Baca Bent Boulder	1,759 1,616 5,774	55,981 59,010 211,320	$31.83 \\ 36.52 \\ 36.60$	$1,535 \\ 1,489 \\ 5,800$	65,430 69,435 257,480	42.63 46.63 44.39
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	$\begin{array}{r} 864\\978\\71\\1,749\\225\\1,230\\808\end{array}$	31,075 29,690 3,260 73,675 11,190 47,200 34,170	$\begin{array}{r} 35.97\\ 30.36\\ 45.92\\ 42.12\\ 49.73\\ 38.37\\ 42.29\end{array}$	904 853 100 1,564 383 939 803	$\begin{array}{r} 45,020\\ 44,500\\ 4,970\\ 78,650\\ 19,190\\ 47,140\\ 35,070\end{array}$	49.80 52.17 49.70 50.29 50.10 50.20 43.67
Delta Denver Dolores Douglas	4,899 337 172 4,541	$197,190 \\ 17,410 \\ 6,295 \\ 229,735$	$\begin{array}{r} 40.25\\51.66\\36.60\\50.59\end{array}$	4,195 350 323 4,805	$\begin{array}{r} 209,750 \\ 15,290 \\ 13,126 \\ 240,310 \end{array}$	50.00 43.69 40.64 50.01
Eagle Elbert El Paso	1,210 3,845 8,153	$\begin{array}{r} 48,400 \\ 155,000 \\ 310,020 \end{array}$	$ \begin{array}{r} 40.00 \\ 40.31 \\ 38.03 \end{array} $	$1,192 \\ 6,152 \\ 7,480$	59,600 308,325 360,420	50.00 50.12 48.18
Fremont	1,436	64,865	45.17	1,684	89,832	53.34
Garfield Gilpin Grand Gunnison	3,481 38 1,307 1,232	$158,200 \\ 1,600 \\ 39,420 \\ 48,955$	$\begin{array}{r} 45.45 \\ 42.11 \\ 30.16 \\ 39.74 \end{array}$	3,313 39 1,215 1,269	$166,670 \\ 1.720 \\ 60,950 \\ 63,470$	50.31 44.10 50.16 50.02
Hinsdale Huerfano	76 1.667	3.080 58.985	40.53 35.38	$\frac{266}{1.756}$	10,704	40.24
Jackson Jefferson	681 4,672	27,240 205,070	40.00 43.89	696 4,596	34,800 236,420	50.00 51.44
Kiowa Kit Carson	516 5,083	$25,800 \\ 194,064$	50.00 38.18	$563 \\ 5,403$	$28,150 \\ 272.145$	50.00 50.37
Lake La Plata Larimer Las Animas Lincoln Logan	161 2,523 6,230 2,344 3,278 7,349	8.075 101.640 292,600 101.475 109.550 236,655	50.16 40.29 46.97 43.29 33.42 32.20	$163 \\ 2,448 \\ 6,618 \\ 3,737 \\ 2,950 \\ 7,040$	$\begin{array}{c} 8.150\\ 123,490\\ 319,990\\ 162,068\\ 136,835\\ 302,035\end{array}$	50.0 <b>0</b> 50.44 48.31 43.37 46.38 42.90
Mesa Mineral Moffat Montezuma Montrose Morgan	6,023 84 1,266 2,767 3,529 5,836	$\begin{array}{r} 253,990\\ 3,620\\ 46.090\\ 101,235\\ 132,455\\ 201,960\end{array}$	$\begin{array}{r} 42.17\\ 43.10\\ 36.41\\ 36.59\\ 37.53\\ 34.61\end{array}$	6,490 83 1,400 2,538 3,184 6,069	324,830 3,910 67,080 127,120 159,235 250,290	50.05 47.11 47.91 50.09 50.01 41.24
Otero Ouray	3.232 479	$119.415 \\ 17,370$	$36.95 \\ 36.26$	$3,261 \\ 483$	$169,715 \\ 22,460$	$52.04 \\ 46.50$
Park Phillips Pitkin Prowers Pueblo	$731 \\ 2,992 \\ 442 \\ 4,209 \\ 4,454$	30,350 100,810 13,280 138,129 178,470	41.52 33.69 30.05 32.82 40.07	$\begin{array}{c} 692 \\ 2.877 \\ 503 \\ 3.673 \\ 4.371 \end{array}$	$34.710 \\ 115.070 \\ 20,120 \\ 157,470 \\ 202,635$	50.16 40.00 40.00 42.87 46.36
Rio Blanco Rio Grande Routt	719 1,296 3,033	$31,690 \\ 57.090 \\ 122,330$	$44.08 \\ 44.05 \\ 40.33$	$711 \\ 1,302 \\ 3,320$	39.555 65,100 166,630	$55.63 \\ 50.00 \\ 50.19$
Saguache San Juan San Miguel Sedgwick Summit Teller	681 42 728 2,208 308	$\begin{array}{c} 27,150\\ 1,975\\ 28,230\\ 84,850\\ 12,320\\ 22,730\\ \end{array}$	39.87 47.02 38.78 38.43 40.00	801 27 619 2.078 360	40,080 1,140 30,785 91,180 14,400	50.04 42.22 49.73 43.88 40.00
Washington	4.157	152,540	41.40 36.69	570 2,380	24,100 119.180	42.28 50.08
Weld	20,962	774,540	36.95	20,167	916,770	45.46
State	4,301 168,487	\$6,548,819	\$38.87	171,382	321,980 \$3,092,468	40.93 \$47.22
I					1	)

#### RANGE CATTLE IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

	_	1931			1930	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	6.087 7,314 5,676 10,076	$\begin{array}{cccc} \$ & 167,290 \\ & 198,775 \\ & 154,900 \\ & 263,526 \end{array}$	\$27.48 27.18 27.29 26.15	5,537 6,369 6,238 8,901	\$ 182,910 209,185 220,825 306,237	\$33.03 32.84 35.40 34.40
Baca Bent Boulder	$24,153 \\ 14,214 \\ 6,084$	633,508 363,055 164,700	$26.23 \\ 25.54 \\ 27.07$	21,902 13,083 5,832	747,781 445,300 193,650	34.14 34.04 33.20
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	5,350 18,351 371 10,192 1,806 8,000 6,529	150,375469,8459,575265,46546,195207,480169,740	$\begin{array}{c} 28.11 \\ 25.60 \\ 25.81 \\ 26.05 \\ 25.58 \\ 25.94 \\ 26.00 \end{array}$	$\begin{array}{r} 4,980\\ 19,821\\ 196\\ 10,370\\ 1,977\\ 9,689\\ 6,150\end{array}$	$\begin{array}{r} 171.825\\ 666,365\\ 6,920\\ 369,580\\ 66,390\\ 325,450\\ 205,975\end{array}$	34.50 33.62 35.31 35.64 33.58 33.59 33.49
Delta Denver Dolores Douglas	17,830 $\overline{3,973}$ 14.677	477,225 108,360 456,950	26.77 27.27 31.13	16,890 	571,085 98,643 469,570	33.81 35.23 37.97
Eagle Elbert El Paso	18,186 22,235 20,399	499,940 588,235 610,720	27.49 26.46 29.94	16,340 19,162 20,722	575,899 642,369 731,380	35.24 33.52 35.29
Fremont Garfield	8,384 27,458	227,460 730,720 24,274	27.13 26.61 25.88	8,049 24,666 494	273,975 856,320 16 001	34.04 34.72 32.39
Grand Gunnison	11,997 30,413	333,480 792,860	27.80 26.07 26.14	10,820 28,027	393,185 954,250 46,279	36.34 34.05 33.76
Huerfano Jackson	11,158 28,841	297,450 810,740	26.66 28.11	11,109 26.766	391,233 901,880	35.22 33.69
Jefferson Kiowa Kit. Carson	9,650 12,506 19,286	271,110 342,305 506,406	28.09 27.37 26.26	9,038 13,161 16,750	443,650 562,024	33.71 33.55
Lake La Plata Larimer Las Animas Lincoln Logan	403 12,577 19,983 44,388 25,201 20,595	$\begin{array}{r} 13,990\\320,605\\557,420\\1,128,320\\669,035\\538,435\end{array}$	$\begin{array}{r} 34.71 \\ 25.49 \\ 27.89 \\ 25.42 \\ 26.55 \\ 26.14 \end{array}$	$\begin{array}{r} 394 \\ 11,776 \\ 17,975 \\ 40,426 \\ 25,193 \\ 18,385 \end{array}$	$\begin{array}{r} 14,090\\ 392,345\\ 613,450\\ 1,447,187\\ 846,085\\ 628,355\end{array}$	35.76 33.32 34.13 35.80 33.58 34.18
Mesa Mineral Moffat Montezuma Montezuma Montrose Morgan	33,825 1,139 14,274 9,976 17,157 11,893	905,480 30,695 385,700 267,760 441,370 302,690	$\begin{array}{r} 26.77 \\ 26.95 \\ 27.02 \\ 26.84 \\ 25.73 \\ 25.45 \end{array}$	33,071 1,381 12,595 8,475 15,095 10,210	$\begin{array}{r} 1,093,920\\ 49,320\\ 426,265\\ 268,960\\ 502,305\\ 331,580\end{array}$	$\begin{array}{c} 33.08\\ 35.71\\ 33.84\\ 31.74\\ 33.28\\ 32.48\end{array}$
Otero Ouray	$10,805 \\ 7,085$	287,170 182,800	26.58 25.80	11,407 6,150	374,875 198,585	32.86 32.29
Park Phillips Pitkin Prowers Pueblo	$\begin{array}{r} 12,679 \\ 3,666 \\ 5,090 \\ 16,564 \\ 20,620 \end{array}$	$\begin{array}{c c} 378,130 \\ 101,430 \\ 140,200 \\ 423,951 \\ 549,405 \end{array}$	$\begin{array}{c} 29.82 \\ 27.67 \\ 27.54 \\ 25.58 \\ 26.64 \end{array}$	11,520 3,524 4,828 14,051 18,567	398,740 114,980 165,025 464,309 642,980	34.61 32.63 34.18 33.04 34.63
Rio Blanco Rio Grande Routt	$30,140 \\ 9,271 \\ 28,913$	795,170 235,490 813,470	$26.88 \\ 25.40 \\ 28.13$	26,922 9,397 24,429	898,900 309,480 905,390	33.39 32.93 37.06
Saguache San Juan San Miguel Sedgwick Summit	$\begin{array}{r} 25,316 \\ 195 \\ 5,471 \\ 5,945 \\ 3,021 \end{array}$	662,728 4,983 139,900 155,470 77,930	$\begin{array}{r} 26.18\\ 25.55\\ 25.57\\ 26.15\\ 25.80\end{array}$	$25,122 \\ 143 \\ 5,117 \\ 5,386 \\ 3,478$	838,623 5,030 169,525 180,540 117,530	33.38 35.17 33.13 33.52 33.79
Teller Washington	4,400 23,510 25,336	131,965 599,031 680,620	29.99 25.48 26.86	4,478 22,641 21,548	158,865 757,627 740,890	35.48 33.46 34.38
Yuma	31,954	820,960	25.69	26,936	897,680	33.33
State	864,846	\$23,119,472	\$26.73	800,198	φ21,012,012	

#### SHEEP IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

COUNTY	Number 3,412 13,998 7,850	Assessed Value	Average Per Head	Number	Assessed Value	Average
Adams	3,412 13,998 7,850	\$ 11.965		·		Head
Alamosa Arapahoe Archuleta	32,765	51,980 27,500 114,680	\$ 3.51 3.71 3.50 3.50	5,002 8,472 7,843 22,365	\$ 27,500 51,920 43,415 123,770	\$ 5.50 6.13 5.54 5.53
Baca Bent Boulder	7,520 13,949 3,800	26,320 48,820 13,600	3.50 3.50 3.58	7,560 17,533 5,698	41,580 96,435 31,340	5.50 5.50 5.50
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	6,394 9,755 846 85,130 25,150 7,270 4,058	$\begin{array}{r} 23,185\\ 34,215\\ 2,960\\ 305,725\\ 88,045\\ 25,755\\ 14,210\end{array}$	3.63 3.51 3.50 3.59 3.50 3.54 3.50	$\begin{array}{c} 6,154\\ 10,414\\ 1,917\\ 82,154\\ 23,226\\ 6,069\\ 4,286\end{array}$	34,165 57,435 10,545 452,440 127,740 33,470 23,570	5.55 5.52 5.50 5.51 5.50 5.52 5.50
Delta Denver Dolores Donglas	56,435 22,559 5 980	200,765 100,510 21 815	3.56 4.46 3.65	52,303 16,761	289,350 92,185	5.53
Eagle Elbert El Paso	26,721 11,320 6,657	106,884 41,247 26,300	4.00 3.64 3.95	26,813 10,424 6,024	147,498 58,140 33,360	5.50 5.58 5.53
Fremont Garfield Gilpin	2,850 101,097 41	10,248 355,035 145	3.60 3.51 3.54	2,850 87,834	15,925 484,930	5.59 5.52
Grand Gunnison Hinsdale	13,409 56,534 4,980	47,755 199,020 17,480	3.56 3.52 3.50	16,796 48,659 3,958	94,875 274,100 21,545	5.65 5.63 5.44
Huerfano Jackson Jefferson	23,819 29,343 1,705	84,366 103,030 6,410	3.54 3.51 3.76	25,429 25,678 3.008	140,199 141,190 16,535	5.51 5.50 5.50
Kiowa Kit Carson	6,078 3,511	21,275 13,210	3.50 3.76	8,490 4,340	46,695 23,874	5.50 5.50
Lake La Plata Larimer Las Animas Lincoln Logan	400 30,470 14,794 82,107 11,423 2,711	1,400106,64551,780287,36540,0409,500	$3.50 \\ 3.50 \\ 3.50 \\ 3.50 \\ 3.50 \\ 3.51 \\ 3.50 $	412 31,388 15,625 78,992 10,373 3,537	2,265 172,575 93,470 486,043 57,180 19,453	5.50 5.50 5.98 6.15 5.51 5.50
Mesa Mineral Moftat Montzuma Montrose Morgan	63,470 13,096 91,845 32,364 74,757 2,837	230,800 45,870 329,900 153,865 259,900 9,720	3.64 3.50 3.59 4.75 3.48 3.43	$\begin{array}{c} 98,660\\ 11,723\\ 88,721\\ 42,731\\ 62,660\\ 1,546 \end{array}$	552,640 67,195 496,840 235,020 344,630 8,500	5.60 5.73 5.60 5.50 5.50 5.50 5.50
Otero Ouray	30,079 14,414	$105,275 \\ 50,450$	$3.50 \\ 3.50$	29,527 13,746	162,400 75,600	5.50 5.50
Park Phillips Pitkin Prowers Pueblo	48,903 303 11,447 9,101 10,234	$189,895 \\ 1,115 \\ 40,065 \\ 31,854 \\ 36,530$	3.88 3.68 3.50 3.50 3.57	$\begin{array}{r} 42,040\\ 212\\ 6,194\\ 13,933\\ 12,432 \end{array}$	$\begin{array}{r} 246,370 \\ 1,275 \\ 35,375 \\ 76,631 \\ 68,440 \end{array}$	5.86 6.00 5.71 5.50 5.50
Rio Blanco Rio Grande Routt	71,247 45,560 76,165	249,450 159,600 291,430	3.50 3.50 3.83	69,975 51,219 79,579	$395,460 \\ 281,705 \\ 456,820$	5.65 5.50 5.74
Saguache San Juan San Miguel Sedgwick Summit	74,361 10,874 38,352 437 2,817	262,994 38,061 134,325 1,530 9,862	3.54 3.50 3.50 3.50 3.50 3.50	79,230 8,595 40,070 1,137 2,130	$\begin{array}{r} 447,967\\ 47,318\\ 221,585\\ 6,255\\ 11,720\\ \end{array}$	5.65 5.51 5.53 5.50 5.50
Teller	330	1,170	3.55	358	1,980	5.53
Weld	18,206 28,518	64,890 99,820	$3.56 \\ 3.50$	$13,541 \\ 23,755$	74,550 130,650	5.51 5.50
Yuma	2,117	7,410	3.50	3,321	18,760	5.65
State 1,	508,675	\$5,446,916	\$ 3.61	1,486,492	\$8,340,788	\$ 5.61

### FOXES AND GOATS IN COLORADO, 1931 (From Reports of County Assessors to State Tax Commission)

		FOXES, 1931		GOATS, 1931		
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	  57 	\$ 2,640	\$46.32	 138 1,654	\$ 700 \$ 5,235	\$ 5.07 3.16
Baca Bent Boulder	27 	1,365 	50.56 44.24	 		
ChaffeeCheyenneClear CreekConejosCostillaCrowley _C	  20 	 160 	40.00	$ \begin{array}{r}     40 \\     \\     28 \\     \\     91 \\     23 \end{array} $	200 	5.00 10.00 5.00 4.13
Custer Delta Denver Dolores Douglas		6,000  9,460	50.00  46.37	3,554 200 470	3,745 	1.05 5.40 4.54
Eagle Elbert El Paso Fremont	28 40 434	1,400 2,000 21,700	50.00 50.00 50.00	9 <u>319</u> 100	45 2,790 350	5.00 8.75 3.50
Garfield Gilpin Grand Gunnison	$     123 \\     74 \\     18 \\     58   $	6,000 4,220 900 2,600	48.78 57.02 50.00 44.86	<u>ī</u> 14 <u>-</u> 153	42 	3.00
Hinsdale Huerfano Jackson		1,000 150	50.00 30.00	236	635 40	2.69
Kiowa Kit Carson	1,221 	54,590 	44.71	261 <u>5</u> 2	1,425	3.31
Lake La Plata Larimer Las Animas Lincoln Logan	110 166 	5,500 8,300 	50.00 50.00  	909 55 5,590 	1,265 330 14,976	1.39 6.00 2.68
Mesa Moffat Montezuma Montrose Morgan	8   60 84	640  3,025 4,200	80.00  50.41 50.00	415 9 120 140 	1,300 225 365 620	3.13 25.00 3.02 4.48 
Otero Ouray			 			
Park Phillips Pitkin Prowers Pueblo		1,000	50.00	 153 304	 520 1,340	 3.40 4.41
Rio Blanco Rio Grande Routt	192 42	8,340 1,380	43.44 32.86	 		
Saguache San Juan San Miguel Sedgwick Summit	 	1,500 300	 50.00 50.00			3,33
Washington Weld	104 	3,580 	04.42 	0* 		
Yuma State	3,597	\$167,430	 \$46.55	5 15,203	10 \$ 41,345	\$ 2.00

# SWINE IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

		1931		1930		
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	11,020 1,176 1,890 564	\$ 101,375 13,535 17,370 3,415	\$ 9.20 11.51 9.19 6.05	11,788 1,444 1,357 414	\$ 91,390 16,840 13,765 3,184	\$ 7.75 11.66 10.14 7.69
Baca Bent Boulder	6,921 2,550 1,802	53,125 21,570 17,590	7.68 8.46 9.76	6,027 1,842 1,432	52,797 20,440 14,870	8.76 11.10 10.39
Chaffee Cheyenne	1,277 3,066	9,190 22,685	7.20 7.40	1,459 2,682	12,345 26,845	8.46 10.01
Conejos Costilla Crowley Custer	2,215 1,800 1,675 394	25,330 12,425 16,470 2,765	11.44 6.90 9.84 7.02	2,652 1,267 1,730 301	30,205 12,315 17,015 2,200	11.39 9.72 9.84 7.31
Delta Denver Dolores	2,341 	17,280 	7.38 8.18	2,342 	22,180 1,885	9.47 14.07
Douglas Eagle Elbert	833 506 4,196 3,617	8,310 6,072 42,439 31 490	9.97 12.00 10.11 8.71	744 468 3,698 3 327	7,830 5.616 39,547 33 430	10.52 12.00 10.69 10.05
Fremont	1,297	10,830	8.35	1,388	12,398	8.93
Garfield Gilpin Grand Gunnison	2,724 	23,935  900 1,205	8.79 9.89 7.22	2,711 3 160 227	25,825 35 1,600 2,085	9.53 11.67 10.00 9.19
Hinsdale Huerfano	436	3,480	7.98	448	4,060	9.06
Jackson Jefferson	72 779	720 7,795	10.00 10.00	84 1,143	840 8,850	10.00 7.74
Kiowa Kit Carson	$1,198 \\ 15,207$	11,620 132,752	9.70 8.73	1,004 12,424	12,625 127,292	$12.57 \\ 10.24$
Lake La Plata Larimer Las Animas Lincoln Logan	1,679 2,619 1,150 5,786 14,000	12,895 24,950 9,828 49,625 124,185	7.68 9.52 8.55 8.58 8.87	1.580 2,581 1,167 5,264 12,479	10,755 24,520 12,892 49,595 121,065	6.81 9.50 11.05 9.42 9.70
Mesa Mineral Moffat Montezuma Monteze	3,154 792 828 2,812	29,865 	9.47 9.02 9.25 8.00	3,350 650 1,021 4,000	37,890 6,845 6,850 38,920	$     11.31 \\     10.53 \\     6.71 \\     9.73 $
Otero	7,401 4,138 220	66,180 35,685 1,820	8.94 8.62 6.00	9,225 3,920 203	75,110 37.725 1.421	8.14 9.62 7.00
Park Phillips Pitkin Prowers Pueblo	64 8,454 220 5,655 2,958	485 75,645 2,250 49,544 21,725	7.58 8.95 10.23 8.76 7.34	42 7,901 315 6,972 3,251	460 79,385 2,640 60,696 24,605	11.00 10.05 8.38 8.71 7.57
Rio Blanco Rio Grande Routt	298 2,094 1,609	2,740 26,360 14,850	9.19 12.59 9.23	321 2,643 1,428	3,210 36,240 13,250	10.00 13.71 9.28
Saguache San Juan San Miguel Sedgwick Summit	835 	9,493 1,120 51,650 348	11.37 8.30 11.32 12.00	$     1,190 \\     \overline{)} \\     169 \\     3,382 \\     31     31   $	15,095 	12.68 9.67 12.83 12.00
Teller	67	535	7.99	50	505	10.10
Washington Weld	13,182 11,593	113,535 114,550	8.61 9.88	12,859 10,716	126,250 111,280	9.82 10.38
Yuma	18,127	159,370	8.79	17,496	183,150	10.47
State	184,383	\$1,652,581	\$ 8.96	178,906	\$1,746,068	\$ 9.76

# BEES (STANDS) IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

		1931			1930	
COUNTY	Number	Assessed Value	Average Per Stand	Number	Assessed Value	Average Per Stand
Adams Alamosa Arapahoe Archuleta	2,452 1,847 663 	\$ 7,355 5,896 2,015	\$ 3.00 3.19 3.04 	2,500 1,420 630 57	\$ 10,000 5,825 2,520 230	\$ 4.00 4.10 4.00 4.00
Baca Bent Boulder	2,146 2,445	6,440 7,370	3.00 3.01	1,658 2,695	6,675 10,780	4.00
Chaffee Cheyenne Clear Creek	90 	270	3.00	82	330	4.02
Conejos Costilla Crowley Custer	1,927 90 2,490 53	5,780 270 7,485 160	3.00 3.00 3.01 3.00	2,025 91 2,378 47	8,065 365 9,545 185	4.00 4.01 4.01 4.00
Delta Denver Dolores	3,122 	9,665	3.10	2,817 	12,235	4.34
EagleElbert	392 120 77	1,175 360 255	3.00 3.00 3.31	22 51 35	90 204 152	4.09
El Paso	303 662	1,260	4.16	405	1,680	4.15
Garfield	3,308	10,240	3.00	3,002	3,486 12,430	4.00
Grand Gunnison						
Hinsdale Huerfano		150	4.69		575	4.60
Jackson Jefferson	1,418	4,405	3.11	1,445	6,005	4.15
Kiowa Kit Carson						
Lake La Plata Larimer Las Animas Lincoln	2,399 2,520 505	7,250 7,560 1,780	3.02 3.00 3.52	2,466 1,760 576	9,835 7,040 2,305	3.98 4.00 4.00
Logan	728	2,185	3.00	618	2,475	4.00
Mineral Moffat Montezuma Montrose	 30 2,062 4.160	120 7,925 12,480	4.00 3.84 3.00	4,235 	16,955 150 10,960 18,276	4.00
Morgan Otero Ouray	1,133 4,368 225	3,410 13,105 900	3.01 3.00 4.00	905 5,184 231	3,620 21,075 924	4.00 4.07 4.00
Park Phillips Pitkin Prowers	1.376	4.228		54 1.372	270 5.484	5.00
Pueblo Rio Blanco	1,422	4,645	3.27	1,481	5,935	4.01
Rio Grande Routt	605	1,816	3.00	590	2,360	4.00
Saguache   San Juan   San Miguel	356	1,070	3.00 3.67	262	1,048	4.00
Sedgwick	298	950	3.19	315	1,285	4.08
Teller						
Washington	4.144	12.490	3.01	3.840	13 410	4.01
Yuma	40	120	3.00	33	140	4.25
State	55,194	\$170,229	\$ 3.08	58,241	\$215,544	\$ 4.05

# POULTRY (DOZEN) IN COLORADO, 1930 AND 1931 (From Reports of County Assessors to State Tax Commission)

	1931			1980		
COUNTY	Number	Assessed Value	Average Per Dozen	Number	Assessed Value	Average Per Dozen
Adams Alamosa Arapahoe Archuleta	7,958 782 7,878 698	\$ 42,940 3,910 40,095 4,580	\$ 5.40 5.00 5.09 6.56	8,691 728 8,712 580	\$ 46,790 3,685 43,560 3,970	\$ 5.38 5.06 5.00 6.84
Baca Bent Boulder	6,697 4,605 6,279	33,935 23,350 31,950	5.07 5.07 5.09	$5,564 \\ 4,750 \\ 5,673$	27,820 23,785 31,210	5.00 5.00 5.50
Chaffee Cheyenne Clear Creek Costilla Crowley Custer	$571 \\ 2,567 \\ 59 \\ 1,150 \\ 744 \\ 2,854 \\ 543$	2,865 13,015 295 5,800 3,865 17.210 2,715	5.02 5.07 5.00 5.04 5.19 6.03 5.00	5533,281781,0415502,845554	3,365 16,615 390 5,205 2,790 16,805 2,770	6.08 5.05 5.00 5.00 5.07 5.91 5.00
Delta Denver Dolores Douglas	4,174 250 2,125	23,720	5.68 5.00 5.40	4,668 	23,340 1,540 12,235	5.00 5.22 5.67
Eagle Elbert El Paso	785 4,897 6,880	3,970 24,952 34,890	5.06 5.10 5.07	778 5,190 6,740	3,890 27,021 33,700	5.00 5.21 5.00
Fremont Garfield Gilpin Grand	4,800 3,113 	24,014 17,185	5.00 5.52	4,421 3,339	22,108 17,980	5.00
Gunnison Hinsdale Huerfano	498	2,625	5.02	515 515 11 1,236	2,830 55 6,255	5.00 5.00 5.00 5.06
Jackson Jefferson	297 11,560	1,480 59,295	5.00 5.13	206 11,583	1,030 58,015	5.00 5.00
Kiowa Kit Carson	2,770 8,954	$13,850 \\ 47,022$	5.00 5.25	2,971 8,954	14,855 45,373	5.00 5.07
Lake La Plata Larimer Las Animas Lincoln Logan	2,525 8,412 2,040 6,248 10,760	15,120 42,060 10,654 31,240 53,800	5.99 5.00 5.22 5.00 5.00	2,355 8,712 2,358 6,992 11,072	15,290 43,560 13,237 34,960 55,360	6.49 5.00 5.61 5.00 5.00
Mesa Mineral Moffat Montezuma Montrose Morgan	10,867 59 1,362 2,203 3,715 6,831	54,335 295 7,430 11,015 18,565 35,400	5.00 5.00 5.46 5.00 5.00 5.18	11,426 65 1,322 1,973 4,094 8,646	57,130 325 7,190 9.865 20,470 43,230	5.00 5.00 5.43 5.00 5.00 5.00
Otero Ouray	6,442 255	37,690 1,350	5.85 5.30	6,899 241	39,380 1,205	5.71 5.00
Park Phillips Pitkin Prowers Pueblo	$512 \\ 4,744 \\ 242 \\ 7,414 \\ 6,260$	2,560 24,105 1,210 41,725 32,925	5.00 5.08 5.00 5.63 5.26	536 5,119 255 7,947 6,503	3,210 25,595 1,275 45,617 32 560	6.00 5.00 5.00 5.74
Rio Blanco Rio Grande Routt	694 683 2,206	3,490 3,415 11,030	5.03 5.00 5.00	735 746 2,000	3.675 3.730 10,000	5.00 5.00 5.00
Saguache San Juan San Miguel Sedgwick Summit	700 342 2,898 60	$3,500 \\ -1,710 \\ 14,780 \\ 300$	5.00 5.00 5.11 5.00	768 420 3,081 64	3,840 2,100 15,405 820	5.00 5.00 5.00 5.00
Teller	155	845	5.45	158	855	5.41
Weld	9,419 18,184	49,035 91,450	5.21 5.04	9,832 19,594	53,290 99,860	5.42 5.10
Yuma	9,936	51,930	5.23	11,150	59,110	5.30
S.4.1e	222,043	\$1,152,437	\$ 5.19	232,040	\$1,202,196	\$ 5.18